10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
John E Varchminn	SECTION 11 TOWN 28 RANGE 22 EX	Street Sweeping - Cor	mmercial/Art	1.07	65.00	\$69.55	11-28-22-11-0005
5887 Oneka Lake Blvd	W 160 FT S 65 FT OF N 130 FT OF S 330 FT OF E 1/4 OF NE 1/4 OF NE 1/4 (SUBJ	Citywide Street Light	ing	0.59	65.00	\$38.35	
Hugo MN 55038-9462	TO RDS) IN SEC 11 TN 28 RN 22					\$107.90	
*337 MCKNIGHT RD S		*** Owner and Taxpa	ayer ***				
*Ward: 7			Total Assess	ment:		\$107.90	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$107.90	
	SECTION 11 TOWN 28 RANGE 22 S 175	Street Sweeping - Res				<u>\$24.60</u>	
2227 Londin Ln	FT OF W 60 FT OF E 1/4 OF NE 1/4 OF	Citywide Street Light		0.59	60.00	\$35.40	11-20-22-11-0007
St Paul MN 55119-6901	NE 1/4 SUBJ TO RD IN SEC 11 TN 28 RN 22					\$60.00	
*2225 LONDIN LN		*** Owner and Taxpa	ayer ***				
*Ward: 7			Total Assess	ment		\$60.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	unt:		\$60.00	
		Street Sweeping Dec				<u> </u>	
Luke Erickson	SECTION 11 TOWN 28 RANGE 22 EX PART IN N 8 ACRES OF W 1/2 OF E 1/2	Street Sweeping - Res Citywide Street Light		0.41	130.00	\$33.30 \$76.70	11-28-22-11-0010
2217 Londin Ln	OF NE 1/4 OF NE 1/4 THE E 130 FT OF	Citywide Street Light	ing	0.57			
St Paul MN 55119-6901 * 2217 LONDIN LN	W 1/2 OF E 1/2 OF NE 1/4 OF NE 1/4 (SUBJ TO RD) IN SEC 11 TN 28 RN 22	*** Owner and Taxpa	ayer ***			\$130.00	
*Ward: 7			Total Assess	ment:		\$130.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$130.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID	
Chongge Pangyee Thao	SECTION 11 TOWN 28 RANGE 22 E 100 FT OF S 264 FT OF PART S OF NEW	Street Sweeping - Resi Citywide Street Lightin		0.41	102.00 102.00	\$41.82 \$60.18	11-28-22-11-0013	
2203 Londin Ln St Paul MN 55119-6901	LOWER AFTON RD OF E 1/2 OF W 1/2	Citywide Street Lightin	ng	0.59	102.00	\$102.00		
*2203 LONDIN LN	OF NE 1/4 OF NE 1/4 SUBJ TO RD IN SEC 11 TN 28 RN 22	*** Owner and Taxpay	yer ***			\$102.00		
*Ward: 7			Total Assess		-	\$102.00		
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$102.00		
Brandon R Carlson	AFTON HILL DEVELOPMENT LOT 1	Street Sweeping - Resi	idential Stree			<u> </u>		
Jaclyn A Rosvold	BLK 2	Citywide Street Lightin	ng	0.59	104.50	\$61.66	11 20 22 11 0010	
275 Morningside Cir						\$104.51		
St Paul MN 55119-5369		*** Owner and Taxpay	yer ***					
*275 MORNINGSIDE CIR			Total Assess	ment:		\$104.51		
*Ward: 7			This Paymen	ıt:		\$0.00		
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$104.51		
	AFTON HILL DEVELOPMENT LOT 4	Street Sweeping - Resi	dential Stree			<u> </u>		
285 Morningside Cir	BLK 2	Citywide Street Lightin		0.59	35.00	\$20.65	11-20-22-11-0017	
St Paul MN 55119-5369					—	\$35.00		
*285 MORNINGSIDE CIR		*** Owner and Taxpay	yer ***					
*Ward: 7			Total Assess	ment:		\$35.00		
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$35.00		

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
	AFTON HILL HOMES LOT 2 BLK 1	Street Sweeping - Resi	dential Stree	0.41	80.00	\$32.80	11-28-22-11-0021
Sao Xiong		Citywide Street Lightin	ng	0.59	80.00	\$47.20	
99 Morningside Circle						\$80.00	
t Paul MN 55119-5369		*** Owner and Taxpay	yer ***				
299 MORNINGSIDE CIR			Total Assess	ment:		\$80.00	
Ward: 7			This Paymen	ıt:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$80.00	
	AFTON HILL HOMES LOT 4 BLK 1	Street Sweeping - Resi	dential Stree			\$33.21	
Iga T Le		Citywide Street Lightir		0.59	81.00	\$47.79	11-20-22-11-0023
15 Morningside Cir			-			\$81.00	
t Paul MN 55119-5369		*** Owner and Taxpay	yer ***			φ01.00	
315 MORNINGSIDE CIR			Total Assess	m om te		\$81.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$81.00	
	AFTON HILL DEVELOPMENT LOT 15	Street Sweeping - Resi	dential Stree				
1andalay Lee 30 Morningside Cir	BLK 1	Citywide Street Lightin		0.41	13.00	\$7.67	11-28-22-11-0029
t Paul MN 55119-5369			0	0.09		\$13.00	
330 MORNINGSIDE CIR		*** Owner and Taxpay	yer ***			\$15.00	
Ward: 7			Total Assess	ment:		\$13.00	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$13.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Samuel Tekle Ab Kidane	AFTON HILL DEVELOPMENT LOT 14	Street Sweeping - Res	idential Stree	0.41	22.00	\$9.02	11-28-22-11-0030
Yordanos Girmay Tesfu	BLK 1	Citywide Street Lighti	ing	0.59	22.00	\$12.98	
7135 Thames Rd						\$22.00	
Woodbury MN 55125-3823		*** Owner and Taxpa	yer ***				
*326 MORNINGSIDE CIR			Total Assess	ment:		\$22.00	
*Ward: 7			This Paymen	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$22.00	
	AFTON HILL DEVELOPMENT LOT 13	Street Sweeping - Res	idential Stree			<u> </u>	
2835 Pascal St Apt 14g	BLK 1	Citywide Street Lighti	ing	0.59	25.00	\$14.75	
Roseville MN 55113-7102						\$25.00	
*324 MORNINGSIDE CIR		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$25.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$25.00	
	AFTON HILL DEVELOPMENT LOT 11	Street Sweeping - Res	idential Stree				
318 Morningside Cir	BLK 1	Citywide Street Lighti		0.59	75.00	\$44.25	
St Paul MN 55119-5369						\$75.00	
*318 MORNINGSIDE CIR		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$75.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$75.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2 Resolution		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	AFTON HILL DEVELOPMENT LOT 8	Street Sweeping - Res	idential Stree	0.41	81.00	\$33.21	11-28-22-11-0036
9659 Hames Ave S	BLK 1	Citywide Street Lighti	ing	0.59	81.00	\$47.79	
Cottage Grove MN 55016-3872						\$81.00	
*304 MORNINGSIDE CIR		*** Owner and Taxpa	nyer ***				
*Ward: 7			Total Assess	sment:		\$81.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$81.00	
	AFTON HILL DEVELOPMENT LOT 7	Street Sweeping - Res	idential Stree				
302 Morningside Cir	BLK 1	Citywide Street Lighti		0.59	16.00	\$9.44	11-20-22-11-0057
St Paul MN 55119-5369						\$16.00	
*302 MORNINGSIDE CIR		*** Owner and Taxpa	iyer ***				
*Ward: 7			Total Assess	sment:		\$16.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	ount:		\$16.00	
	AFTON HILL DEVELOPMENT LOT 5	Street Sweeping - Res	idential Stree			<u>\$15.58</u>	
292 Morningside Cir	BLK 1	Citywide Street Lighti	ing	0.59	38.00	\$22.42	
St Paul MN 55119-5369						\$38.00	
[*] 292 MORNINGSIDE CIR		*** Owner and Taxpa	iyer ***				
*Ward: 7			Total Assess	sment:	-	\$38.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$38.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Sandra J Anderson 284 Morningside Cir	AFTON HILL DEVELOPMENT LOT 3 BLK 1	Street Sweeping - Resi Citywide Street Lighti		0.41 0.59	40.00	\$16.40 \$23.60	11-28-22-11-0041
St Paul MN 55119-5369 *284 MORNINGSIDE CIR		*** Owner and Taxpa	yer ***			\$40.00	
*Ward: 7			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	BACCHUS AFTON HILLS LOT 1 BLK 1	Street Sweeping - Resi	dential Stree			<u> </u>	
275 Winthrop St S		Citywide Street Lighti		0.59	118.50	\$69.92	11-20-22-11-00+5
St Paul MN 55119-5300						\$118.51	
*275 WINTHROP ST S		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$118.51	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$118.51	
	BACCHUS AFTON HILLS LOT 2 BLK 1	Street Sweeping - Resi	dential Stree			<u>\$43.05</u>	
Elizabeth J Nygren		Citywide Street Lighti		0.59	105.00	\$61.95	11-20-22-11-0040
285 Winthorp St S			-			\$105.00	
St Paul MN 55119-5300		*** Owner and Taxpa	yer ***			\$100100	
*285 WINTHROP ST S			Total Assess	ment.		\$105.00	
*Ward: 7			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$105.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Virgil N Heroux	BACCHUS AFTON HILLS LOT 3 BLK 1	Street Sweeping - Reside		0.41	58.00	\$23.78	11-28-22-11-0047
Debora J Heroux		Citywide Street Lighting	ç.	0.59	58.00	\$34.22	
295 Winthrop St S						\$58.00	
St Paul MN 55119-5300		*** Owner and Taxpaye	r ***				
*295 WINTHROP ST S			Total Assessm	nent:		\$58.00	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$58.00	
	BACCHUS AFTON HILLS LOT 5 BLK 1	Street Sweeping - Reside	ential Stree			<u>\$46.33</u>	
Sophie C Rodrigues		Citywide Street Lighting		0.59	113.00	\$66.67	11-20-22-11-0047
2189 Londin Ln						\$113.00	
St Paul MN 55119-5301		*** Owner and Taxpaye	er ***			¢110100	
*2189 LONDIN LN			Total Assessn	nont:		\$113.00	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$113.00	
	BACCHUS AFTON HILLS LOT 6 BLK 1	Street Sweeping - Reside	ential Stree		94.00	\$38.54	
2191 Londin Ln		Citywide Street Lighting		0.59	94.00	\$55.46	11-28-22-11-0050
St Paul MN 55119-5301		,	,			\$94.00	
*2191 LONDIN LN		*** Owner and Taxpaye	er ***			\$74.00	
*Ward: 7		1 5			_	00100	
*Pending as of: 8/21/2020			Total Assessm			\$94.00 \$0.00	
C C			This Payment Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00 \$0.00	
			Payoff Amou			\$94.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Megas L Griggs Leroux	BACCHUS AFTON HILLS LOT 7 BLK 1	Street Sweeping - Resi		0.41	84.00	\$34.44	11-28-22-11-0051
Jon Leroux		Citywide Street Lightin	ıg	0.59	84.00	\$49.56	
2193 Londin Ln E						\$84.00	
St Paul MN 55119-5301		*** Owner and Taxpay	/er ***				
2193 LONDIN LN			Total Assess	ment:		\$84.00	
Ward: 7			This Paymen	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$84.00	
Tyler Joseph Glasco	BACCHUS AFTON HILLS LOT 10 BLK	Street Sweeping - Resi	dential Stree			<u> </u>	
Gabrielle Elizabeth Glasco	1	Citywide Street Lightin	ıg	0.59	54.00	\$31.86	11 20 22 11 0001
296 Winthrop St S						\$54.00	
St Paul MN 55119-5300		*** Owner and Taxpay	/er ***				
*296 WINTHROP ST S			Total Assess	ment:		\$54.00	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$54.00	
	BACCHUS AFTON HILLS LOT 11 BLK	Street Sweeping - Resi	dential Stree			\$35.26	
604 Robert St S	1	Citywide Street Lightin		0.59	86.00	\$50.74	11-20-22-11-0035
St Paul MN 55107-2934						\$86.00	
286 WINTHROP ST S		*** Owner and Taxpay	/er ***			•	
*Ward: 7			Total Assess	ment:	-	\$86.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$86.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Allen J Kiel	WESTERGREN ADDITION LOT 1 BLK	Street Sweeping - Resid		0.41	113.00	\$46.33	11-28-22-11-0059
Kateri L Kiel	1	Citywide Street Lightin	Ig	0.59	113.00	\$66.67	
2201 Londin Ln						\$113.00	
St Paul MN 55119-6901		*** Owner and Taxpay	er ***				
*2201 LONDIN LN			Total Assessm	nent:		\$113.00	
Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$113.00	
	WESTERGREN ADDITION LOT 2 BLK	Street Sweeping - Resid	dential Stree	0.41			<u> </u>
Yolanda E Hill	1	Citywide Street Lightin	ıg	0.59	117.00	\$69.03	11 20 22 11 0000
2199 Londin Ln						\$117.00	
St Paul MN 55119-5301		*** Owner and Taxpay	er ***				
*2199 LONDIN LN			Total Assessm	nent:		\$117.00	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$117.00	
	COMMON INTEREST COMMUNITY	Street Sweeping - Resid	dential Stree	0.41			
Herman White	NUMBER 469 GLEN-DAWN	Citywide Street Lightin		0.59	22.00	\$12.98	11-20-22-11-0075
2218 Lower Afton Rd	TOWNHOMES LOT 2 BLK 2	-				\$22.00	
St Paul MN 55119-5020		*** Owner and Taxpay	ver ***			<i> </i>	
*2218 LOWER AFTON RD			Total Assessm	nent.		\$22.00	
*Ward: 7			This Payment			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$22.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Narayan Investments	SHAMROCK PLAZA SUBJ TO RD; LOT	Street Sweeping - Con	nmercial/Art	1.07	283.00	\$302.81	11-28-22-11-0086
2940 Linden Drive	2 BLK 1	Street Sweeping - Res		0.41	201.00	\$82.41	
New Brighton MN 55112-0064		Citywide Street Lighti	ng	0.59	484.00	\$285.56	
*275 MCKNIGHT RD S						\$670.78	
*Ward: 7		*** Owner and Taxpa	yer ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$670.78	
			This Paymer			\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$670.78	
David J Behrends	REGISTERED LAND SURVEY 225 ELY	Street Sweeping - Res	idential Stree		95.00	<u>\$38.95</u>	<u> </u>
Jodi L Behrends	95 16/100 FT OF TRACT E	Citywide Street Lighti		0.59	95.00	\$56.05	11-20-22-12-0004
2106 Lower Afton Rd						\$95.00	
St Paul MN 55119-5029		*** Owner and Taxpa	yer ***				
*2106 LOWER AFTON RD			Total Assess	ment:		\$95.00	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$95.00	
	REGISTERED LAND SURVEY 225	Street Sweeping - Res				\$39.36	
2151 Londin Ln	TRACT F	Citywide Street Lighti		0.59	96.00	\$56.64	11-20-22-12-0005
St Paul MN 55119-5301			0			\$96.00	
*2151 LONDIN LN		*** Owner and Taxpa	yer ***			\$2000	
*Ward: 7			Total Assess	ment:		\$96.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$96.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	REGISTERED LAND SURVEY 225 E 70	Street Sweeping - Res		0.41	70.00	\$28.70	11-28-22-12-0012
Marlys J Thell	FT OF TRACT A	Citywide Street Lighti	ing	0.59	70.00	\$41.30	
2134 Lower Afton Rd						\$70.00	
St Paul MN 55119-5029		*** Owner and Taxpa	iyer ***				
*2134 LOWER AFTON RD			Total Assessr	ment:		\$70.00	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$70.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41		\$45.10	
311 Burlington Rd	NO. 2, RAMSEY COUNTY, MINNESOTA PART OF LOT 37 SWLY	Citywide Street Lighti	ing	0.59	110.00	\$64.90	
St Paul MN 55119-5377	OF FOL DESC LINE; COM AT SW COR					\$110.00	
*311 BURLINGTON RD	SD LOT TH NE ON SE LINE 10 FT BEG TH NW PAR TO SW LINE SD LOT 37 60	*** Owner and Taxpa	iyer ***				
*Ward: 7			Total Assessr	nent:		\$110.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$110.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			\$32.80	
Tabatha F Barrett	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	80.00	\$47.20	11-20-22-12-0010
299 Burlington Rd	MINNESOTA PART OF LOT 37 LYING NELY OF FOL DESC LINE; COM AT					\$80.00	
St Paul MN 55119-5314	SW COR SD LOT TH NE ON SE L 10 FT	*** Owner and Taxpa	iyer ***			•	
*299 BURLINGTON RD	TO BEG TH NW PAR TO SW L SD LOT		Total Assessr	nent:		\$80.00	
*Ward: 7						\$0.00	
*Pending as of: 8/21/2020			This Payment: Current Year Principal:			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$80.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	sidential Stree	0.41	138.50	\$56.79	11-28-22-12-0021
Agnes W Muhia	NO. 2, RAMSEY COUNTY, MINNESOTA EX E 5 FT; LOT 43 &	Citywide Street Light	ing	0.59	138.50	\$81.72	
275 Burlington Rd St Paul MN 55119-5314	PART LYING ELY OF FOL DESC LINE; BEG ON SL OF LOT 42 10 FT E OF SW COR TH NWLY TO PT 45 FT S OF NW L	*** Owner and Taxpa	ayer ***			\$138.51	
*275 BURLINGTON RD	CORTINUEL TOTT 45 FT SOF INW L		Total Assess	nent:		\$138.51	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$138.51	
	TRACT C IN RLS 225 AND IN SD SEC	Street Sweeping - Res	sidential Stree			\$20.50	
2118 Lower Afton Rd	11 TN 28 RN 22, THE W 100 FT OF E 300 FT OF PART OF N 525 FT OF NW 1/4 OF	Citywide Street Light	ing	0.59	50.00	\$29.50	
St Paul MN 55119-5029	NE 1/4 LYING SLY OF LOWER AFTON					\$50.00	
*2118 LOWER AFTON RD	RD IN SEC 11 TN 28 RN 22	*** Owner and Taxpa	ayer ***				
*Ward: 7			Total Assess	nent:	-	\$50.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$50.00	
	FLEISCHHACKER ADDITION LOTS 6	Street Sweeping - Res	idential Stree			<u> </u>	
Lindsey C Power	& LOT 7 BLK 1	Citywide Street Light		0.59	69.00	\$40.71	11 20 22 10 0000
403 Totem Rd						\$69.00	
St Paul MN 55119-5345		*** Owner and Taxpa	ayer ***				
*403 TOTEM RD			Total Assess	nent:	-	\$69.00	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$69.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Daniel J Bollmann	FLEISCHHACKER ADDITION LOT 8	Street Sweeping - Res	idential Stree	0.41	62.00	\$25.42	11-28-22-13-0007
405 Totem Rd	BLK 1	Citywide Street Lighti	ing	0.59	62.00	\$36.58	
St Paul MN 55119-5345						\$62.00	
*405 TOTEM RD		*** Owner and Taxpa	yer ***				
Ward: 7			Total Assess	ment:		\$62.00	
Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$62.00	
		Street Sweeping - Res	idential Stree				<u> </u>
407 Totem Rd	OF LOT 10 LYING ELY OF A LINE	Citywide Street Lighti	ing	0.59	207.00	\$122.13	11 20 22 10 0000
St Paul MN 55119-5345	DESC AS; BEG AT AT N COR OF LOT 10 TH S TO POINT ON S LINE OF 10 &					\$207.00	
407 TOTEM RD	35.06 FT E OF W COR & ALL OF LOT 9 BLK 1	*** Owner and Taxpa	yer ***				
Ward: 7			Total Assess	ment:		\$207.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$207.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree				
Virginia M Jones	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	361.50	\$213.29	
65 Totem Rd	MINNESOTA LOTS 1 THRU LOT 10 BLK 2					\$361.51	
5t Paul MN 55119-5345		*** Owner and Taxpa	yer ***				
365 TOTEM RD			Total Assess	ment:		\$361.51	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$361.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 14
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Larry J Bresina	PARTS OF LOTS 4 AND LOT 5 LYING	Street Sweeping - Reside		0.41	66.00	\$27.06	11-28-22-13-0011
Beverly A Bresina	NELY OF FOL DESC L; COMM AT SELY COR SD LOT 5 TH SWLY	Citywide Street Lighting	5	0.59	66.00	\$38.94	
320 Burlington Rd St Paul MN 55119-5376	ALONG SELY L SD LOT 5 DIST 91.71 FT TO POB TH N 23 DEG 07 MIN 56 SEC W 127.05 FT TH N 12 DEG 12 MIN	*** Owner and Taxpaye	er ***			\$66.00	
* 310 BURLINGTON RD *Ward: 7			Total Assess			\$66.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
1 chung as 01. 6/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	int:		\$66.00	
Thomas Terrance Lingenfelter	LONDIN HILLS LOT 1 BLK 1	Street Sweeping - Comm	nercial/Art	1.07	32.50	\$34.78	11-28-22-14-0001
368 Londin Place		Street Sweeping - Reside		0.41	91.50	\$37.52	
St Paul MN 55119-6903		Citywide Street Lighting	g	0.59	124.00	\$73.17	
*368 LONDIN PL						\$145.47	
*Ward: 7		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$145.47	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	int:		\$145.47	
William T Mayer Sr	LONDIN HILLS LOT 3 BLK 1	Street Sweeping - Comm	nercial/Art	1.07		\$32.10	<u> </u>
Kathleen M Mayer		Street Sweeping - Reside	ential Stree	0.41	34.50	\$14.15	
380 Londin Pl		Citywide Street Lighting	ş	0.59	64.50	\$38.06	
St Paul MN 55119-6903						\$84.31	
*380 LONDIN PL		*** Owner and Taxpaye	r ***				
*Ward: 7			Total Assess	ment:		\$84.31	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	int:		\$84.31	

10:54:40 11/16/2020	Public Improvement Assessment Rol		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	<u>I</u>	Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Donald A Mccollough Luann L Mccollough	LONDIN HILLS LOT 5 BLK 1	Street Sweeping - Resider Citywide Street Lighting	ntial Stree	0.41 0.59	40.00	\$16.40 \$23.60	11-28-22-14-0005
388 Londin Pl St Paul MN 55119-6903		*** Owner and Taxpayer	***			\$40.00	
*388 LONDIN PL		- 1	Fotal Assessme	ent:		\$40.00	
*Ward: 7		Г	This Payment:			\$0.00	
*Pending as of: 8/21/2020		(Current Year Pr	rincipal:		\$0.00	
		(Current Year In	terest:		\$0.00	
		F	Payoff Amount	t:		\$40.00	
Pamela J Christner	LONDIN HILLS LOT 6 BLK 1	Street Sweeping - Resider	ntial Stree	0.41		<u>\$15.58</u>	
John D Christner		Citywide Street Lighting		0.59	38.00	\$22.42	11-28-22-14-0000
389 Londin Pl						\$38.00	
St Paul MN 55119-6903		*** Owner and Taxpayer	***				
*389 LONDIN PL		- T	Fotal Assessme	ent:		\$38.00	
*Ward: 7		Г	This Payment:			\$0.00	
*Pending as of: 8/21/2020		(Current Year Pr	rincipal:		\$0.00	
		(Current Year In	iterest:		\$0.00	
		F	Payoff Amount	t:		\$38.00	
	LONDIN HILLS LOT 8 BLK 1	Street Sweeping - Resider	ntial Stree	0.41		<u>\$27.88</u>	
381 Londin Place		Citywide Street Lighting		0.59	68.00	\$40.12	11-28-22-14-0008
St Paul MN 55119-6903							
*381 LONDIN PL		*** Owner and Taxpayer	***			\$68.00	
*Ward: 7		- T	Fotal Assessme	ent:		\$68.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
		F	Payoff Amount	t:		\$68.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll		oject: 2020SMSP solution #:	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Brandon T Beeman	LONDIN HILLS LOT 11 BLK 1	Street Sweeping - Residentia		94.50	\$38.75	11-28-22-14-0011
368 Londin Cir		Citywide Street Lighting	0.59	94.50	\$55.76	
St Paul MN 55119-3404					\$94.51	
368 LONDIN CIR		*** Owner and Taxpayer **	*			
Ward: 7		Tota	al Assessment:	-	\$94.51	
Pending as of: 8/21/2020		This	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$94.51	
Tallie A Fitzgerald	LONDIN HILLS LOT 12 BLK 1	Street Sweeping - Residentia			<u>\$26.65</u>	
374 Londin Cir		Citywide Street Lighting	0.59	65.00	\$38.35	11-20-22-14-0012
St Paul MN 55119-6902				—	\$65.00	
*374 LONDIN CIR		*** Owner and Taxpayer **	*		<i>Q</i> OOOO	
*Ward: 7		Tota	al Assessment:		\$65.00	
*Pending as of: 8/21/2020		This	s Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Cur	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$65.00	
	LONDIN HILLS LOT 13 BLK 1	Street Sweeping - Residentia	1 Streε 0.41	<u> </u>	\$25.83	<u> </u>
380 Londin Cir		Citywide Street Lighting	0.59	63.00	\$37.17	11-20-22-14-0013
St Paul MN 55119-6902				—	\$63.00	
380 LONDIN CIR		*** Owner and Taxpayer **	*		<i>000000</i>	
Ward: 7		Tot	al Assessment:	-	\$63.00	
Pending as of: 8/21/2020			s Payment:		\$0.00	
			rent Year Principal:		\$0.00	
			rent Year Interest:		\$0.00	
		Pav	off Amount:		\$63.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll		roject: 2020SMSP esolution #:	Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Brian J Peters 388 Londin Cir	LONDIN HILLS LOT 15 BLK 1	Street Sweeping - Residenti Citywide Street Lighting	al Stree 0.41 0.59	40.00	\$16.40 \$23.60	11-28-22-14-0015
St Paul MN 55119-6902 * 388 LONDIN CIR		*** Owner and Taxpayer *	**		\$40.00	
Ward: 7		To	tal Assessment:		\$40.00	
Pending as of: 8/21/2020		Th	is Payment:		\$0.00	
		Cu	rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$40.00	
		Street Sweeping - Residenti	al Stree 0.41	<u> </u>	<u> </u>	
Jennifer Juergens Cleary		Citywide Street Lighting	0.59	62.00	\$36.58	11-20-22-14-0019
73 Londin Cir				_	\$62.00	
St Paul MN 55119-6902		*** Owner and Taxpayer **	**			
*373 LONDIN CIR		To	tal Assessment:		\$62.00	
Ward: 7		Th	is Payment:		\$0.00	
Pending as of: 8/21/2020		Cu	rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$62.00	
	LONDIN HILLS LOT 20 BLK 1	Street Sweeping - Residenti	al Stree 0.41		<u>\$45.93</u>	<u> </u>
Jancy F Priestley		Citywide Street Lighting	0.59	112.00	\$66.09	11-20-22-14-0020
67 Londin Cir				—	\$112.02	
t Paul MN 55119-6902		*** Owner and Taxpayer *	**		• -	
367 LONDIN CIR		To	tal Assessment:		\$112.02	
Ward: 7			is Payment:		\$0.00	
Pending as of: 8/21/2020			rrent Year Principal:		\$0.00	
			rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$112.02	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>l</u>	U nit Rate	Quantity	Charge Amts	<u>Property ID</u>
Independent School District No 625	SECTION 11 TOWN 28 RANGE 22 EX E	Street Sweeping - Resid		0.41	343.00	\$140.63	11-28-22-14-0022
360 Colborne St	60 FT OF PART OF W 1/4 OF E 1/2 OF NE 1/4 LYING N OF A LINE RUN W AT	Citywide Street Lightin	ıg	0.59	539.00	\$318.01	***EXEMPT***
St Paul MN 55102-3299 * 2192 LONDIN LN	RA FROM POINT ON E LINE OF SD W 1/4 & 333 FT S FROM SLY LINE OF LONDIN LANE & EX S 340 FT OF W	*** Owner and Taxpay	/er ***			\$458.64	
*Ward: 7	LONDIN LANE & EX 5 54011 OF W		Total Assessme	ent:		\$458.64	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	terest:		\$0.00	
			Payoff Amoun	t:		\$458.64	
	SECTION 11 TOWN 28 RANGE 22 S	Citywide Street Lightin		0.59		\$23.60	
2165 Mailand Rd	340 FT OF W 131 5/10 FT OF SE 1/4 OF	, ,	0			\$23.60	11-20-22-14-0025
St Paul MN 55119-5304	NE 1/4 (SUBJ TO RD) IN SEC 11 TN 28 RN 22	*** Owner and Taxpay	/er ***			\$25.00	
*2165 MAILAND RD			Total Assessme	ent:		\$23.60	
Ward: 7			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year Pr	rincipal:		\$0.00	
			Current Year In	terest:		\$0.00	
			Payoff Amoun	t:		\$23.60	
	SECTION 11 TOWN 28 RANGE 22 SUBJ	Citywide Street Lightin	ng	0.59		<u> </u>	
Katie M Kubovcik	TO MAILAND RD THE W 134 FT OF E	eng mae su eer Eiginn	-8	0107		\$79.06	11-20-22-14-0024
2195 Mailand Rd St Paul MN 55119-5304	1/2 OF SW 1/4 OF SE 1/4 OF NE 1/4 OF SEC 11 TN 28 RN 22	*** Owner and Taxpay	/er ***			\$79.06	
			Total Assessme	ent:		\$79.06	
2185 MAILAND RD			This Payment:			\$0.00	
Ward: 7			Current Year Pr	rincipal:		\$0.00	
Pending as of: 8/21/2020			Current Year In	terest:		\$0.00	
			Payoff Amount	t:		\$79.06	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Preston D Wright	SECTION 11 TOWN 28 RANGE 22 EX S	Street Sweeping - Cor		1.07	44.00	\$47.08	11-28-22-14-0037
395 Mcknight Rd S	180 FT OF E 165 FT; THE N 220 FT OF S 782 FT OF E 1/2 OF SE 1/4 OF NE 1/4	Citywide Street Lighti	ing	0.59	44.00	\$25.96	
St Paul MN 55119-6912	(SUBJ TO RDS) IN SEC 11 TN 28 RN 22					\$73.04	
*395 MCKNIGHT RD S		*** Owner and Taxpa	ayer ***				
*Ward: 7			Total Assess	ment:		\$73.04	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$73.04	
Richard Swanson	SECTION 11 TOWN 28 RANGE 22 THE	Street Sweeping - Cor				<u> </u>	
2023 Schulenberg Aly	N 170 FT OF S 952 FT OF E 1/2 OF SE	Citywide Street Lighti	ing	0.59	170.00	\$100.30	
Stillwater MN 55082-4269	1/4 OF NE 1/4 (SUBJ TO RD) IN SEC 11 TN 28 RN 22					\$282.20	
*391 MCKNIGHT RD S		*** Owner and Taxpa	ayer ***				
*Ward: 7			Total Assess	ment:		\$282.20	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$282.20	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Cor				<u> </u>	
25 4th St W Rm 1000	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	280.00	\$165.20	***EXEMPT***
St Paul MN 55102-1692	MINNESOTA EX WIDENED AFTON RD LOTS 13 THRU LOT 17 BLK 1					\$464.80	
*1940 LOWER AFTON RD		*** Owner and Taxpa	ayer ***				
*Ward: 7			Total Assess	ment:	-	\$464.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$464.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
— — — — — — — — — — — — — — — — — — —	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	111.00	\$45.51	11-28-22-24-0003
361 Burlington Rd	NO. 2, RAMSEY COUNTY, MINNESOTA LOTS 24 AND LOT 25	Citywide Street Lighti	ing	0.59	111.00	\$65.49	
St Paul MN 55119-5377	BLK 1					\$111.00	
*361 BURLINGTON RD		*** Owner and Taxpa	iyer ***				
*Ward: 7			Total Assess	ment:		\$111.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$111.00	
 Lori H James	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u> </u>	
Kirsten Obermeyer	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti	ing	0.59	150.00	\$88.50	
351 Burlington Rd	MINNESOTA LOTS 26 27 AND LOT 28 BLK 1					\$150.00	
St Paul MN 55119-5377		*** Owner and Taxpa	iyer ***				
*351 BURLINGTON RD			Total Assess	ment		\$150.00	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$150.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res					
Shana Ramos	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	100.00	\$59.00	11-28-22-24-0007
317 Burlington Rd	MINNESOTA LOTS 33 AND LOT 34		8			\$100.00	
St Paul MN 55119-5377	BLK 1	*** Owner and Taxpa	aver ***			\$100.00	
*317 BURLINGTON RD		1			-	£100.00	
*Ward: 7			Total Assess			\$100.00 \$0.00	
*Pending as of: 8/21/2020			This Paymen Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00 \$0.00	
			Payoff Amor			\$0.00 \$100.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Margaret K Ackerman	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree	0.41	83.00	\$34.03	11-28-22-24-0010
348 Burlington Rd	NO. 2, RAMSEY COUNTY, MINNESOTA VAC ALLEY ACCRUING	Citywide Street Lightin	ng	0.59	83.00	\$48.97	
St Paul MN 55119-5376	AND FOL PART E OF A L RUN S AT RA					\$83.00	
*348 BURLINGTON RD	TO NLY L OF LOT 8 FROM PT THEREON 22 FT E FROM NW COR OF	*** Owner and Taxpa	yer ***				
Ward: 7	mereov 22 FT ETROM IVW COR OF		Total Assess	ment:		\$83.00	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$83.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree			<u>\$60.27</u>	
Shawna M Gallagher	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin	ng	0.59	147.00	\$86.73	
80 Burlington Rd	MINNESOTA N 1/2 OF VAC ALLEY ACCRUING & ALL OF LOTS 10 11 &					\$147.00	
5t Paul MN 55119-5376	LOT 12 BLK 3	*** Owner and Taxpa	yer ***				
380 BURLINGTON RD			Total Assess	ment:		\$147.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$147.00	
Edward W Beddow	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree		99.00	<u>\$40.59</u>	
Cynthia H Beddow	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin		0.59	99.00	\$58.41	11-20-22-24-0010
08 Burlington Rd	MINNESOTA NWLY 1/2 OF VAC ALLEY ADJ AND FOL LOTS 4 AND					\$99.00	
t Paul MN 55119-5316	LOT 5 BLK 5	*** Owner and Taxpay	yer ***			*****	
408 BURLINGTON RD			Total Assess	ment		\$99.00	
Ward: 7			This Paymen			\$99.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$99.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Marcel Chevrette	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41	62.00	\$25.42	11-28-22-24-0018
Monica Chevrette	NO. 2, RAMSEY COUNTY, MINNESOTA PART OF LOT 7 LYING	Citywide Street Lighti	ng	0.59	62.00	\$36.58	
426 Burlington Rd St Paul MN 55119-5316	SLY OF A LINE RUN FROM POINT ON W LINE OF & 10 FT N FROM SW COR THEREOF TO POINT ON E LINE OF &	*** Owner and Taxpa	yer ***			\$62.00	
*426 BURLINGTON RD	THEREOF TO FOINT ON E LINE OF &		Total Assess	ment:	-	\$62.00	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$62.00	
Robert J Lawrence	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u>\$28.29</u>	
439 Totem Rd	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti	ing	0.59	69.00	\$40.71	11 20 22 21 0020
St Paul MN 55119-5345	MINNESOTA VAC ALLEY ACCRUING & NELY 3 FT OF LOT 18 BLK 5. ALSO					\$69.00	
*439 TOTEM RD	ALL THAT PART OF VAC ROCKWOOD AVE LYING SELY OF EXTENDED CL	*** Owner and Taxpa	yer ***			-	
*Ward: 7			Total Assess	ment:		\$69.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$69.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u>\$21.32</u>	
135 Totem Rd	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	52.00	\$30.68	11-20-22-24-0027
t Paul MN 55119-5345	MINNESOTA SLY 1/2 OF VAC ALLEY ACCRUING & FOL; LOT 15 BLK 3					\$52.00	
435 TOTEM RD		*** Owner and Taxpa	yer ***				
Vard: 7			Total Assess	ment:		\$52.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$52.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Patrick A Stiller	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	40.00	\$16.40	11-28-22-24-0029
Melissa R Parker	NO. 2, RAMSEY COUNTY, MINNESOTA SLY 1/2 OF VAC ALLEY	Citywide Street Light	ing	0.59	40.00	\$23.60	
425 Totem Rd	ACCRUING & FOL; LOT 17 BLK 3					\$40.00	
St Paul MN 55119-5345		*** Owner and Taxpa	ayer ***				
*425 TOTEM RD			Total Assess	ment:	-	\$40.00	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	
		Street Sweeping - Res	idential Stree			<u> </u>	<u> </u>
Brian Brauch	PART OF NW 1/4 DESC AS FOL COM	Citywide Street Light	ing	0.59	131.00	\$77.29	
438 Totem Rd	ON E L OF & 635 FT N OF SE COR OF SD 1/4 TH N 79 2/3 DEG W 432.48 FT					\$131.00	
St Paul MN 55119-5346	TO E LINE OF TOTEM RD FOR BEG TH	*** Owner and Taxpa	ayer ***				
*438 TOTEM RD	S 79 2/3 DEG E 135.48 FT TH S 06 DEG		Total Assess	nent:		\$131.00	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	ınt:		\$131.00	
Harold M Chesshir		Street Sweeping - Res	idential Stree			<u>\$65.60</u>	
Gloria P Chesshir	ON E L OF AND 250 FT N FROM SE	Citywide Street Light		0.59	160.00	\$94.40	11-20-22-24-0043
466 Burlington Rd	COR OF NW 1/4 TH N 65 FT TH S 87 DEG 51 MIN W TO BURLINGTON RD	, ,	C			\$160.00	
St Paul MN 55119-5378	TH SELY THEREON TO PT 200 FT	*** Owner and Taxpa	ayer ***			\$100.00	
*466 BURLINGTON RD	NWLY FROM S L OF SD 1/4 TH NELY	1			-	¢1(0,00	
*Ward: 7			Total Assess			\$160.00 \$0.00	
Pending as of: 8/21/2020			This Paymen Current Year			\$0.00 \$0.00	
			Current Year	1		\$0.00	
			Payoff Amor			\$160.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
ames D Campbell	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	105.00	\$43.05	11-28-22-24-0045
Lisa A Campbell	NO. 2, RAMSEY COUNTY, MINNESOTA PART OF LOT A W OF	Citywide Street Lighti	ing	0.59	105.00	\$61.95	
024 Oakridge St	ADJ AND FOL PART OF LOT 48 LYING					\$105.00	
t Paul MN 55119-5329	SLY OF FOL DESCRIBED L BEG AT NE COR OF SD LOT 48 TH SLY ALONG E	*** Owner and Taxpa	iyer ***				
479 BURLINGTON RD			Total Assess	ment:	-	\$105.00	
Ward: 7			This Paymen	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$105.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u> </u>	
lizabeth A Curtner	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti	ing	0.59	84.00	\$49.56	
65 Burlington Rd	MINNESOTA EX S 15 FT OF LOT 51 & EX PART OF LOTS 53 & 54 NLY OF A					\$84.00	
t Paul MN 55119-5370	LINE BEG ON NE LINE OF LOT 53 &	*** Owner and Taxpa	ayer ***				
465 BURLINGTON RD	10 FT NLY FROM THE MOST ELY COR,		Total Assess	nent:	<u>_</u>	\$84.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$84.00	
ergio Ortega Guzman	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree		42.00	<u>\$17.22</u>	
ili Flores Guzman	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	42.00	\$24.78	11-20-22-24-0030
57 Mystic St	MINNESOTA EX NELY 8 FT LOT 46 BLK 7		-			\$42.00	
t Paul MN 55119-5333		*** Owner and Taxpa	iyer ***			ψ12.00	
457 MYSTIC ST		Ĩ				£42.00	
Ward: 7			Total Assess This Paymen			\$42.00 \$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$42.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jolea Gress	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	60.00	\$24.60	11-28-22-24-0059
453 Mystic St	NO. 2, RAMSEY COUNTY, MINNESOTA NELY 8 FT OF LOT 46	Citywide Street Lighti	ng	0.59	60.00	\$35.40	
St Paul MN 55119-5333	AND ALL OF LOT 47 BLK 7					\$60.00	
*453 MYSTIC ST		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$60.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$60.00	
Christopher J Gerber	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41		\$45.31	
457 Burlington Rd	NO. 2, RAMSEY COUNTY, MINNESOTA PART OF LOT 49 LYING	Citywide Street Lighti	ng	0.59	110.50	\$65.20	
St Paul MN 55119-5313	ELY OF FOL DESC LINE; BEG AT NE					\$110.51	
*457 BURLINGTON RD	COR OF LOT 49 TH SWLY TO PT ON SL SD LOT 28FT W OF SE COR SD LOT &	*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$110.51	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$110.51	
Larry E Cain	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree				
Michele A Cain	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti	ng	0.59	100.00	\$59.00	11 20 22 21 0001
55 Burlington Rd	MINNESOTA PART OF LOT 49 LYING WLY OF FOL DESC LINE; BEG AT NE					\$100.00	
St Paul MN 55119-5313	COR OF LOT 49 TH SWLY TO PT ON SL	*** Owner and Taxpa	yer ***				
*455 BURLINGTON RD	SD LOT 28 FT W OF SE COR SD LOT &		Total Assess	ment:		\$100.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$100.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Peter J Conlin	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	50.00	\$20.50	11-28-22-24-0063
451 Burlington Rd	NO. 2, RAMSEY COUNTY, MINNESOTA LOT 52 BLK 7	Citywide Street Lighti	ng	0.59	50.00	\$29.50	
St Paul MN 55119-5313		*** 0 17	ala ala ala			\$50.00	
451 BURLINGTON RD		*** Owner and Taxpa	yer ***		_		
Ward: 7			Total Assess	ment:		\$50.00	
Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$50.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41	50.00	\$20.50	
Zong Thao	NO. 2, RAMSEY COUNTY, MINNESOTA LOT 53 BLK 7	Citywide Street Lighti	ng	0.59	50.00	\$29.50	
149 Burlington Rd	WINNESOTA LOT 55 BEK /					\$50.00	
St Paul MN 55119-5313		*** Owner and Taxpa	yer ***				
449 BURLINGTON RD			Total Assess	ment:	-	\$50.00	
Ward: 7			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$50.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u> </u>	
Ronald L Muller	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	99.00	\$58.41	11-20-22-24-0000
05 Burlington Rd	MINNESOTA EX NE PT OF LOT 8 MEAS 80FT ON EL & 75 FT ON WL &		-			\$99.00	
t Paul MN 55119-5313	EX NE TRI PT OF LOT 1 MEAS 75 FT	*** Owner and Taxpa	yer ***			<i>\$77.</i> 00	
405 BURLINGTON RD	ON EL & 117 FT ON NL; PT OF BLK 4 N	-	Total Assess	mont		\$99.00	
Ward: 7			Total Assess This Paymer			\$99.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$99.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	sidential Stree	0.41	108.00	\$44.28	11-28-22-24-0068
Elizabeth A Webster	NO. 2, RAMSEY COUNTY, MINNESOTA VAC ALLEY &	Citywide Street Light	ing	0.59	108.00	\$63.72	
109 Burlington Rd	EDGEWOOD PL ACCRUING & FOL;					\$108.00	
5t Paul MN 55119-5313	PART OF BLK 4 DESC AS BEG AT SW COR OF LOT 3 BLK 4 TH N ON WL 100	*** Owner and Taxpa	ayer ***				
409 BURLINGTON RD	COROL EOLS BER THIN ON WE NO		Total Assess	ment:		\$108.00	
Ward: 7			This Paymen	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$108.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	sidential Stree			\$39.36	
82 Point Douglas Rd S	NO. 2, RAMSEY COUNTY,	Citywide Street Light		0.59	96.00	\$56.64	11 20 22 21 0070
t Paul MN 55119-5368	MINNESOTA SUBJ TO ESMTS; LOTS 14 & LOT 15 BLK 6					\$96.00	
482 POINT DOUGLAS RD S		*** Owner and Taxpa	ayer ***				
Ward: 7			Total Assess	ment:		\$96.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$96.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	sidential Stree			<u>\$40.18</u>	
achael Goblirsch	NO. 2, RAMSEY COUNTY,	Citywide Street Light		0.59	98.00	\$57.82	11 20 22 21 0001
35 Burlington Rd	MINNESOTA VAC ST ACCRUING & LOT 5 BLK 4 & LOTS 37 & LOT 38 BLK					\$98.00	
t Paul MN 55119-5313	6	*** Owner and Taxpa	ayer ***				
435 BURLINGTON RD			Total Assess	ment:	-	\$98.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$98.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pa
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
David Johnson	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi		0.41	225.00	\$92.25	11-28-22-24-0082
464 Point Douglas Rd S	NO. 2, RAMSEY COUNTY, MINNESOTA SUBJ TO ESMTS; THAT	Citywide Street Lightir	ng	0.59	225.00	\$132.75	
St Paul MN 55119-5368 *464 POINT DOUGLAS RD S	PART OF LOT 12 & LOT30 LYING NLY OF SLY 30 FT THEREOF AND ALL OF LOTS 8,9,10,11,31,32 & 33 ALL IN BLK	*** Owner and Taxpay	yer ***			\$225.00	
*Ward: 7	LOIS 6,9,10,11,51,52 & 55 ALL IN BLK		Total Assessm	ent:		\$225.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$225.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resid	idential Stree	0.41	92.00		
Reinhardt Rosson	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin	ng	0.59	92.00	\$54.28	
491 Burlington Rd	MINNESOTA PART OF LOT A LYING BET EXTENDED S LINE OF LOT 42 &					\$92.00	
St Paul MN 55119-5370	THE EXTENDED N LINE OF LOT 44.	*** Owner and Taxpay	yer ***				
*491 BURLINGTON RD	ALSO, EX N 44 FT; LOT 44 & EX S 5 FT;		Total Assessm	ent:		\$92.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	ıt:		\$92.00	
Xochitl Barragan Huerta	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resid	dential Stree	0.41		<u>\$24.60</u>	
4800 Centerville Rd Unit 222	NO. 2, RAMSEY COUNTY,	Citywide Street Lightir		0.59	60.00	\$35.40	11-20-22-31-0004
St Paul MN 55127-2216	MINNESOTA S 5 FT OF LOT 42 & PART OF LOT A LYING S OF EXTENDED N		-			\$60.00	
*495 BURLINGTON RD	LINE OF LOT 41 & LYING NELY OF A LINE RUN NWLY FROM SW COR OF	*** Owner and Taxpay	yer ***			\$00.00	
*Ward: 7			Total Assessm	ent:		\$60.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$60.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Julie Borgerding	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	41.00	\$16.81	11-28-22-31-0008
505 Burlington Rd	NO. 2, RAMSEY COUNTY, MINNESOTA SUBJ TO RD; THE FOL	Citywide Street Lighti	ng	0.59	41.00	\$24.19	
St Paul MN 55119-5315 *505 BURLINGTON RD	TRACT; PART OF LOT 33 LYING NLY OF LINE RUN FROM NE COR OF SD LOT TO POINT ON W LINE OF & 11 FT	*** Owner and Taxpa	yer ***			\$41.00	
*Ward: 7			Total Assess	ment:		\$41.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$41.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree				<u> </u>
515 Burlington Rd	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti	ing	0.59	86.00	\$50.74	
St Paul MN 55119-5315	MINNESOTA LOT 32 & THE FOL; PART OF LOT 33 LYING S OF LINE					\$86.00	
* 515 BURLINGTON RD *Ward: 7	RUN FROM NE COR OF SD LOT 33 TO PT ON W L OF & 11 FT S FROM NW	*** Owner and Taxpa	yer ***				
* ward: 7 *Pending as of: 8/21/2020			Total Assess			\$86.00	
1 chung as 01. 8/21/2020			This Paymer			\$0.00	
			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$86.00	
Rosemary E Johnston	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree				11-28-22-31-0014
4460 Highway 20	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	80.00	\$47.20	11-20-22-51-0014
Phil Campbell AL 35581-5041	MINNESOTA LOTS 20, 30 & LOT 31 BLK 8					\$80.00	
*517 BURLINGTON RD		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$80.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$80.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Guy Baldwin	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	156.00	\$63.96	11-28-22-31-0017
Susan Johanson	NO. 2, RAMSEY COUNTY, MINNESOTA WITH ESMTS PART OF	Citywide Street Lighti	ing	0.59	156.00	\$92.04	
533 Burlington Rd	LOTS 21 THRU 25 SELY OF A L RUN					\$156.00	
t Paul MN 55119-5315	PAR WITH SELY L OF LOT 28 AND PASSING THRU NE COR OF SD LOT 25	*** Owner and Taxpa	ayer ***				
533 BURLINGTON RD			Total Assessr	nent:		\$156.00	
Ward: 7			This Payment	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$156.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	sidential Stree			\$36.49	
beth A Woodiwiss	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti	ing	0.59	89.00	\$52.51	11 20 22 01 0007
00 Point Douglas Rd S	MINNESOTA EX SLY 10 FT; LOT 20 & ALL OF LOT 19 BLK 6					\$89.00	
t Paul MN 55119-5371		*** Owner and Taxpa	ayer ***				
500 POINT DOUGLAS RD S			Total Assessr	nent:		\$89.00	
Ward: 7			This Payment			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$89.00	
Shelley R Kortuem	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	sidential Stree			<u>\$45.10</u>	
08 Point Douglas Rd S	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	110.00	\$64.90	11-20-22-31-0038
t Paul MN 55119-5371	MINNESOTA SLY 10 FT OF LOT 20 & ALL OF LOTS 21 & LOT 22 BLK 6	, ,	5			\$110.00	
508 POINT DOUGLAS RD S	ALL OF LOTS 21 & LOT 22 BLK 0	*** Owner and Taxpa	ayer ***			\$110.00	
Ward: 7			Total Assessr	ment:		\$110.00	
Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$110.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Viktar Lesnikou	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resid		0.41	50.00	\$20.50	11-28-22-31-0042
572 Point Douglas Rd S	NO. 2, RAMSEY COUNTY, MINNESOTA N 50 FT OF S 1718 8/10	Citywide Street Lightin	g	0.59	50.00	\$29.50	
St Paul MN 55119-5338	FT OF LOT A AND ALL OF LOT 3 BLK					\$50.00	
*572 POINT DOUGLAS RD S	9	*** Owner and Taxpay	er ***				
*Ward: 7			Total Assess	ment:		\$50.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$50.00	
	BURLINGTON HEIGHTS, DIVISION	Citywide Street Lightin					<u> </u>
Jennifer K Anderson	NO. 2, RAMSEY COUNTY,					\$89.09	11 20 22 01 0002
484 Mystic St	MINNESOTA VAC ST ACCRUING & EX S 10 FT, LOT 6 & ALL OF LOTS 4 & LOT	*** Owner and Taxpay	er ***				
St Paul MN 55119-5340	5 BLK 8		Total Assess	ment		\$89.09	
*484 MYSTIC ST			This Paymer			\$0.00	
*Ward: 7			Current Year			\$0.00	
*Pending as of: 8/21/2020			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$89.09	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resid	lential Stree			<u>\$61.50</u>	
Lynne M Elshaug	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin		0.59	150.00	\$88.50	11-20-22-51-0000
728 Point Douglas Rd S	MINNESOTA PART OF SLY 1668.8 FT OF LOT A LYING NLY OF EXTENDED					\$150.00	
St Paul MN 55119-5338	SLY L OF LOT 6 & ALL OF LOTS	*** Owner and Taxpay	er ***				
*578 POINT DOUGLAS RD S	4,5,6,66 AND LOT 68 BLK 9		Total Assess	ment:		\$150.00	
*Ward: 7			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year Principal: Current Year Interest:			\$0.00	
						\$0.00	
			Payoff Amo	unt:		\$150.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Joanne Sanderson	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41	120.00	\$49.20	11-28-22-31-0074
528 Point Douglas Rd S	NO. 2, RAMSEY COUNTY, MINNESOTA VAC ST ADJ AND FOL	Citywide Street Lighti	ng	0.59	120.00	\$70.80	
St Paul MN 55119-5371	LOTS 25 AND LOT 26 BLK 6					\$120.00	
*528 POINT DOUGLAS RD S		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$120.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$120.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u>\$15.17</u>	11-28-22-34-0001
555 Burlington Rd	NO. 2, RAMSEY COUNTY, MINNESOTA PART OF BLK 10 S AND	Citywide Street Lighti	ng	0.59	37.00	\$21.83	
St Paul MN 55119-5315 * 555 BURLINGTON RD	E OF L RUN FROM W COR OF LOT 24 TO PT ON W L OF AND 35 FT FROM	*** Owner and Taxpa	yer ***			\$37.00	
*Ward: 7	NW COR OF SW 1/4 OF SE 1/4 OF SEC		Total Assess	ment:		\$37.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$37.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u> </u>	
Mary M Huot	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	35.00	\$20.65	11 20 22 01 0022
2065 Elmwood St	MINNESOTA SLY 68.8 FT OF LOT A & ALL OF LOT 37 BLK 13 & LOT 36 BLK					\$83.79	
St Paul MN 55119-5323	9	*** Owner and Taxpa	yer ***				
2065 ELMWOOD ST			Total Assess	ment:		\$83.79	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$83.79	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Christopher J Sovde	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	60.00	\$24.60	11-28-22-34-0023
710 Point Douglas Rd S	NO. 2, RAMSEY COUNTY, MINNESOTA N 60 FT OF S 128 80/100	Citywide Street Lighti	ing	0.59	60.00	\$35.40	
St Paul MN 55119-5338	FT OF LOT A AND SLY 10 FT OF LOT					\$60.00	
*710 POINT DOUGLAS RD S	34 AND ALL OF LOT 35 BLK 9	*** Owner and Taxpa	iyer ***				
*Ward: 7			Total Assess	ment:		\$60.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$60.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41	103.00	\$42.23	
Tsavzoo Moua	NO. 2, RAMSEY COUNTY, MINNESOTA NO PART OF LOT A ADJ	Citywide Street Lighti	ing	0.59	103.00	\$60.77	
686 Point Douglas Rd S	AND LOTS 29 AND LOT 30 BLK 9					\$103.00	
St Paul MN 55119-5338		*** Owner and Taxpa	iyer ***				
*686 POINT DOUGLAS RD S			Total Assess	ment:		\$103.00	
*Ward: 7			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$103.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u>\$61.50</u>	
674 Point Douglas Rd S	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	150.00	\$88.50	11-20-22-34-0027
St Paul MN 55119-5338	MINNESOTA LOT A ADJ AND FOL LOTS 26 27 AND LOT 28 BLK 9					\$150.00	
*674 POINT DOUGLAS RD S	2010 202, 1110 E01 20 BER /	*** Owner and Taxpa	ayer ***			<i>Q</i> 10000	
*Ward: 7			Total Assess	mont		\$150.00	
*Pending as of: 8/21/2020			This Paymen			\$150.00 \$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$150.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Margrette Shannon	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree	0.41	99.00	\$40.59	11-28-22-34-0029
654 Point Douglas Rd S	NO. 2, RAMSEY COUNTY, MINNESOTA LOTS 21 AND LOT 22	Citywide Street Lightin	ng	0.59	99.00	\$58.41	
St Paul MN 55119-5338	BLK 9					\$99.00	
*654 POINT DOUGLAS RD S		*** Owner and Taxpa	yer ***				
Ward: 7			Total Assess	ment:		\$99.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$99.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree			<u>\$45.10</u>	
Cheng X Vang	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin		0.59	110.00	\$64.90	11-20-22-34-0032
514 Point Douglas Rd S	MINNESOTA LOTS B 13 AND LOT 14 BLK 9					\$110.00	
5t Paul MN 55119-5338		*** Owner and Taxpay	yer ***				
614 POINT DOUGLAS RD S			Total Assess	ment		\$110.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$110.00	
Gary T Bollmann	SECTION 11 TOWN 28 RANGE 22 SUBJ	Street Sweeping - Com				\$206.51	
Amy C Bollmann	TO MAILAND AND MC KNIGHT RDS	Citywide Street Lightin		0.59	482.00	\$284.38	11-20-22-41-0001
03 Mcknight Rd S	THE N 218 FT OF E 1/2 OF NE 1/4 OF NE 1/4 OF SE 1/4 OF SEC 11 TN 28 RN		-			\$490.89	
t Paul MN 55119-6911	22	*** Owner and Taxpa	yer ***			φ170.07	
503 MCKNIGHT RD S			Total Assess	mont.		\$490.89	
Ward: 7			Total Assess This Paymen			\$490.89 \$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amor			\$ 490.89	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
John E Luckfield	SECTION 11 TOWN 28 RANGE 22 EX N	Street Sweeping - Comm		1.07	70.00	\$74.90	11-28-22-41-0006
Kathy W Luckfield	588 FT; THE E 1/2 OF NE 1/4 OF NE 1/4 OF SE 1/4 & THE N 12 FT OF E 1/2 OF	Citywide Street Lighting	5	0.59	70.00	\$41.30	
45 Mcknight Rd S	SE 1/4 OF NE 1/4 OF SE 1/4 (SUBJ TO					\$116.20	
t Paul MN 55119-6911	RD) IN SEC 11 TN 28 RN 22	*** Owner and Taxpaye	r ***				
545 MCKNIGHT RD S			Total Assess	ment:		\$116.20	
Ward: 7			This Payment	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$116.20	
Leonard N Anderson	SECTION 11 TOWN 28 RANGE 22 EX S	Street Sweeping - Comn	nercial/Art				
59 Mcknight Rd S	80 FT OF N 92 FT NE OF FOL DESC L;	Citywide Street Lighting		0.59	75.00	\$44.25	11-20-22-41-0000
t Paul MN 55119-6911	COM AT PT ON EL OF SE 1/4 92 FT S OF NL OF S1/2 OF NE 1/4 OF SE 1/4 TH					\$124.50	
559 MCKNIGHT RD S	W 160 FT TO BEG OF L TH NW TO PT ON SL OF N 12 FT OF S 1/2 OF NE 1/4	*** Owner and Taxpaye	er ***				
Ward: 7			Total Assess	ment:		\$124.50	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$124.50	
onathan E Greenlee	SECTION 11 TOWN 28 RANGE 22 EX	Citywide Street Lighting		0.59	450.00	\$265.50	<u> </u>
drienne B Greenlee	W 208 FT OF N 233 FT; THE NW 1/4 OF					\$265.50	
186 Mailand Rd	NE 1/ OF SE 1/4 (SUBJ TO RD) OF SEC 11 TN 28 RN 22	*** Owner and Taxpaye	r ***			• • • • •	
Paul MN 55119-5330			Total Assess	ment:	_	\$265.50	
2186 MAILAND RD			This Paymen			\$205.50	
Ward: 7			Current Year			\$0.00	
Pending as of: 8/21/2020			Current Year	-		\$0.00	
			Payoff Amou	int:		\$265.50	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Grant C Flick	WILLENBRING WOODS ADDITION	Street Sweeping - Con	mercial/Art	1.07	82.00	\$87.74	11-28-22-41-0018
579 Mcknight Rd S	LOT 1 BLK 1	Citywide Street Lightin	ng	0.59	82.00	\$48.38	
St Paul MN 55119-6911						\$136.12	
*579 MCKNIGHT RD S		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$136.12	
*Pending as of: 8/21/2020			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$136.12	
	WILLENBRING WOODS ADDITION	Street Sweeping - Con	mercial/Art	1.07	82.00		
Michelle Marie Seekel Manke	LOT 3 BLK 1	Citywide Street Lightin	ng	0.59	82.00	\$48.38	
589 Mcknight Rd S						\$136.12	
St Paul MN 55119-6911		*** Owner and Taxpa	yer ***				
*589 MCKNIGHT RD S			Total Assess	ment:		\$136.12	
*Ward: 7			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Yea	Interest:		\$0.00	
			Payoff Amo	unt:		\$136.12	
	WILLENBRING WOODS ADDITION	Street Sweeping - Resi	dential Stree			<u>\$12.30</u>	
Michele L Jacobson	LOT 5 BLK 1	Citywide Street Lightin		0.59	30.00	\$17.70	11-20-22-41-0022
598 Wiggins Rd						\$30.00	
St Paul MN 55119-6927		*** Owner and Taxpa	yer ***			• - · · ·	
*598 WIGGINS RD			Total Assess	ment		\$30.00	
*Ward: 7			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo	unt:		\$30.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Barbara J Nemer	SECTION 11 TOWN 28 RANGE 22 LOT	Street Sweeping - Res	idential Stree	0.41	33.00	\$13.53	11-28-22-41-0026
620 Burlington Rd	1 BLK 1 IN BOLLMANN WOLFF ADDITION & IN SD SEC 11 TN 28 RN	Citywide Street Lighti	ng	0.59	33.00	\$19.47	
St Paul MN 55119-5378	22 E 16 5/10 FT OF PART OF SW 1/4 OF					\$33.00	
*620 BURLINGTON RD	SE 1/4 N OF BURLINGTON AVE ALSO THE W 1/2 OF S 1/4 OF NE 1/4 OF SE	*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$33.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	int:		\$33.00	
	DARMER ADDITION LOT 2 BLK 1	Street Sweeping - Con	nmercial/Art				<u> </u>
575 Mcknight Rd S		Citywide Street Lighti		0.59	80.00	\$47.20	11-20-22-41-0020
St Paul MN 55119-6911						\$132.80	
*575 MCKNIGHT RD S		*** Owner and Taxpa	yer ***				
*Ward: 7			Total Assess	ment:		\$132.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$132.80	
 Daniel D Haakinson	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree			<u> </u>	<u> </u>
2140 Howard St S	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	125.00	\$73.75	11-20-22-45-0000
St Paul MN 55119-5332	MINNESOTA LOTS 12 AND LOT 13 BLK 17		-			\$125.00	
*2140 HOWARD ST S	DEX 17	*** Owner and Taxpa	yer ***			φ125.00	
*Ward: 7			Total Assess	mont		\$125.00	
*Pending as of: 8/21/2020			Total Assess This Paymen			\$125.00	
			Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amor			\$125.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Joel R Fernlund Margaret L Fernlund	BURLINGTON HEIGHTS, DIVISION NO. 2, RAMSEY COUNTY, MINNESOTA LOTS 4 & LOT 5 BLK 16	Street Sweeping - Resi Citywide Street Lightin		0.41 0.59	103.00	\$42.23 \$60.77	11-28-22-43-0012
2121 Oakridge St St Paul MN 55119-5380		*** Owner and Taxpay	yer ***			\$103.00	
[*] 2121 OAKRIDGE ST			Total Assessm	nent:		\$103.00	
Ward: 7			This Payment	:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$103.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree			\$33.62	
Luby Rentfrow	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin	ng	0.59	82.00	\$48.38	
19 Burlington Rd	MINNESOTA PART LYING WLY OF LINE BEG ON N LINE OF LOT 19 25 FT					\$82.00	
t Paul MN 55119-5322	WLY OF NE COR & RUN TO SE COR OF SD LOT & ALL OF LOT 20 BLK 16	*** Owner and Taxpay	yer ***				
619 BURLINGTON RD			Total Assessm	nent:		\$82.00	
Ward: 7			This Payment	:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$82.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree				
075 Oakridge St	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin		0.59	204.00	\$120.36	11-20-22-45-0024
t Paul MN 55119-5334	MINNESOTA LOTS 7 THRU LOT 10 BLK 12					\$204.00	
2075 OAKRIDGE ST		*** Owner and Taxpay	yer ***				
Ward: 7			Total Assessm	nent:		\$204.00	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$204.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Roger A Schulstad	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res		0.41	147.50	\$60.48	11-28-22-43-0048
Joan D Schulstad	NO. 2, RAMSEY COUNTY, MINNESOTA LOTS 8 & LOT 9 BLK 13	Citywide Street Lighti	ng	0.59	147.50	\$87.03	
683 Fir St						\$147.51	
St Paul MN 55119-5324		*** Owner and Taxpa	yer ***				
683 FIR ST			Total Assessr	ment:		\$147.51	
Ward: 7			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$147.51	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree		83.00	\$34.03	11-28-22-43-0063
Alice A Yang	NO. 2, RAMSEY COUNTY, MINNESOTA BEG AT THE SWLY COR	Citywide Street Lighti	ng	0.59	83.00	\$48.97	
593 Fir St	OF LOT 11, TH NLY ALONG THE WLY					\$83.00	
St Paul MN 55119-5324	LINE OF LOT 11 FOR 14 FT, TH ON A	*** Owner and Taxpa	yer ***				
693 FIR ST	STRAIGHT LINE TO THE ELY LINE OF		Total Assessr	ment:		\$83.00	
Ward: 7			This Payment			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$83.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res				<u> </u>	
Amanda S Licona-Gervich	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti		0.59	84.00	\$49.56	11-28-22-43-00/4
130 Howard St S	MINNESOTA PART OF LOTS 15,16,&	,	č			\$84.00	
5t Paul MN 55119-5332	17 BLK 17 DESC AS BEG AT A PT ON NWLY L OF SD LOT 17 & 90 FT NELY	*** Owner and Taxpa	yer ***			\$04.00	
2130 HOWARD ST S	FROM N COR LOT 19 TH NELY	1			-	01.00	
Ward: 7			Total Assess			\$84.00 \$0.00	
Pending as of: 8/21/2020			This Payment Current Year			\$0.00 \$0.00	
-			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amou			\$0.00 \$84.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
James D Campbell	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree	0.41	20.00	\$8.20	11-28-22-43-0075
Lisa A Campbell	NO. 2, RAMSEY COUNTY, MINNESOTA PART LOT 4 LYING WLY	Citywide Street Lightin	ng	0.59	20.00	\$11.80	
2024 Oakridge St	OF AL RUN FROM A PT ON NL OF &					\$20.00	
St Paul MN 55119-5329	25 FT WLY OF NE COR TO PT ON SL & 15 FT WLY OF SE COR SD LOT 4 &	*** Owner and Taxpay	yer ***				
*2024 OAKRIDGE ST			Total Assessm	nent:		\$20.00	
*Ward: 7			This Payment:	:		\$0.00	
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$20.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree			<u> </u>	
Jane E Ohr	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin	ng	0.59	100.00	\$59.00	
2032 Oakridge St	MINNESOTA PART LOT 4 LYING ELY OF AL RUN FROM A PT ON NL OF &					\$100.00	
St Paul MN 55119-5329	25 FT WLY OF NE COR TO PT ON SL &	*** Owner and Taxpay	yer ***				
*2032 OAKRIDGE ST	15 FT WLY OF SE COR SD LOT 4 &		Total Assessm	nent:		\$100.00	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I			\$0.00	
			Current Year l	-		\$0.00	
			Payoff Amou	nt:		\$100.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree			\$520.29	
25 4th St W Rm 1000	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin		0.59	1,269.00	\$748.71	***EXEMPT***
St Paul MN 55102-1692	MINNESOTA VAC HOWARD ST ADJ & LOTS 1 THRU 25 BLK 15		-			\$1,269.00	EALWII I
*2131 HOWARD ST S	LOID I MIKO 25 DEK 15	*** Owner and Taxpay	yer ***			\$1,209.00	
*Ward: 7			Total Assessm	nent:		\$1,269.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$1,269.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Dean W Johnson	VAC ALLEY ACCRUING& FOL; PART	Street Sweeping - Res		0.41	118.00	\$48.38	11-28-22-43-0089
Dawn Anderson Johnson	LYING SELY OF A LINE DESC AS FOL; BEG AT A PT ON THE S LINE OF	Citywide Street Light	ing	0.59	118.00	\$69.62	
2050 Oakridge St	LOT 29 BLK 13 BURLINGTON HEIGHTS DIV NO 2 DIST 83.74 FT ELY	*** 0 1 T	***			\$118.00	
St Paul MN 55119-5329	FROM THE SW COR OF SD LOT 29	*** Owner and Taxpa	iyer ***				
*2050 OAKRIDGE ST			Total Assess	ment:		\$118.00	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$118.00	
		Street Sweeping - Res	idential Stree		126.00	<u> </u>	<u> </u>
Courtney D Juvland	HUMMINGBIRD HILL ADD LYING	Citywide Street Light	ing	0.59	126.00	\$74.34	
59 Burlington Rd	NELY AND NWLY OF A L DESC AS COMM AT THE SW COR OF LOT 6 BLK					\$126.00	
St Paul MN 55119-5315	1 OF SD HUMMINGBIRD HILL ADD	*** Owner and Taxpa	iyer ***				
559 BURLINGTON RD	TH N 8 DEG 46 MIN 26 SEC E ALONG		Total Assess	ment:	<u>=</u>	\$126.00	
Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$126.00	
	LEONARD OAK HILLS LOT 5 BLK 1						
Kevin Bayiha	LEONARD OAK HILLS LOT 5 BLK 1	Street Sweeping - Cor Citywide Street Light		1.07 0.59	70.00 70.00	\$74.90 \$41.30	11-28-22-44-0005
eanne D Bayiha		Citywide Succi Light	шg	0.39	/0.00		
29 Mcknight Rd S It Paul MN 55119-5309		*** Owner and Taxpa	iver ***			\$116.20	
629 MCKNIGHT RD S						<u> </u>	
Ward: 7			Total Assess			\$116.20	
Pending as of: 8/21/2020			This Paymen			\$0.00 \$0.00	
1 chang as 01. 0/21/2020			Current Year Current Year	-		\$0.00 \$0.00	
				unerest		NU UU	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Moua P Vang Khou Xiong	LEONARD OAK HILLS LOT 13 BLK 1	Street Sweeping - Con Citywide Street Light		1.07	80.00	\$85.60 \$47.20	11-28-22-44-0013
685 Mcknight Rd S St Paul MN 55119-5309		*** Owner and Taxpa	ayer ***			\$132.80	
*685 MCKNIGHT RD S			Total Assess	ment:		\$132.80	
*Ward: 7 *Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
· Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$132.80	
	LEONARD OAK HILLS PART OF LOT	Street Sweeping - Con			91.00	<u> </u>	
699 Mcknight Rd S	14 LYING ELY OF FOL DESC LINE;	Street Sweeping - Res	sidential Stree	0.41	51.50	\$21.12	
St Paul MN 55119-5309	COM AT NE COR OF LOT 14 TH W ON NL SD LOT 36.04 FT TO BEG OF LINE,	Citywide Street Light	ing	0.59	142.50	\$84.08	
*699 MCKNIGHT RD S	TH SW TO PT ON SWLY L OF LOT 14					\$202.57	
*Ward: 7	109 FT NWLY OF MOST SLY COR OF	*** Owner and Taxpa	ayer ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$202.57	
			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$202.57	
David A Piechowski	LEONARD OAK HILLS LOT 15 BLK 1	Street Sweeping - Res	sidential Stree		80.00	\$32.80	
Jill M Piechowski		Citywide Street Light		0.59	80.00	\$47.20	11-20-22-44-0010
686 Burlington Rd						\$80.00	
St Paul MN 55119-5320		*** Owner and Taxpa	ayer ***			\$00100	
*686 BURLINGTON RD			Total Assess	ment:		\$80.00	
*Ward: 7			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo			\$80.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Derrell T Stockton	LEONARD OAK HILLS LOT 17 BLK 1	Street Sweeping - Resid		0.41	75.00	\$30.75	11-28-22-44-0018
676 Burlington Rd		Citywide Street Lightin	ıg	0.59	75.00	\$44.25	
St Paul MN 55119-5320						\$75.00	
*676 BURLINGTON RD		*** Owner and Taxpay	er ***				
*Ward: 7			Total Assessm	nent:	-	\$75.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$75.00	
	LEONARD OAK HILLS LOT 18 BLK 1	Street Sweeping - Resid	dential Stree			\$30.75	
572 Burlington Rd		Citywide Street Lightin		0.59	75.00	\$44.25	11-20-22-44-0017
St Paul MN 55119-5320						\$75.00	
*672 BURLINGTON RD		*** Owner and Taxpay	ver ***				
*Ward: 7			Total Assessm	nent:		\$75.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$75.00	
	LEONARD OAK HILLS LOT 19 BLK 1	Street Sweeping - Resid	dential Stree	0.41		<u>\$27.47</u>	<u> </u>
Mee Yang		Citywide Street Lightin		0.59	67.00	\$39.53	
668 Burlington Rd						\$67.00	
St Paul MN 55119-5320		*** Owner and Taxpay	ver ***				
*668 BURLINGTON RD			Total Assessm	ent:	=	\$67.00	
*Ward: 7			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year I			\$0.00	
			Current Year l			\$0.00	
			Payoff Amou	nt:		\$67.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Scott Flanders	WIGGINS OAK HILLS LOT 3 BLK 2	Street Sweeping - Reside		0.41	80.00	\$32.80	11-28-22-44-0027
11523 Wagon Wheel Way		Citywide Street Lighting	g	0.59	0.00	\$0.00	
Woodbury MN 55129-6724						\$32.80	
*624 WIGGINS RD		*** Owner and Taxpaye	er ***				
*Ward: 7			Total Assessm	nent:		\$32.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$32.80	
	WIGGINS OAK HILLS LOT 2 BLK 2	Street Sweeping - Reside	ential Stree			<u>\$40.18</u>	<u> </u>
616 Wiggins Rd		Citywide Street Lighting		0.59	0.00	\$0.00	11-20-22-44-0020
St Paul MN 55119-5366						\$40.18	
*616 WIGGINS RD		*** Owner and Taxpaye	er ***			· · · · · · · · · · · · · · · · · · ·	
*Ward: 7			Total Assessm	nent:		\$40.18	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$40.18	
		Street Sweeping - Reside	ential Stree		49.00	<u>\$20.09</u>	
Althea M Rupert	BLK 1	Citywide Street Lighting		0.59	0.00	\$0.00	11 20 22 11 0005
549 Hillwood Ct						\$20.09	
St Paul MN 55119-5357		*** Owner and Taxpaye	er ***				
*649 HILLWOOD CT			Total Assessm	ent.	-	\$20.09	
*Ward: 7			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year l			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou	nt:		\$20.09	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
646 Hillwood Llc	LEONARD OAK HILLS NO. 2 LOT 8	Street Sweeping - Resi		0.41	64.00	\$26.24	11-28-22-44-0037
8287 Quadrant Ave S	BLK 1	Citywide Street Lightin	ng	0.59	0.00	\$0.00	
Hastings MN 55033-9490						\$26.24	
*646 HILLWOOD CT		*** Owner and Taxpay	yer ***				
*Ward: 7			Total Assess	ment:		\$26.24	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$26.24	
Benjamin Martinez	LEONARD OAK HILLS NO. 2 LOT 6	Street Sweeping - Resi	dential Stree			<u>\$28.70</u>	
Natalie Martinez	BLK 1	Citywide Street Lightin	ng	0.59	0.00	\$0.00	11 20 22 11 0007
538 Hillwood Ct						\$28.70	
St Paul MN 55119-5357		*** Owner and Taxpay	yer ***				
*638 HILLWOOD CT			Total Assess	ment:		\$28.70	
*Ward: 7			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$28.70	
Laurel A Schmitz Trustee	LEONARD OAK HILLS NO. 2 LOT 4	Street Sweeping - Resi	dential Stree			<u>\$28.70</u>	
526 Hillwood Ct	BLK 1	Citywide Street Lightin		0.59	0.00	\$0.00	11-20-22-44-0041
St Paul MN 55119-5357						\$28.70	
*626 HILLWOOD CT		*** Owner and Taxpay	yer ***				
Ward: 7			Total Assess	ment:	-	\$28.70	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$28.70	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Adam F Stein	WIGGINS OAK HILLS LOT 3 BLK 1	Street Sweeping - Reside		0.41	58.00	\$23.78	11-28-22-44-0044
Crystal L Stein		Citywide Street Lighting	5	0.59	0.00	\$0.00	
612 Hillwood Ct						\$23.78	
St Paul MN 55119-5357		*** Owner and Taxpaye	er ***				
*612 HILLWOOD CT			Total Assess	ment:		\$23.78	
*Ward: 7			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$23.78	
	WIGGINS OAK HILLS LOT 4 BLK 1	Street Sweeping - Reside	ential Stree			\$42.64	
Ana M Macedo		Citywide Street Lighting		0.59	0.00	\$0.00	11-20-22-44-0045
606 Hillwood Ct					_	\$42.64	
St Paul MN 55119-5357		*** Owner and Taxpaye	r ***			¢ 12.0 1	
*606 HILLWOOD CT			Total Assess			\$42.64	
*Ward: 7			This Paymen			\$42.04 \$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$42.64	
	WIGGINS OAK HILLS LOT 1 BLK 3						
Edwin J Berniard Iii	widding OAK HILLS LOT TI BLK S	Street Sweeping - Reside Citywide Street Lighting		0.41 0.59	106.50 0.00	\$43.67 \$0.00	11-28-22-44-0046
Tracie J Berniard 601 Wiggins Rd		City while Sureet Eighting	5	0.59	0.00		
St Paul MN 55119-5367		*** Owner and Taxpaye	r ***			\$43.67	
*601 WIGGINS RD		o mor und runpuje					
*Ward: 7			Total Assess			\$43.67	
*Pending as of: 8/21/2020			This Paymen			\$0.00 \$0.00	
-			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amou			\$0.00 \$43.67	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Carlitto M Snell	WIGGINS OAK HILLS LOT 2 BLK 3	Street Sweeping - Resid	dential Stree	0.41	52.00	\$21.32	11-28-22-44-0047
Kayleigh M Sellner		Citywide Street Lightin	ıg	0.59	0.00	\$0.00	
605 Wiggins Rd						\$21.32	
St Paul MN 55119-5367		*** Owner and Taxpay	er ***				
605 WIGGINS RD			Total Assessm	nent:		\$21.32	
Ward: 7			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$21.32	
Peter J Williams	WIGGINS OAK HILLS LOT 3 BLK 3	Street Sweeping - Resid	dential Stree			<u> </u>	<u> </u>
Toni L Hull		Citywide Street Lightin		0.59	0.00	\$0.00	11-20-22-44-0040
09 Wiggins Rd						\$18.04	
St Paul MN 55119-5367		*** Owner and Taxpay	ver ***				
609 WIGGINS RD			Total Assessn	nent:		\$18.04	
Ward: 7			This Payment			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$18.04	
		Street Sweeping - Resid				<u> </u>	
533 Wiggins Rd	PART OF S 170 FT OF N 603 FT OF W	Citywide Street Lightin		0.59	0.00	\$0.00	11-20-22-44-0052
St Paul MN 55119-5367	122.5 FT OF E 790 FT OF SE 1/4 OF SE1/4 LYING NLY & ELY OF A LINE		0		—	\$70.11	
633 WIGGINS RD	BEG AT SE COR OF SD 170 FT TRACT; TH N 78 DEG 19 MIN 50 SEC W 109 FT;	*** Owner and Taxpay	er ***			ψ/0.11	
Ward: 7			Total Assessm	ment:		\$70.11	
Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$70.11	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Brittney Willaert	SECTION 11 TOWN 28 RANGE 22 COM	Street Sweeping - Res		0.41	117.50	\$48.18	11-28-22-44-0053
658 Burlington Rd	AT PT ON WL OF E 790 FT OF SE1/4 OF SE1/4 578 FT S OF NL SD 1/4 1/4 TH S	Citywide Street Light	ing	0.59	41.00	\$24.19	
St Paul MN 55119-5378 *658 BURLINGTON RD	78 DG 19 MN 50 SEC E 65 FT TO BEG TH CONT ON SD COURSE 65.19 FT TH S ON C TO L 31.01 FT TH C TO R RAD	*** Owner and Taxpa	ayer ***			\$72.37	
*Ward: 7			Total Assess	ment:		\$72.37	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$72.37	
		Street Sweeping - Res	sidential Stree			<u> </u>	<u> </u>
644 Burlington Rd	AT PT 503 FT S FROM N LINE & 790 FT	Citywide Street Light	ing	0.59	80.00	\$47.20	
St Paul MN 55119-5378	W FROM E LINE OF SE1/4 OF SE1/4; TH E 16 FT; TH NE TO PT 433 FT S					\$80.00	
*644 BURLINGTON RD	FROM N LINE & 764 FT W FROM E LINE OF SD1/4 1/4; TH W 26 FT; TH N	*** Owner and Taxpa	ayer ***				
*Ward: 7 *Pending as of: 8/21/2020			Total Assess	ment:		\$80.00	
rending as of. 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$80.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	sidential Stree				
2146 Howard St S	NO. 2, RAMSEY COUNTY,	Citywide Street Light		0.59	100.00	\$59.00	11-20-22-44-0007
St Paul MN 55119-5332	MINNESOTA LOTS 10 AND LOT 11 BLK 17					\$100.00	
*2146 HOWARD ST S		*** Owner and Taxpa	ayer ***			*	
*Ward: 7			Total Assess	ment:		\$100.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$100.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Tremayne K Jones	SECTION 11 TOWN 28 RANGE 22	Street Sweeping - Com	mercial/Art	1.07	52.00	\$55.64	11-28-22-44-0089
Lakesha S Jones	PART OF THE SE1/4 LYING SWLY OF	Street Sweeping - Resi	dential Stree	0.41	28.00	\$11.48	
15 Mcknight Rd S	SW L OF BURLINGTON RD & E OF A LINE RUN FROM SL SD1/4 TO SW	Citywide Street Lightin	ng	0.59	80.00	\$47.20	
t Paul MN 55119-5822	LINE OF SD RD PASSING THRU A					\$114.32	
715 MCKNIGHT RD S	POINT ON NL OF VAC EAST ST 133.08	*** Owner and Taxpay	yer ***				
Ward: 7			Total Assess	ment:		\$114.32	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$114.32	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree	0.41		\$41.00	
2152 Howard St S	NO. 2, RAMSEY COUNTY,	Citywide Street Lightin		0.59	100.00	\$59.00	11 20 22 11 00/5
t Paul MN 55119-5332	MINNESOTA LOTS 8 & LOT 9 BLK 17					\$100.00	
2152 HOWARD ST S		*** Owner and Taxpa	yer ***			\$100100	
Ward: 7			Total Assess	ment:	-	\$100.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$100.00	
Robyn Bartz Woolley	THOMPSON OAK HILLS LOT 5 BLK 2	Street Sweeping - Resi	dential Stree	0.41		<u>\$28.29</u>	
2156 Winthrop Ct		Citywide Street Lightin		0.59	69.00	\$40.71	11-20-22-44-0105
t Paul MN 55119-5399		, ,	0			\$69.00	
2156 WINTHROP CT		*** Owner and Taxpay	yer ***			\$09.00	
Ward: 7			Total Assess	ment:	-	\$69.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$69.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Angela Langason	THOMPSON OAK HILLS LOT 6 BLK 2	Street Sweeping - Resi	dential Stree	0.41	69.00	\$28.29	11-28-22-44-0106
2155 Winthrop Ct		Citywide Street Lightin	ng	0.59	69.00	\$40.71	
St Paul MN 55119-5398						\$69.00	
2155 WINTHROP CT		*** Owner and Taxpay	yer ***				
Ward: 7			Total Assess	ment:	-	\$69.00	
Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$69.00	
Raymond P Vinzant Jr		Street Sweeping - Resi	dential Stree			<u> </u>	
Elizabeth L Vinzant		Citywide Street Lightir		0.59	123.50	\$72.87	11-20-22-44-0107
05 Winthrop Ln			-			\$123.51	
t Paul MN 55119-6900		*** Owner and Taxpay	ver ***			ψ123.51	
605 WINTHROP LN			T (1 A			¢122.51	
Ward: 7			Total Assess			\$123.51 \$0.00	
Pending as of: 8/21/2020			This Paymer Current Yea			\$0.00 \$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo			\$123.51	
			1 wy 011 1 1110			41 -0 01	
lory V Matter	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Resi	dential Stree	0.41	78.00	\$31.98	<u> </u>
201 Springside Dr	NO. 2, RAMSEY COUNTY, MINNESOTA THE SWLY 30 FT OF LOT	Citywide Street Lightin	ng	0.59	78.00	\$46.02	
t Paul MN 55119-5342	37 & ALL OF LOT 36 BLK 18					\$78.00	
2201 SPRINGSIDE DR		*** Owner and Taxpay	yer ***				
Ward: 7			Total Assess	ment:	-	\$78.00	
Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$78.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Tonya M Yarwood	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41	71.00	\$29.11	11-28-22-44-0112
2211 Springside Dr E	NO. 2, RAMSEY COUNTY, MINNESOTA EX SWLY 30 FT; LOT 37	Citywide Street Lighti	ing	0.59	71.00	\$41.89	
St Paul MN 55119-5342	& THE SWLY 10 FT OF LOT 39 & ALL					\$71.00	
*2211 SPRINGSIDE DR	OF LOT 38 BLK 18	*** Owner and Taxpa	iyer ***				
*Ward: 7			Total Assessm	nent:		\$71.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$71.00	
	BURLINGTON HEIGHTS, DIVISION	Street Sweeping - Res	idential Stree	0.41		<u> </u>	
2231 Springside Dr E	NO. 2, RAMSEY COUNTY,	Citywide Street Lighti	ing	0.59	149.00	\$87.91	
St Paul MN 55119-5342	MINNESOTA THE SWLY 6.25 FT OF LOTS 6,7 & LOT 8 LYING SELY OF AL					\$149.00	
*2231 SPRINGSIDE DR	DESC AS BEG AT A PT ON NELY L OF & 14.33 FT NWLY FROM MOST ELY	*** Owner and Taxpa	ıyer ***				
*Ward: 7			Total Assessm	nent:		\$149.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	1		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$149.00	
		Street Sweeping - Res	idential Stree			\$32.80	
517 Wiggins Rd	LOT 3 BLK 1 THOMPSON OAK HILLS	Citywide Street Lighti		0.59	0.00	\$0.00	
St Paul MN 55119-5367	& IN SD WIGGINS OAKS HILLS LOT 4 BLK 3					\$32.80	
617 WIGGINS RD	-	*** Owner and Taxpa	yer ***			•	
Ward: 7			Total Assessm	nent.		\$32.80	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year l			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou			\$32.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Cindy L Fernlund Stephen J Fernlund	BURLINGTON HEIGHTS, DIVISION NO. 2, RAMSEY COUNTY, MINNESOTA LOT 3 & LOTS 29 THRU	Street Sweeping - Resid Citywide Street Lighting		0.41 0.59	159.00	\$65.19 \$93.81	11-28-22-44-0119
651 Burlington Rd St Paul MN 55119-5388	LOT 33 BLK 17	*** Owner and Taxpay	er ***			\$159.00	
*651 BURLINGTON RD			Total Assessn	nent:		\$159.00	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$159.00	
Craig Randall Kuberski	THOMPSON OAK HILLS THE N 40 FT	Street Sweeping - Resid	lential Stree		120.00	\$49.20	<u> </u>
Virginia K Kuberski	OF LOT 2 & ALL OF LOT 1 BLK 1	Citywide Street Lighting	g	0.59	120.00	\$70.80	
602 Winthrop Ln						\$120.00	
St Paul MN 55119-5395		*** Owner and Taxpay	er ***				
*602 WINTHROP LN			Total Assessn	nent:		\$120.00	
*Ward: 7			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$120.00	
	BURLINGTON HEIGHTS LOT 2 BLK 1	Street Sweeping - Resid	lential Stree			\$39.36	
Jackson L Vu		Citywide Street Lighting		0.59	96.00	\$56.64	11-20-22-44-0124
635 Burlington Rd						\$96.00	
St Paul MN 55119-5322		*** Owner and Taxpay	er ***			** ****	
*635 BURLINGTON RD			Total Assessn	nent:		\$96.00	
*Ward: 7			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$96.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Salvation Army Attn: Property Coordinator	BURLINGTON HEIGHTS LOT 3 BLK 1	Street Sweeping - Reside Citywide Street Lighting		0.41	234.00	\$95.94 \$138.06	11-28-22-44-0125
2445 Prior Ave				0.07		\$234.00	
Roseville MN 55113-2714 *639 BURLINGTON RD		*** Owner and Taxpaye					
*Ward: 7			Total Assessn			\$234.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
1 onding us of: 0/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00 \$234.00	
Nicholas A Thompson Jennifer E Thrall 2165 Howard St St Paul MN 55119-5396 * 2165 HOWARD ST S *Ward: 7 *Pending as of: 8/21/2020	BURLINGTON HEIGHTS LOT 4 BLK 1		7	: Principal: Interest:	126.00 126.00	\$51.66 \$74.34 \$126.00 \$126.00 \$0.00 \$0.00 \$0.00 \$126.00	
 Stephen C Sullivan Jacquelyn K Sullivan	BURLINGTON HEIGHTS LOT 5 BLK 1	Street Sweeping - Reside Citywide Street Lighting		0.41	90.00	\$36.90 \$53.10	
304 Exchange St S Suite 3		*** 0 1 5			_	\$90.00	
St Paul MN 55102-2311		*** Owner and Taxpaye	T ***				
*2135 OAKRIDGE ST *Ward: 7			Total Assessn			\$90.00	
			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$90.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
City Of St Paul Public Works	STINSON, BROWN AND RAMSEY'S	Street Sweeping - Cor	nmercial/Art	1.07	40.00	\$42.80	11-28-23-11-0002
City Hall Annex	ADDITION TO ST. PAUL EX ST PART NWLY OF PLEASANT AVE OF E 1/2	Citywide Street Lighti	ing	0.59	40.00	\$23.60	***EXEMPT***
25 4th St W Ste 1500	OF BLK 6					\$66.40	
St Paul MN 55102-1966		*** Owner and Taxpa	iyer ***				
*700 ST CLAIR AVE			Total Assess	ment:		\$66.40	
Ward: 2			This Paymen	ıt:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$66.40	
	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Res	idential Stree		97.00	\$39.78	
Natalie R Lynch	OF BLOCK 11 OF STINSON, BROWN	Citywide Street Lighti		0.59	97.00	\$57.24	11-20-25-11-0015
05 Toronto St	AND RAMSEY'S ADDITION N 20 FT OF LOT 2 & ALL OF LOT 1 BLK 1					\$97.02	
t Paul MN 55102-3221		*** Owner and Taxpa	yer ***				
305 TORONTO ST			Total Assess	ment		\$97.02	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$97.02	
	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Res	idential Stree		<u> </u>	<u>\$25.42</u>	
acob R Young Haug	OF BLOCK 11 OF STINSON, BROWN	Citywide Street Lighti		0.59	62.00	\$36.58	11-28-23-11-0019
29 Toronto St	AND RAMSEY'S ADDITION N 28 FT OF LOT 8 & EX N 6 FT; LOT 7 BLK 1	,8	0			\$62.00	
t Paul MN 55102-3221	LOI & & EA NOFI, LOI / BLK I	*** Owner and Taxpa	iyer ***			\$02.00	
329 TORONTO ST		1			_	¢(2.00	
Ward: 2			Total Assess			\$62.00 \$0.00	
Pending as of: 8/21/2020			This Paymen			\$0.00 \$0.00	
-			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amo			\$0.00 \$62.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 5.
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Yenenesh Kereta	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resi		0.41	61.00	\$25.01	11-28-23-11-0021
Mesele G Kerse	OF BLOCK 11 OF STINSON, BROWN AND RAMSEY'S ADDITION ALL OF	Citywide Street Lightin	ıg	0.59	61.00	\$35.99	
339 Toronto St	VAC ALLEY ADJ & EX N 10 FT; LOT					\$61.00	
St Paul MN 55102-3221	10 BLK 1	*** Owner and Taxpay	/er ***				
*339 TORONTO ST *Ward: 2			Total Assess	ment:		\$61.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
1 chung as 01. 6/21/2020			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$61.00	
Kathryn E Estlie	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Com	mercial/Art	1.07	43.50	\$46.55	<u> </u>
Peter A Estlie	OF BLOCK 11 OF STINSON, BROWN AND RAMSEY'S ADDITION LOTS 11 &	Street Sweeping - Resi		0.41	58.50	\$23.99	
627 Jefferson Ave	LOT 12 BLK 1	Citywide Street Lightin	ıg	0.59	102.00	\$60.19	
St Paul MN 55102-3242						\$130.73	
*627 JEFFERSON AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$130.73	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$130.73	
	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resi	dential Stree			<u>\$21.32</u>	<u> </u>
340 Daly St	OF BLOCK 11 OF STINSON, BROWN	Citywide Street Lightin	ıg	0.59	52.00	\$30.68	11-20-23-11-0020
St Paul MN 55102-3212	AND RAMSEY'S ADDITION LOT 17 BLK 1					\$52.00	
*340 DALY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$52.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$52.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Timothy Murphy	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resid		0.41	30.00	\$12.30	11-28-23-11-0028
1254 Hosford St	OF BLOCK 11 OF STINSON, BROWN AND RAMSEY'S ADDITION S 30 FT OF	Citywide Street Lightin	g	0.59	30.00	\$17.70	
Hudson WI 54016-9229	LOT 19 BLK 1	***	***			\$30.00	
332 DALY ST		*** Owner and Taxpay	er ***				
Ward: 2 Pending as of: 8/21/2020			Total Assessi	ment:		\$30.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int.		\$30.00	
Richard Leland Siltberg	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resid		0.41	40.00	\$16.40	11-28-23-11-0034
Paula A Siltberg	OF BLOCK 11 OF STINSON, BROWN AND RAMSEY'S ADDITION LOT 23	Citywide Street Lightin	g	0.59	40.00	\$23.60	
81 Mccuskey Dr	BLK 1					\$40.00	
Holyoke MN 55749-4501		*** Owner and Taxpay	er ***				
314 DALY ST Ward: 2			Total Assessi	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
Pending as 01: 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$40.00	
Gara E Gannaway	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resid	lential Stree	0.41		\$34.65	
01 Daly St	OF BLOCK 11 OF STINSON, BROWN AND RAMSEY'S ADDITION LOT 1	Alley Sweeping		0.12	52.00	\$6.24	
t Paul MN 55102-3211	BLK 2	Citywide Street Lightin	g	0.59	84.50	\$49.86	
301 DALY ST Ward: 2		*** Owner and Taxpay	er ***			\$90.75	
Pending as of: 8/21/2020			Total Assess	ment:		\$90.75	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$90.75	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Debra A Hadraba	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-11-0039
309 Daly St	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3211	AND RAMSEY'S ADDITION LOT 3 BLK 2	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*309 DALY ST						\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	int:		\$44.80	
	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resid	dential Strac		52.00	<u>\$21.32</u>	
Jacqueline D Munoz	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping	uennai Suec	0.41	84.50	\$10.14	11-28-23-11-0045
341 Daly St	AND RAMSEY'S ADDITION LOT 10	Citywide Street Lightin	ια	0.12	52.00	\$30.68	
St Paul MN 55102-3211	BLK 2	City while Street Eightin	ig	0.57	52.00	-	
*341 DALY ST *Ward: 2		*** Owner and Taxpay	/er ***			\$62.14	
*Pending as of: 8/21/2020						¢(2.14	
6			Total Assess			\$62.14	
			This Paymen			\$0.00 \$0.00	
			Current Year Current Year	-			
						\$0.00	
			Payoff Amou	int:		\$62.14	
Janice D Anderson	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resid	dential Stree	0.41		\$21.32	11-28-23-11-0052
338 Osceola Ave S	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping		0.12	84.50	\$10.14	· · ····
St Paul MN 55102-3220	AND RAMSEY'S ADDITION LOT 17 BLK 2	Citywide Street Lightin	ng	0.59	52.00	\$30.68	
*338 OSCEOLA AVE S						\$62.14	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$62.14	
			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$62.14	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	7 PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Daniel S Pourrier	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-11-0054
30 Osceola Ave	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4138	AND RAMSEY'S ADDITION LOT 19 BLK 2	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
330 OSCEOLA AVE S						\$44.80	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resi	dential Stree	0.41	40.00	<u>\$16.40</u>	
Faith Kruger	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping	dential Stree	0.41	40.00	\$4.80	11-28-23-11-0056
22 Osceola Ave S t Paul MN 55102-3220	AND RAMSEY'S ADDITION LOT 21	Citywide Street Lightir	ıσ	0.12	40.00	\$23.60	
	BLK 2	City while Suber Eightin	-5	0.57			
322 OSCEOLA AVE S Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
Pending as of: 8/21/2020			Total Assessm	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year l			\$0.00	
			Current Year I	1		\$0.00	
			Payoff Amou			\$44.80	
			,				
Katherine K Hanna	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-11-0057
18 Osceola Ave S	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 11 0007
t Paul MN 55102-3220	AND RAMSEY'S ADDITION LOT 22 BLK 2	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
318 OSCEOLA AVE S						\$44.80	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assessm	nent:	-	\$44.80	
			This Payment:	:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Alexander J Buresh	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resi	dential Stree	0.41	84.50	\$34.65	11-28-23-11-0061
Heather R Buresh	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping		0.12	52.00	\$6.24	
302 Osceola Ave S	AND RAMSEY'S ADDITION LOT 26 BLK 2	Citywide Street Lightin	ng	0.59	84.50	\$49.86	
St Paul MN 55102-3220						\$90.75	
*302 OSCEOLA AVE S		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assessm	ment:		\$90.75	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$90.75	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	
1670 S Robert St	10, STINSON, BROWN AND RAMSEY'S	Alley Sweeping	dential Stree	0.12	40.00	\$4.80	11-28-23-11-0063
St Paul MN 55118-3918	ADDITION TO ST. PAUL LOT 2 BLK	Citywide Street Lightir	19	0.12	40.00	\$23.60	
	10		-6			\$44.80	
*305 OSCEOLA AVE S *Ward: 2		*** Owner and Taxpay	yer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	ment:		\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	
Robert R Wilson	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-11-0067
319 Osceola Ave S	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 6 BLK	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3219	10	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*319 OSCEOLA AVE S						\$44.80	
*Ward: 2		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Ellen Beaver	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Comm	nercial/Art	1.07		\$22.47	11-28-23-11-0072
677 Jefferson Ave	10, STINSON, BROWN AND RAMSEY'S	Street Sweeping - Reside	ential Stree	0.41	55.00	\$22.55	
St Paul MN 55102-3244	ADDITION TO ST. PAUL LOT 12 BLK 10	Alley Sweeping		0.12	42.00	\$5.04	
*677 JEFFERSON AVE	10	Citywide Street Lighting	;	0.59	76.00	\$44.84	
*Ward: 2						\$94.90	
*Pending as of: 8/21/2020		*** Owner and Taxpayer	r ***				
			Total Assessn	nent:	-	\$94.90	
			This Payment	•		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$94.90	
Edward C Johnson	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Comm	nercial/Art	1.07	42.00	\$44.94	11-28-23-11-0074
Renee L Johnson	10, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	42.00	\$5.04	
687 Jefferson Ave	ADDITION TO ST. PAUL LOT 14 BLK 10	Citywide Street Lighting	;	0.59	42.00	\$24.78	
St Paul MN 55102-3244						\$74.76	
*687 JEFFERSON AVE		*** Owner and Taxpayer	r ***				
*Ward: 2		Total Assessment:				\$74.76	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$74.76	
Thomas P Davern	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Comm	nercial/Art	1.07	42.00	\$44.94	11-28-23-11-0075
691 Jefferson Ave	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL E O 50/100	Alley Sweeping		0.12	42.00	\$5.04	
St Paul MN 55102-3244	FT OF LOT 16 AND ALL OF LOT 15	Citywide Street Lighting	,	0.59	42.00	\$24.78	
*691 JEFFERSON AVE	BLK 10					\$74.76	
*Ward: 2 *Pending as of: 8/21/2020		*** Owner and Taxpayer	r ***				
			Total Assessn	nent:		\$74.76	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$74.76	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Karna M Bloomquist	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Com	mercial/Art	1.07	42.00	\$44.94	11-28-23-11-0076
Samuel Wilson	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL E O 50/100	Alley Sweeping		0.12	42.00	\$5.04	
697 Jefferson Ave	FT OF LOT 17 AND W 41 16/100 FT OF	Citywide Street Lightin	ng	0.59	42.00	\$24.78	
St Paul MN 55102-3244	LOT 16 BLK 10					\$74.76	
*697 JEFFERSON AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:		\$74.76	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$74.76	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Resi	dential Stree	0.41	31.00	<u>\$12.71</u>	
342 Arbor St	10, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	74.00	\$8.88	11-20-23-11-0070
St Paul MN 55102-3208	ADDITION TO ST. PAUL LOT 18 BLK 10	Citywide Street Lightir	ng	0.59	31.00	\$18.29	
*342 ARBOR ST	10					\$39.88	
*Ward: 2		*** Owner and Taxpay	yer ***			\$37.00	
*Pending as of: 8/21/2020			Total Assess	ment:		\$39.88	
			This Paymen	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$39.88	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Resi	dential Stree			<u> </u>	<u> </u>
Martina Edwards-Golden	10, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 11 0000
334 Arbor St	ADDITION TO ST. PAUL LOT 20 BLK 10	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3208					_	\$44.80	
*334 ARBOR ST		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Holly Bright 326 Arbor St	STINSON'S SUBDIVISION OF BLOCK 10, STINSON, BROWN AND RAMSEY'S	Street Sweeping - Reside		0.41	40.00	\$16.40 \$4.80	11-28-23-11-0082
St Paul MN 55102-3208	ADDITION TO ST. PAUL LOT 22 BLK 10	Citywide Street Lighting	5	0.59	40.00	\$23.60	
*326 ARBOR ST *Ward: 2		*** Owner and Taxpaye	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm		-	\$44.80	
			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$44.80	
Meredith A Fergus	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-11-0087
325 Arbor St	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 35 BLK	Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55102-3207	10					\$40.00	
*325 ARBOR ST		*** Owner and Taxpaye	r ***				
*Ward: 2			Total Assessm	nent:		\$40.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$40.00	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Reside	ential Stree		31.00	<u>\$12.71</u>	
341 Arbor St	10, STINSON, BROWN AND RAMSEY'S	Citywide Street Lighting		0.59	31.00	\$18.29	11-20-25-11-00/1
St Paul MN 55102-3207	ADDITION TO ST. PAUL LOT 39 BLK 10				—	\$31.00	
*341 ARBOR ST		*** Owner and Taxpayer	r ***				
*Ward: 2			Total Assessm	nent:		\$31.00	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$31.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 6
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Prem Midha	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Cor		1.07	42.00	\$44.94	11-28-23-11-0093
Megan Midha	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 41 BLK	Citywide Street Light	ing	0.59	42.00	\$24.78	
709 Jefferson Ave	10	*** 0 1 T	ale ale ale			\$69.72	
St Paul MN 55102-3245		*** Owner and Taxpa	iyer ***				
*709 JEFFERSON AVE *Ward: 2			Total Assess			\$69.72	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
1 chung as 01. 0/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$69.72	
Timothy Karel	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Cor		1.07	41.50	\$44.41	<u> </u>
344 Bay St	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOTS 44 &	Street Sweeping - Res		0.41	55.00	\$22.55	
St Paul MN 55102-3210	LOT 45 BLK 10	Citywide Street Light	ing	0.59	96.50	\$56.94	
*344 BAY ST						\$123.90	
*Ward: 2		*** Owner and Taxpa	iyer ***		-		
*Pending as of: 8/21/2020			Total Assess	ment:		\$123.90	
			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$123.90	
Daniel J Grove	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Res	idential Stree	0.41	31.00	<u>\$12.71</u>	<u> </u>
342 Bay St	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 46 BLK	Citywide Street Light	ing	0.59	31.00	\$18.29	
St Paul MN 55102-3210	10					\$31.00	
*342 BAY ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$31.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$31.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Res		0.41	40.00	\$16.40	11-28-23-11-0099
Kelsey L Blum	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 48 BLK	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
34 Bay St	10					\$40.00	
t Paul MN 55102-3210		*** Owner and Taxpa	yer ***				
334 BAY ST			Total Assess	ment:		\$40.00	
Ward: 2			This Paymen	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$40.00	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Res	idential Stree		40.00	<u> </u>	11-28-23-11-0100
836 Morrison Blvd Ste 320	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 49 BLK	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
harlotte NC 28211-2612	10					\$40.00	
330 BAY ST		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	int:		\$40.00	
eter F Luebstorf	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Res	idential Stree			<u> </u>	
Debra J Luebstorf	10, STINSON, BROWN AND RAMSEY'S	Citywide Street Lighti		0.59	40.00	\$23.60	11-20-20-11-0101
24 Bay St	ADDITION TO ST. PAUL LOT 50 BLK 10					\$40.00	
t Paul MN 55102-3210		*** Owner and Taxpa	yer ***				
324 BAY ST			Total Assess	nent:		\$40.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 65
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
State Of Mn Trust Exempt	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Resid		0.41	1.00	\$0.41	11-28-23-11-0102
Ramsey Co Tax Forf Land	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL SUBJ TO HWY	Citywide Street Lighting	g	0.59	1.00	\$0.59	***EXEMPT***
Po Box 64097	LOT 51 BLK 10	*** 0 1 5	ale ale ale			\$1.00	
St Paul MN 55164-0097		*** Owner and Taxpaye	er ***		-		
* 320 BAY ST *Ward: 2			Total Assess			\$1.00	
*Ward: 2 *Pending as of: 8/21/2020			This Paymer			\$0.00	
1 chung as 01. 6/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$1.00	
Christopher Baumhofer	A. VANCE BROWN'S SUB. OF	Street Sweeping - Com	mercial/Art	1.07	76.00	\$81.32	11-28-23-11-0103
Amy M Baumhofer	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL W 76 FT OF	Citywide Street Lighting	g	0.59	76.00	\$44.84	
737 Jefferson Ave	LOTS 1 AND LOT 2 BLK 9					\$126.16	
St Paul MN 55102-3246		*** Owner and Taxpaye	er ***				
*737 JEFFERSON AVE			Total Assess	ment:		\$126.16	
*Ward: 2			This Paymer	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	*		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$126.16	
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Comm	mercial/Art			<u> </u>	
733 Jefferson Ave	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL E 49 FT OF	Street Sweeping - Resid		0.41	46.50	\$19.07	
St Paul MN 55102-3246	LOTS 1 AND LOT 2 BLK 9	Citywide Street Lighting	g	0.59	71.00	\$41.90	
*733 JEFFERSON AVE						\$87.19	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$87.19	
			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$87.19	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 66
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Molly M Luebstorf 337 Bay St	A. VANCE BROWN'S SUB. OF STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 4 BLK	Street Sweeping - Resid Citywide Street Lightir		0.41 0.59	47.00	\$19.27 \$27.73	11-28-23-11-0106
St Paul MN 55102-3209	9					\$47.00	
*337 BAY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	nent:		\$47.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$47.00	
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resid	dential Stree		87.50	\$35.88	<u> </u>
335 Bay St	STINSON, BROWN & RAMSEY'S	Citywide Street Lightir		0.59	87.50	\$51.63	11-20-23-11-0107
St Paul MN 55102-3209	ADDITION TO ST. PAUL SUBJ TO HWY LOT 5 BLK 9		•		_	\$87.51	
*335 BAY ST		*** Owner and Taxpay	/er ***			<i>4</i> 07.01	
*Ward: 2			Total Assess	nent:		\$87.51	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$87.51	
	DAWSON AND SMITHS SUBDIVISION	Street Sweeping - Resid	dential Stree	0.41	40.00	<u> </u>	
Connie J Huspek	OF BLOCK 11 OF STINSON, BROWN	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-11-0109
329 Daly St	AND RAMSEY'S ADDITION LOT 8 BLK 2	Citywide Street Lightir	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3211	BLK 2		-		_	\$44.80	
*329 DALY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		0SMSP :	Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Paul R Ference	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Resi	dential Stree	0.41	60.00	\$24.60	11-28-23-11-0110
321 Arbor St	10, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL PART OF LOT	Citywide Street Lightir	ng	0.59	60.00	\$35.40	
St Paul MN 55102-3207 * 321 ARBOR ST	33 LYING SLY OF A LINE DESC AS BEG ON EL OF SD LOT 33 DIST 20 FT NLY OF SE COR OF SD LOT 33 TH	*** Owner and Taxpay	yer ***			\$60.00	
*Ward: 2			Total Assessm	ent:		\$60.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amour	nt:		\$60.00	
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Com	mercial/Art	1.07		<u>\$64.20</u>	11-28-23-12-0003
Naomi R Long	STINSON, BROWN & RAMSEY'S	Citywide Street Lightir		0.59	60.00	\$35.40	11 20 20 12 0000
47 Jefferson Ave	ADDITION TO ST. PAUL E 60 FT OF LOTS 23 AND 24 AND A PIPE ESMT					\$99.60	
t Paul MN 55102-3246	OVER S 10 FT OF N 30 FT OF LOT 23	*** Owner and Taxpay	yer ***				
747 JEFFERSON AVE	BLK 9		Total Assessm	ent:		\$99.60	
Ward: 2			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year P			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour	nt:		\$99.60	
Sherrie Flaherty	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resid	dential Stree			<u>\$0.41</u>	
37 Vance St	STINSON, BROWN & RAMSEY'S	Citywide Street Lightir		0.59	1.00	\$0.59	***EXEMPT***
t Paul MN 55102-3223	ADDITION TO ST. PAUL WITH NO ACCESS TO HWY THE S 1 FT OF LOT		-			\$1.00	LAEIVIFI
339 VANCE ST	29 BLK 9	*** Owner and Taxpay	yer ***			\$1.00	
Ward: 2			Total Assessme	ent:		\$1.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$1.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Peter L Hilton	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resid		0.41	47.00	\$19.27	11-28-23-12-0011
15611 Scenic Ln	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 45 BLK	Citywide Street Lightin	ng	0.59	47.00	\$27.73	
Burnsville MN 55306-5355	9					\$47.00	
*340 VIEW ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	ent:		\$47.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$47.00	
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Com	mercial/Art	1.07	42.00		
779 Jefferson Ave	STINSON, BROWN & RAMSEY'S	Citywide Street Lightin	ng	0.59	42.00	\$24.78	
St Paul MN 55102-3247	ADDITION TO ST. PAUL W 41 72/100 FT OF E 83 38/100 FT OF LOTS 47 AND					\$69.72	
*779 JEFFERSON AVE	LOT 48 BLK 9	*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	ent:		\$69.72	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$69.72	
	STINSON, BROWN AND RAMSEY'S	Street Sweeping - Com	mercial/Art	1.07	3,512.00	\$3,757.84	
Linwood Park	ADDITION TO ST. PAUL VAC STS &	Citywide Street Lightin		0.59	1,712.00	\$1,010.08	***EXEMPT***
15 Kellogg Blvd W Rm 140	ALLEY ACCRUING & PART NLY OF HWY 35E & E OF CL OF VAC				—	\$4,767.92	
St Paul MN 55102-1613	VICTORIA ST OF FOL. LOTS 7 THRU 16	*** Owner and Taxpay	/er ***				
*860 ST CLAIR AVE	BLK 6 & ALL OF BLK 39 A VANCE		Total Assessm	ent:		\$4,767.92	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour	nt:		\$4,767.92	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Pag	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
City Of St Paul	DAWSONS SUBDIVISION OF THE EAST 1/2 OF BLOCK NO. 8 SUBJ TO	Street Sweeping - Resid		0.41	159.00	\$65.19	11-28-23-12-0038	
5 4th St W Rm 1000	AVE,LOTS 35 THRU 38 BLK 9 IN (A	Citywide Street Lightin	g	0.59	159.00	\$93.81	***EXEMPT***	
t Paul MN 55102-1692 310 VICTORIA ST S	VANCE BROWNS SUBD OF STINSON BROWN & RAMSEYS ADD & IN SD	*** Owner ***				\$159.00		
Ward: 2	DAWSONS SUBD SUBJ TO HWY OVER	o wher	T + 1.4			¢150.00		
Pending as of: 8/21/2020			Total Assessr This Payment			\$159.00 \$0.00		
			Current Year			\$0.00		
			Current Year			\$0.00		
			Payoff Amou			\$159.00		
sp Salt Storage Site Pw 20413	DAWSONS SUBDIVISION OF THE	*** Taxpayer and 3rd P	Party ***				11-28-23-12-0038	
5 Kellogg Blvd W 140	EAST 1/2 OF BLOCK NO. 8 SUBJ TO AVE,LOTS 35 THRU 38 BLK 9 IN (A		Total Assessr	ment:		\$159.00	***EXEMPT***	
Paul MN 55102-1613	VANCE BROWNS SUBD OF STINSON	This Payment:				\$0.00		
310 VICTORIA ST S	BROWN & RAMSEYS ADD & IN SD DAWSONS SUBD SUBJ TO HWY OVER		Current Year Principal:			\$0.00		
Ward: 2			Current Year	Interest:		\$0.00		
Pending as of: 8/21/2020			Payoff Amou	int:		\$159.00		
	STINSON, BROWN AND RAMSEY'S	Street Sweeping - Com				<u>\$605.62</u>	<u> </u>	
5 4th St W Rm 1000	ADDITION TO ST. PAUL LOTS 1 THRU	Street Sweeping - Resid		0.41	1,466.00	\$601.06	***EXEMPT***	
t Paul MN 55102-1692	22 IN NORTHLAND ADD AND IN SD STINSON BROWN AND RAMSEYS	Citywide Street Lightin		0.59	2,032.00	\$1,198.88		
781 PALACE AVE	ADD THE W 1/2 OF BLK 20					\$2,405.56		
Ward: 2		*** Owner and Taxpay	er ***					
Pending as of: 8/21/2020			Total Assessr	ment:		\$2,405.56		
			This Payment:					
			Current Year Principal:			\$0.00		
			Current Year			\$0.00		
			Payoff Amou	int:		\$2,405.56		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SI Resolution #:	MSP	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	Un	<u>it Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Mary Ellen Van Schaick	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	11-28-23-13-0006
383 View St	21, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3419	ADDITION TO ST. PAUL LOT 5 BLK 21	Citywide Street Lighting		0.59	40.00	\$23.60	
*383 VIEW ST						\$44.80	
*Ward: 2		*** Owner and Taxpayer	***				
ending as of: 8/21/2020		-	Total Assessment	:	=	\$44.80	
		- -	This Payment:			\$0.00	
		(Current Year Prin	cipal:		\$0.00	
			Current Year Inte			\$0.00	
		1	Payoff Amount:			\$44.80	
Kathryn M Stemwedel	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	11-28-23-13-0007
381 View St	21, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 6 BLK	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3419	21	Citywide Street Lighting		0.59	40.00	\$23.60	
*381 VIEW ST						\$44.80	
*Ward: 2		*** Owner and Taxpayer ***					
*Pending as of: 8/21/2020		- -	Total Assessment	:		\$44.80	
		- -	This Payment:			\$0.00	
		(Current Year Prin	cipal:		\$0.00	
		(Current Year Inte	rest:		\$0.00	
		1	Payoff Amount:			\$44.80	
Christine K Hicks	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Commo	arcial/Art	1.07		\$63.67	
	21, STINSON, BROWN AND RAMSEY'S	Street Sweeping - Resider		0.41	22.50	\$9.23	11-28-23-13-0013
ack W Hicks 356 Fulton St	ADDITION TO ST. PAUL LOT 12 BLK	Alley Sweeping		0.12	45.00	\$5.40	
St Paul MN 55102-3407	21	Citywide Street Lighting		0.59	82.00	\$48.39	
		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				\$126.69	
*356 FULTON ST Ward: 2		*** Owner and Taxpayer	***			\$120.09	
*Pending as of: 8/21/2020		-	Total Assessment			\$126.69	
-				•		\$0.00	
			This Payment: Current Year Principal: Current Year Interest:				
		,					
		(Current Vear Inte	rect		\$0.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Richard Sekorski	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-13-0015
Kathy Sekorski	21, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	
368 Fulton St	ADDITION TO ST. PAUL LOT 14 BLK 21	Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3407						\$44.80	
*368 FULTON ST		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	ıt:		\$44.80	
Roxanne Merriman	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Resid	ential Stree	0.41	<u> </u>	\$24.60	
380 Fulton St	21, STINSON, BROWN AND RAMSEY'S	Alley Sweeping - Kesid	ientiai Stree	0.41	60.00	\$7.20	11-28-23-13-0017
St Paul MN 55102-3407	ADDITION TO ST. PAUL N 1/2 OF LOT	Citywide Street Lighting	g	0.59	60.00	\$35.40	
*380 FULTON ST	17 AND ALL OF LOT 16 BLK 21	, , , , , , , , , , , , , , , , , , , ,	6			\$67.20	
*Ward: 2		*** Owner and Taxpaye	er ***			\$07.20	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$67.20	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$67.20	
Holly A Garnell	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-13-0019
Brian A Garnell	21, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 19 BLK	Alley Sweeping		0.12	40.00	\$4.80	
388 Fulton St	21	Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3407						\$44.80	
*388 FULTON ST		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kirsten Partenheimer	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-13-0020
392 Fulton St	21, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3407	ADDITION TO ST. PAUL LOT 20 BLK 21	Citywide Street Lightin	g	0.59	40.00	\$23.60	
*392 FULTON ST						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year F	rincipal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Resid	lential Stree	0.41	40.00	<u>\$16.40</u>	
385 Fulton St	21, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-13-0020
St Paul MN 55102-3406	ADDITION TO ST. PAUL LOT 27 BLK	Citywide Street Lightin	g	0.59	40.00	\$23.60	
*385 FULTON ST	21		0		_	\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***			ф т .00	
*Pending as of: 8/21/2020			Total Assessment:				
			This Payment:			\$0.00	
			Current Year F	rincipal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
Shirlene Perrin	RAMSEY'S SUBDIVISION OF BLOCK 21, STINSON, BROWN AND RAMSEY'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-13-0031
363 Fulton St	ADDITION TO ST. PAUL LOT 32 BLK	Alley Sweeping	~	0.12	40.00	\$4.80 \$22.60	
St Paul MN 55102-3406	21	Citywide Street Lightin	g	0.59	40.00	\$23.60	
* 363 FULTON ST *Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ent:	<u> </u>	\$44.80	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Interest:				
			Payoff Amour			\$0.00 \$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by		Project: 2020SMS Resolution #:	SP	Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit</u>]	Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Gregory A Lehman	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Comme	ercial/Art	1.07	59.50	\$63.67	11-28-23-13-0033
360 Clifton St	21, STINSON, BROWN AND RAMSEY'S	Street Sweeping - Residen	tial Stree	0.41	22.50	\$9.23	
St Paul MN 55102-3402	ADDITION TO ST. PAUL LOT 34 BLK 21	Alley Sweeping		0.12	45.00	\$5.40	
*360 CLIFTON ST		Citywide Street Lighting		0.59	82.00	\$48.39	
*Ward: 2						\$126.69	
*Pending as of: 8/21/2020		*** Owner and Taxpayer	***				
		Т	Total Assessment:		-	\$126.69	
		Т	This Payment:			\$0.00	
		C	Current Year Princip	oal:		\$0.00	
		C	Current Year Interes	st:		\$0.00	
		Р	Payoff Amount:			\$126.69	
Jason R Spangler	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	11-28-23-13-0036
Kathryn Spangler	21, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 37 BLK	Alley Sweeping		0.12	40.00	\$4.80	
372 Clifton St	21	Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55102-3402						\$44.80	
*372 CLIFTON ST		*** Owner and Taxpayer	***				
Ward: 2		T	Total Assessment:		2	\$44.80	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		С	Current Year Princip	oal:		\$0.00	
		С	Current Year Interes	st:		\$0.00	
		Р	Payoff Amount:			\$44.80	
Erik Morness	RAMSEY'S SUBDIVISION OF BLOCK	Street Sweeping - Residen		0.41	40.00	\$16.40	11-28-23-13-0041
98 Clifton St	21, STINSON, BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 43 BLK	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3402	21	Citywide Street Lighting		0.59	40.00	\$23.60	
*398 CLIFTON ST						\$44.80	
Ward: 2		*** Owner and Taxpayer	***				
Pending as of: 8/21/2020			Total Assessment:			\$44.80	
		Т	This Payment:			\$0.00	
		С	Current Year Princip	oal:		\$0.00	
		С	Current Year Interes	st:		\$0.00	
		Р	Payoff Amount:			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Tom Campion	A. VANCE BROWN'S SUB. OF	Street Sweeping - Res		0.41	45.00	\$18.45	11-28-23-13-0047
420 Vance St	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 14 BLK	Citywide Street Lighti	ng	0.59	45.00	\$26.55	
St Paul MN 55102-3438	23					\$45.00	
420 VANCE ST		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$45.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$45.00	
 Michael J Dosedel	A. VANCE BROWN'S SUB. OF	Street Sweeping - Res	idential Stree		45.00	<u> </u>	
Brittany L Stahlman	STINSON, BROWN & RAMSEY'S	Citywide Street Lighti	ng	0.59	45.00	\$26.55	
26 Vance St	ADDITION TO ST. PAUL LOT 15 BLK 23					\$45.00	
t Paul MN 55102-3438		*** Owner and Taxpa	yer ***				
426 VANCE ST			Total Assess	ment:		\$45.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	unt:		\$45.00	
Greta Foote	A. VANCE BROWN'S SUB. OF	Street Sweeping - Res	idential Stree			<u>\$20.50</u>	
Jathan Foote	STINSON, BROWN & RAMSEY'S	Citywide Street Lighti		0.59	50.00	\$29.50	11-20-25-15-0055
51 James Ave	ADDITION TO ST. PAUL E 50 FT OF W 100 FT OF LOTS 19 AND LOT 20 BLK		-			\$50.00	
t Paul MN 55102-0528	23	*** Owner and Taxpa	yer ***			φ50.00	
751 JAMES AVE		1				\$50.00	
Ward: 2			Total Assess This Paymen			\$50.00 \$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$50.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resi	dential Stree	0.41	67.50	\$27.68	11-28-23-13-0055
Kathleen A Andrade	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL EX W 80 FT	Citywide Street Lightir	ng	0.59	67.50	\$39.83	
761 James Ave	LOTS 21 AND LOT 22 BLK 23					\$67.51	
St Paul MN 55102-3411		*** Owner and Taxpay	yer ***				
*761 JAMES AVE			Total Assess	nent:		\$67.51	
*Ward: 2			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$67.51	
Michael C Johnson	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resi	dential Stree			<u> </u>	
10511 Morgan Ave S	STINSON, BROWN & RAMSEY'S	Citywide Street Lightir		0.59	45.00	\$26.55	11-20-25-15-0057
Bloomington MN 55431-3434	ADDITION TO ST. PAUL LOT 24 BLK 23					\$45.00	
*435 VANCE ST		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	nent:		\$45.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$45.00	
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resid	dential Stree			<u> </u>	<u> </u>
415 Vance St	STINSON, BROWN & RAMSEY'S	Citywide Street Lightir		0.59	45.00	\$26.55	11-20-25-15-0005
St Paul MN 55102-3437	ADDITION TO ST. PAUL LOT 28 BLK 23					\$45.00	
*415 VANCE ST		*** Owner and Taxpay	yer ***			4.0.00	
*Ward: 2			Total Assess	nent:		\$45.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 76
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Mary A Morgan	A. VANCE BROWN'S SUB. OF	Street Sweeping - Reside		0.41	45.00	\$18.45	11-28-23-13-0071
Theodore D Powell	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 35 BLK	Citywide Street Lighting	3	0.59	45.00	\$26.55	
426 View St St Paul MN 55102-3428	23	*** Owner and Taxpaye	** ***			\$45.00	
*426 VIEW ST		Owner and Taxpaye					
*Ward: 2			Total Assess			\$45.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
1 enang us on 0,21,2020			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$45.00	
	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Reside	ential Stree	0.41	40.00	<u> </u>	11-28-23-13-0078
445 View St	OF BLOCK 22, STINSON BROWN & RAMSEY'S ADDITION LOT 2 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3426	RAMSET S ADDITION EOT 2 DER 1	Citywide Street Lighting	3	0.59	40.00	\$23.60	
*445 VIEW ST						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
Lindsey Baumel	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Reside	ential Stree	0.41		<u>\$11.07</u>	
3827 Aldrich Ave N	OF BLOCK 22, STINSON BROWN & RAMSEY'S ADDITION S 27 FT OF LOT	Alley Sweeping		0.12	27.00	\$3.24	
Minneapolis MN 55412-2152	3 BLK 1	Citywide Street Lighting	3	0.59	27.00	\$15.93	
*441 VIEW ST		*** Owner and Taxpaye	ar ***			\$30.24	
*Ward: 2 *Pending as of: 8/21/2020					_		
1 chung as 01. 6/21/2020			Total Assess			\$30.24	
		This Payment:				\$0.00 \$0.00	
			Current Year Principal: Current Year Interest:				
						\$0.00	
			Payoff Amo	unt:		\$30.24	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Edward W Johnson	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-13-0081	
431 View St	OF BLOCK 22, STINSON BROWN &	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55102-3426	RAMSEY'S ADDITION LOT 5 BLK 1	Citywide Street Lightir	ıg	0.59	40.00	\$23.60		
*431 VIEW ST						\$44.80		
*Ward: 2		*** Owner and Taxpay	/er ***					
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80		
			This Payment:	:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	nt:		\$44.80		
	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>		
Bruce Zachariason	OF BLOCK 22, STINSON BROWN &	Alley Sweeping	dential Stree	0.41	40.00	\$4.80	11-28-23-13-0082	
Royetta Zachariason 427 View St	RAMSEY'S ADDITION LOT 6 BLK 1	Citywide Street Lightir	ıσ	0.12	40.00	\$23.60		
427 view St St Paul MN 55102-3426		City while Subort Lightin	-6	0.59		\$44.80		
*427 VIEW ST		*** Owner and Taxpay	/er ***			\$44.80		
*Ward: 2		o mier and Tanpay						
*Pending as of: 8/21/2020			Total Assessm			\$44.80		
			This Payment			\$0.00		
			Current Year	-		\$0.00		
			Current Year			\$0.00		
			Payoff Amou	nt:		\$44.80		
William J Buehler	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Resid	dential Stree	0.41	81.50	\$33.42	<u> </u>	
Nancy Buehler	OF BLOCK 22, STINSON BROWN & RAMSEY'S ADDITION LOT 11 BLK 1	Alley Sweeping		0.12	46.00	\$5.52		
407 View St	RAMSETS ADDITION LOT IT DER T	Citywide Street Lightin	ng	0.59	81.50	\$48.09		
St Paul MN 55102-3426						\$87.03		
*407 VIEW ST		*** Owner and Taxpay	/er ***					
*Ward: 2			Total Assessm	nent:		\$87.03		
*Pending as of: 8/21/2020			This Payment: Current Year Principal:			\$0.00		
						\$0.00		
			Current Year	-		\$0.00		
			Payoff Amou	nt:		\$87.03		

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Tod Herskovitz	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Res	idential Stree	0.41	40.00	\$16.40	11-28-23-13-0092
Christy L Leaks	OF BLOCK 22, STINSON BROWN & RAMSEY'S ADDITION LOT 16 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
424 Fulton St	RAMSEY'S ADDITION LOT TO BER T	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3421						\$44.80	
*424 FULTON ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Res	idential Stree	0.41	40.00	<u>\$16.40</u>	
432 Fulton St	OF BLOCK 22, STINSON BROWN &	Alley Sweeping	idential Stree	0.12	40.00	\$4.80	11-28-23-13-0094
432 Fution St St Paul MN 55102-3421	RAMSEY'S ADDITION LOT 18 BLK 1	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*432 FULTON ST		, ,	6			\$44.80	
*Ward: 2		*** Owner and Taxpa	yer ***			\$77.00	
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Res	idential Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
Janet Barott	OF BLOCK 22, STINSON BROWN &	Alley Sweeping		0.12	40.00	\$4.80	
440 Fulton St	RAMSEY'S ADDITION LOT 20 BLK 1	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3421						\$44.80	
*440 FULTON ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
		Current Year Principal:				\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		20SMSP #:	Assmt: 200025	Manager: LM	Page 7
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Maximilian Selim	ROGERS & COLEMAN'S SUBDIVISION	Street Sweeping - Resid	ential Stree	0.41	81.50	\$33.42	11-28-23-13-0098
450 Fulton St	OF BLOCK 22, STINSON BROWN & RAMSEY'S ADDITION LOT 22 BLK 1	Alley Sweeping		0.12	46.00	\$5.52	
St Paul MN 55102-3421	RAMSETS ADDITION LOT 22 BER 1	Citywide Street Lighting	g	0.59	81.50	\$48.09	
*450 FULTON ST						\$87.03	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$87.03	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$87.03	
Thomas A Hengelfelt	MAP OF THE PIONEER REAL EST	Street Sweeping - Resid	ential Stree			<u>\$28.70</u>	<u> </u>
851 James Ave	AND BLDG SOC SUBD OF BLK 36 LOT	Citywide Street Lighting		0.59	70.00	\$41.30	11-20-25-15-0100
St Paul MN 55102-3424	1		-		_	\$70.00	
*851 JAMES AVE		*** Owner and Taxpaye	er ***			\$70.00	
*Ward: 2			Total Assessr	nent:		\$70.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$70.00	
	MAP OF THE PIONEER REAL EST	Street Sweeping - Resid	ential Stree		40.00	<u>\$16.40</u>	
847 James Ave	AND BLDG SOC SUBD OF BLK 36 LOT	Citywide Street Lighting		0.59	40.00	\$23.60	11-28-23-13-0102
St Paul MN 55102-3424	3		D			\$40.00	
*847 JAMES AVE		*** Owner and Taxpaye	er ***			\$40.00	
*Ward: 2			Total Assessr	nent:		\$40.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
James B Stevens	MAP OF THE PIONEER REAL EST	Street Sweeping - Reside		0.41	100.00	\$41.00	11-28-23-13-0106
Lynn R Anderson	AND BLDG SOC SUBD OF BLK 36 LOTS 8 AND LOT 9	Citywide Street Lighting	3	0.59	100.00	\$59.00	
421 Clifton St						\$100.00	
St Paul MN 55102-3403		*** Owner and Taxpaye	er ***				
*421 CLIFTON ST			Total Assessm	ent:		\$100.00	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$100.00	
Nancy G Rech Trustee	MAP OF THE PIONEER REAL EST	Street Sweeping - Reside	ential Stree	0.41	<u> </u>	<u>\$28.50</u>	
844 Palace Ave	AND BLDG SOC SUBD OF BLK 36 LOT	Citywide Street Lighting		0.59	69.50	\$41.01	11 20 20 10 0107
St Paul MN 55102-3436	10					\$69.51	
*844 PALACE AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessm	ent:		\$69.51	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$69.51	
	MAP OF THE PIONEER REAL EST	Street Sweeping - Reside	ential Stree			<u>\$36.70</u>	
408 Victoria St S	AND BLDG SOC SUBD OF BLK 36	Citywide Street Lighting		0.59	89.50	\$52.81	11-20-25-15-0107
St Paul MN 55102-3319	LOTS 12 AND LOT 13					\$89.51	
*856 PALACE AVE		*** Owner and Taxpaye	er ***			ψ07.01	
*Ward: 2			Total Assessm	ent:		\$89.51	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$89.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Ann Keske	KERST'S SUBDIVISION OF BLOCK 33	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-13-0114
Seth Keske	OF STINSON BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 10 0111
744 James Ave	ADDITION TO ST. PAUL LOT 4	Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-3408						\$44.80	
*744 JAMES AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
		Street Sweeping - Resid				\$16.40	
Abigail A Knudtson	KERST'S SUBDIVISION OF BLOCK 33 OF STINSON BROWN AND RAMSEY'S	Alley Sweeping	iential Stree	0.41 0.12	40.00 40.00	\$10.40 \$4.80	11-28-23-13-0117
Jonathan W Knudtson	ADDITION TO ST. PAUL LOT 7	Citywide Street Lightin	σ	0.12	40.00	\$23.60	
756 James Ave		City while Street Eightin	6	0.59	40.00	-	
St Paul MN 55102-3408		*** Owner and Taxpay	er ***			\$44.80	
*756 JAMES AVE *Ward: 2		Owner and Taxpay					
*Ward: 2 *Pending as of: 8/21/2020			Total Assessm			\$44.80	
· Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
Brian A Wean	KERST'S SUBDIVISION OF BLOCK 33	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-13-0118
4201 3rd St Ne Apt 10	OF STINSON BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	10 0110
Columbia Heights MN 55421-3742	ADDITION TO ST. PAUL LOT 8	Citywide Street Lightin	g	0.59	40.00	\$23.60	
*760 JAMES AVE						\$44.80	
*Ward: 2 *Pending as of: 8/21/2020		*** Owner and Taxpay	er ***				
			Total Assessm	ient:		\$44.80	
			This Payment:			\$0.00	
		Current Year Principal:				\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Geraldine A Ebensteiner	KERST'S SUBDIVISION OF BLOCK 33	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-13-0119
64 James Ave	OF STINSON BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 9	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3408	ADDITION TO ST. TABLE LOT - 9	Citywide Street Lighting	g	0.59	40.00	\$23.60	
764 JAMES AVE						\$44.80	
Ward: 2		*** Owner and Taxpaye	er ***				
Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
		Street Sweeping - Resid	lantial Strac	0.41	40.00	<u>\$16.40</u>	
Bradley J Brunner	KERST'S SUBDIVISION OF BLOCK 33 OF STINSON BROWN AND RAMSEY'S	Alley Sweeping - Kesid	iential Stree	0.41	40.00	\$10.40	11-28-23-13-0122
76 James Ave	ADDITION TO ST. PAUL LOT 12	Citywide Street Lighting	a	0.12	40.00	\$23.60	
t Paul MN 55102-3408		Citywide Succi Eighting	8	0.57	40.00		
776 JAMES AVE Ward: 2		*** Owner and Taxpaye	er ***			\$44.80	
Pending as of: 8/21/2020		1 7		4.		\$44.80	
ç			Total Assessme	ent:		\$0.00	
		This Payment: Current Year Principal:				\$0.00	
			Current Year I	1		\$0.00	
			Payoff Amoun			\$44.80	
	KERST'S SUBDIVISION OF BLOCK 33	Street Sweeping - Comr	mercial/Art	1.07	21.50	\$23.01	11-28-23-13-0125
ean M Berneche	OF STINSON BROWN AND RAMSEY'S	Street Sweeping - Resid	lential Stree	0.41	57.00	\$23.37	11 20 20 10 0120
83 Randolph Ave	ADDITION TO ST. PAUL LOT 15	Alley Sweeping		0.12	43.00	\$5.16	
t Paul MN 55102-3413		Citywide Street Lighting	g	0.59	78.50	\$46.32	
783 RANDOLPH AVE						\$97.86	
Ward: 2		*** Owner and Taxpaye	er ***				
Pending as of: 8/21/2020			Total Assessme	ent:		\$97.86	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	nt:		\$97.86	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	KERST'S SUBDIVISION OF BLOCK 33	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-13-0126
Steven W Sjodahl	OF STINSON BROWN AND RAMSEY'S	Alley Sweeping		0.12	40.00	\$4.80	
781 Randolph Ave	ADDITION TO ST. PAUL LOT 16	Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-3413						\$71.20	
781 RANDOLPH AVE		*** Owner and Taxpay	er ***				
Ward: 2			Total Assessn	nent:		\$71.20	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
Peter Meyer	KERST'S SUBDIVISION OF BLOCK 33 OF STINSON BROWN AND RAMSEY'S	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-13-0129
Catherine Luiken	ADDITION TO ST. PAUL LOT 19	Alley Sweeping Citywide Street Lightin	~	0.12	40.00 40.00	\$4.80 \$22.60	
71 Randolph Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
t Paul MN 55102-3413		*** Owner and Taxpay	***			\$71.20	
769 RANDOLPH AVE		Uwner and Taxpay	er +++				
Ward: 2			Total Assessn	nent:		\$71.20	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
	KERST'S SUBDIVISION OF BLOCK 33	Street Sweeping - Com	marcial/Art			\$42.80	
Gerald D Gajeski eanne M Kaiser	OF STINSON BROWN AND RAMSEY'S	Alley Sweeping	mererai/Alt	0.12	40.00	\$42.80	11-28-23-13-0131
eanne M Kaiser 61 Randolph Ave	ADDITION TO ST. PAUL LOT 21	Citywide Street Lightin	g	0.12	40.00	\$23.60	
t Paul MN 55102-3413		, <u> </u>	0			\$71.20	
761 RANDOLPH AVE		*** Owner and Taxpay	er ***			ψ/1.20	
*Ward: 2			Total Assessment: This Payment: Current Year Principal:			\$71.20	
Pending as of: 8/21/2020						\$0.00	
						\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 84
Owner or Taxpayer	<u>Property Description</u>	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kevin Michael Skerrett 757 Randolph Ave St Paul MN 55102-3413	KERST'S SUBDIVISION OF BLOCK 33 OF STINSON BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 22	Street Sweeping - Com Alley Sweeping Citywide Street Lightin		1.07 0.12 0.59	40.00 40.00 40.00	\$42.80 \$4.80 \$23.60	11-28-23-13-0132
*757 RANDOLPH AVE *Ward: 2		*** Owner and Taxpa				\$71.20	
*Pending as of: 8/21/2020			Total Assess	ment:		\$71.20	
			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$71.20	
	ROTHSCHILD'S SUBDIVISION OF	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
Carol J Martens	PART OF BLOCK 34 OF STINSON,	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
457 View St St Paul MN 55102-3427	BROWN AND RAMSEY'S ADDITION TO SAINT PAUL LOT 2 BLK 1 *** Owner and		/er ***			\$40.00	
*457 VIEW ST			Total Assess	ment:	-	\$40.00	
*Ward: 2			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	ROTHSCHILD'S SUBDIVISION OF	Street Sweeping - Com	mercial/Art			\$29.96	
807 Randolph Ave	PART OF BLOCK 34 OF STINSON,	Street Sweeping - Resid		0.41	56.00	\$22.96	
St Paul MN 55102-3415	BROWN AND RAMSEY'S ADDITION TO SAINT PAUL EX E 6 FT LOT 10	Alley Sweeping		0.12	56.00	\$6.72	
*807 RANDOLPH AVE	AND ALL OF LOT 9 BLK 1	Citywide Street Lightin	ıg	0.59	84.00	\$49.56	
*Ward: 2 *Pending as of: 8/21/2020		*** Owner and Taxpay	/er ***			\$109.20	
1 chaing us of. 0/21/2020		1 5	Total Assess	ment:	<u> </u>	\$109.20	
			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	1		\$0.00	
			Payoff Amo	unt:		\$109.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 8
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Ker Vue 671 Jenks Ave St Paul MN 55106-3111 *793 RANDOLPH AVE *Ward: 2 *Pending as of: 8/21/2020	ROTHSCHILD'S SUBDIVISION OF PART OF BLOCK 34 OF STINSON, BROWN AND RAMSEY'S ADDITION TO SAINT PAUL E 40 FT OF S 111 8/10 FT OF BLK 34 STINSON BROWN AND RAMSEYS ADD AND IN SD	Street Sweeping - Comm Street Sweeping - Reside Alley Sweeping Citywide Street Lighting *** Owner and Taxpayer	ential Stree	nent: :: Principal: Interest:	80.00 112.00 80.00 192.00	\$85.60 \$45.92 \$9.60 \$113.28 \$254.40 \$0.00 \$0.00 \$0.00 \$0.00 \$254.40	
Nathan Arnold Carrie Arnold 834 James Ave St Paul MN 55102-3412 *834 JAMES AVE *Ward: 2 *Pending as of: 8/21/2020	ROTHSCHILD'S SUBDIVISION OF PART OF BLOCK 34 OF STINSON, BROWN AND RAMSEY'S ADDITION TO SAINT PAUL LOTS 7 THRU LOT 10 BLK 2		5	: Principal: Interest:	110.00 110.00	\$45.11 \$64.91 \$110.02 \$110.02 \$0.00 \$0.00 \$0.00 \$110.02	
Nicholas J Mersch Jean T Mersch 5235 East County Line Rd White Bear Lake MN 55110-2446 *839 RANDOLPH AVE *Ward: 2 *Pending as of: 8/21/2020	ROTHSCHILD'S SUBDIVISION OF PART OF BLOCK 34 OF STINSON, BROWN AND RAMSEY'S ADDITION TO SAINT PAUL W 1/2 OF LOT 12 AND ALL OF LOT 11 BLK 2	Street Sweeping - Comm Street Sweeping - Reside Citywide Street Lighting *** Owner and Taxpayer	nercial/Art ential Stree	nent: :: Principal: Interest:	56.00 112.00 168.00	\$110.02 \$59.92 \$45.92 \$99.12 \$204.96 \$204.96 \$0.00 \$0.00 \$0.00 \$204.96	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description	1	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	ROTHSCHILD'S SUBDIVISION OF	Street Sweeping - Com	mercial/Art	1.07	56.00	\$59.92	11-28-23-13-0152
C/O Camelot Llc	PART OF BLOCK 34 OF STINSON, BROWN AND RAMSEY'S ADDITION	Citywide Street Lightin	ıg	0.59	56.00	\$33.04	
966 Minnehaha Ave S	TO SAINT PAUL E 1/2 OF LOT 12 AND					\$92.96	
linneapolis MN 55406-3232	ALL OF LOT 13 BLK 2	*** Owner and Taxpay	er ***				
833 RANDOLPH AVE			Total Assessme	ent:		\$92.96	
Ward: 2			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	it:		\$92.96	
	ROTHSCHILD'S SUBDIVISION OF	Street Sweeping - Com	mercial/Art	1.07		\$53.50	
29 Randolph Ave	PART OF BLOCK 34 OF STINSON,	Citywide Street Lightin	ıg	0.59	50.00	\$29.50	11 20 20 10 0100
Paul MN 55102-3417	BROWN AND RAMSEY'S ADDITION TO SAINT PAUL LOTS 14 AND LOT 15				—	\$83.00	
829 RANDOLPH AVE	BLK 2	*** Owner and Taxpay	ver ***				
Ward: 2			Total Assessme	ent:		\$83.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	it:		\$83.00	
	KNOWLTON'S SUBDIVISION OF PART	Street Sweeping - Resid	dential Stree	0.41		\$39.57	
isan J Mccolley	OF BLOCK 35, STINSON, BROWN AND	Citywide Street Lightin	ıg	0.59	96.50	\$56.94	
4 James Ave	RAMSEY'S ADDITION LOTS 1 2 AND LOT 3 BLK 35					\$96.51	
Paul MN 55102-3425		*** Owner and Taxpay	er ***				
844 JAMES AVE			Total Assessme	ent:		\$96.51	
Ward: 2			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	it:		\$96.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Otoole Properties Llc	STINSON, BROWN AND RAMSEY'S	Street Sweeping - Comme		1.07	59.00	\$63.13	11-28-23-13-0161
773 Lincoln Ave	ADDITION TO ST. PAUL W 58 5/10 FT OF S 111 2/3 FT OF BLK 35	Street Sweeping - Residen	ntial Stree	0.41	112.00	\$45.92	
St Paul MN 55105-3348		Citywide Street Lighting		0.59	171.00	\$100.89	
*859 RANDOLPH AVE						\$209.94	
*Ward: 2		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Т	Fotal Assessn	ment:		\$209.94	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
		P	Payoff Amou	int:		\$209.94	
<u></u> <u></u> <u></u> <u></u> <u></u> <u></u> <u></u>	KNOWLTON'S SUBDIVISION OF PART	Street Sweeping - Comme	ercial/Art			\$53.50	<u> </u>
9908 Abbott Ave S	OF BLOCK 35, STINSON, BROWN AND	Street Sweeping - Residen		0.41	56.00	\$22.96	11-20-23-13-0102
Bloomington MN 55431-2714	RAMSEY'S ADDITION LOTS 4 THRU LOT 7 BLK 35	Citywide Street Lighting		0.59	106.00	\$62.54	
*853 RANDOLPH AVE	LOT / BLX 33					\$139.00	
*Ward: 2		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		т Т	Fotal Assessn	nent:		\$139.00	
		Т	This Payment	t:		\$0.00	
		C	Current Year	Principal:		\$0.00	
		(Current Year	Interest:		\$0.00	
		P	Payoff Amou	int:		\$139.00	
Del Co Limited Partnership	KNOWLTON'S SUBDIVISION OF PART	Street Sweeping - Residen	ntial Stree		77.00	\$31.58	<u> </u>
Po Box 17122	OF BLOCK 35, STINSON, BROWN AND	Citywide Street Lighting		0.59	77.00	\$45.44	11-20-23-13-0103
St Paul MN 55117-0122	RAMSEY'S ADDITION EX THE E 40 FT; LOTS 8,9 AND LOT 10 BLK 35				_	\$77.02	
*856 JAMES AVE	LOIS 0,7 AND LOI 10 BLK 33	*** Owner and Taxpayer	***			φ//.02	
*Ward: 2		- Т	Fotal Assessn	ment:		\$77.02	
*Pending as of: 8/21/2020		Т	This Payment	t:		\$0.00	
		C	Current Year	Principal:		\$0.00	
		(Current Year	Interest:		\$0.00	
		P	Payoff Amou	int:		\$77.02	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Del Co Limited Partnership	KNOWLTON'S SUBDIVISION OF PART	Street Sweeping - Res		0.41	40.00	\$16.40	11-28-23-13-0164
Po Box 17122	OF BLOCK 35, STINSON, BROWN AND RAMSEY'S ADDITION THE E 40 FT OF	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
St Paul MN 55117-0122	LOTS 8,9 AND LOT 10 BLK 35					\$40.00	
*852 JAMES AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Res	idential Stree			\$22.14	
300 Blackhawk Rd	BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION LOT 11 BLK	Citywide Street Lighti	ing	0.59	54.00	\$31.86	11 20 20 11 0001
Eagan MN 55122-2211	18					\$54.00	
*633 PALACE AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$54.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$54.00	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Res	idential Stree				<u> </u>
Madeline M Ophelan	BLOCKS 18 & 31 OF STINSON, BROWN	Citywide Street Lighti		0.59	90.00	\$53.10	11 20 20 11 0003
84 Daly St	& RAMSEY'S ADDITION LOTS 15 AND LOT 16 BLK 18					\$90.00	
t Paul MN 55102-3341		*** Owner and Taxpa	yer ***				
384 DALY ST			Total Assess	ment	-	\$90.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$90.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Bryan A Johnson	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resi	dential Stree	0.41	45.00	\$18.45	11-28-23-14-0012
Kristin L Johnson	BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION LOT 24 BLK	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
361 Daly St	18					\$45.00	
St Paul MN 55102-3513		*** Owner and Taxpay	yer ***				
*361 DALY ST			Total Assessm	ent:		\$45.00	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year I	interest:		\$0.00	
			Payoff Amou	nt:		\$45.00	
Michelle L Nowaczewski	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resi	idential Stree		45.00	<u>\$18.45</u>	
Matthew A Nowaczewski	BLOCKS 18 & 31 OF STINSON, BROWN	Citywide Street Lightin		0.59	45.00	\$26.55	11-20-23-14-0013
377 Daly St	& RAMSEY'S ADDITION LOT 27 BLK 18					\$45.00	
St Paul MN 55102-3513		*** Owner and Taxpay	yer ***				
*377 DALY ST			Total Assessm	ent.		\$45.00	
Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou	nt:		\$45.00	
Lynn M Farrington	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resi	dential Stree			<u>\$18.45</u>	
385 Daly St	BLOCKS 18 & 31 OF STINSON, BROWN	Citywide Street Lightin		0.59	45.00	\$26.55	11-20-23-14-0017
St Paul MN 55102-3513	& RAMSEY'S ADDITION LOT 29 BLK 18	, ,	0			\$45.00	
*385 DALY ST	10	*** Owner and Taxpay	yer ***			ψ 1 5.00	
*Ward: 2			Total Assessm	ent:		\$45.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resi	dential Stree	0.41	45.00	\$18.45	11-28-23-14-0018
389 Daly St	BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION LOT 30 BLK	Citywide Street Lightir	ng	0.59	45.00	\$26.55	
St Paul MN 55102-3513	18					\$45.00	
*389 DALY ST		*** Owner and Taxpay	yer ***				
Ward: 2			Total Assessme	ent:		\$45.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$45.00	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resid	dential Stree	0.41		<u>\$28.70</u>	
95 Daly St	BLOCKS 18 & 31 OF STINSON, BROWN	Citywide Street Lightir	ng	0.59	70.00	\$41.30	
t Paul MN 55102-3513	& RAMSEY'S ADDITION PART OF LOTS 31 & 32 LYING ELY OF LINE					\$70.00	
395 DALY ST	BEG ON N LINE OF & 37 FT E OF NW COR OF LOT 31 TH S 32 FT TH ANGLE	*** Owner and Taxpay	yer ***				
Ward: 2			Total Assessme	ent:		\$70.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$70.00	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resid	dential Stree	0.41		<u> </u>	
/arilyn M Heroff	BLOCKS 18 & 31 OF STINSON, BROWN	Citywide Street Lightir		0.59	45.00	\$26.55	11-20-25-14-0022
92 Osceola Ave S	& RAMSEY'S ADDITION LOT 35 BLK 18					\$45.00	
t Paul MN 55102-3516	-	*** Owner and Taxpay	yer ***			•	
392 OSCEOLA AVE S			Total Assessme	ent:		\$45.00	
Ward: 2			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	nt:		\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 9
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michele M Culver	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resi		0.41	45.00	\$18.45	11-28-23-14-0025
Michael K Gause	BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION LOT 38 BLK	Citywide Street Lighti	ng	0.59	45.00	\$26.55	
378 Osceola Ave S	18					\$45.00	
St Paul MN 55102-3516		*** Owner and Taxpa	yer ***				
*378 OSCEOLA AVE S			Total Assess	ment:		\$45.00	
*Ward: 2 *Day diag as a f. 8/21/2020			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$45.00	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Con				\$53.50	
Tracy E Farr	BLOCKS 18 & 31 OF STINSON, BROWN	Street Sweeping - Resi		0.41	22.50	\$9.23	11-20-25-14-002)
360 Osceola Ave	& RAMSEY'S ADDITION LOT 42 BLK 18	Citywide Street Lighti	ng	0.59	72.50	\$42.78	
St Paul MN 55102-3516						\$105.51	
*360 OSCEOLA AVE S		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$105.51	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$105.51	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Con				<u>\$57.78</u>	
660 Jefferson Ave	BLOCKS 18 & 31 OF STINSON, BROWN	Citywide Street Lighti		0.59	54.00	\$31.86	11-20-25-14-0050
St Paul MN 55102-3252	& RAMSEY'S ADDITION EX E 26 75/100 FT OF S 10 FT LOT 43 BLK 18					\$89.64	
*660 JEFFERSON AVE		*** Owner and Taxpa	yer ***			<i><i><i>w</i>wwwwwwwwwww</i></i>	
*Ward: 2			Total Assess	ment:		\$89.64	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$89.64	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resi	dential Stree	0.41	54.00	\$22.14	11-28-23-14-0031
Elizabeth Cox	BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION LOT 44 BLK	Citywide Street Lightin	ıg	0.59	54.00	\$31.86	
661 Palace Ave	18					\$54.00	
St Paul MN 55102-3537		*** Owner and Taxpay	/er ***				
*661 PALACE AVE			Total Assess	ment:		\$54.00	
*Ward: 2			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$54.00	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Com	mercial/Art	1.07		\$64.20	
Brice A Weed	BLOCKS 18 & 31 OF STINSON, BROWN & RAMSEY'S ADDITION EX 7TH ST	Citywide Street Lightin	ıg	0.59	60.00	\$35.40	11 20 20 11 0001
976 7th St W	LOT 5 BLK 31					\$99.60	
St Paul MN 55102-3520		*** Owner and Taxpay	/er ***				
*976 7TH ST W			Total Assess	ment:		\$99.60	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$99.60	
	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Resi	dential Stree			<u> </u>	
Brooke Staeheli	BLOCKS 18 & 31 OF STINSON, BROWN	Citywide Street Lightin		0.59	71.50	\$42.19	11-20-23-14-0037
56 Osceola Ave	& RAMSEY'S ADDITION LOT 11 BLK 31					\$71.51	
St Paul MN 55102-3536	-	*** Owner and Taxpay	/er ***				
456 OSCEOLA AVE S			Total Assess	ment		\$71.51	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$71.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2(Resolution		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Tammy L Hanson 399 Osceola Ave S	A. V. BROWN'S, SUB. OF BLK 19. 24, & EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. LOTS 1	Street Sweeping - Resi Citywide Street Lightin		0.41 0.59	107.50	\$44.08 \$63.43	11-28-23-14-0042
St Paul MN 55102-3515	AND LOT 2 BLK 19		at at at			\$107.51	
*399 OSCEOLA AVE S		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess			\$107.51	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$107.51	
Katherine Mary Mollner	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree			<u> </u>	<u> </u>
75 Osceola Ave S	EAST HALF OF 26, IN STINSON,	Citywide Street Lightin		0.59	45.00	\$26.55	11-20-25-14-0040
t Paul MN 55102-3515	BROWN & RAMSEY'S ADD. LOT 6 BLK 19					\$45.00	
*375 OSCEOLA AVE S	222.0	*** Owner and Taxpay	yer ***			<i><i><i>ϕ</i></i> 10100</i>	
*Ward: 2			Total Assess	ment:		\$45.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$45.00	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Com			<u> </u>		
Diane Staeheli	EAST HALF OF 26, IN STINSON,	Street Sweeping - Resi		0.41	22.50	\$9.23	11-20-25-14-0051
58 Arbor St	BROWN & RAMSEY'S ADD. LOT 11 BLK 19	Citywide Street Lightin	ng	0.59	85.00	\$50.16	
St Paul MN 55102-3525	DER 17					\$126.27	
358 ARBOR ST		*** Owner and Taxpay	yer ***			• • •	
Ward: 2			Total Assess	ment:		\$126.27	
Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$126.27	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Virginia E Hester	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res	idential Stree	0.41	45.00	\$18.45	11-28-23-14-0052
364 Arbor St	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. LOT 12	Citywide Street Lighti	ing	0.59	45.00	\$26.55	
St Paul MN 55102-3525	BLK 19					\$45.00	
364 ARBOR ST		*** Owner and Taxpa	iyer ***				
Ward: 2			Total Assess	ment:		\$45.00	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$45.00	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res	idential Stree			\$36.90	
eslie A B Mollner	EAST HALF OF 26, IN STINSON,	Citywide Street Lighti	ing	0.59	90.00	\$53.10	
82 Arbor St	BROWN & RAMSEY'S ADD. LOTS 15 & LOT 16 BLK 19					\$90.00	
t Paul MN 55102-3525		*** Owner and Taxpa	yer ***				
382 ARBOR ST			Total Assess	ment:		\$90.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$90.00	
anyth K Loney	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res				<u>\$9.43</u>	
734 Colvin Ave	EAST HALF OF 26, IN STINSON,	Citywide Street Lighti		0.59	23.00	\$13.57	11-20-23-14-0037
Paul MN 55116-2709	BROWN & RAMSEY'S ADD. N 1/2 OF LOT 18 BLK 19					\$23.00	
392 ARBOR ST		*** Owner and Taxpa	iyer ***				
Ward: 2			Total Assess	ment:		\$23.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$23.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 95
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kimberly A Peters	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Reside		0.41	68.00	\$27.88	11-28-23-14-0058
394 Arbor St	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. S 1/2 OF	Citywide Street Lighting	g	0.59	68.00	\$40.12	
St Paul MN 55102-3525	LOT 18 & ALL OF LOT 19 BLK 19		de de de			\$68.00	
*394 ARBOR ST		*** Owner and Taxpaye	er ***				
*Ward: 2 *Pending as of: 8/21/2020			Total Assessr	ment:		\$68.00	
Fending as 01. 8/21/2020			This Payment			\$0.00	
			Current Year	1		\$0.00	
			Current Year Payoff Amou			\$0.00 \$68.00	
			1 ayon 7 thiết	int.		400.00	
Tammy L Hanson	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Reside	ential Stree	0.41	45.00	\$18.45	11-28-23-14-0060
399 Osceola Ave	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. E 1/2 OF	Citywide Street Lighting	g	0.59	45.00	\$26.55	
St Paul MN 55102-3515	LOT 20 BLK 19					\$45.00	
*689 PALACE AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessr	ment:		\$45.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$45.00	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Reside	ential Stree		45.00	\$18.45	11-28-23-14-0062
Jillian L Faber	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. EX	Alley Sweeping		0.12	45.00	\$5.40	
397 Arbor St	ALLEY LOT 22 BLK 19	Citywide Street Lighting	g	0.59	45.00	\$26.55	
St Paul MN 55102-3510						\$50.40	
*397 ARBOR ST		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessr	ment:		\$50.40	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$50.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description	1	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Mary Ammer	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Reside	ential Stree	0.41	45.00	\$18.45	11-28-23-14-0064
387 Arbor St	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	45.00	\$5.40	
St Paul MN 55102-3510	BROWN & RAMSEY'S ADD. EX ALLEY LOT 24 BLK 19	Citywide Street Lighting	5	0.59	45.00	\$26.55	
*387 ARBOR ST						\$50.40	
Ward: 2		*** Owner and Taxpayer	r ***				
Pending as of: 8/21/2020			Total Assessme	ent:		\$50.40	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	it:		\$50.40	
Todd A Woolson	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Reside	ential Stree	0.41	45.00	\$18.45	11-28-23-14-0065
381 Arbor St	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. EX	Alley Sweeping		0.12	45.00	\$5.40	
t Paul MN 55102-3510	ALLEY LOT 25 BLK 19	Citywide Street Lighting	5	0.59	45.00	\$26.55	
381 ARBOR ST						\$50.40	
Ward: 2		*** Owner and Taxpayer ***					
Pending as of: 8/21/2020			Total Assessme	ent:		\$50.40	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	it:		\$50.40	
Kristin A Sievers	A. V. BROWN'S, SUB. OF BLK 19. 24, & EAST HALF OF 26, IN STINSON,	Street Sweeping - Comm		1.07	58.50	\$62.60	11-28-23-14-0070
57 Arbor St	BROWN & RAMSEY'S ADD. EX	Street Sweeping - Reside	ential Stree	0.41	22.50	\$9.23	
t Paul MN 55102-3510	ALLEY LOT 30 BLK 19	Alley Sweeping		0.12	45.00	\$5.40	
357 ARBOR ST		Citywide Street Lighting	5	0.59	81.00	\$47.80	
Ward: 2						\$125.03	
Pending as of: 8/21/2020		*** Owner and Taxpayer	er ***				
			Total Assessme	ent:		\$125.03	
		This Payment:				\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	it:		\$125.03	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Christopher J Cruz	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree	0.41	36.00	\$14.76	11-28-23-14-0078	
398 Bay St	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	36.00	\$4.32		
St Paul MN 55102-3512	BROWN & RAMSEY'S ADD. EX E 8 FT FOR ALLEY AND EX N 9 FT LOT 39	Citywide Street Lightir	ng	0.59	36.00	\$21.24		
*398 BAY ST	BLK 19					\$40.32		
*Ward: 2		*** Owner and Taxpay	/er ***					
*Pending as of: 8/21/2020			Total Assess	ment:		\$40.32		
			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	unt:		\$40.32		
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>		
Laura Kuehn Lyons 394 Bay St	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-14-0079	
594 Bay St St Paul MN 55102-3512	BROWN & RAMSEY'S ADD. SUBJ TO	Citywide Street Lightir	19	0.59	40.00	\$23.60		
*394 BAY ST	ALLEY & ESMTS; EX N 14 FT, LOT 38 & N 9 FT OF LOT 39 BLK 19	, ,	e		_	\$44.80		
*Ward: 2		*** Owner and Taxpay	/er ***			φ-100		
*Pending as of: 8/21/2020			Total Assess	ment:	e	\$44.80		
			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	unt:		\$44.80		
		Street Sweeping - Resid	dantial Strac		81.00	\$33.22		
Shelby R Edwards	A. V. BROWN'S, SUB. OF BLK 19. 24, & EAST HALF OF 26, IN STINSON,	Alley Sweeping	dential Stree	0.41	45.00	\$5.40	11-28-23-14-0081	
447 Osceola Ave S St Paul MN 55102	BROWN & RAMSEY'S ADD. EX	Citywide Street Lightir	ισ	0.12	81.00	\$47.80		
	ALLEY LOT 1 BLK 24	ony while bullet Eighth	-6	0.57	=	\$86.42		
*447 OSCEOLA AVE S *Ward: 2		*** Owner and Taxpay	/er ***			\$80.42		
*Pending as of: 8/21/2020			Total Assess	ment:		\$86.42		
			This Paymen	t:		\$0.00		
			Current Year			\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	unt:		\$86.42		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Katherine Jenel Putz	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree	0.41	45.00	\$18.45	11-28-23-14-0083
441 Osceola Ave S	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	45.00	\$5.40	
St Paul MN 55102-3533	BROWN & RAMSEY'S ADD. EX ALLEY LOT 3 BLK 24	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
*441 OSCEOLA AVE S						\$50.40	
Ward: 2		*** Owner and Taxpay	yer ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$50.40	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$50.40	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree	0.41	45.00	<u>\$18.45</u>	
Kristina D Miles	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	45.00	\$5.40	11-20-25-14-0004
435 Osceola Ave S	BROWN & RAMSEY'S ADD. EX ALLEY LOT 4 BLK 24	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
St Paul MN 55102-3533	ALLET LOT Y BER 24					\$50.40	
*435 OSCEOLA AVE S		*** Owner and Taxpay	yer ***				
Ward: 2			Total Assess	ment:		\$50.40	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$50.40	
Patrick Corbett	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree		45.00	<u>\$18.45</u>	
Angela Corbett	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	45.00	\$5.40	11-20-23-14-0000
425 Osceola Ave S	BROWN & RAMSEY'S ADD. EX ALLEY LOT 6 BLK 24	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
St Paul MN 55102-3533	ALLET LOT UDER 24					\$50.40	
*425 OSCEOLA AVE S		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:	-	\$50.40	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$50.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Christopher Pennington	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree	0.41	45.00	\$18.45	11-28-23-14-0087
lennifer Pennington	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	45.00	\$5.40	
421 Osceola Ave S	BROWN & RAMSEY'S ADD. EX ALLEY LOT 7 BLK 24	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
St Paul MN 55102-3533						\$50.40	
*421 OSCEOLA AVE S		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assessr	ment:	-	\$50.40	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$50.40	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree		45.00	\$18.45	
Keisna Burrus 412 Arbor St	EAST HALF OF 26, IN STINSON,	Alley Sweeping	dential Stree	0.41	45.00	\$18.45	11-28-23-14-0092
412 Arbor St St Paul MN 55102-3526	BROWN & RAMSEY'S ADD. EX	Citywide Street Lightir	ησ	0.12	45.00	\$26.55	
*412 ARBOR ST	ALLEY LOT 12 BLK 24	entj mae Sueer Eighn		0.000		\$50.40	
* 412 ARBOR 51 *Ward: 2		*** Owner and Taxpay	yer ***			\$50.40	
*Pending as of: 8/21/2020			Total Assessr	ment:		\$50.40	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$50.40	
HALLE L OFALVEY	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	dential Stree		45.00	<u>\$18.45</u>	
416 Arbor St	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	45.00	\$5.40	11-20-23-14-0093
St Paul MN 55102-3526	BROWN & RAMSEY'S ADD. EX ALLEY LOT 13 BLK 24	Citywide Street Lightir	ng	0.59	45.00	\$26.55	
*416 ARBOR ST	ALLET LOT 13 BLK 24					\$50.40	
*Ward: 2		*** Owner and Taxpay	yer ***			\$20.10	
*Pending as of: 8/21/2020			Total Assessr	ment:		\$50.40	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$50.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Rachael E Arnott	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res	idential Stree	0.41	45.00	\$18.45	11-28-23-14-0095
24 Arbor St	EAST HALF OF 26, IN STINSON,	Alley Sweeping		0.12	45.00	\$5.40	
st Paul MN 55102-3526	BROWN & RAMSEY'S ADD. EX ALLEY LOT 15 BLK 24	Citywide Street Lighti	ng	0.59	45.00	\$26.55	
424 ARBOR ST						\$50.40	
Ward: 2		*** Owner and Taxpa	yer ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$50.40	
			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$50.40	
Therese L Goddard	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res		0.41	96.00	\$39.37	11-28-23-14-0101
obert S Goddard	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. S 1/2 OF	Citywide Street Lighti	ng	0.59	96.00	\$56.65	
49 Arbor St	LOT 22 AND ALL OF LOT 21 BLK 24					\$96.02	
t Paul MN 55102-3511		*** Owner and Taxpa	yer ***				
449 ARBOR ST			Total Assess	ment:		\$96.02	
Ward: 2			This Paymen	ıt:		\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$96.02	
Therese L Goddard	A. V. BROWN'S, SUB. OF BLK 19. 24, & EAST HALF OF 26, IN STINSON,	Street Sweeping - Res Citywide Street Lighti		0.41 0.59	23.00 23.00	\$9.43 \$13.57	11-28-23-14-0102
49 Arbor St	BROWN & RAMSEY'S ADD. N 1/2 OF	Citywide Succi Lighti	ng	0.39	23.00	-	
t Paul MN 55102-3511 443 ARBOR ST	LOT 22 BLK 24	*** Owner and Taxpa	yer ***			\$23.00	
Ward: 2			Total Assess	ment:		\$23.00	
Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$23.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Patrick R Haselman	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res	idential Stree	0.41	45.00	\$18.45	11-28-23-14-0103
439 Arbor St	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. LOT 23	Citywide Street Lighti	ing	0.59	45.00	\$26.55	
St Paul MN 55102-3511	BLK 24					\$45.00	
*439 ARBOR ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	nent:		\$45.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$45.00	
		Street Sweeping - Res	idential Stree			<u> </u>	
435 Arbor St	EAST HALF OF 26, IN STINSON,	Citywide Street Lighti		0.59	45.00	\$26.55	11 20 20 11 0101
St Paul MN 55102-3511	BROWN & RAMSEY'S ADD. LOT 24 BLK 24					\$45.00	
435 ARBOR ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	nent:		\$45.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$45.00	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res	idential Stree			<u>\$18.45</u>	
Connie R Murray	EAST HALF OF 26, IN STINSON,	Citywide Street Lighti		0.59	45.00	\$26.55	11-20-25-17-0105
29 Arbor St	BROWN & RAMSEY'S ADD. LOT 25 BLK 24					\$45.00	
t Paul MN 55102-3511		*** Owner and Taxpa	yer ***			÷ · • · • ·	
429 ARBOR ST			Total Assess	nent:		\$45.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Shawn M Costandine	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	idential Stree	0.41	45.00	\$18.45	11-28-23-14-0113
416 Bay St	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. LOT 33	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
t Paul MN 55102-3529	BLK 24					\$45.00	
416 BAY ST		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessm	nent:		\$45.00	
Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$45.00	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	idential Stree		45.00	<u>\$18.45</u>	
22 Bay St	EAST HALF OF 26, IN STINSON,	Citywide Street Lightin		0.59	45.00	\$26.55	11-20-25-14-0114
t Paul MN 55102-3529	BROWN & RAMSEY'S ADD. LOT 34 BLK 24					\$45.00	
422 BAY ST		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessm	nent:		\$45.00	
Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$45.00	
obert Frederick Vance Iii	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	idential Stree	0.41	45.00	<u> </u>	
28 Bay St	EAST HALF OF 26, IN STINSON,	Citywide Street Lightin		0.59	45.00	\$26.55	11-20-25-14-0115
t Paul MN 55102-3529	BROWN & RAMSEY'S ADD. LOT 35 BLK 24					\$45.00	
428 BAY ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessm	nent:		\$45.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
James A Kloos	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	idential Stree	0.41	45.00	\$18.45	11-28-23-14-0116
Barbara R Kloos	EAST HALF OF 26, IN STINSON, BROWN & RAMSEY'S ADD. LOT 36	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
430 Bay St	BLK 24					\$45.00	
St Paul MN 55102-3529		*** Owner and Taxpa	yer ***				
*430 BAY ST			Total Assessm	nent:		\$45.00	
*Ward: 2			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$45.00	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	idential Stree	0.41		<u> </u>	
440 Bay St	EAST HALF OF 26, IN STINSON,	Citywide Street Lightin		0.59	45.00	\$26.55	11-20-25-14-0110
St Paul MN 55102-3529	BROWN & RAMSEY'S ADD. LOT 38 BLK 24					\$45.00	
440 BAY ST		*** Owner and Taxpa	yer ***			• • • •	
*Ward: 2			Total Assessm	nent:		\$45.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$45.00	
	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Resi	idential Stree			<u> </u>	
146 Bay St	EAST HALF OF 26, IN STINSON,	Citywide Street Lightin		0.59	45.00	\$26.55	11-20-23-14-0117
St Paul MN 55102-3529	BROWN & RAMSEY'S ADD. LOT 39 BLK 24		-			\$45.00	
446 BAY ST	DER 27	*** Owner and Taxpa	yer ***			ψτ3.00	
Ward: 2			Total Assessn	nent:	-	\$45.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	7 PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kvasnik Properties Iii Llc	A. VANCE BROWN'S SUB. OF	Street Sweeping - Res		0.41	85.00	\$34.86	11-28-23-14-0121
2190 Marshall Ave	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 1 BLK	Citywide Street Lighti	ng	0.59	85.00	\$50.16	
St Paul MN 55104-5758	23					\$85.02	
*451 BAY ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:	-	\$85.02	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$85.02	
William T Costandine Jr	A. VANCE BROWN'S SUB. OF	Street Sweeping - Res	idential Stree		<u> </u>	<u> </u>	
39 Bay St	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 3 BLK	Citywide Street Lighti	ng	0.59	45.00	\$26.55	11 20 20 11 0120
t Paul MN 55102-3527	23					\$45.00	
*439 BAY ST		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$45.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$45.00	
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Res	idential Stree		45.00	<u> </u>	
Patricia Page	STINSON, BROWN & RAMSEY'S	Citywide Street Lighti		0.59	45.00	\$26.55	11-20-25-14-0124
35 Bay St	ADDITION TO ST. PAUL LOT 4 BLK 23					\$45.00	
t Paul MN 55102-3527		*** Owner and Taxpa	yer ***			• • • •	
435 BAY ST			Total Assess	ment:		\$45.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
E & K Real Estate Investments Llc	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resi		0.41	45.00	\$18.45	11-28-23-14-0125
658 Thomas	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 5 BLK	Citywide Street Lightin	ıg	0.59	45.00	\$26.55	
St Paul MN 55101-3004	23					\$45.00	
*429 BAY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:	-	\$45.00	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$45.00	
Elizabeth M Koegel Trustee	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resi	dential Stree			<u> </u>	
1745 Kennard St N	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 6 BLK	Citywide Street Lightin	ıg	0.59	45.00	\$26.55	11 20 20 11 0120
St Paul MN 55109-4603	23					\$45.00	
*425 BAY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$45.00	
*Pending as of: 8/21/2020			This Paymen	it:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$45.00	
Harvester Investors Inc	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resi	dential Stree		45.00	<u> </u>	
1845 Stinson Blvd Ste 102	STINSON, BROWN & RAMSEY'S	Citywide Street Lightin		0.59	45.00	\$26.55	11 20 20 11 0120
Minneapolis MN 55418-4897	ADDITION TO ST. PAUL LOT 8 BLK 23					\$45.00	
*415 BAY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$45.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$45.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 106
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Eric T Myott	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resi		0.41	45.00	\$18.45	11-28-23-14-0129
Leah M Myott	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 9 BLK	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
411 Bay St	23		ala ala ala			\$45.00	
St Paul MN 55102-3527		*** Owner and Taxpa	yer ***				
* 411 BAY ST *Ward: 2			Total Assess	nent:		\$45.00	
* ward: 2 *Pending as of: 8/21/2020			This Paymen			\$0.00	
Fending as of. 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$45.00	
Terrence E Tessmer	A. VANCE BROWN'S SUB. OF	Street Sweeping - Resi		0.41		\$34.86	11-28-23-14-0130
407 Bay St	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 10 BLK	Citywide Street Lightin	ng	0.59	85.00	\$50.16	
St Paul MN 55102-3527	23					\$85.02	
*407 BAY ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	nent:		\$85.02	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$85.02	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Com	mercial/Art	1.07	76.00	\$81.32	11-28-23-14-0131
2400 Blaisdaell Ave S Unit 300	25, STINSON, BROWN AND RAMSEY'S ADD. TO ST. PAUL, MINN. LOTS 10	Street Sweeping - Resi		0.41	136.00	\$55.76	
Minneapolis MN 55404-3331	AND LOT 11 BLK 25	Citywide Street Lightin	ng	0.59	212.00	\$125.08	
*438 DALY ST *Ward: 2		*** Owner and Taxpa	ver ***			\$262.16	
*Pending as of: 8/21/2020		o nier une ranpa					
			Total Assess			\$262.16	
			This Paymen Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$262.16	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Com	mercial/Art	1.07	43.00	\$46.01	11-28-23-14-0133
Susan M Thune	25, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	37.00	\$4.44	11 20 20 11 0100
26 Irvine Park	ADD. TO ST. PAUL, MINN. LOT 13 BLK 25	Citywide Street Lightin	ıg	0.59	43.00	\$25.37	
St Paul MN 55102-4403						\$75.82	
*943 7TH ST W		*** Owner and Taxpay	/er ***				
Ward: 2			Total Assess	ment:	-	\$75.82	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:	\$0.00		
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$75.82	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Com	mercial/Art			\$47.08	11-28-23-14-0134
941 7th St W	25, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	39.00	\$4.68	11-20-23-14-0134
St Paul MN 55102-3501	ADD. TO ST. PAUL, MINN. LOT 14 BLK 25	Citywide Street Lightin	ıg	0.59	44.00	\$25.96	
*937 7TH ST W	BLK 25		-			\$77.72	
*Ward: 2		*** Owner and Taxpay	/er ***			<i><i><i>ψιιι²</i></i></i>	
Pending as of: 8/21/2020			Total Assess	ment:		\$77.72	
			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$77.72	
	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Com	mercial/Art			\$37.45	
025 7th St W	25, STINSON, BROWN AND RAMSEY'S	Alley Sweeping		0.12	15.00	\$1.80	11-20-25-14-0157
St Paul MN 55102-3501	ADD. TO ST. PAUL, MINN. SUBJ TO AND WITH ESMTS PART OF VAC	Citywide Street Lightin	ıg	0.59	35.00	\$20.65	
*925 7TH ST W	ALLEY S OF L RUN FROM PT ON					\$59.90	
*Ward: 2	NWLY L OF AND 22 FT SWLY FROM N	*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assessment:			\$59.90	
			This Paymen	nt:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$59.90	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 108
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michael B Szostkowski 412 Daly St St Paul MN 55102-3532	STINSON'S SUBDIVISION OF BLOCK 25, STINSON, BROWN AND RAMSEY'S ADD. TO ST. PAUL, MINN. LOT 22 BLK 25	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60	11-28-23-14-0142
*412 DALY ST						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr			\$44.80	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year Payoff Amou			\$0.00 \$44.80	
Bethany M Ludka 408 Daly St St Paul MN 55102-3532 *408 DALY ST *Ward: 2 *Pending as of: 8/21/2020	STINSON'S SUBDIVISION OF BLOCK 25, STINSON, BROWN AND RAMSEY'S ADD. TO ST. PAUL, MINN. LOT 23 BLK 25	Street Sweeping - Resid Alley Sweeping Citywide Street Lighting *** Owner and Taxpayo	g	t:	80.50 45.00 80.50	\$33.01 \$5.40 \$47.50 \$85.91 \$85.91 \$0.00 \$0.00	
			Current Year Payoff Amou			\$0.00 \$85.91	
Kathleen L Wosika James Matthew Wosika Sr 712 James Ave St Paul MN 55102-3506 * 712 JAMES AVE *Ward: 2 *Pending as of: 8/21/2020	A. VANCE BROWN'S SUB. OF STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 9 BLK 32	Street Sweeping - Resid Citywide Street Lighting *** Owner and Taxpaye	ential Stree	nent: t: Principal: Interest:	47.00 47.00	\$19.27 \$27.73 \$47.00 \$47.00 \$0.00 \$0.00 \$0.00 \$47.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Gregory T Pavlick	A. VANCE BROWN'S SUB. OF	Street Sweeping - Com	mercial/Art	1.07	47.00	\$50.29	11-28-23-14-0158
Po Box 16124	STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL LOT 13 BLK	Street Sweeping - Resid	dential Stree	0.41	126.00	\$51.66	
St Paul MN 55116-0124	32	Citywide Street Lightin	ıg	0.59	173.00	\$102.07	
727 RANDOLPH AVE						\$204.02	
Ward: 2		*** Owner and Taxpay	er ***				
Pending as of: 8/21/2020			Total Assessn	nent:		\$204.02	
			This Payment	:		\$0.00	
			Current Year Principal:				
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$204.02	
Michael T Strafelda	KERST'S SUBDIVISION OF BLOCK 33	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-14-0171
Lori B Strafelda	OF STINSON BROWN AND RAMSEY'S ADDITION TO ST. PAUL LOT 3	Alley Sweeping		0.12	40.00	\$4.80	
40 James Ave	ADDITION TO ST. TRUE LOT 5	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3408 * 740 JAMES AVE						\$44.80	
		*** Owner and Taxpayer ***					
Ward: 2			Total Assessn	nent:	-	\$44.80	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
br Of St Paul Llc	KERST'S SUBDIVISION OF BLOCK 33 OF STINSON BROWN AND RAMSEY'S	Street Sweeping - Com		1.07	43.00	\$46.01	11-28-23-14-0174
966 Edgcumbe Rd	ADDITION TO ST. PAUL LOT 28	Street Sweeping - Resic Alley Sweeping	iential Stree	0.41 0.12	114.00 43.00	\$46.74 \$5.16	
t Paul MN 55116-2479		Citywide Street Lightin	~	0.12	43.00	\$92.63	
731 RANDOLPH AVE		Citywide Suber Lightin	ig	0.39	157.00		
Ward: 2		*** Owner and Taxpay	Or ***			\$190.54	
Pending as of: 8/21/2020		owner and Taxpay		4.	-	£100 54	
			Total Assessn			\$190.54	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$190.54	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
William J Marquardt	THOMAS DALY'S SUBDIVISION OF	Street Sweeping - Cor	nmercial/Art	1.07		\$53.50	11-28-23-14-0181
1430 Englewood Ave	BLOCKS 18 & 31 OF STINSON, BROWN	Street Sweeping - Res	idential Stree	0.41	22.50	\$9.23	
St Paul MN 55104-1951	& RAMSEY'S ADDITION LOT 21 BLK 18	Citywide Street Light	ng	0.59	72.50	\$42.78	
*360 DALY ST						\$105.51	
*Ward: 2		*** Owner and Taxpa	yer ***				
Pending as of: 8/21/2020			Total Assessm	nent:		\$105.51	
			This Payment:	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$105.51	
Cheryl Ann Woessner	A. V. BROWN'S, SUB. OF BLK 19. 24, &	Street Sweeping - Res	idential Stree		102.50	\$42.03	
Stachia Lee Woessner	EAST HALF OF 26, IN STINSON,	Alley Sweeping	Idential Street	0.12	90.00	\$10.80	11-28-23-14-0182
407 Osceola Ave S	BROWN & RAMSEY'S ADD. EX	Citywide Street Light	ng	0.59	102.50	\$60.48	
St Paul MN 55102-3533	ALLEY; LOTS 9 & 10 24					\$113.31	
*407 OSCEOLA AVE S		*** Owner and Taxpa	yer ***			\$115.51	
*Ward: 2			Total Assessm	ient:		\$113.31	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$113.31	
					98.00	<u>\$104.86</u>	
Phi Chay Thai Cuisine Of Mn	CITY BANK REARRANGEMENT ST. PAUL, MINN. LOT 2 AND LOT 3	Street Sweeping - Cor Street Sweeping - Res		0.41	21.00	\$104.86 \$8.61	11-28-23-14-0183
067 7th St W	,	Citywide Street Light		0.41	119.00	\$70.21	
St Paul MN 55102-3519		Citywide Street Eight	ing	0.57		-	
*967 7TH ST W *Ward: 2		*** Owner and Taxpa	yer ***			\$183.68	
Pending as of: 8/21/2020			Total Assessm	nent:		\$183.68	
			This Payment:			\$0.00	
			Current Year 1			\$0.00	
			Current Year	1		\$0.00	
			Payoff Amou			\$183.68	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Cslk Properties Llc	STINSON'S SUBDIVISION OF BLOCK	Street Sweeping - Con		1.07	35.00	\$37.45	11-28-23-14-0184
966 W 7th St	25, STINSON, BROWN AND RAMSEY'S ADD. TO ST. PAUL, MINN. SUBJ TO	Citywide Street Light	ting	0.59	35.00	\$20.65	
St Paul MN 55102-3502 * 972 7TH ST W	WIDENED 7TH ST THE FOL EX PART OF LOT 8 SELY OF A L PAR WITH AND 47 FT SELY FROM ORIGINAL CL	*** Owner and Taxpa	*** Owner and Taxpayer ***			\$58.10	
*Ward: 2			Total Assess	ment:		\$58.10	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$58.10	
	A. VANCE BROWN'S SUB. OF	Street Sweeping - Res	sidential Stree	0.41		<u>\$26.24</u>	
461 Osceloa Ave S	STINSON, BROWN & RAMSEY'S	Citywide Street Light		0.59	64.00	\$37.76	11-20-25-14-0107
St Paul MN 55102-3534	ADDITION TO ST. PAUL S 63.5 FT OF N 106 FT OF LOT 1 & LOT 2 BLK 32					\$64.00	
*461 OSCEOLA AVE S		*** Owner and Taxpa	ayer ***			<i>\$</i> 0.000	
*Ward: 2			Total Assess	ment:		\$64.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$64.00	
	Subj To Sts And Esmts Part Sely Of 7th St	Street Sweeping - Cor					
25 4th St W Rm 1000	Of Lots 6,7 And 17 Thru 20, And 25 Thru	Street Sweeping - Res		0.41	75.00	\$30.75	***EXEMPT***
St Paul MN 55102-1692	27 And All Of Lots 21 Thru 24 Blk 31	Citywide Street Light		0.59	670.00	\$395.30	EXEIVII I
*645 RANDOLPH AVE						\$1,062.70	
*Ward: 2		*** Owner and Taxpa	ayer ***			<i> </i>	
*Pending as of: 8/21/2020			Total Assess	ment:		\$1,062.70	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$1,062.70	

Soo Line Railroad Co Soo Line	Property Description SUBDIVISION OF AYD'S FARM 100 ACRES NW 1/4 OF S. 11, T. 28, R. 23 A 120 FT RR R/W BEING 60 FT ON EITHER SIDE OF CL OF C M ST P AND P RR AS LOCATED OVER AND ACROSS LOTS 2 AND LOT 3 SUBDIVISION OF AYD'S FARM 100 ACRES NW 1/4 OF S. 11, T. 28, R. 23 BEG AT PT ON W L OF LOT 4 140 FT N	Item Description Street Sweeping - Resi Citywide Street Lightin *** Owner and Taxpay Street Sweeping - Resi Citywide Street Lightin	ng yer *** Total Assessm This Payment: Current Year I Current Year I Payoff Amou	: Principal: Interest:	<u>Quantity</u> 345.00 345.00	Charge Amts \$141.45 \$203.55 \$345.00 \$345.00 \$0.00 \$0.00 \$0.00 \$345.00	<u>Property ID</u> 			
Attn Tax Department Attn T	ACRES NW 1/4 OF S. 11, T. 28, R. 23 A 120 FT RR R/W BEING 60 FT ON EITHER SIDE OF CL OF C M ST P AND P RR AS LOCATED OVER AND ACROSS LOTS 2 AND LOT 3 SUBDIVISION OF AYD'S FARM 100 ACRES NW 1/4 OF S. 11, T. 28, R. 23	Citywide Street Lightin *** Owner and Taxpay	ng yer *** Total Assessm This Payment: Current Year I Current Year I Payoff Amou	0.59 nent: : Principal: Interest:		\$203.55 \$345.00 \$345.00 \$0.00 \$0.00 \$0.00	11-28-23-21-0003			
Attn 1ax Department 120 S 6th St Flr 7 Hinneapolis MN 55402-1803 *0 BENHILL RD *Ward: 2 *Pending as of: 8/21/2020 Soo Line Railroad Co Attn Tax Department 120 S 6th St Flr 7 Hinneapolis MN 55402-1803 T *0 BENHILL RD *Ward: 2	120 FT RR R/W BEING 60 FT ON EITHER SIDE OF CL OF C M ST P AND P RR AS LOCATED OVER AND ACROSS LOTS 2 AND LOT 3 SUBDIVISION OF AYD'S FARM 100 ACRES NW 1/4 OF S. 11, T. 28, R. 23	*** Owner and Taxpay	yer *** Total Assessm This Payment: Current Year I Current Year I Payoff Amou	nent: : Principal: Interest:	345.00	\$345.00 \$345.00 \$0.00 \$0.00 \$0.00				
120 S 6th St Flr 7 F Minneapolis MN 55402-1803 P * 0 BENHILL RD A * Ward: 2 * * Pending as of: 8/21/2020 Soo Line Railroad Co Soo Line Railroad Co Soo Line Railroad Co Attn Tax Department A 120 S 6th St Flr 7 F Minneapolis MN 55402-1803 T * 0 BENHILL RD T * Ward: 2 Soo Line Railroad Co	EITHER SIDE OF CL OF C M ST P AND P RR AS LOCATED OVER AND ACROSS LOTS 2 AND LOT 3 SUBDIVISION OF AYD'S FARM 100 ACRES NW 1/4 OF S. 11, T. 28, R. 23		Total Assessm This Payment: Current Year I Current Year I Payoff Amou	: Principal: Interest:		\$345.00 \$0.00 \$0.00 \$0.00				
initial point initial for the formation of	ACROSS LOTS 2 AND LOT 3 SUBDIVISION OF AYD'S FARM 100 ACRES NW 1/4 OF S. 11, T. 28, R. 23		Total Assessm This Payment: Current Year I Current Year I Payoff Amou	: Principal: Interest:		\$0.00 \$0.00 \$0.00				
O BENHILL RD Ward: 2 Pending as of: 8/21/2020 Soo Line Railroad Co Soo Line Railroad Co Attn Tax Department 20 S 6th St Flr 7 Finneapolis MN 55402-1803 T O BENHILL RD Ward: 2	SUBDIVISION OF AYD'S FARM 100 ACRES NW 1/4 OF S. 11, T. 28, R. 23	1 0	This Payment: Current Year I Current Year I Payoff Amou	: Principal: Interest:		\$0.00 \$0.00 \$0.00				
Pending as of: 8/21/2020 oo Line Railroad Co statu Tax Department 20 S 6th St Flr 7 finneapolis MN 55402-1803 0 BENHILL RD Ward: 2	ACRES NW 1/4 OF S. 11, T. 28, R. 23	1 0	Current Year I Current Year I Payoff Amou	Principal: Interest:		\$0.00 \$0.00				
oo Line Railroad Co S Attn Tax Department B 20 S 6th St Flr 7 F Minneapolis MN 55402-1803 T 0 BENHILL RD T Ward: 2	ACRES NW 1/4 OF S. 11, T. 28, R. 23	1 0	Current Year I Payoff Amou	Interest:		\$0.00				
Attn Tax Department PE 20 S 6th St Flr 7 FF Minneapolis MN 55402-1803 TE SO BENHILL RD TE Ward: 2	ACRES NW 1/4 OF S. 11, T. 28, R. 23	1 0	Payoff Amou							
Attn Tax Department PE 20 S 6th St Flr 7 PE Minneapolis MN 55402-1803 TE *0 BENHILL RD TE *Ward: 2	ACRES NW 1/4 OF S. 11, T. 28, R. 23	1 0		nt:		\$345.00				
Attn Tax DepartmentA120 S 6th St Flr 7FMinneapolis MN 55402-1803T*0 BENHILL RDT*Ward: 22	ACRES NW 1/4 OF S. 11, T. 28, R. 23	1 0	idential Stree							
Attn Tax Department Attn Tax Department H 120 S 6th St Flr 7 F Minneapolis MN 55402-1803 T *0 BENHILL RD * Ward: 2		Citywide Street Lightin		0.41	439.00	\$179.99	11-28-23-21-0004			
20 S 6th St Flr 7 F Minneapolis MN 55402-1803 T *0 BENHILL RD *Ward: 2		Sity white Street Lightin	ng	0.59	439.00	\$259.01	11-20-25-21-0004			
Ainneapolis MN 55402-1803 T TO BENHILL RD Ward: 2	FROM CL OF SD C M ST P AND P RR					\$439.00				
Ward: 2	TH E PAR TO N L OF SEC 11 T 28 R 23 TO NWLY L OF LOT 5 TH SWLY ON	*** Owner and Taxpay	yer ***							
		O NWLY L OF LOT 5 TH SWLY ON	TO NWLY L OF LOT 5 TH SWLY ON	TO NWLY L OF LOT 5 TH SWLY ON	TO NWLY L OF LOT 5 TH SWLY ON		Total Assessm	nent:		\$439.00
Pending as of: 8/21/2020			This Payment:			\$0.00				
			Current Year I			\$0.00				
		Current Year Interest:				\$0.00				
			Payoff Amou	nt:		\$439.00				
	SUBDIVISION OF AYD'S FARM 100	Street Sweeping - Resi	idential Stree		145.00	\$59.45				
	ACRES NW 1/4 OF S. 11, T. 28, R. 23 EX	Citywide Street Lightin		0.59	145.00	\$85.55	11-28-23-21-0005			
	RD BEG AT NE COR OF LOT 5 TH SWLY ON NWLY L THEREOF 650 FT	, 8	C C			\$145.00				
	TH ELY TO PT ON NELY L OF SD LOT	*** Owner and Taxpay	ver ***			\$1 1 3.00				
	60 FT AT RA SLY FROM CL OF C M ST				_	¢145.00				
Ward: 2			Total Assessm			\$145.00				
Pending as of: 8/21/2020			This Payment:			\$0.00 \$0.00				
-			Current Year I Current Year I	-		\$0.00 \$0.00				
			Payoff Amou			\$0.00 \$145.00				

10:54:40 11/16/2020	Public Improvement Assessment Roll b		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 11
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Charles D Stuurop	TELANDER'S ADDITION EX S 40 FT	Street Sweeping - Comme	ercial/Art	1.07	30.50	\$32.64	11-28-23-21-0008
C/O Charles Stuurop Enterprises	LOT 3	Street Sweeping - Resider	ntial Stree	0.41	44.50	\$18.25	11 20 20 21 0000
1232 Juliet Ave		Citywide Street Lighting		0.59	75.00	\$44.26	
St Paul MN 55105-2903						\$95.15	
*916 ST CLAIR AVE		*** Owner and Taxpayer	***				
*Ward: 2		-	Total Assessm	ent:		\$95.15	
*Pending as of: 8/21/2020		1	This Payment:			\$0.00	
		(Current Year I	Principal:		\$0.00	
		(Current Year I	nterest:		\$0.00	
		I	Payoff Amou	nt:		\$95.15	
Charles O Evens	TELANDER'S ADDITION S 40 FT OF	Street Sweeping - Resider	ntial Stree	0.41	40.00	<u>\$16.40</u>	
Susan L Otterness	LOTS 2 AND LOT 3	Citywide Street Lighting		0.59	40.00	\$23.60	11-20-23-21-0009
250 Milton St S					_	\$40.00	
St Paul MN 55105-3262		*** Owner and Taxpayer	***			\$ 1 0.00	
*250 MILTON ST S		-	Total Assessm	ent:	-	\$40.00	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I			\$0.00	
			Current Year I	-		\$0.00	
		I	Payoff Amou	nt:		\$40.00	
Zane A Bushey	TELANDER'S ADDITION LOT 5	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	11-28-23-21-0011
Mallory S Clark		Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 40.00	\$4.80 \$23.60	
258 Milton St S		Citywide Suber Lighting		0.39	40.00		
St Paul MN 55105-3262 *258 MILTON ST S		*** Owner and Taxpayer	***			\$44.80	
*Ward: 2		-				£44.90	
*Pending as of: 8/21/2020			Fotal Assessm			\$44.80	
0			This Payment:			\$0.00	
			Current Year I Current Year I	-		\$0.00 \$0.00	
						\$0.00 \$44.80	
		I	Payoff Amou	ut:		\$44.80	

10:54:40 11/16/2020			Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 114
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Lynda A Clover	AUDITOR'S SUBDIVISION NO. 74 ST.	Street Sweeping - Com		1.07	58.00	\$62.06	11-28-23-21-0012
Timothy H Donahue	PAUL, MINN. LOT 1	Citywide Street Lightin	ng	0.59	58.00	\$34.22	
976 St Clair Ave						\$96.28	
St Paul MN 55105-3214		*** Owner and Taxpay	/er ***				
*978 ST CLAIR AVE *Ward: 2			Total Assess			\$96.28	
*Ward: 2 *Pending as of: 8/21/2020			This Paymer			\$0.00	
· Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$96.28	
	AUDITOR'S SUBDIVISION NO. 74 ST.	Street Sweeping - Com	mercial/Art			<u>\$42.80</u>	
Sarah M Milazzo	PAUL, MINN. LOT 3	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
966 St Clair Ave						\$66.40	
St Paul MN 55105-3214		*** Owner and Taxpay	/er ***				
*966 ST CLAIR AVE			Total Assess	ment		\$66.40	
*Ward: 2			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$66.40	
State Of Mn Trust Exempt	AUDITOR'S SUBDIVISION NO. 74 ST. PAUL, MINN. LOT 9	Street Sweeping - Com Street Sweeping - Resid		1.07 0.41	9.00 129.00	\$9.63 \$52.89	11-28-23-21-0019
Ramsey Co Tax Forf Land		Alley Sweeping	uential Stree	0.41	9.00	\$1.08	***EXEMPT***
Po Box 64097 St Paul MN 55164-0097		Citywide Street Lightin	ıg	0.12	138.00	\$81.42	
*245 MILTON ST S			0		_	\$145.02	
*Ward: 2		*** Owner and Taxpay	/er ***			\$175.02	
*Pending as of: 8/21/2020			Total Assess	ment:		\$145.02	
			This Paymer	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$145.02	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Melissa A Goodman	AUDITOR'S SUBDIVISION NO. 74 ST.	Street Sweeping - Resid		0.41	40.00	\$16.40	11-28-23-21-0021
941 Lombard Ave	PAUL, MINN. LOT 11	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55105-3254		*** 0 1 T				\$40.00	
*941 LOMBARD AVE		*** Owner and Taxpay	er ***				
*Ward: 2 *Pending as of: 8/21/2020			Total Assess			\$40.00	
Pending as 01: 8/21/2020			This Paymer			\$0.00	
			Current Year	1		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	unt:		\$40.00	
	AUDITOR'S SUBDIVISION NO. 74 ST.	Street Sweeping - Resid	dential Stree		47.00	\$19.27	11-28-23-21-0024
Aurelia H Wills	PAUL, MINN. LOT 14	Citywide Street Lightin	ıg	0.59	47.00	\$27.73	
955 Lombard Ave						\$47.00	
St Paul MN 55105-3254		*** Owner and Taxpay	er ***				
*955 LOMBARD AVE			Total Assess	ment:	-	\$47.00	
*Ward: 2			This Paymer	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$47.00	
 Henrietta D Carvalho	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Com	mercial/Art		46.00	<u> </u>	
Tyler D Hall	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	46.00	\$5.52	11 20 20 21 0002
924 St Clair Ave	MINN. EX THE W 24 FT LOT 4 BLK 6	Citywide Street Lightin	ıg	0.59	46.00	\$27.14	
St Paul MN 55105-3214						\$81.88	
*922 ST CLAIR AVE		*** Owner and Taxpay	ver ***				
*Ward: 2			Total Assess	ment:		\$81.88	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Yea			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$81.88	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2(Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Jeffrey A Austin	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res		0.41	60.00	\$24.60	11-28-23-21-0043
Robin R Austin	THE CITY OF ST. PAUL, RAMSEY CO., MINN. W 1/2 OF LOT 17 AND ALL OF	Citywide Street Lighti	ing	0.59	60.00	\$35.40	
5713 Melody Ln	LOT 16 BLK 7					\$60.00	
Minneapolis MN 55406-2416		*** Owner and Taxpa	iyer ***				
944 LOMBARD AVE			Total Assess	ment:		\$60.00	
Ward: 2			This Paymer	nt:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$60.00	
Jeannine Voshell	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree			<u> </u>	
effrey Voshell	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti		0.59	108.50	\$64.02	11 20 20 21 0017
20 Lombard Ave	MINN. SUBJ TO ESMT OVER S 12 FT LOT 22 BLK 7					\$108.51	
t Paul MN 55105-3253		*** Owner and Taxpa	iyer ***				
920 LOMBARD AVE			Total Assess	ment		\$108.51	
Ward: 2			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$108.51	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree			\$30.75	
Aargaret M Lamicatraver	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti		0.41	75.00	\$44.25	11-28-23-21-0049
95 Milton St S	MINN. EX N 50 FT LOT 23 BLK 7	,	0			\$75.00	
t Paul MN 55105-3263		*** Owner and Taxpa	ayer ***			\$75.00	
295 MILTON ST S			·		-		
Ward: 2			Total Assess			\$75.00	
Pending as of: 8/21/2020			This Paymer Current Year			\$0.00 \$0.00	
-			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amo			\$0.00 \$75.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Susan S Burdi	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res		0.41	81.00	\$33.21	11-28-23-21-0052
Charles A Burdi	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOTS 27 & LOT 28 BLK 7	Citywide Street Lighti	ing	0.59	81.00	\$47.79	
943 Benhill Rd						\$81.00	
St Paul MN 55105-3200		*** Owner and Taxpa	iyer ***				
*943 BENHILL RD			Total Assess	ment:		\$81.00	
Ward: 2			This Paymer	nt:		\$0.00	
Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$81.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree				<u> </u>
C/O Bill Bisanz	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti	ing	0.59	80.00	\$47.20	11 20 20 21 0000
79 Selby Ave	MINN. LOTS 29 & LOT 30 BLK 7					\$80.00	
St Paul MN 55102-1730		*** Owner and Taxpa	iyer ***				
949 BENHILL RD			Total Assess	ment:		\$80.00	
Ward: 2			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$80.00	
Cathie Lee Wendell	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree			<u> </u>	
434 Como Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti		0.59	120.00	\$70.80	11-20-23-21-0034
t Paul MN 55108-2540	MINN. LOTS 31 32 AND LOT 33 BLK 7		-			\$120.00	
953 BENHILL RD		*** Owner and Taxpa	iyer ***			\$120.00	
Ward: 2			Total Assess	ment:	-	\$120.00	
Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$120.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 118
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Matthew T Coleman	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Reside		0.41	80.00	\$32.80	11-28-23-21-0056
Jennifer H Coleman	THE CITY OF ST. PAUL, RAMSEY CO., MINN. SUBJ TO ESMTS LOTS 35 AND	Citywide Street Lighting	g	0.59	80.00	\$47.20	
969 Benhill Rd	LOT 36 BLK 7	*** 0 1 T	***			\$80.00	
St Paul MN 55105-3200 * 969 BENHILL RD		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assess			\$80.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
1 onalig us of: 0,21,2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$80.00	
Debra K Mounsey	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Reside	ential Stree		40.00	<u> </u>	<u> </u>
267 Deubener Place	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 7 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55105-3201	MINN. LOT / DEK 6	Citywide Street Lighting	3	0.59	40.00	\$23.60	
*267 DEUBENER PL						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	nent:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	
Mark E Collis	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Reside	ential Stree			<u> </u>	11-28-23-21-0066
289 Deubener Place	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 13 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55105-3201	MINN. LOT IS BLK 6	Citywide Street Lighting	3	0.59	40.00	\$23.60	
*289 DEUBENER PL						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess			\$44.80	
			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 119
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	lential Stree	0.41	59.50	\$24.40	11-28-23-21-0067
891 Benhill Rd	THE CITY OF ST. PAUL, RAMSEY CO., MINN. EX W 50 FT LOTS 14 AND LOT	Citywide Street Lighting	g	0.59	59.50	\$35.11	
St Paul MN 55105-3248	15 BLK 8		***			\$59.51	
*891 BENHILL RD		*** Owner and Taxpaye	er ***		-		
*Ward: 2 *Pending as of: 8/21/2020			Total Assess			\$59.51	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$59.51	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	lential Stree			\$20.50	11-28-23-21-0068
Maria Terese Manske	THE CITY OF ST. PAUL, RAMSEY CO., MINN. W 50 FT OF LOTS 14 AND LOT	Alley Sweeping		0.12	82.00	\$9.84	
899 Benhill Rd	15 BLK 8	Citywide Street Lighting	g	0.59	50.00	\$29.50	
St Paul MN 55105-3248						\$59.84	
*899 BENHILL RD		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assess	ment:		\$59.84	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$59.84	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Reside	ential Stree	0.41		<u>\$16.40</u>	<u> </u>
286 Milton St S	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	11-28-25-21-0072
St Paul MN 55105-3262	MINN. LOT 19 BLK 8	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*286 MILTON ST S						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Daniel J Schwartz	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-21-0074
278 Milton St S	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55105-3262	MINN. LOT 21 BLK 8	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
278 MILTON ST S						\$44.80	
Ward: 2		*** Owner and Taxpay	yer ***				
Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Brenda K Shores	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	
	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	dential Stree	0.12	40.00	\$4.80	11-28-23-21-0076
racy A Tyler	MINN. LOT 23 BLK 8	Citywide Street Lightin	nσ	0.12	40.00	\$23.60	
72 Milton St S		City wide Suber Eightin	-6	0.07			
t Paul MN 55105-3262 272 MILTON ST S		*** Owner and Taxpay	ver ***			\$44.80	
Ward: 2			Total Assessr	nent:		\$44.80	
Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	
			Tayon Amot	int.		944.00	
wen K Seltz	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-21-0078
64 Milton St S	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	
t Paul MN 55105-3262	MINN. LOT 25 BLK 8	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
264 MILTON ST S						\$44.80	
Ward: 2		*** Owner and Taxpay	yer ***				
Pending as of: 8/21/2020			Total Assessr	nent:	-	\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 12
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Joy D Bartscher	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-21-0079
262 Milton St S	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55105-3262	MINN. LOT 26 BLK 8	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*262 MILTON ST S						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Joanne Gantzer	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Com	mercial/Art			<u> </u>	
891 Jefferson Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lightin		0.59	60.00	\$35.40	11-20-23-21-0002
St Paul MN 55102-2801	MINN. SUBJ TO HWY; W 1/2 OF LOT 11	, ,	8		_	\$99.60	
*891 JEFFERSON AVE	& ALL OF LOT 12 BLK 10	*** Owner and Taxpay	er ***			\$99.00	
*Ward: 2		o wher and ranpay			-		
*Pending as of: 8/21/2020			Total Assess			\$99.60	
1 chung as 01. 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	1		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	unt:		\$99.60	
City Of St Paul	HALDEMAN'S ADDITION VAC ST &	Street Sweeping - Com	mercial/Art		327.00		
25 4th St W Rm 1000	ALLEYS ACCRUING & FOL. SUBJ TO	Street Sweeping - Com Street Sweeping - Resid		0.41	716.00	\$293.56	11-28-23-21-0087
25 4th St W Rm 1000 St Paul MN 55102-1692	ST; PART N OF BENHILL RD OF LOT 2	Citywide Street Lightin		0.59	1,043.00	\$615.37	***EXEMPT***
	OF SUB OF AYDS FARM. ALSO, LOTS 1 THRU 4 BLK 9 RIDGEWOOD PARK	,g	0	,			
*860 ST CLAIR AVE *Ward: 2	ADD & IN SD HALDEMANS ADD, BLK	*** Owner and Taxpay	ver ***			\$1,258.82	
*Pending as of: 8/21/2020			Total Assess	ment:		\$1,258.82	
			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$1,258.82	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
State Of Mn Trust Exempt	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Comr	mercial/Art	1.07	20.00	\$21.40	11-28-23-21-0088
Ramsey Co Tax Forf Land	THE CITY OF ST. PAUL, RAMSEY CO., MINN. SUBJ TO HWY 35 E & VAC ST	Citywide Street Lighting	g	0.59	20.00	\$11.80	***EXEMPT***
Po Box 64097	ACCRUING & LOTS 16 THRU 20 BLK					\$33.20	
t Paul MN 55164-0097	13	*** Owner and Taxpaye	er ***				
925 JEFFERSON AVE			Total Assessm	nent:		\$33.20	
Ward: 2			This Payment:	:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$33.20	
	ADJ VAC ALLEY DESC AS THE S 45.5	Street Sweeping - Comr	mercial/Art	1.07		<u> </u>	
83 Jefferson Ave	FT OF W 10 FT OF VAC ALLEY ADJ	Citywide Street Lighting	g	0.59	60.00	\$35.40	
t Paul MN 55102-2801	LOTS 9 AND 10 AND THE N 11.5 FT OF S 57 FT OF W 4 FT OF VAC ALLEY ADJ					\$99.60	
883 JEFFERSON AVE Ward: 2	LOTS 9 AND 10 BLK 1 SLAYTON'S LINWOOD PARK ADD AND ALSO E ½	*** Owner and Taxpaye	er ***			·	
			Total Assessm	nent:		\$99.60	
Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$99.60	
La-Tet Holdings Llc	VAC ALLEY ADJ AND W 88 FT OF S 25	Street Sweeping - Comr	mercial/Art			\$115.56	
437 E Manlove St	FT OF LOT 7 AND W 88 FT OF LOT 8	Citywide Street Lighting	g	0.59	108.00	\$63.72	
ucson AZ 85719-6121	BLK 1 AND ALSO VAC ALLEY ADJ EX THE S 45.5 FT OF W 10 FT OF VAC					\$179.28	
877 JEFFERSON AVE	ALLEY ADJ LOTS 9 AND 10 AND THE N 11.5 FT OF S 57 FT OF W 4 FT OF VAC	*** Owner and Taxpaye					
Ward: 2 Pending as of: 8/21/2020			Total Assessm			\$179.28	
1 onunig as 01. 0/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$179.28	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Sandra Jacobsen	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Con	nmercial/Art	1.07	70.00	\$74.90	11-28-23-22-0001
1058 St Clair Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	70.00	\$8.40	
St Paul MN 55105-3266	MINN. LOT 1 AND W 1/2 OF LOT 2 AND E 9 5/10 FT OF A STRIP W OF	Citywide Street Lightin	ng	0.59	70.00	\$41.30	
*1058 ST CLAIR AVE	AND ADJ SD LOT 1 BLK 1	*** 0	***			\$124.60	
*Ward: 2		*** Owner and Taxpa	yer ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$124.60	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$124.60	
Karin S Trail Johnson	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Con	mercial/Art.			<u>\$64.20</u>	
	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	intercial/Art	0.12	60.00	\$7.20	11-28-23-22-0002
Doug M Trail Johnson	MINN. E 1/2 OF LOT 2 AND ALL OF	Citywide Street Lightin	no	0.12	60.00	\$35.40	
1054 St Clair Ave	LOT 3 BLK 1	City while Suber Eighth		0.09			
St Paul MN 55105-3266		*** Owner and Taxpa	***			\$106.80	
*1054 ST CLAIR AVE		Owner and Taxpa					
*Ward: 2			Total Assess	ment:		\$106.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$106.80	
Loope Drandt Maleire	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Con	mercial/Art.			<u>\$64.20</u>	
Jason Brandt Mckim	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping - Con	mercial/Alt	0.12	60.00	\$7.20	11-28-23-22-0004
Jennifer Debower	MINN. E 1/2 OF LOT 5 AND ALL OF	Citywide Street Lightin	nσ	0.12	60.00	\$35.40	
1040 Saint Clair Ave	LOT 6 BLK 1	Shy mae Suber Eighth	D	0.57			
St Paul MN 55105-3266 *1040 ST CLAIR AVE		*** Owner and Taxpa	yer ***			\$106.80	
*Ward: 2			Total Assess	ment:	<u>.</u>	\$106.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$106.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 124
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
John P Larson Trustee	RIDGEWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Comm Alley Sweeping	nercial/Art	1.07 0.12	40.00	\$42.80 \$4.80	11-28-23-22-0006
Nicolle Renee Nelson Trustee 1032 Ashland Ave Unit 2	MINN. LOT 8 BLK 1	Citywide Street Lighting	2	0.12	40.00	\$23.60	
St Paul MN 55104-7098		, , ,			—	\$71.20	
*1034 ST CLAIR AVE		*** Owner and Taxpaye	er ***			<i>\$</i> ,1120	
*Ward: 2			Total Assessr	nent:		\$71.20	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
Kevin S Arritt	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Comm		1.07	45.00	\$48.15	11-28-23-22-0009
Laura D Arritt	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOTS 11 AND LOT 12 BLK 1	Street Sweeping - Reside	ential Stree	0.41	62.50	\$25.63	
3 Benhill Rd	Minin. Eoro II Mino Eor 12 BER 1	Alley Sweeping		0.12	90.00	\$10.80	
St Paul MN 55105-3243		Citywide Street Lighting	3	0.59	107.50	\$63.43	
*3 BENHILL RD		*** 0				\$148.01	
*Ward: 2		*** Owner and Taxpaye	er +++				
*Pending as of: 8/21/2020			Total Assessr			\$148.01	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$148.01	
Kevin Anthony Geraghty	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Comm	nercial/Art				11-28-23-22-0038
992 St Clair Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighting		0.59	80.00	\$47.20	11-20-23-22-0030
St Paul MN 55105-3214	MINN. LOTS 5 AND LOT 6 BLK 5					\$132.80	
*992 ST CLAIR AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessr	nent:	-	\$132.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$132.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Megan Leigh Ryan	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res		0.41	60.00	\$24.60	11-28-23-22-0042
Matthew Elliot Bloedel	THE CITY OF ST. PAUL, RAMSEY CO., MINN. W 1/2 OF LOT 10 AND ALL OF	Citywide Street Lighti	ng	0.59	60.00	\$35.40	
989 Lombard Ave	LOT 11 BLK 5					\$60.00	
St Paul MN 55102-3254		*** Owner and Taxpa	yer ***		-		
*989 LOMBARD AVE			Total Assessm	nent:		\$60.00	
*Ward: 2			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$60.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree			<u> </u>	11-28-23-22-0044
Madeline Fyten	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti	ng	0.59	118.00	\$69.63	11 20 20 22 0000
10 Benhill Rd	MINN. W 1/2 OF LOT 13 AND ALL OF LOTS 14 15 AND LOT 16 BLK 5					\$118.02	
St Paul MN 55105-3244		*** Owner and Taxpa	yer ***				
*10 BENHILL RD			Total Assessn	nent:		\$118.02	
*Ward: 2			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$118.02	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree			<u> </u>	
14 Benhill Rd	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti		0.59	123.50	\$72.87	11-28-23-22-0046
St Paul MN 55105-3246	MINN. NLY QUADRANGULAR PART	, ,	6			\$123.51	
*14 BENHILL RD	OF LOTS 1 THRU 4 MEASURING 62 1/10 FT ON E L OF LOT 4 AND 66 12/100 FT ON WLY L OF LOT 1 AND	*** Owner and Taxpa	yer ***			\$125.51	
*Ward: 2			Total Assessm	nent:		\$123.51	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$123.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 126
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
David R Anderson	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resi		0.41	60.00	\$24.60	11-28-23-22-0047
Lynn Sakamoto	THE CITY OF ST. PAUL, RAMSEY CO., MINN. E 20 FT OF LOT 5 AND ALL OF	Citywide Street Lighti	ng	0.59	60.00	\$35.40	
982 Lombard Ave	LOT 6 BLK 7					\$60.00	
St Paul MN 55105-3253		*** Owner and Taxpa	yer ***				
*982 LOMBARD AVE			Total Assess	ment:		\$60.00	
*Ward: 2			This Paymer	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$60.00	
Katherine Sorensen Razavi	CARPENTERS REARRANGEMENT OF	Street Sweeping - Resi				<u> </u>	<u> </u>
Bobak Razavi	PART OF RIDGEWOOD PARK,	Alley Sweeping		0.12	90.00	\$10.80	11-28-23-22-0051
9 Benhill Rd	RAMSEY CO., MINN. LOTS 1 2 AND LOT 3 BLK 1	Citywide Street Lighti	ng	0.59	140.50	\$82.90	
St Paul MN 55105-3243	LOI 3 DEK 1					\$151.31	
*9 BENHILL RD		*** Owner and Taxpa	yer ***			• • •	
*Ward: 2			Total Assess	ment:	-	\$151.31	
*Pending as of: 8/21/2020			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$151.31	
	CARPENTERS REARRANGEMENT OF	Street Sweeping - Resi	idential Stree			<u>\$24.60</u>	
Katherine A Cole	PART OF RIDGEWOOD PARK,	Citywide Street Lighti		0.41	60.00	\$35.40	11-28-23-22-0054
1020 Lombard Ave	RAMSEY CO., MINN. W 15 FT OF PART	City while Subort Eight		0.09			
St Paul MN 55105-3255	OF S 1/2 OF VAC ALLEY LYING E OF TRACT CONVEYED IN 688 OF DEEDS 371 AND N 1/2 OF VAC ALLEY ADJ	*** Owner and Taxpa	yer ***			\$60.00	
*1020 LOMBARD AVE			Total Assess	ment:		\$60.00	
*Ward: 2			This Paymer	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$60.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 127
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Mark E Jacobson	CARPENTERS REARRANGEMENT OF	Street Sweeping - Reside		0.41	94.50	\$38.75	11-28-23-22-0055
Jeanne M Jacobson	PART OF RIDGEWOOD PARK, RAMSEY CO., MINN. S 1/2 OF VAC	Citywide Street Lighting	g	0.59	94.50	\$55.76	
15 Benhill Rd	ALLEY ADJ LOTS 6 7 AND THAT					\$94.51	
St Paul MN 55105-3245	PART OF LOT 8 LYING 15 FT ELY OF PART CONVEYED IN 688 OF DEEDS	*** Owner and Taxpaye	er ***				
*15 BENHILL RD *Ward: 2			Total Assess			\$94.51	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
1 chung as 61. 6/21/2020			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$94.51	
	SLAYTON'S ADDITION TO	Street Sweeping - Reside	ential Stree	0.41	83.00	\$34.03	11-28-23-22-0072
1075 Lombard Ave	RIDGEWOOD PARK EX E 25 FT LOT 12 AND ALL OF LOT 11 BLK 1	Alley Sweeping		0.12	83.00	\$9.96	
St Paul MN 55105-3256	12 AND ALL OF LOT 11 BLK 1	Citywide Street Lighting	g	0.59	83.00	\$48.97	
*1075 LOMBARD AVE						\$92.96	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$92.96	
			This Paymen	it:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$92.96	
William Gregory Palmer	SLAYTON'S ADDITION TO	Street Sweeping - Reside	ential Stree			<u> </u>	11-28-23-22-0073
Stephanie Leah Anderson	RIDGEWOOD PARK E 25 FT OF LOT	Alley Sweeping		0.12	80.00	\$9.60	
1069 Lombard Ave	12 AND A 5 FT STRIP E OF AND ADJ AND LOT 13 BLK 1	Citywide Street Lighting	g	0.59	80.00	\$47.20	
St Paul MN 55105-3256						\$89.60	
*1069 LOMBARD AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assess	ment:		\$89.60	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$89.60	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Soo Line Railroad Co	SUBDIVISION OF AYD'S FARM 100	Street Sweeping - Cor	nmercial/Art	1.07	53.00	\$56.71	11-28-23-22-0083
Attn Tax Department	ACRES NW 1/4 OF S. 11, T. 28, R. 23 A 150 FT RR R/W ACROSS THE FOL LOT	Citywide Street Lighti	ing	0.59	53.00	\$31.27	
120 S 6th St Flr 7	7 AND SUBJ TO RD LOT 8					\$87.98	
Minneapolis MN 55402-1803		*** Owner and Taxpa	ayer ***				
*0 LEXINGTON PKWY S			Total Assessm	ment:		\$87.98	
*Ward: 2			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$87.98	
	CARPENTERS REARRANGEMENT OF	Street Sweeping - Res	idential Stree			<u>\$65.60</u>	
31 Benhill Rd	PART OF RIDGEWOOD PARK,	Citywide Street Lighti		0.59	160.00	\$94.40	11 20 20 22 0115
St Paul MN 55105-3245	RAMSEY CO., MINN. E 1/2 OF VAC ALLEY ACCRUING & EX N 66.95 FT					\$160.00	
*31 BENHILL RD	AS MEAS ON WL OF LOT 4; LOTS 4 THRU LOT 8 BLK 3	*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessm	ment:		\$160.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$160.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree			\$20.50	
Beau Chaney	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti	ing	0.59	50.00	\$29.50	11 20 20 22 01 10
036 Lombard Ave	MINN. VAC CT & ALLEYS ACCRUING & FOL; EX W 23.8 FT LOT 9 & W 1/2 OF					\$50.00	
St Paul MN 55105-3255	LOT 10 BLK 3 & ALSO W 1/2 OF LOTS	*** Owner and Taxpa	ayer ***				
*1036 LOMBARD AVE	10 & 15 BLK 2 & EX W 10 FT; LOTS 9 &		Total Assessm	nent:	-	\$50.00	
*Ward: 2			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$50.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Jonathan P Savin	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree	0.41	40.00	\$16.40	11-28-23-22-0148
Laura C Savin	THE CITY OF ST. PAUL, RAMSEY CO., MINN. N 1/2 OF VAC CRESCENT CT &	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
1054 Lombard Ave	VAC ALLEY ACCRUING & LOTS 4 &					\$40.00	
St Paul MN 55105-3255	21 BLK 2	*** Owner and Taxpa	yer ***				
*1054 LOMBARD AVE			Total Assessme	ent:		\$40.00	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$40.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree	0.41	<u> </u>	<u>\$25.42</u>	
1064 Lombard Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti		0.59	62.00	\$36.58	11-20-23-22-0130
St Paul MN 55105-3255	MINN. SLY 1/2 OF CRESCENT CT VAC ADJ & VAC ALLEY S OF AND ADJ					\$62.00	
*1064 LOMBARD AVE	AND E 11 35/100 FT OF LOT 1 ALL OF LOT 2 AND W 5 90/100 FT OF LOT 3	*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessme	ent:		\$62.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	1		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$62.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Cor		1.07	40.00	<u> </u>	
Jean M Mcmahon	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
416 Lexington Pky S	MINN. N 40 FT OF S 80 FT OF LOTS 8 THRU LOT 11 BLK 19					\$66.40	
St Paul MN 55105-2927		*** Owner and Taxpa	yer ***				
*416 LEXINGTON PKWY S			Total Assessme	ent:		\$66.40	
*Ward: 3			This Payment:			\$0.00	
Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	nt:		\$66.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Christopher D Thyen	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Com		1.07	50.00	\$53.50	11-28-23-23-0019
Deborah Thyen	THE CITY OF ST. PAUL, RAMSEY CO., MINN. EX S 80 FT LOTS 8 THRU LOT	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
412 Lexington Pky S	11 BLK 19		ato ato ato			\$83.00	
St Paul MN 55105-2927		*** Owner and Taxpay	yer ***				
412 LEXINGTON PKWY S			Total Assessme	ent:		\$83.00	
Ward: 3 Pending as of: 8/21/2020			This Payment:			\$0.00	
Fending as of: 8/21/2020			Current Year P	-		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	it:		\$83.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	
98 Lexington Pky S	THE CITY OF ST. PAUL, RAMSEY CO., MINN. S 40 FT OF N 90 FT OF LOTS 12	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
at Paul MN 55105-2927	THRU LOT 15 BLK 19					\$66.40	
398 LEXINGTON PKWY S		*** Owner and Taxpay	yer ***				
Ward: 3			Total Assessme	ent:		\$66.40	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$66.40	
	WASHINGTON HEIGHTS LOT 17	Street Sweeping - Com	mercial/Art	1.07		<u> </u>	
38 Lexington Pkwy S		Citywide Street Lightin		0.59	46.00	\$27.14	11-20-23-23-002)
St Paul MN 55105-2965						\$76.36	
438 LEXINGTON PKWY S		*** Owner and Taxpay	yer ***				
*Ward: 3			Total Assessme	ent:	<u> </u>	\$76.36	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year II	1		\$0.00	
			Payoff Amoun	nt:		\$76.36	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Deborah K Capron	WASHINGTON HEIGHTS LOTS 21 22	Street Sweeping - Resi		0.41	60.00	\$24.60	11-28-23-23-0033
Robert T Capron	AND LOT 23	Citywide Street Lightin	ng	0.59	60.00	\$35.40	
438 Lexington Pky S						\$60.00	
St Paul MN 55105-2965		*** Owner and Taxpa	yer ***				
*1080 PALACE AVE			Total Assessr	nent:		\$60.00	
Ward: 3			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$60.00	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree		40.00	<u> </u>	<u> </u>
140 Pleasant Ave	ADDITION LOT 3 BLK 3	Citywide Street Lightin	ng	0.59	40.00	\$23.60	11 20 20 20 0007
St Paul MN 55102-3344						\$40.00	
*1140 PLEASANT AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessr	nent:		\$40.00	
Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree			<u>\$24.60</u>	<u> </u>
994 Palace Ave	ADDITION W 1/2 OF LOT 4 & ALL OF	Citywide Street Lightin		0.59	60.00	\$35.40	11-20-23-23-0043
St Paul MN 55102-3343	LOT 5 BLK 8					\$60.00	
*994 PALACE AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessr	nent:		\$60.00	
Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$60.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 13
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jennifer A Hadfield	MICHEL AND ROBERTSON'S	Street Sweeping - Resid		0.41	80.00	\$32.80	11-28-23-23-0044
James D Schilla	ADDITION LOTS 6 & LOT 7 BLK 8	Citywide Street Lightin	g	0.59	80.00	\$47.20	
998 Palace Ave						\$80.00	
St Paul MN 55102-3343		*** Owner and Taxpay	er ***				
*998 PALACE AVE			Total Assess	ment:		\$80.00	
*Ward: 2			This Paymen	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$80.00	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree			<u> </u>	<u> </u>
Debra A Rains	ADDITION LOT 24 BLK 8	Citywide Street Lighting		0.59	40.00	\$23.60	11-20-23-23-004)
989 James Ave						\$40.00	
St Paul MN 55102-3330		*** Owner and Taxpay	er ***			• • • •	
*989 JAMES AVE			Total Assess	ment:		\$40.00	
*Ward: 2			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree			<u> </u>	
990 James Ave	ADDITION LOT 3 BLK 13	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-23-0033
St Paul MN 55102-3333		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*990 JAMES AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Rol	ll by PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1.
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Christopher D Bogie	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-23-0054
992 James Ave	ADDITION LOT 4 BLK 13	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3333		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*992 JAMES AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
		Street Sweeping Decid			40.00	<u>\$16.40</u>	
Becca L Colbert	ADDITION LOT 5 BLK 13	Street Sweeping - Resid Alley Sweeping	iential Stree	0.41 0.12	40.00	\$10.40	11-28-23-23-0055
996 James Ave		Citywide Street Lightin	σ	0.12	40.00	\$23.60	
St Paul MN 55102-3333		City while Subject Eighting	6	0.59	40.00	\$44.80	
*996 JAMES AVE *Ward: 2		*** Owner and Taxpay	'er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$44.80	
David P Schwebel	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-23-0056
1059 St Clair Ave	ADDITION LOT 6 BLK 13	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55105-3267		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*1000 JAMES AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Rol	l by PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree	0.41	40.00	\$16.40	11-28-23-23-0057
1004 James Ave	ADDITION LOT 7 BLK 13	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3333		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*1004 JAMES AVE		*** Owner and Taxpa	***			\$44.80	
Vard: 2 Pending as of: 8/21/2020		Owner and Taxpa					
Pending as of: 8/21/2020			Total Assessm	ment:		\$44.80	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
 Daniel J Dahl	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree		40.00	<u>\$16.40</u>	
1008 James Ave	ADDITION LOT 8 BLK 13	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-23-0058
St Paul MN 55102-3333		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*1008 JAMES AVE		5 6	6			\$44.80	
*Ward: 2		*** Owner and Taxpa	yer ***			\$ 11 .00	
*Pending as of: 8/21/2020		Total Assessment:				\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree		40.00	\$16.40	
Lawrence H Kasella Jr Nancy E Kasella	ADDITION LOT 10 BLK 13	Alley Sweeping - Kesh		0.41	40.00	\$4.80	11-28-23-23-0060
Nancy E Kasella 1016 James Ave		Citywide Street Lighti	ng	0.12	40.00	\$23.60	
St Paul MN 55102-3333			6			\$44.80	
*1016 JAMES AVE		*** Owner and Taxpa	yer ***			\$44.00	
Ward: 2			Total Assessm	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 135
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Naegele Outdoor Adv Co	MICHEL AND ROBERTSON'S	Street Sweeping - Comm		1.07	8.00	\$8.56	11-28-23-23-0062
C/O Clear Channel Outdoor	ADDITION SUBJ TO HWY AND WITH NO ACCESS LOT 20 BLK 13	Citywide Street Lighting	5	0.59	8.00	\$4.72	
Po Box 413 Two Harbors MN 55616-0413		*** Owner and Taxpaye	***			\$13.28	
*1029 RANDOLPH AVE		When and Taxpayer	r • • •				
*Ward: 2			Total Assess			\$13.28	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
1 onang 10 on 0,21,2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$13.28	
	MICHEL AND ROBERTSON'S	Street Sweeping - Comm	nercial/Art	1.07	40.00	\$42.80	11-28-23-23-0065
1003 Randolph Ave	ADDITION LOT 27 BLK 13	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3347		Citywide Street Lighting	ş	0.59	40.00	\$23.60	
*1003 RANDOLPH AVE						\$71.20	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$71.20	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$71.20	
Fair Housing Llc	MICHEL AND ROBERTSON'S	Street Sweeping - Comm	nercial/Art	1.07	40.00	\$42.80	11-28-23-23-0068
351 Kellogg Blvd E	ADDITION LOT 30 BLK 13	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55101-1411		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*989 RANDOLPH AVE						\$71.20	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	\$71.20		
			This Payment:			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	· · · · ·	oject: 2020SMSP solution #:	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	MICHEL AND ROBERTSON'S	Street Sweeping - Commerci	al/Art 1.07	80.00	\$85.60	11-28-23-23-0069
C/O Amy Redick	ADDITION LOTS 31 AND LOT 32 BLK	Street Sweeping - Residentia	l Stree 0.41	112.00	\$45.92	
8053 Hydra Cir	13	Alley Sweeping	0.12	80.00	\$9.60	
akeville MN 55044-7040		Citywide Street Lighting	0.59	192.00	\$113.28	
475 CHATSWORTH ST S					\$254.40	
Ward: 2		*** Owner and Taxpayer ***	k			
Pending as of: 8/21/2020		Tota	al Assessment:	-	\$254.40	
		This Payment:			\$0.00	
		Cur	Current Year Principal: Current Year Interest:			
		Cur				
		Pay	off Amount:		\$254.40	
	MICHEL AND ROBERTSON'S	Street Sweeping - Residentia		43.00	<u>\$17.63</u>	
athan Jameson	ADDITION E 3 FT OF LOT 8 ALL OF	Alley Sweeping - Residentia	0.12	43.00	\$5.16	11-28-23-23-0070
074 James Ave t Paul MN 55105-2959	LOT 7 BLK 14	Citywide Street Lighting	0.12	43.00	\$25.37	
1074 JAMES AVE					\$48.16	
*Ward: 3 *Pending as of: 8/21/2020		*** Owner and Taxpayer ***	*		\$10110	
		Tota	al Assessment:		\$48.16	
		This	Payment:		\$0.00	
		Cur	rent Year Principal:		\$0.00	
		Curr	rent Year Interest:		\$0.00	
		Pay	off Amount:		\$48.16	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2(Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
onathan W Stierwald	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	37.00	\$15.17	11-28-23-23-0071
078 James Ave	ADDITION WITH ESMT AND EX E 3 FT LOT 8 BLK 14	Alley Sweeping		0.12	37.00	\$4.44	
t Paul MN 55105-2959	LOI O BER 14	Citywide Street Lighting	g	0.59	37.00	\$21.83	
1078 JAMES AVE						\$41.44	
Ward: 3		*** Owner ***					
Pending as of: 8/21/2020			Total Assess	ment:		\$41.44	
			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amo	unt:		\$41.44	
onathan W Stierwald	MICHEL AND ROBERTSON'S ADDITION WITH ESMT AND EX E 3 FT	*** Taxpayer and 3rd P	d Party ***			11-28-23-23-0071	
Box 01150175	LOT 8 BLK 14		Total Assess	ment:	-	\$41.44	
ioux Falls SD 57186			\$0.00				
1078 JAMES AVE			Current Year Principal:			\$0.00	
Ward: 3			Current Year Interest:			\$0.00	
Pending as of: 8/21/2020			Payoff Amo	unt:		\$41.44	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	ential Stree		42.00		<u> </u>
)82 James Ave	ADDITION E 2 FT OF LOT 10 AND	Alley Sweeping		0.12	42.00	\$5.04	11-20-25-25-0072
Paul MN 55105-2959	SUBJ TO ESMT OVER E 2 FT LOT 9 BLK 14	Citywide Street Lighting	g	0.59	42.00	\$24.78	
1082 JAMES AVE						\$47.04	
Ward: 3		*** Owner and Taxpaye	er ***				
Pending as of: 8/21/2020			Total Assess	ment:	-	\$47.04	
			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$47.04	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Intersection Llc	Subj To Rd; Lot 13 Blk 14	Street Sweeping - Com	mercial/Art	1.07	145.00	\$155.15	11-28-23-23-0076
C/O Ira Kipp		Alley Sweeping		0.12	33.00	\$3.96	
3966 Minnehaha Ave S Unit A		Citywide Street Lighting	g	0.59	145.00	\$85.55	
Minneapolis MN 55406-3232						\$244.66	
*478 LEXINGTON PKWY 4		*** Owner and Taxpaye	er ***				
Ward: 3 Ponding on of: $8/21/2020$			Total Assess	ment:		\$244.66	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$244.66	
Intersection Llc	MICHEL AND ROBERTSON'S	Street Sweeping - Comr	mercial/Art	1.07	40.00	\$42.80	11-28-23-23-0077
C/O Ira Kipp	ADDITION LOT 14 BLK 14	Alley Sweeping		0.12	40.00	\$4.80	
3966 Minnehaha Ave S Unit A		Citywide Street Lighting	g	0.59	40.00	\$23.60	
Minneapolis MN 55406-3232						\$71.20	
*478 LEXINGTON PKWY S		*** Owner and Taxpay	er ***				
*Ward: 3			Total Assess	ment:		\$71.20	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$71.20	
Intersection Llc	MICHEL AND ROBERTSON'S	Street Sweeping - Comr	mercial/Art	1.07	40.00	\$42.80	11-28-23-23-0079
C/O Ira Kipp	ADDITION WITH NO ACCESS TO HWY; LOT 16 BLK 14	Alley Sweeping		0.12	40.00	\$4.80	
3966 Minnehaha Ave S Unit A	·	Citywide Street Lighting	g	0.59	40.00	\$23.60	
Minneapolis MN 55406-3232		*** Owner and Taxpayo	or ***			\$71.20	
*1083 RANDOLPH AVE *Ward: 3						<u> </u>	
*Pending as of: 8/21/2020			Total Assess			\$71.20	
			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
David P Barnes	MICHEL AND ROBERTSON'S	Street Sweeping - Comm	nercial/Art	1.07	20.00	\$21.40	11-28-23-23-0080
1081 Randolph Ave	ADDITION SUBJ TO HWY LOT 17 BLK 14	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55105-2935	14	Citywide Street Lighting	ç.	0.59	20.00	\$11.80	
*1081 RANDOLPH AVE						\$38.00	
*Ward: 3		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessm	ient:		\$38.00	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amoun	nt:		\$38.00	
Jason D Swartwood	SUBDIVISION OF AYD'S FARM 100	Street Sweeping - Comm	nercial/Art	1.07	160.00	<u>\$171.20</u>	<u> </u>
Ruth M Swartwood	ACRES NW 1/4 OF S. 11, T. 28, R. 23 EX	Citywide Street Lighting		0.59	160.00	\$94.40	11-20-25-25-0005
1070 Jefferson Ave	S 177 FT, THE E 160 FT OF THAT PART BET JULIET & JEFFERSON AVE OF				_	\$265.60	
St Paul MN 55105-2838	LOT 8	*** Owner and Taxpaye	r ***	\$205.00			
*1070 JEFFERSON AVE		Total Assessment: This Payment:				\$265.60	
*Ward: 3						\$0.00	
*Pending as of: 8/21/2020			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$265.60	
	RIDGEWOOD BLUFF LOT 1 BLK 1	Street Sweeping - Reside	ential Stree		<u> </u>	<u>\$2.75</u>	<u> </u>
Deborah Tammy Rho		Citywide Street Lighting		0.59	6.71	\$3.96	11-20-23-23-0089
1074 Juliet Ave		,	,			\$6.71	
St Paul MN 55105-2961		*** Owner and Taxpaye	er ***			\$0.71	
*1074 JULIET AVE			Total Assessm	ent:		\$6.71	
*Ward: 3			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amoun			\$6.71	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	by PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Ronald J Reagan	RIDGEWOOD BLUFF LOT 3 BLK 1	Street Sweeping - Resid	ential Stree	0.41	6.71	\$2.75	11-28-23-23-0091
Mary M Reagan		Citywide Street Lighting	g	0.59	6.71	\$3.96	
1070 Juliet Ave						\$6.71	
St Paul MN 55105-2961		*** Owner and Taxpaye	er ***				
*1070 JULIET AVE			Total Assess	ment:		\$6.71	
*Ward: 3			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	ınt:		\$6.71	
Anne Berry Martinez	RIDGEWOOD BLUFF LOT 4 BLK 1	Street Sweeping - Resid	ential Stree		6.71		
Eric Martinez		Citywide Street Lighting		0.59	6.71	\$3.96	11-20-25-25-0072
1068 Juliet Ave						\$6.71	
St Paul MN 55105-2961		*** Owner and Taxpaye	er ***			<i>4017</i>	
*1068 JULIET AVE			Total Assess	ment:		\$6.71	
*Ward: 3			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	int:		\$6.71	
Lisa J Abendroth	RIDGEWOOD BLUFF LOT 2 BLK 2	Street Sweeping - Resid	ential Stree		<u> </u>		
1071 Palace Ave		Citywide Street Lighting		0.59	6.71	\$3.96	11-28-23-23-0095
St Paul MN 55105-2967		, , , , , ,	5			\$6.71	
*1071 PALACE AVE		*** Owner and Taxpaye	er ***			φ 0 ./1	
*Ward: 3		÷ •	Total Assess	a out i		\$6.71	
*Pending as of: 8/21/2020			Total Assess This Paymen			\$0.71 \$0.00	
			Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amor			\$6.71	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	COMMON INTEREST COMMUNITY	Street Sweeping - Resi	dential Stree	0.41	46.00	\$18.86	11-28-23-23-0097
444 Lexington Pky S Unit 1	NUMBER 543 MAPLE HILL CONDO UNIT NO.1	Citywide Street Lightin	ng	0.59	46.00	\$27.14	
St Paul MN 55105-2965						\$46.00	
*444 LEXINGTON PKWY S		*** Owner and Taxpay	yer ***				
*Ward: 3			Total Assess	nent:	-	\$46.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$46.00	
	COMMON INTEREST COMMUNITY	Street Sweeping - Resi	dential Stree		46.00	<u> </u>	11-28-23-23-0098
effrey L Booker	NUMBER 543 MAPLE HILL CONDO UNIT NO.2	Citywide Street Lightin	ng	0.59	46.00	\$27.14	11 20 20 20 0000
44 Lexington Pky S Unit 2	UNIT NO.2					\$46.00	
5t Paul MN 55105-2965		*** Owner and Taxpay	yer ***				
444 LEXINGTON PKWY S 2			Total Assess	nent:		\$46.00	
Ward: 3			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$46.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resi	dential Stree			<u> </u>	<u> </u>
Deborah K Thyen	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lightin		0.59	40.00	\$23.60	11-20-25-25-0102
12 Lexington Parkway S	MINN. N 1/2 OF VAC ALLEY ADJ & LOT 16 BLK 19					\$40.00	
t Paul MN 55105-2927		*** Owner and Taxpay	yer ***			* • • • • •	
1080 JULIET AVE			Total Assess	nent:		\$40.00	
Ward: 3			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
John Kratz	EX S 177 FT AND EX THE E 232 FT;	Street Sweeping - Com		1.07	102.50	\$109.68	11-28-23-23-0106
1088 Jefferson Ave	PART E OF LEXINGTON AVE BETWEEN JULIET AND JEFFERSON	Citywide Street Lightin	ng	0.59	102.50	\$60.48	
St Paul MN 55105-2838	AVES LOT 8					\$170.16	
*362 LEXINGTON PKWY S		*** Owner and Taxpay	yer ***				
*Ward: 3			Total Assessn	nent:		\$170.16	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$170.16	
		Street Sweeping - Com	mercial/Art	1.07		<u> </u>	11-28-23-23-0107
1088 Jefferson Ave	177 FT AND EX THE E 160 FT; PART E	Citywide Street Lightin	ng	0.59	72.00	\$42.48	
St Paul MN 55105-2838	OF LEXINGTON AVE BETWEEN JULIET AND JEFFERSON AVES LOT 8					\$119.52	
*1088 JEFFERSON AVE		*** Owner and Taxpay	yer ***				
*Ward: 3			Total Assessn	nent:		\$119.52	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$119.52	
		Street Sweeping - Resi	dential Stree			<u>\$46.54</u>	<u> </u>
1009 James Ave	LOTS 19 AND LOT 20 BLK 8	Citywide Street Lightin		0.59	113.50	\$66.97	11-20-23-23-0100
St Paul MN 55102-3330						\$113.51	
*1009 JAMES AVE		*** Owner and Taxpay	yer ***			φ115.51	
*Ward: 2			Total Assessn	nent:	-	\$113.51	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$113.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll by		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Hannah Clamons	SLAYTON'S LINWOOD PARK ADD.	Street Sweeping - Residen	ntial Stree	0.41	44.00	\$18.04	11-28-23-24-0008
1026 Pleasant Ave	LOT 7 BLK 3	Citywide Street Lighting		0.59	44.00	\$25.96	
St Paul MN 55102-3309						\$44.00	
*1026 PLEASANT AVE		*** Owner and Taxpayer	***		-		
*Ward: 2		Т	Fotal Assessm	ent:		\$44.00	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		C	Current Year I	Principal:	\$0.00		
			Current Year Interest:				
		Р	Payoff Amou	nt:		\$44.00	
Anthony J Tocko	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Comme	ercial/Art	1.07		\$42.80	<u> </u>
358 Milton St S	THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residen	ntial Stree	0.41	65.50	\$26.86	
St Paul MN 55102-3304	MINN. LOTS 1 AND LOT 2 BLK 11	Citywide Street Lighting		0.59	105.50	\$62.25	
*358 MILTON ST S						\$131.91	
*Ward: 2		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Fotal Assessm	ent:		\$131.91	
		Т	This Payment:			\$0.00	
		C	Current Year I	Principal:		\$0.00	
		C	Current Year I	interest:		\$0.00	
		Р	Payoff Amou	nt:		\$131.91	
State Of Mn Trust Exempt	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Comme	ercial/Art	1.07		<u>\$127.33</u>	<u> </u>
Ramsey Co Tax Forf Land	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighting		0.59	119.00	\$70.21	***EXEMPT***
Po Box 64097	MINN. LOTS 3, 4 & LOT 5 BLK 11					\$197.54	
St Paul MN 55164-0097		*** Owner and Taxpayer	***				
908 JEFFERSON AVE		– Т	Fotal Assessm	ient:	-	\$197.54	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year I			\$0.00	
		C	Current Year I	nterest:		\$0.00	
		Р	Payoff Amou	nt:		\$197.54	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		oject: 2020SMSP esolution #:	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Thomas A Peck	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Commerce	ial/Art 1.07	34.00	\$36.38	11-28-23-24-0012
1031 Pleasant Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Residenti	al Stree 0.41	40.00	\$16.40	
St Paul MN 55102-3308	MINN. LOT 7 & LOT 8 BLK 11	Citywide Street Lighting	0.59	74.00	\$43.66	
*1031 PLEASANT AVE					\$96.44	
*Ward: 2		*** Owner and Taxpayer **	*			
Pending as of: 8/21/2020		То	al Assessment:		\$96.44	
		Th	s Payment:		\$0.00	
		Cu	rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	yoff Amount:		\$96.44	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Commerce	ial/Art 1.07		\$71.69	
Gary Uhrich	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighting	0.59	67.00	\$39.53	11-20-23-24-0013
886 Jefferson Ave	MINN. LOT 9 BLK 11				\$111.22	
St Paul MN 55102-2802		*** Owner and Taxpayer **	*			
*886 JEFFERSON AVE		То	al Assessment:		\$111.22	
*Ward: 2		Th	s Payment:		\$0.00	
*Pending as of: 8/21/2020		Cu	rrent Year Principal:		\$0.00	
		Cu	rrent Year Interest:		\$0.00	
		Pa	off Amount:		\$111.22	
Roger L Krenner	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Residenti	al Stree 0.41		<u>\$56.17</u>	
Cecilia I Krenner	THE CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighting	0.59	137.00	\$80.83	11-28-23-24-0015
1061 Pleasant Ave	MINN. W 1/2 OF LOT 12 AND ALL OF				\$137.00	
St Paul MN 55102-3308	LOTS 13 AND LOT 14 BLK 11	*** Owner and Taxpayer *'	*		\$137.00	
*1061 PLEASANT AVE			al Assessment:		\$137.00	
*Ward: 2			s Payment:		\$137.00	
*Pending as of: 8/21/2020			rrent Year Principal:		\$0.00 \$0.00	
			rent Year Interest:		\$0.00	
			yoff Amount:		\$137.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 14
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Mary Siskaninetz	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid		0.41	85.00	\$34.85	11-28-23-24-0017
1069 Pleasant Ave	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 16 BLK 11	Citywide Street Lightin	g	0.59	85.00	\$50.15	
St Paul MN 55102-3308		*** Owner and Taxpay	***			\$85.00	
*1069 PLEASANT AVE *Ward: 2		where and Taxpay	er ***				
*Ward: 2 *Pending as of: 8/21/2020			Total Assess			\$85.00	
Frending as 01. 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$85.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	lential Stree			\$59.25	<u> </u>
Clara E Monn	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 17 BLK 11	Citywide Street Lightin	g	0.59	144.50	\$85.26	
1032 Pleasant Ave	MINULEOF 17 BER 11					\$144.51	
St Paul MN 55102-3309		*** Owner and Taxpay	er ***				
*1032 PLEASANT AVE			Total Assess	ment:		\$144.51	
*Ward: 2			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$144.51	
Michael A Tschida	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Com	mercial/Art			<u> </u>	<u> </u>
Laurie A Tschida	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	90.00	\$10.80	
968 Jefferson Ave	MINN. SUBJ TO ALLEY, THE FOL; EX W 10 FT, LOT 2 & W 20 FT OF LOT 4 &	Citywide Street Lightin	g	0.59	90.00	\$53.10	
St Paul MN 55102-2804	ALL OF LOT 3 BLK 12					\$160.20	
*968 JEFFERSON AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:		\$160.20	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$160.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 14
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Raymond N Stipe	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Com	mercial/Art	1.07	55.00	\$58.85	11-28-23-24-0020
962 Jefferson Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	55.00	\$6.60	
St Paul MN 55102-2804	MINN. SUBJ TO ALLEY, THE FOL; EX W 20 FT, LOT 4 & W 35 FT OF LOT 5	Citywide Street Lightin	ng	0.59	55.00	\$32.45	
*962 JEFFERSON AVE	BLK 12					\$97.90	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$97.90	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$97.90	
Quincy D Young	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Com	mercial/Art	1.07	55.00	\$58.85	11-28-23-24-0021
Kelly C Young	THE CITY OF ST. PAUL, RAMSEY CO., MINN. SUBJ TO ALLEY, THE FOL; EX	Alley Sweeping		0.12	55.00	\$6.60	
956 Jefferson Ave	W 35 FT, LOT 5 & W 10 FT OF LOT 7 &	Citywide Street Lightin	ng	0.59	55.00	\$32.45	
St Paul MN 55102-2804	ALL OF LOT 6 BLK 12					\$97.90	
*956 JEFFERSON AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessr	nent:		\$97.90	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$97.90	
Johnnie E Pavelka	RIDGEWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Com	mercial/Art	1.07	43.00	\$46.01	11-28-23-24-0023
Margaret A Pavelka	MINN. SUBJ TO ALLEY, THE FOL; EX	Alley Sweeping Citywide Street Lightir		0.12 0.59	43.00 43.00	\$5.16 \$25.37	
946 Jefferson Ave	W 24 FT, LOT 8 & W 27 FT OF LOT 9	Citywide Street Lightif	ıg	0.39	43.00		
St Paul MN 55102-2804 *946 JEFFERSON AVE	BLK 12	*** Owner and Taxpay	/er ***			\$76.54	
*Ward: 2		1.	Total Assessr	nent:	=	\$76.54	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
						\$76.54	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-24-0031
089 Pleasant Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3310	MINN. LOT 20 BLK 12	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
1089 PLEASANT AVE					_	\$44.80	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:	\$0.00		
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Rachel V Davis	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
oseph Vital	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-24-0032
093 Pleasant Ave	MINN. LOT 21 BLK 12	Citywide Street Lightin	ισ	0.12	40.00	\$23.60	
t Paul MN 55102-3310			-8	0107		\$44.80	
1093 PLEASANT AVE		*** Owner and Taxpay	/er ***			\$44.80	
Ward: 2			Total Assess	ment		\$44.80	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	
			Tayon Ano	unt.		J77.00	
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	<u> </u>
101 Pleasant Ave	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	
t Paul MN 55102	MINN. LOT 23 BLK 12	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
1101 PLEASANT AVE						\$44.80	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:	=	\$44.80	
			This Payment:			\$0.00	
			Current Year Principal:				
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree	0.41	40.00	\$16.40	11-28-23-24-0035
Mary A Ortiz	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	40.00	\$4.80	
1105 Pleasant Ave	MINN. LOT 24 BLK 12	Citywide Street Light	ing	0.59	40.00	\$23.60	
St Paul MN 55102-3310						\$44.80	
*1105 PLEASANT AVE		*** Owner and Taxpa	iyer ***				
*Ward: 2			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Kathleen N Kessler	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Res	idential Stree		40.00	<u>\$16.40</u>	
Matthew P Herding	THE CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	idential Stree	0.12	40.00	\$4.80	11-28-23-24-0030
1109 Pleasant Ave	MINN. LOT 25 BLK 12	Citywide Street Light	ing	0.59	40.00	\$23.60	
St Paul MN 55102-3310		, ,	8			\$44.80	
*1109 PLEASANT AVE		*** Owner and Taxpa	ayer ***			\$44.80	
*Ward: 2			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
		Ctract Crosses D				<u><u><u></u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u></u>	
Brian J Ritzinger	RIDGEWOOD PARK ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO.,	Street Sweeping - Res Alley Sweeping	adential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-24-0039
1119 Pleasant Ave St Paul MN 55102-3310	MINN. LOT 28 BLK 12	Citywide Street Light	ing	0.12	40.00	\$23.60	
		City white Street Eight	ing	0.09		\$44.80	
*1119 PLEASANT AVE *Ward: 2		*** Owner and Taxpa	ayer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Gail M Neisewander	RIDGEWOOD PARK ADDITION TO	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	11-28-23-24-0040
1125 Pleasant Ave	THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 29 BLK 12	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3310	MINN. LOT 29 BEK 12	Citywide Street Lighting	g	0.59	40.00	\$23.60	
*1125 PLEASANT AVE *Ward: 2	*** Owner and		er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	
Daniel Casazza	MICHEL AND ROBERTSON'S ADDITION LOT 1 & E 1/2 OF LOT 2	Street Sweeping - Resid	lential Stree	0.41	93.50	\$38.34	11-28-23-24-0042
864 Monroe Ct	BLK 1	Alley Sweeping Citywide Street Lighting	~	0.12 0.59	60.00 93.50	\$7.20 \$55.17	
St Paul MN 55102-3305		Citywide Street Lighting	g	0.39	93.30	-	
*864 MONROE CT *Ward: 2		*** Owner and Taxpaye	*** Owner and Taxpayer ***			\$100.71	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$100.71	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$100.71	
Brandon Raddatz	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	ential Stree	0.41	40.00	<u>\$16.40</u>	
Dina Raddatz	ADDITION LOT 5 BLK 1	Alley Sweeping	Succession and the second s	0.12	40.00	\$4.80	11-20-23-24-0045
878 Monroe Ct		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3305		, , , , , , , , , , , , , , , , , , , ,	0		_	\$44.80	
*878 MONROE CT		*** Owner and Taxpaye	er ***			\$ 11 .00	
*Ward: 2			Total Assessm			\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Wayne E Ciesinski	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-24-0048
Sharon A Ciesinski	ADDITION LOT 9 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
896 Monroe Ct		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3305						\$44.80	
*896 MONROE CT		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
Barbara J Plankers	ADDITION LOT 10 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-24-0049
898 Monroe Ct		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3305			-			\$44.80	
*898 MONROE CT		*** Owner and Taxpay	/er ***			\$ 11100	
*Ward: 2			Total Assessn	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
							
Ruthanna N Young	MICHEL AND ROBERTSON'S ADDITION LOT 13 BLK 1	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-24-0052
1064 Pleasant Ave	ADDITION EOT 15 DEK 1	Alley Sweeping Citywide Street Lightin		0.12	40.00	\$4.80 \$22.60	
St Paul MN 55102-3311		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*1064 PLEASANT AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll	by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Kevin Joseph Stouffer	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	83.00	\$34.04	11-28-23-24-0054	
1070 Pleasant Ave	ADDITION LOT 15 BLK 1	Alley Sweeping		0.12	39.00	\$4.68		
St Paul MN 55102-3311		Citywide Street Lighting	g	0.59	83.00	\$48.98		
*1070 PLEASANT AVE		*** Owner and Taxpaye	or ***		_	\$87.70		
*Ward: 2 *Pending as of: 8/21/2020		o wher and ranpay				\$9 7 70		
8			Total Assessm			\$87.70		
			This Payment:			\$0.00		
			Current Year F	-		\$0.00 \$0.00		
			Current Year I Payoff Amour			\$0.00 \$87.70		
Robert W Orth	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	11-28-23-24-0059	
Po Box 50785	ADDITION LOT 21 BLK 1	Alley Sweeping		0.12	40.00	\$4.80		
Mendota MN 55150-0785		Citywide Street Lighting	g	0.59	40.00	\$23.60		
*899 PALACE AVE						\$44.80		
*Ward: 2		*** Owner and Taxpaye	er ***					
*Pending as of: 8/21/2020			Total Assessm			\$44.80		
			This Payment:			\$0.00		
			Current Year F	-		\$0.00		
			Current Year I			\$0.00		
			Payoff Amour	nt:		\$44.80		
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	<u> </u>	<u> </u>	
Rebekah A Morse	ADDITION LOT 22 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 21 0000	
895 Palace Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60		
St Paul MN 55102-3306					_	\$44.80		
*895 PALACE AVE		*** Owner and Taxpaye	er ***					
*Ward: 2			Total Assessm	ient:	2	\$44.80		
*Pending as of: 8/21/2020			This Payment:			\$0.00		
			Current Year F	Principal:		\$0.00		
			Current Year I	nterest:		\$0.00		
			Payoff Amour	nt:		\$44.80		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Maggie A Anderson	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-24-0061
889 Palace Ave	ADDITION LOT 23 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3306		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*889 PALACE AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid		0.41	40.00	<u>\$16.40</u>	
Sharon K Moore	ADDITION LOT 25 BLK 1	Alley Sweeping	ientiai Stree	0.41	40.00	\$4.80	11-28-23-24-0063
Markku Majamaki		Citywide Street Lightin	a	0.12	40.00	\$23.60	
4237 29th Ave S Minneapolis MN 55406-3126		City wide Street Eightin	5	0.59	-10.00		
*883 PALACE AVE		*** Owner and Taxpay	er ***			\$44.80	
*Ward: 2			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amount:			\$44.80	
Karen T Madison	MICHEL AND ROBERTSON'S ADDITION LOT 27 BLK 1	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-24-0065
875 Palace Ave		Alley Sweeping Citywide Street Lightin	~	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
St Paul MN 55102-3306		Citywide Street Lightin	g	0.39	40.00		
*875 PALACE AVE *Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020		1.0	Total Assessme	ent:	<u>-</u>	\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincinal:		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amoun			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Ro	ll by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Arden M Bjornberg	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-24-0067	
Janice P Bjornberg	ADDITION LOT 29 BLK 1	Alley Sweeping		0.12	40.00	\$4.80		
865 Palace Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60		
St Paul MN 55102-3306						\$44.80		
*865 PALACE AVE		*** Owner and Taxpay	er ***					
*Ward: 2			Total Assessm	nent:	-	\$44.80		
*Pending as of: 8/21/2020			This Payment:	:		\$0.00		
			Current Year l			\$0.00		
			Current Year l	Interest:		\$0.00		
			Payoff Amou	nt:		\$44.80		
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>		
Samuel D Snyder	ADDITION LOT 5 BLK 2	Alley Sweeping	ichtial Stree	0.41	40.00	\$4.80	11-28-23-24-0073	
1090 Pleasant Ave		Citywide Street Lightin	ø	0.59	40.00	\$23.60		
St Paul MN 55102-3313			.9	0107		\$44.80		
*1090 PLEASANT AVE		*** Owner and Taxpay	er ***			\$44.80		
*Ward: 2		o niter and ranpay			=			
*Pending as of: 8/21/2020			Total Assessment:			\$44.80		
1 chang as of: 0,21,2020			This Payment:			\$0.00		
			Current Year l	-		\$0.00		
			Current Year I			\$0.00		
			Payoff Amou	nt:		\$44.80		
Daniel J Pierce	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-24-0074	
Teressa L Pierce	ADDITION LOT 6 BLK 2	Alley Sweeping		0.12	40.00	\$4.80		
1092 Pleasant Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60		
St Paul MN 55102-3313					<u></u>	\$44.80		
*1092 PLEASANT AVE		*** Owner and Taxpay	er ***					
*Ward: 2			Total Assessm	nent:		\$44.80		
*Pending as of: 8/21/2020			This Payment:	:		\$0.00		
			Current Year I	Principal:		\$0.00		
			Current Year l	Interest:		\$0.00		
			Payoff Amou	nt:		\$44.80		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
James R Dressely	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree	0.41	40.00	\$16.40	11-28-23-24-0080
Deborah M Dressely	ADDITION LOT 12 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
1116 Pleasant Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3313						\$44.80	
*1116 PLEASANT AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessn	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
		Street Sweeping - Resi	idential Stree		40.00	\$16.40	
Joseph Winge	ADDITION LOT 18 BLK 2	Alley Sweeping - Kesi	idential Stree	0.41	40.00	\$4.80	11-28-23-24-0085
971 Palace Ave		Citywide Street Lightin	nœ	0.12	40.00	\$23.60	
St Paul MN 55102-3340		City while Street Eighth	ng	0.57	40.00		
*971 PALACE AVE		*** Owner and Taxpa	vor ***			\$44.80	
*Ward: 2		Owner and Taxpa					
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
Jamie Yuen Ling Tam	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree	0.41	40.00	<u>\$16.40</u>	
957 Palace Ave	ADDITION LOT 21 BLK 2	Alley Sweeping	action buck	0.12	40.00	\$4.80	11-20-23-24-008/
St Paul MN 55102-3340		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*957 PALACE AVE		, 6	C C		_	\$44.80	
*Ward: 2		*** Owner and Taxpa	yer ***			φ-100	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michael J Ziegahn	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-24-0089
951 Palace Ave	ADDITION LOT 23 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3340		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*951 PALACE AVE		*** Owner and Taxpayer	r ***			\$44.80	
*Ward: 2 *Pending as of: 8/21/2020			Total Assessm	4-		£44.90	
6						\$44.80 \$0.00	
			This Payment: Current Year			\$0.00 \$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou			\$0.00 \$44.80	
Tom Campion	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-24-0091
941 Palace Ave	ADDITION LOT 25 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3340		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*941 PALACE AVE						\$44.80	
*Ward: 2		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020		Total Assessment:			-	\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
10423 Inver Grove Trl	ADDITION LOT 29 BLK 2	Alley Sweeping	initial Stree	0.12	40.00	\$4.80	11-20-23-24-0095
Inver Grove Heights MN 55077-4930		Citywide Street Lighting	- •	0.59	40.00	\$23.60	
*925 PALACE AVE						\$44.80	
*Ward: 2		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	1		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll	by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Joshua J Wolter	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree	0.41	40.00	\$16.40	11-28-23-24-0101
Amy K Wolter	ADDITION LOT 6 BLK 9	Alley Sweeping		0.12	40.00	\$4.80	
18462 Ixonia Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
Lakeville MN 55044-9670						\$44.80	
*942 PALACE AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
		Street Sweeping - Resi	dantial Strac		40.00	<u>\$16.40</u>	
Chris J Tegeler	MICHEL AND ROBERTSON'S ADDITION LOT 7 BLK 9	Alley Sweeping - Kesi	idential Stree	0.41	40.00	\$10.40	11-28-23-24-0102
944 Palace Ave		Citywide Street Lightin	na	0.12	40.00	\$23.60	
St Paul MN 55102-3342		Citywide Street Eighth	ng	0.57	40.00		
*944 PALACE AVE *Ward: 2		*** Owner and Taxpa	yer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Jesse Tupy	MICHEL AND ROBERTSON'S ADDITION LOT 11 BLK 9	Street Sweeping - Resi	idential Stree	0.41	40.00	\$16.40 \$4.80	11-28-23-24-0106
Stefanie Tupy		Alley Sweeping Citywide Street Lightin	na	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
962 Palace Ave		Citywide Subel Lighth	ng	0.59	40.00		
St Paul MN 55102-3342 *962 PALACE AVE		*** Owner and Taxpa	yer ***			\$44.80	
*Ward: 2		1 .	Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Rol	ll by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jean Marie Bartlett	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-24-0107
966 Palace Ave	ADDITION LOT 12 BLK 9	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3342		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*966 PALACE AVE						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
John C Pitzen	MICHEL AND ROBERTSON'S ADDITION LOT 13 BLK 9	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-24-0108
Barbara L Pitzen	ADDITION LOT 13 BEK 3	Alley Sweeping		0.12	40.00	\$4.80	
970 Palace Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3342						\$44.80	
*970 PALACE AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assessr	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	83.00	\$34.04	
12525 54th Ave N	ADDITION LOT 15 BLK 9	Alley Sweeping		0.12	39.00	\$4.68	11-28-23-24-0110
Minneapolis MN 55442-1886		Citywide Street Lighting	g	0.59	83.00	\$48.98	
*976 PALACE AVE		, 8	-			\$87.70	
*Ward: 2		*** Owner and Taxpayo	er ***			\$87.70	
*Pending as of: 8/21/2020			Total Assessr	nent:		\$87.70	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$87.70	

10:54:40 11/16/2020	Public Improvement Assessment Rol	ll by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Abdias Rodriguez Sanchez	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	dential Stree	0.41	83.00	\$34.04	11-28-23-24-0111
979 James Ave	ADDITION LOT 16 BLK 9	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55102-3329		Citywide Street Lightin	ng	0.59	83.00	\$48.98	
*979 JAMES AVE *Ward: 2		*** Owner and Taxpay	ver ***			\$87.70	
*Pending as of: 8/21/2020		o niter und Tampaj				\$87.70	
2			Total Assessn				
			This Payment			\$0.00	
			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$87.70	
		Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	11-28-23-24-0112
975 James Ave	ADDITION LOT 17 BLK 9	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-24-0112
St Paul MN 55102-3329		Citywide Street Lightir	ng	0.59	40.00	\$23.60	
975 JAMES AVE		, ,	0		—	\$44.80	
Ward: 2		*** Owner and Taxpay	yer ***			\$ 11 .00	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	•		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Kari L Williams	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	dential Stree	0.41	40.00	<u>\$16.40</u>	
959 James Ave	ADDITION LOT 21 BLK 9	Alley Sweeping	donnar Stree	0.12	40.00	\$4.80	11-28-23-24-0110
St Paul MN 55102-3329		Citywide Street Lightir	no	0.59	40.00	\$23.60	
		eng mae Suber Eighun		0107			
959 JAMES AVE Ward: 2		*** Owner and Taxpay	yer ***			\$44.80	
Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 15
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Angela Bright	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-24-0118
John Heinen	ADDITION LOT 23 BLK 9	Alley Sweeping		0.12	40.00	\$4.80	
951 James Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-3329						\$44.80	
*951 JAMES AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$44.80	
Brenna L Barrett	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lantial Stree	0.41	40.00	<u>\$16.40</u>	
	ADDITION LOT 26 BLK 9	Alley Sweeping	iential Stree	0.41	40.00	\$4.80	11-28-23-24-0121
937 James Ave St Paul MN 55102-3329		Citywide Street Lightin	σ	0.12	40.00	\$23.60	
			9	0.57		\$44.80	
*937 JAMES AVE *Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	lantial Stree	0.41	40.00	<u> </u>	
Steven J Miller Lucinda L Miller	ADDITION LOT 27 BLK 9	Alley Sweeping	iential Stree	0.41	40.00	\$4.80	11-28-23-24-0122
935 James Ave		Citywide Street Lightin	σ	0.59	40.00	\$23.60	
St Paul MN 55102-3329			9	0107		\$44.80	
*935 JAMES AVE		*** Owner and Taxpay	er ***			\$44.80	
*Ward: 2			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-24-0128
6836 Morrison Blvd Ste 320	ADDITION LOT 3 BLK 10	Alley Sweeping		0.12	40.00	\$4.80	
Charlotte NC 28211-2612		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*868 PALACE AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	
Charlynn M Psihos	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	11-28-23-24-0129
870 Palace Ave	ADDITION LOT 4 BLK 10	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-24-0129
St Paul MN 55102-3307		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*870 PALACE AVE			-			\$44.80	
*Ward: 2		*** Owner and Taxpay	yer ***			ψ11.00	
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$44.80	
Draco Properties Llc	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	dential Stree			\$8.20	
Po Box 764	ADDITION E 1/2 OF LOT 10 BLK 10	Alley Sweeping		0.12	20.00	\$2.40	***EXEMPT***
Prior Lake MN 55372-0764		Citywide Street Lightin	ng	0.59	20.00	\$11.80	···· EAEIVIP I · ···
*896 PALACE AVE						\$22.40	
*Ward: 2		*** Owner and Taxpay	yer ***			<i>422.10</i>	
*Pending as of: 8/21/2020			Total Assess	ment:		\$22.40	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	unt:		\$22.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Draco Properties Llc	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60	11-28-23-24-0135
Po Box 764	ADDITION W 1/2 OF LOT 10 AND ALL	Alley Sweeping		0.12	60.00	\$7.20	
Prior Lake MN 55372-0764	OF LOT 11 BLK 10	Citywide Street Lightin	ng	0.59	60.00	\$35.40	
900 PALACE AVE						\$67.20	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$67.20	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$67.20	
Christopher Madden	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
07 Osceola Ave S	ADDITION LOT 14 BLK 10	Alley Sweeping	dential Stree	0.12	40.00	\$4.80	11-28-23-24-0138
t Paul MN 55102-3219		Citywide Street Lightin	Ig	0.12	40.00	\$23.60	
914 PALACE AVE			-0			\$44.80	
Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree		83.00	\$34.04	
o Box 50785	ADDITION LOT 15 BLK 10	Alley Sweeping		0.12	39.00	\$4.68	11-20-23-24-0139
1 Indota MN 55150-0785		Citywide Street Lightin	ıg	0.59	83.00	\$48.98	
916 PALACE AVE			-		_	\$87.70	
Ward: 2		*** Owner and Taxpay	/er ***			φ07.70	
Pending as of: 8/21/2020			Total Assess	ment:		\$87.70	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$87.70	

10:54:40 11/16/2020	Public Improvement Assessment Ro	ll by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Ulicer Sanchez	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-24-0141
Layla Ludden	ADDITION LOT 17 BLK 10	Alley Sweeping		0.12	40.00	\$4.80	
15 James Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
t Paul MN 55102-3328						\$44.80	
915 JAMES AVE		*** Owner and Taxpay	/er ***				
Ward: 2			Total Assessn	nent:		\$44.80	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
Roseann Soukup Records	ADDITION LOT 18 BLK 10	Alley Sweeping	dential Stree	0.41	40.00	\$4.80	11-28-23-24-0142
Villiam S Records		Citywide Street Lightin	ισ	0.12	40.00	\$23.60	
11 James Ave		City white Bireet Englithin	15	0.59	-10.00		
t Paul MN 55102-3328		*** Owner and Taxpay	10+ ***			\$44.80	
911 JAMES AVE		Owner and Taxpay					
Ward: 2			Total Assessn	nent:		\$44.80	
Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Resid	dential Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
atherine J Miller	ADDITION LOT 23 BLK 10	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-24-014/
91 James Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
t Paul MN 55102-3328		. 6	~			\$44.80	
891 JAMES AVE		*** Owner and Taxpay	ver ***			\$ ++ .00	
^s Ward: 2 ^s Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Rol	ll by PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>I</u>	Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
James M Amacher	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-24-0152
Rochelle G Amacher	ADDITION LOT 28 BLK 10	Alley Sweeping		0.12	40.00	\$4.80	
871 James Ave		Citywide Street Lighting	ş	0.59	40.00	\$23.60	
St Paul MN 55102-3328						\$44.80	
*871 JAMES AVE		*** Owner and Taxpaye	r ***				
*Ward: 2			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	t:		\$44.80	
Micah Johnson	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	
867 James Ave	ADDITION LOT 29 BLK 10	Alley Sweeping	endar Bree	0.12	40.00	\$4.80	11-28-23-24-0153
St Paul MN 55102-3328		Citywide Street Lighting	ž	0.59	40.00	\$23.60	
*867 JAMES AVE		, , ,	2			\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***			\$ 11 .00	
*Pending as of: 8/21/2020			Total Assessme	ent:	-	\$44.80	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	t:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	83.50	\$34.24	
863 James Ave	ADDITION LOT 30 BLK 10	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-24-0134
St Paul MN 55102		Citywide Street Lighting	3	0.59	83.50	\$49.27	
*863 JAMES AVE						\$88.31	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:	<u>-</u>	\$88.31	
			This Payment:			\$0.00	
			Current Year Pi	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	t:		\$88.31	

10:54:40 11/16/2020	Public Improvement Assessment Ro	ll by PID (Fee to Asmt) Ratification Date:	Project: 2020SM Resolution #:	MSP	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	<u>Property Description</u>	Item Description	Un	<u>it Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Diane K Fraser	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	76.00	\$31.16	11-28-23-24-0155
862 James Ave	ADDITION LOT 1 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3331		Citywide Street Lighting	;	0.59	76.00	\$44.84	
*862 JAMES AVE						\$80.80	
*Ward: 2		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessment	•		\$80.80	
			This Payment:			\$0.00	
			Current Year Prin	cipal:		\$0.00	
			Current Year Inter	rest:		\$0.00	
			Payoff Amount:			\$80.80	
		Streat Sugaring Deside				<u> </u>	
Yvette Matthews	MICHEL AND ROBERTSON'S ADDITION LOT 3 BLK 11	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-24-0157
870 James Ave		Citywide Street Lighting		0.12	40.00	\$23.60	
St Paul MN 55102-3331		Citywide Street Lighting	•	0.59	40.00		
*870 JAMES AVE		*** Owner and Taxpaye	* ***			\$44.80	
*Ward: 2 *Pending as of: 8/21/2020		1 5					
1 chung as 01. 0/21/2020			Total Assessment	•		\$44.80	
			This Payment:			\$0.00	
			Current Year Prin	-		\$0.00	
			Current Year Inter	rest:		\$0.00	
			Payoff Amount:			\$44.80	
Christie W Matts	MICHEL AND ROBERTSON'S	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	
Scott R Olson	ADDITION LOT 5 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
554 Suzanne Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55126-2310						\$44.80	
*878 JAMES AVE		*** Owner and Taxpayer	r ***				
*Ward: 2			Total Assessment	:	=	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Prin	cipal:		\$0.00	
			Current Year Inter	rest:		\$0.00	
			Payoff Amount:			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Faith A Morman	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-24-0160
882 James Ave	ADDITION LOT 6 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3331		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*882 JAMES AVE		*** 0 1 T	***			\$44.80	
*Ward: 2		*** Owner and Taxpay	yer ****				
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
		- <u> </u>					
Annette Chavez	MICHEL AND ROBERTSON'S ADDITION E 1/2 OF LOT 8 AND ALL	Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60 \$7.20	11-28-23-24-0161
Eduardo Chavez	OF LOT 7 BLK 11	Alley Sweeping		0.12	60.00 60.00		
888 James Ave		Citywide Street Lightin	ng	0.59	60.00	\$35.40	
St Paul MN 55102-3331						\$67.20	
*888 JAMES AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assessm	ient:		\$67.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	nterest:		\$0.00	
			Payoff Amou	nt:		\$67.20	
		Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	
Anthony J Podgorski Kimbarly, A Badaarali	MICHEL AND ROBERTSON'S ADDITION LOT 10 BLK 11	Alley Sweeping - Kesh	denual Succ	0.41	40.00	\$4.80	11-28-23-24-0163
Kimberly A Podgorski		Citywide Street Lightir	no	0.12	40.00	\$23.60	
900 James Ave St Paul MN 55102-3331		eng mae Suber Eighti		0.57		\$44.80	
*900 JAMES AVE		*** Owner and Taxpay	yer ***			\$44.80	
*Ward: 2			Total Assessment:			\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year l			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Ro	ll by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 16
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
John Michael Hughes	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree	0.41	75.50	\$30.96	11-28-23-24-0168
918 James Ave	ADDITION LOT 15 BLK 11	Alley Sweeping		0.12	39.00	\$4.68	
St Paul MN 55102-3331		Citywide Street Lighti	ng	0.59	75.50	\$44.55	
*918 JAMES AVE *Ward: 2		*** Owner and Taxpa	yer ***			\$80.19	
*Pending as of: 8/21/2020			Total Assessr	nent:		\$80.19	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$80.19	
Kenneth V Mahler	MICHEL AND ROBERTSON'S	Street Sweeping - Con	mercial/Art		40.00	\$42.80	
907 Randolph Ave	ADDITION LOT 19 BLK 11	Alley Sweeping	limereral Art	0.12	40.00	\$4.80	11-28-23-24-0171
St Paul MN 55102-3345		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*907 RANDOLPH AVE			6			\$71.20	
*Ward: 2		*** Owner and Taxpa	yer ***			\$71.20	
*Pending as of: 8/21/2020			Total Assessr	nent:	-	\$71.20	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
 Ryan Springstead	MICHEL AND ROBERTSON'S	Street Sweeping - Con	nmercial/Art			\$42.80	
903 Randolph Ave	ADDITION LOT 20 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-24-01/2
St Paul MN 55102-3345		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*903 RANDOLPH AVE						\$71.20	
*Ward: 2		*** Owner and Taxpa	yer ***			••••	
*Pending as of: 8/21/2020			Total Assessr	nent:	-	\$71.20	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
	MICHEL AND ROBERTSON'S	Street Sweeping - Com	mercial/Art	1.07		\$23.54	11-28-23-24-0174
3966 Minnehaha Ave S	ADDITION W 1/2 OF LOT 22 AND E 1	Alley Sweeping		0.12	22.00	\$2.64	
Minneapolis MN 55406-3232	50/100 FT OF LOT 21 BLK 11	Citywide Street Lightin	ıg	0.59	22.00	\$12.98	
*895 RANDOLPH AVE						\$39.16	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$39.16	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$39.16	
	MICHEL AND ROBERTSON'S	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	
Abulahi Abdurahman	ADDITION LOT 24 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-24-01/0
887 Randolph Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3345			-			\$71.20	
*887 RANDOLPH AVE		*** Owner and Taxpay	/er ***			φ, 1.20	
*Ward: 2			Total Assess	ment:	•	\$71.20	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$71.20	
	MICHEL AND ROBERTSON'S	Street Sweeping - Com	mercial/Art		40.00	\$42.80	
877 Randolph Ave	ADDITION LOT 26 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-24-01/0
St Paul MN 55102-3345		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*877 RANDOLPH AVE		-				\$71.20	
*Ward: 2		*** Owner and Taxpay	/er ***			÷,	
*Pending as of: 8/21/2020			Total Assess	ment:		\$71.20	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Rol	by PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
William B Stevenson	MICHEL AND ROBERTSON'S	Street Sweeping - Comn	nercial/Art	1.07	40.00	\$42.80	11-28-23-24-0179
Susan M Stevenson	ADDITION LOT 27 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
873 Randolph Ave		Citywide Street Lighting	3	0.59	40.00	\$23.60	
St Paul MN 55102-3345						\$71.20	
*873 RANDOLPH AVE		*** Owner and Taxpaye	er ***				
Ward: 2			Total Assessm	ent:		\$71.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$71.20	
Chris T Steenberg	MICHEL AND ROBERTSON'S	Street Sweeping - Comn	nercial/Art	1.07	40.00	\$42.80	11-28-23-24-0181
865 Randolph Ave	ADDITION LOT 29 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3345		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*865 RANDOLPH AVE						\$71.20	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$71.20	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$71.20	
William J May	MICHEL AND ROBERTSON'S ADDITION LOT 30 BLK 11	Street Sweeping - Comn		1.07	20.00	\$21.40	11-28-23-24-0182
61 Randolph Ave	ADDITION LOT 50 BLK 11	Street Sweeping - Reside	ential Stree	0.41	56.00	\$22.96	
St Paul MN 55102-3345		Alley Sweeping		0.12	40.00	\$4.80	
*861 RANDOLPH AVE		Citywide Street Lighting	2	0.59	76.00	\$44.84	
Ward: 2						\$94.00	
Pending as of: 8/21/2020		*** Owner and Taxpaye	er ***				
			Total Assessm			\$94.00	
			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$94.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Bonnie Jo Rohow	MICHEL AND ROBERTSON'S	Street Sweeping - Resi	idential Stree	0.41	40.00	\$16.40	11-28-23-24-0185
934 James Ave	ADDITION LOT 4 BLK 12	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3332		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*934 JAMES AVE						\$44.80	
Vard: 2		*** Owner and Taxpa	yer ***				
Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
		Street Sweeping - Resi	idential Stree		40.00	<u>\$16.40</u>	
Sam Gardner	MICHEL AND ROBERTSON'S ADDITION LOT 5 BLK 12	Alley Sweeping - Kesi	idential Stree	0.41	40.00	\$4.80	11-28-23-24-0186
938 James Ave		Citywide Street Lighti	na	0.12	40.00	\$23.60	
St Paul MN 55102-3332		City wide Street Light	ng	0.57	40.00		
938 JAMES AVE		*** Owner and Taxpa	Var ***			\$44.80	
*Ward: 2		Owner and Taxpa					
Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Scott R Nelson	MICHEL AND ROBERTSON'S ADDITION LOT 9 BLK 12	Street Sweeping - Resi Alley Sweeping	Idential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-24-0190
1724 Sheridan Ave		Citywide Street Lighti	na	0.12	40.00	\$23.60	
St Paul MN 55116-2728		City wide Succi Eight	ng	0.57	40.00		
*954 JAMES AVE *Ward: 2		*** Owner and Taxpa	yer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 17
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Donald F Scheibel	MICHEL AND ROBERTSON'S	Street Sweeping - Res	idential Stree	0.41	40.00	\$16.40	11-28-23-24-0191
Amber M Hooper	ADDITION LOT 10 BLK 12	Alley Sweeping		0.12	40.00	\$4.80	
4302 143rd St W		Citywide Street Lighti	ing	0.59	40.00	\$23.60	
Rosemount MN 55068-3672						\$44.80	
*958 JAMES AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	MICHEL AND ROBERTSON'S	Street Sweeping - Res	idential Stree	0.41	40.00	<u>\$16.40</u>	
966 James Ave	ADDITION LOT 12 BLK 12	Alley Sweeping	lucilitur Street	0.12	40.00	\$4.80	11-20-23-24-0195
St Paul MN 55102-3332		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*966 JAMES AVE			-			\$44.80	
*Ward: 2		*** Owner and Taxpa	yer ***			ψ11.00	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:	:		\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
			<u> </u>				
lennifer Miranda Zuniga	MICHEL AND ROBERTSON'S ADDITION LOT 14 BLK 12	Street Sweeping - Res	idential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-24-0195
974 James Ave		Alley Sweeping Citywide Street Lighti	na	0.12	40.00	\$4.80 \$23.60	
St Paul MN 55102-3332		Citywide Street Eight	ing	0.57	40.00		
*974 JAMES AVE *Ward: 2		*** Owner and Taxpa	yer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:			\$0.00	
			Current Year l			\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Charlotte M Wilsey	MICHEL AND ROBERTSON'S	Street Sweeping - Res	sidential Stree	0.41	75.50	\$30.96	11-28-23-24-0196
Erik M Wilsey	ADDITION LOT 15 BLK 12	Alley Sweeping		0.12	39.00	\$4.68	
460 Chatsworth St S		Citywide Street Light	ing	0.59	75.50	\$44.55	
St Paul MN 55102-3327						\$80.19	
*460 CHATSWORTH ST S		*** Owner and Taxpa	ayer ***				
*Ward: 2			Total Assessm	nent:		\$80.19	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$80.19	
	MICHEL AND ROBERTSON'S	Street Sweeping - Cor			40.00	\$42.80	
Daniel Schaefer	ADDITION LOT 17 BLK 12	Alley Sweeping - Cor	ininercial/Art	0.12	40.00	\$4.80	11-28-23-24-0198
973 Randolph Ave		Citywide Street Light	ino	0.12	40.00	\$23.60	
St Paul MN 55102-3346 *973 RANDOLPH AVE		Sity white Subject Eight		0.09		\$71.20	
*Ward: 2		*** Owner and Taxpa	ayer ***			\$/1.20	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$71.20	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
Jessica L Teske	MICHEL AND ROBERTSON'S ADDITION LOT 18 BLK 12	Street Sweeping - Cor Alley Sweeping	mmercial/Art	1.07 0.12	40.00 40.00	\$42.80 \$4.80	11-28-23-24-0199
1772 Lafayette Ln		Citywide Street Light	ina	0.12	40.00	\$4.80 \$23.60	
Mound MN 55364-1123		City wide Street Light		0.59	-0.00		
*969 RANDOLPH AVE *Ward: 2		*** Owner and Taxpa	ayer ***			\$71.20	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$71.20	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Edward E Splittstoesser	MICHEL AND ROBERTSON'S	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-24-0201
Patricia A Splittstoesser	ADDITION LOT 20 BLK 12	Alley Sweeping		0.12	40.00	\$4.80	
963 Randolph Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3346						\$71.20	
963 RANDOLPH AVE		*** Owner and Taxp					
Ward: 2			Total Assessm	nent:	-	\$71.20	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$71.20	
	MICHEL AND ROBERTSON'S	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-24-0205
27 Randolph Ave	ADDITION LOT 29 BLK 12	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-24-0205
t Paul MN 55102-3346		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
927 RANDOLPH AVE			-			\$71.20	
Ward: 2		*** Owner and Taxpay	/er ***			\$71.20	
Pending as of: 8/21/2020			Total Assessm	nent:		\$71.20	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou			\$71.20	
loger W Stadler	MICHEL AND ROBERTSON'S	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-24-0206
23 Randolph Ave	ADDITION LOT 30 BLK 12	Street Sweeping - Resid	dential Stree	0.41	112.00	\$45.92	11 20 20 21 0200
t Paul MN 55102-3346		Alley Sweeping		0.12	40.00	\$4.80	
923 RANDOLPH AVE		Citywide Street Lightin	ng	0.59	152.00	\$89.68	
Ward: 2						\$183.20	
Pending as of: 8/21/2020		*** Owner and Taxpay	/er ***				
			Total Assessm	nent:	-	\$183.20	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$183.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll b		Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>I</u>	U nit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michael Griffin	MICHEL AND ROBERTSON'S	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	11-28-23-24-0210
Alyson N Griffin	ADDITION LOT 6 BLK 10	Alley Sweeping		0.12	40.00	\$4.80	
882 Palace Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55102-3307						\$44.80	
*882 PALACE AVE		*** Owner and Taxpayer '	***				
*Ward: 2		T	Total Assessme	nt:		\$44.80	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		С	Current Year Pr	rincipal:		\$0.00	
		С	Current Year In	terest:		\$0.00	
		Р	Payoff Amount	t:		\$44.80	
Steven Paul Redelsperger	SLAYTON'S LINWOOD PARK ADD.	Street Sweeping - Residen	ntial Stree	0.41	45.00	<u>\$18.45</u>	
155 5th Ave S Ste 1000a	EX THE E 95 FT; LOTS 1 AND LOT 2	Citywide Street Lighting		0.59	45.00	\$26.55	11-20-23-24-0212
Minneapolis MN 55410-2540	AND THAT PART LYING S OF THE N	, , ,				\$45.00	
*373 VICTORIA ST S	37 FT OF LOT 2 AND ALL OF LOT 3 BLK 3	*** Owner and Taxpayer '	***			\$45.00	
*Ward: 2							
*Pending as of: 8/21/2020			Total Assessme	nt:		\$45.00	
1 chung as 01. 6/21/2020			This Payment:			\$0.00	
			Current Year Pr	•		\$0.00	
			Current Year In			\$0.00	
		Р	Payoff Amount	t:		\$45.00	
Jennifer Owens	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Comme	ercial/Art	1.07	40.00	\$42.80	11-28-23-31-0006
886 Ramdolph Ave	MINNESOTA LOT 7 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	· · · · · · ·
St Paul MN 55102-3314		Citywide Street Lighting		0.59	40.00	\$23.60	
*886 RANDOLPH AVE						\$71.20	
*Ward: 2		*** Owner and Taxpayer '	***				
*Pending as of: 8/21/2020		T	Total Assessme	nt:		\$71.20	
		Т	This Payment:			\$0.00	
		C	Current Year Pr	incipal:		\$0.00	
		С	Current Year In	terest:		\$0.00	
		Р	Payoff Amount	t:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Timothy J Hein	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Comm	nercial/Art	1.07	40.00	\$42.80	11-28-23-31-0007
890 Randolph Ave	MINNESOTA LOT 8 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3314		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*890 RANDOLPH AVE *Ward: 2		*** Owner and Taxpaye	er ***			\$71.20	
*Pending as of: 8/21/2020			Total Assessm	ient:		\$71.20	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	interest:		\$0.00	
			Payoff Amoun	nt:		\$71.20	
Christopher Glass	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	
894 Randolph Ave	MINNESOTA LOT 9 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-31-0000
St Paul MN 55102-3314		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*894 RANDOLPH AVE			-			\$71.20	
*Ward: 2		*** Owner and Taxpaye	er ***			¢/1.20	
*Pending as of: 8/21/2020			Total Assessm	ient:		\$71.20	
			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$71.20	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Com	mercial/Art	1.07	40.00	<u>\$42.80</u>	<u> </u>
Theresa A Nutzmann	MINNESOTA LOT 11 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 01 0010
902 Randolph Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3314						\$71.20	
*902 RANDOLPH AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessm	ient:		\$71.20	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID	
Sarah M Gross	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0016	
Andrew M Gross	MINNESOTA LOT 19 BLK 1	Alley Sweeping		0.12	40.00	\$4.80		
907 Juno Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60		
St Paul MN 55102-3713						\$44.80		
07 JUNO AVE		*** Owner and Taxpay	/er ***					
*Ward: 2			Total Assess	ment:	-	\$44.80		
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00		
			Current Year			\$0.00		
			Current Year	-		\$0.00		
			Payoff Amo	unt:		\$44.80		
David Nicoletti Jr	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>		
	MINNESOTA LOT 23 BLK 1	Alley Sweeping	dential Stree	0.41	40.00	\$4.80	11-28-23-31-0020	
Amber Nicoletti		Citywide Street Lightin	ισ	0.12	40.00	\$23.60		
891 Juno Ave St Paul MN 55102-3713		City while Subort Eightin	-6	0.09		\$44.80		
*891 JUNO AVE		*** Owner and Taxpay	/er ***			\$44.80		
*Ward: 2		o niter and ranpay				<u></u>		
*Pending as of: 8/21/2020			Total Assess			\$44.80		
			This Paymen			\$0.00		
			Current Year	-		\$0.00		
			Current Year			\$0.00		
			Payoff Amo	unt:		\$44.80		
Michelle J Lang	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41		\$41.00	11-28-23-31-0028	
866 Juno Ave	MINNESOTA SUBJ TO ESMTS; LOTS 1 & LOT 2 BLK 2	Alley Sweeping		0.12	80.00	\$9.60		
St Paul MN 55102-3714	a loi 2 ben 2	Citywide Street Lightin	ng	0.59	100.00	\$59.00		
*866 JUNO AVE						\$109.60		
*Ward: 2		*** Owner and Taxpay	/er ***					
*Pending as of: 8/21/2020			Total Assessment: This Payment:			\$109.60		
						\$0.00		
			Current Year Principal:			\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$109.60		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>I</u>	Unit Rate	<u>Quantity</u>	Charge Amts	Property ID
Med Student Rentals Llc	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-31-0029
C/O Robbie Harrell	MINNESOTA LOT 3 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 01 0022
870 Juno Ave		Citywide Street Lighting	5	0.59	40.00	\$23.60	
St Paul MN 55102-3714						\$44.80	
*870 JUNO AVE		*** Owner and Taxpaye	r ***				
*Ward: 2			Total Assessme	ent:	-	\$44.80	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	terest:		\$0.00	
			Payoff Amount	t:		\$44.80	
		Start Sauring Decid				<u><u><u></u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u></u>	
Andrew Lee Johnson	WATSON'S ADDITION TO ST. PAUL, MINNESOTA LOT 5 BLK 2	Street Sweeping - Reside Alley Sweeping	ential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-31-0031
876 Juno Ave		Citywide Street Lighting	*	0.12	40.00	\$4.80 \$23.60	
St Paul MN 55102-3714		Citywide Street Lighting	5	0.59	40.00		
*876 JUNO AVE		*** Owner and Taxpaye	***			\$44.80	
*Ward: 2		Owner and Taxpaye			-		
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amount	t:		\$44.80	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	
902 Juno Ave	MINNESOTA LOT 11 BLK 2	Alley Sweeping	ential Briev	0.12	40.00	\$4.80	11-28-23-31-0037
St Paul MN 55102-3714		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*902 JUNO AVE		, , ,			_	\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***			\$ 11 .80	
*Pending as of: 8/21/2020			Total Assessment:			\$44.80	
			This Payment:			\$0.00	
			Current Year Principal:				
			Current Year In	-		\$0.00 \$0.00	
			Payoff Amount	t:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Melissa A Crews	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	11-28-23-31-0038	
Aboud M Aboud	MINNESOTA LOT 12 BLK 2	Alley Sweeping		0.12	40.00	\$4.80		
906 Juno Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60		
St Paul MN 55102-3714						\$44.80		
*906 JUNO AVE		*** Owner and Taxpaye	er ***					
*Ward: 2			Total Assessn	nent:	-	\$44.80		
*Pending as of: 8/21/2020			This Payment	:		\$0.00		
			Current Year			\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$44.80		
Francis W Krammer Jr	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	ential Stree		79.50	\$32.60		
Ruth L Krammer	MINNESOTA LOT 15 BLK 2	Alley Sweeping - Kesid	ennai Suec	0.41	39.00	\$4.68	11-28-23-31-0041	
918 Juno Ave		Citywide Street Lighting	o	0.59	79.50	\$46.91		
St Paul MN 55102-3714			5	0107		\$84.19		
*918 JUNO AVE		*** Owner and Taxpaye	er ***			\$84.19		
*Ward: 2			Total Assessn	nent:		\$84.19		
*Pending as of: 8/21/2020			This Payment			\$0.00		
			Current Year			\$0.00		
			Current Year	-		\$0.00		
			Payoff Amou	int:		\$84.19		
Adam Dohm	WATSON'S ADDITION TO ST. PAUL, MINNESOTA LOT 17 BLK 2	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	11-28-23-31-0043	
915 Armstrong Ave	WINNESOTALOT 1/ BLK 2	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55102		Citywide Street Lighting	g	0.59	40.00	\$23.60		
*915 ARMSTRONG AVE *Ward: 2		*** Owner and Taxpaye	er ***			\$44.80		
*Pending as of: 8/21/2020			Total Assessn	nent:	-	\$44.80		
			This Payment			\$0.00		
			Current Year Principal:			\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	nt:		\$44.80		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Nancy M Lucivansky	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Res	idential Stree	0.41	60.00	\$24.60	11-28-23-31-0048
895 Armstrong Ave	MINNESOTA W 1/2 OF LOT 23 AND	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55102-3707	ALL OF LOT 22 BLK 2	Citywide Street Lighti	ing	0.59	60.00	\$35.40	
*895 ARMSTRONG AVE *Ward: 2	*** Owner and Taxp		yer ***			\$67.20	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$67.20	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$67.20	
Antoinette M Chickett	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Res	idential Stree	0.41		\$24.60	
887 Armstrong Ave	MINNESOTA E 1/2 OF LOT 23 AND	Alley Sweeping		0.12	60.00	\$7.20	11-20-23-31-0047
St Paul MN 55102-3707	ALL OF LOT 24 BLK 2	Citywide Street Lighti	ing	0.59	60.00	\$35.40	
*887 ARMSTRONG AVE						\$67.20	
*Ward: 2		*** Owner and Taxpa	iyer ***			<i>QOH</i> 2 <i>O</i>	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$67.20	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$67.20	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Res	idential Stree			<u>\$24.19</u>	11-28-23-31-0057
4820 Minnetonka Blvd Floor 3	MINNESOTA EX W 20 FT; LOT 3 & W	Alley Sweeping		0.12	59.00	\$7.08	
Minneapolis MN 55416	39 FT OF LOT 2 BLK 3	Citywide Street Lighti	ing	0.59	59.00	\$34.81	
*866 ARMSTRONG AVE						\$66.08	
*Ward: 2		*** Owner and Taxpa	yer ***				
*Pending as of: 8/21/2020			Total Assessment:			\$66.08	
			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$66.08	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0061
886 Armstrong Ave	MINNESOTA LOT 7 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3708		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*886 ARMSTRONG AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou	nt:		\$44.80	
Christopher W Hoff	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree		40.00	<u> </u>	
13580 Sw Crestline Ct	MINNESOTA LOT 14 BLK 3	Alley Sweeping	dential Stree	0.12	40.00	\$4.80	11-28-23-31-0068
Tigard OR 97224-0998		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*914 ARMSTRONG AVE			0		_	\$44.80	
*Ward: 2		*** Owner and Taxpay	ver ***			ψ - τ.00	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$44.80	
Patrick A Gannaway	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree			\$32.60	<u> </u>
Lynn M Gannaway	MINNESOTA LOT 15 BLK 3	Alley Sweeping		0.12	39.00	\$4.68	11-20-23-31-0007
918 Armstrong Ave		Citywide Street Lightin	ıg	0.59	79.50	\$46.91	
St Paul MN 55102-3708						\$84.19	
*918 ARMSTRONG AVE		*** Owner and Taxpay	/er ***			• • •	
*Ward: 2			Total Assessm	nent:	5	\$84.19	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou	nt:		\$84.19	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Marisa Olson — — — — —	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	ential Stree	0.41	79.00	\$32.39	11-28-23-31-0070
917 Watson Ave	MINNESOTA LOT 16 BLK 3	Alley Sweeping		0.12	38.00	\$4.56	
St Paul MN 55102-3717		Citywide Street Lighting	g	0.59	79.00	\$46.61	
*917 WATSON AVE *Ward: 2		*** Owner and Taxpayo	er ***			\$83.56	
*Pending as of: 8/21/2020			Total Assessm	ient:		\$83.56	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year l	-		\$0.00	
			Payoff Amou	nt:		\$83.56	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	ential Stree		40.00	<u> </u>	
Linda M Tomasino 905 Watson Ave	MINNESOTA LOT 19 BLK 3	Alley Sweeping	cilitar Stree	0.41	40.00	\$4.80	11-28-23-31-0073
St Paul MN 55102-3717		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*905 WATSON AVE		5 6 6	6			\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***			ψ - τ.00	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:			\$0.00	
			Current Year l	Principal:		\$0.00	
			Current Year l	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	ential Stree	0.41	40.00	<u>\$16.40</u>	
Laurie B Koehnen	MINNESOTA LOT 20 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-51-00/4
903 Watson Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3717						\$44.80	
*903 WATSON AVE		*** Owner and Taxpaye	er ***			<i>Q</i> 11100	
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-31-0075
399 Watson Ave	MINNESOTA LOT 21 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3717		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
899 WATSON AVE		*** Owner and Taxpay	'er ***			\$44.80	
Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
Anne Marks	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	lential Stree	0.41	40.00	<u>\$16.40</u>	
91 Watson Ave	MINNESOTA LOT 23 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-31-0077
t Paul MN 55102-3717		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
891 WATSON AVE		<i>,</i>	6			\$44.80	
Ward: 2		*** Owner and Taxpay	er ***			\$ 11 .00	
Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amoun	nt:		\$44.80	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>	<u> </u>
inda Jimenez	MINNESOTA LOT 27 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 01 0001
75 Watson Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
t Paul MN 55102-3717						\$44.80	
875 WATSON AVE		*** Owner and Taxpay	er ***			•	
Ward: 2			Total Assessm	nent:		\$44.80	
Pending as of: 8/21/2020			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year I	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jason Stafford	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	11-28-23-31-0085
866 Watson Ave	MINNESOTA LOT 2 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3718		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*866 WATSON AVE						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	Principal:	\$0.00		
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$44.80	
		Street Sweeping - Resid			40.00	<u>\$16.40</u>	
Mario P Munoz	WATSON'S ADDITION TO ST. PAUL, MINNESOTA LOT 3 BLK 4	Alley Sweeping - Kesid	ential Stree	0.41 0.12	40.00	\$16.40	11-28-23-31-0086
870 Watson Ave		Citywide Street Lighting	•	0.12	40.00	\$4.80 \$23.60	
St Paul MN 55102-3718		Citywide Street Lighting	5	0.59	40.00		
*870 WATSON AVE		*** Owner and Taxpaye	ar ***			\$44.80	
*Ward: 2 *Pending as of: 8/21/2020		Owner and Taxpaye			=		
1 chung us of. 0/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	it:		\$44.80	
Bradley R Hanson	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	ential Stree	0.41	60.00	\$24.60	11-28-23-31-0094
904 Watson Ave	MINNESOTA EX E 10 FT; LOT 12 & EX	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55102-3718	W 10 FT; LOT 13 BLK 4	Citywide Street Lighting	g	0.59	60.00	\$35.40	
*904 WATSON AVE					_	\$67.20	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessment: This Payment:		-	\$67.20	
						\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour	nt:		\$67.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Kate E Marty	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	79.00	\$32.39	11-28-23-31-0096
James E Marty	MINNESOTA LOT 15 BLK 4	Alley Sweeping		0.12	38.00	\$4.56	
918 Watson Ave		Citywide Street Lighting	5	0.59	79.00	\$46.61	
St Paul MN 55102-3718					_	\$83.56	
*918 WATSON AVE		*** Owner and Taxpaye	er ***				
Ward: 2			Total Assessme	ent:	-	\$83.56	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun			\$83.56	
Rodger A Bradford	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	79.50	\$32.60	11-28-23-31-0097
Jackie Y Booth	MINNESOTA LOT 16 BLK 4	Alley Sweeping		0.12	39.00	\$4.68	
2608 Edwards Ave		Citywide Street Lighting	5	0.59	79.50	\$46.91	
El Cerrito CA 94530-1425						\$84.19	
*919 TUSCARORA AVE		*** Owner and Taxpayer	er ***				
*Ward: 2			Total Assessme	ent:		\$84.19	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$84.19	
James T Phillips	WATSON'S ADDITION TO ST. PAUL, MINNESOTA LOT 17 BLK 4	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-31-0098
915 Tuscarora Ave	WINNESOTALOT 1/ BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3705		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*915 TUSCARORA AVE *Ward: 2		*** Owner and Taxpaye	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessme	ent	<u> </u>	\$44.80	
			This Payment:	ont.		\$0.00	
			Current Year P	Principal		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amoun	n:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kelly S Denman	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resi	idential Stree	0.41	40.00	\$16.40	11-28-23-31-0101
903 Tuscarora Ave	MINNESOTA LOT 20 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55116-3705		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*903 TUSCARORA AVE *Ward: 2		*** Owner and Taxpay	yer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resi	idential Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
Karen Thomley	MINNESOTA LOT 22 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-31-0103
895 Tuscarora Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3705						\$44.80	
*895 TUSCARORA AVE		*** Owner and Taxpay	yer ***			<i>Q</i> 1 1100	
*Ward: 2			Total Assessn			\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resi	idential Stree	0.41	40.00	<u>\$16.40</u>	11-28-23-31-0104
Stephanie A Kavanagh	MINNESOTA LOT 23 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	11 MG MU-U1-VIVT
891 Tuscarora Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3705						\$44.80	
*891 TUSCARORA AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assessn	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-31-0105
Rachelle L Bilek	MINNESOTA LOT 24 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
885 Tuscarora Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3705						\$44.80	
*885 TUSCARORA AVE		*** Owner and Taxpaye	er ***				
Ward: 2			Total Assessm	ient:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	
873 Tuscarora Ave	MINNESOTA LOT 27 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-51-0100
St Paul MN 55102-3705		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*873 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	ient:		\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree		40.00	<u>\$16.40</u>	
Molly C Schwartz	MINNESOTA LOT 28 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-31-0109
871 Tuscarora Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3705						\$44.80	
*871 TUSCARORA AVE		*** Owner and Taxpaye	er ***			\$11.00	
*Ward: 2			Total Assessment: This Payment:			\$44.80	
*Pending as of: 8/21/2020						\$0.00	
			Current Year I			\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Staci D Foreman	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	80.00	\$32.80	11-28-23-31-0111
863 Tuscarora Ave	MINNESOTA LOT 30 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3705		Citywide Street Lightin	ng	0.59	80.00	\$47.20	
*863 TUSCARORA AVE *Ward: 2	*** Owner and Taxp		/er ***			\$84.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$84.80	
			This Payment	:		\$0.00	
			Current Year	Principal:	\$0.00		
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$84.80	
Pasco Llc	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	82.00	\$33.62	11-28-23-31-0115
1729 Juliet Ave	MINNESOTA LOT 2 BLK 6	Alley Sweeping		0.12	44.00	\$5.28	11-20-23-31-0113
St Paul MN 55105-2122		Citywide Street Lightin	ıg	0.59	82.00	\$48.38	
*563 MILTON ST S			-			\$87.28	
*Ward: 2		*** Owner and Taxpay	/er ***			<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$87.28	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$87.28	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree		90.00	<u> </u>	
922 Juno Ave	MINNESOTA E 15FT OF LOT 14 BLK 2	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55102-3716	BRYANTS RANDOLPH ST ADD & IN SD WATSONS ADDITION LOT 1 BLK	Citywide Street Lightin	ıg	0.59	90.00	\$53.10	
*922 JUNO AVE	7					\$97.20	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessn	nent:		\$97.20	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$97.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		•	Project: 2020SMSP Resolution #:		Manager: LM	Page 18
<u>Owner or Taxpayer</u>	<u>Property Description</u>	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Justin T Appelgren	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resi	dential Stree	0.41	82.00	\$33.62	11-28-23-31-0117
921 Armstrong Ave	MINNESOTA LOT 2 BLK 7	Alley Sweeping		0.12	44.00	\$5.28	
St Paul MN 55102-3709		Citywide Street Lightin	ıg	0.59	82.00	\$48.38	
*921 ARMSTRONG AVE		*** Owner and Taxpay	70t ***			\$87.28	
*Ward: 2 *Pending as of: 8/21/2020		o wher and Tanpay	Total Assess			\$87.28	
8							
			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year Payoff Amo			\$0.00 \$87.28	
			i uyon / inio	unti		\$07 .2 0	
Paul Mateyka Jr	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-31-0123
1899 Portland Ave	LOT 4 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55104-5954		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*964 RANDOLPH AVE						\$71.20	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess			\$71.20	
			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$71.20	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Com	mercial/Art		40.00	\$42.80	
962 Randolph Ave	LOT 5 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-31-0124
St Paul MN 55102-3315		Citywide Street Lightir	ıg	0.59	40.00	\$23.60	
*962 RANDOLPH AVE			-			\$71.20	
*Ward: 2		*** Owner and Taxpay	/er ***			ψ/1.20	
*Pending as of: 8/21/2020			Total Assess	ment:		\$71.20	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 188
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Brads Property Management Llc	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-31-0127
Po Box 16289	LOT 9 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55116-0289		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*946 RANDOLPH AVE		*** Owner and Taxpay	***			\$71.20	
*Ward: 2		When and Taxpay	yer				
*Pending as of: 8/21/2020			Total Assess	ment:		\$71.20	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$71.20	
			1			<u> </u>	
Jessie Kay Mezydlo Skrypek	BRYANT'S RANDOLPH ST. ADDITION LOT 16 BLK 1	Street Sweeping - Resi Alley Sweeping	denual Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-31-0134
Paul Skrypek		Citywide Street Lightin	nα	0.12	40.00	\$23.60	
927 Juno Ave		Citywide Street Eighth	ng	0.57	40.00		
St Paul MN 55102-3715		*** Owner and Taxpay	***			\$44.80	
*927 JUNO AVE		Owner and Taxpay					
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
<u> </u>		Street Sweeping - Resi	dontial Stree		40.00	<u>\$16.40</u>	
Jeremy Lynch	BRYANT'S RANDOLPH ST. ADDITION LOT 17 BLK 1	Alley Sweeping - Resi	denual Stree	0.41	40.00	\$16.40 \$4.80	11-28-23-31-0135
Jill Lynch		Citywide Street Lightin	nσ	0.12	40.00	\$23.60	
933 Juno Ave St Paul MN 55102-3715		Citywide Street Eightin	15	0.57	40.00		
*933 JUNO AVE		*** Owner and Taxpay	yer ***			\$44.80	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Robert C Winmill	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0139
951 Juno Ave	LOT 21 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3715		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*951 JUNO AVE						\$44.80	
Ward: 2		*** Owner and Taxpay	yer ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Donald G Martens Jr	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	
Julna P Martens	LOT 24 BLK 1	Alley Sweeping	dential Silec	0.12	40.00	\$4.80	11-28-23-31-0142
063 Juno Ave		Citywide Street Lightin	no	0.12	40.00	\$23.60	
t Paul MN 55102-3715		eng mae succe Eight		0.000		\$44.80	
963 JUNO AVE		*** Owner and Taxpay	ver ***			\$44.80	
Ward: 2						£44.00	
Pending as of: 8/21/2020			Total Assess			\$44.80	
5			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
ames E Pierce	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	<u> </u>
Rebecca Pierce	LOT 25 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
967 Juno Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3715					_	\$44.80	
*967 JUNO AVE		*** Owner and Taxpay	yer ***				
Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt·		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Adrian Quilling	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0144
James R Spaight	LOT 26 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
969 Juno Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3715						\$44.80	
*969 JUNO AVE		*** Owner and Taxpay	ver ***				
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree		40.00	<u> </u>	
973 Juno Ave	LOT 27 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-28-25-51-0145
St Paul MN 55102		Citywide Street Lightin	σ	0.59	40.00	\$23.60	
			-8			\$44.80	
*973 JUNO AVE *Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assess	ment		\$44.80	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	
			r ayon Amo	unt.		344.00	
Eric M Mondry	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41	80.00	\$32.80	11-28-23-31-0146
Melissa J Clark	LOT 28 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 01 0110
977 Juno Ave		Citywide Street Lightin	ıg	0.59	80.00	\$47.20	
St Paul MN 55102-3715						\$84.80	
*977 JUNO AVE		*** Owner and Taxpay	ver ***				
Ward: 2			Total Assess	ment:	-	\$84.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$84.80	

			Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 191
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	11-28-23-31-0148
Yia Yang	LOT 2 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
6783 Primrose Ct S		Citywide Street Lighting		0.59	40.00	\$23.60	
Cottage Grove MN 55016-1725						\$44.80	
*972 JUNO AVE		*** Owner and Taxpayer	***				
*Ward: 2		T	Fotal Assessm	ent:	•	\$44.80	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		0	Current Year I	Principal:		\$0.00	
		C	Current Year I	interest:		\$0.00	
		F	Payoff Amou	nt:		\$44.80	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	<u> </u>
956 Juno Ave	LOT 6 BLK 2	Alley Sweeping	indi Stree	0.12	40.00	\$4.80	11-28-23-31-0152
St Paul MN 55102-3716		Citywide Street Lighting		0.59	40.00	\$23.60	
*956 JUNO AVE		, , , , , , , , , , , , , , , , , , , ,				\$44.80	
*Ward: 2		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		Т	Fotal Assessm	ient:	-	\$44.80	
		Т	This Payment:			\$0.00	
		(Current Year I	Principal:		\$0.00	
		0	Current Year I	interest:		\$0.00	
		P	Payoff Amou	nt:		\$44.80	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Residen	ntial Stree	0.41	33.00	<u>\$13.53</u>	<u> </u>
927 Armstrong Ave	LOT 15 BLK 2	Alley Sweeping		0.12	33.00	\$3.96	11-20-23-31-0137
St Paul MN 55102-3709		Citywide Street Lighting		0.59	33.00	\$19.47	
*927 ARMSTRONG AVE						\$36.96	
*Ward: 2		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		- Т	Fotal Assessm	ient:	-	\$36.96	
		Т	This Payment:			\$0.00	
		0	Current Year I	Principal:		\$0.00	
		C	Current Year I	interest:		\$0.00	
		P	Payoff Amou	nt:		\$36.96	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Monica G Quinones	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41	36.00	\$14.76	11-28-23-31-0164
939 Armstrong Ave	EX ELY QUADRANGULAR PART	Alley Sweeping		0.12	36.00	\$4.32	
St Paul MN 55102-3709	MEASURING 30 INCHES ON S L AND 12 INCHES ON N L LOT 19 BLK 2	Citywide Street Lightin	ıg	0.59	36.00	\$21.24	
*939 ARMSTRONG AVE						\$40.32	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$40.32	
			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.32	
Noah M Namowicz	BRYANT'S RANDOLPH ST. ADDITION W 30FT OF LOT 23 & E 30FT OF LOT 24	Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60	11-28-23-31-0170
Megan Namowicz	BLK 2	Alley Sweeping		0.12	60.00	\$7.20	
957 Armstrong Ave		Citywide Street Lightin	ıg	0.59	60.00	\$35.40	
St Paul MN 55102-3709		*** 0 1 T				\$67.20	
*957 ARMSTRONG AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$67.20	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$67.20	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree		40.00	\$16.40	
Nathan Houge	LOT 26 BLK 2	Alley Sweeping	uciliai Suct	0.41	40.00	\$10.40	11-28-23-31-0172
Jodi Houge		Citywide Street Lightin	ıg	0.12	40.00	\$23.60	
971 Armstrong Ave St Paul MN 55102-3709		eng whee Suber Eightin	.	0.07		\$44.80	
*971 ARMSTRONG AVE		*** Owner and Taxpay	/er ***			\$44.80	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Gloria Everson	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0173
975 Armstrong Ave	LOT 27 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3709		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*975 ARMSTRONG AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
		Street Sweeping - Resid	dantial Strac		95.00	\$38.95	
Jeffrey Dockendorf	BRYANT'S RANDOLPH ST. ADDITION EX E 10 FT LOT 2 AND ALL OF LOT 1	Alley Sweeping	uentiai Stree	0.41	70.00	\$38.95	11-28-23-31-0175
Caitlyn Ruen	BLK 3	Citywide Street Lightin	σ	0.12	95.00	\$56.05	
552 Chatsworth St S St Paul MN 55102		eny white Street Eightin	5	0.57		\$103.40	
*552 CHATSWORTH ST S		*** Owner and Taxpay	ver ***			\$103.40	
*Ward: 2			Total Assess	ment:		\$103.40	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$103.40	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0181
8268 Granada Ave S	LOT 8 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
Cottage Grove MN 55016-2629		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*950 ARMSTRONG AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	ver ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Christopher Ferguson	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0185
Courtney Ferguson	LOT 12 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
934 Armstrong Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3710						\$44.80	
*934 ARMSTRONG AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	
Kari Ann Marquart	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree			\$12.30	<u> </u>
927 Watson Ave	LOT 15 BLK 3	Alley Sweeping		0.12	30.00	\$3.60	11-28-23-31-0188
927 watson Ave St Paul MN 55102-3719		Citywide Street Lightin	19	0.59	30.00	\$17.70	
*927 WATSON AVE		, ,	e			\$33.60	
*Ward: 2		*** Owner and Taxpay	/er ***			\$55.00	
*Pending as of: 8/21/2020			Total Assess	ment:		\$33.60	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$33.60	
Mary C Zanmiller	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41		\$32.80	11-28-23-31-0193
951 Watson Ave	LOTS 20 & LOT 21 BLK 3	Alley Sweeping		0.12	80.00	\$9.60	
St Paul MN 55102-3719		Citywide Street Lightin	ıg	0.59	80.00	\$47.20	
*951 WATSON AVE						\$89.60	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$89.60	
			This Payment:			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$89.60	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Tyler Ashcraft	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	lential Stree	0.41	80.00	\$32.80	11-28-23-31-0200
Mary Margaret Verdeja	LOT 1 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
976 Watson Ave		Citywide Street Lighting	g	0.59	80.00	\$47.20	
St Paul MN 55102-3720						\$84.80	
*976 WATSON AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assess	ment:	-	\$84.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$84.80	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>	
942 Watson Ave	LOT 10 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-51-0207
St Paul MN 55102-3720		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*942 WATSON AVE			0		_	\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***			ψ-1.00	
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Lehen W. Tarakan Lii		Street Sweeping - Resid	lential Stree			<u> </u>	
John W Taylor Iii	BRYANT'S RANDOLPH ST. ADDITION LOT 15 BLK 4	Alley Sweeping - Resid	iential Stree	0.41	29.00	\$11.89	11-28-23-31-0214
Barbara K Taylor		Citywide Street Lighting	σ	0.12	29.00	\$17.11	
3625 47th St E Minneepolie MN 55406-2866		City while Subor Eighting	5	0.57			
Minneapolis MN 55406-3866 *927 TUSCARORA AVE		*** Owner and Taxpaye	er ***			\$32.48	
*Ward: 2			Total Assess	ment:		\$32.48	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year			\$0.00	
			Payoff Amo			\$32.48	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	<u>Property Description</u>	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
James E Mcginnity	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-31-0215
Karen M Mcginnity	LOT 16 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
931 Tuscarora Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3721						\$44.80	
*931 TUSCARORA AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	lential Stree			<u>\$16.40</u>	
937 Tuscarora Ave	LOT 18 BLK 4	Alley Sweeping	iendur Stree	0.12	40.00	\$4.80	11-20-23-31-021/
St Paul MN 55102-3721		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*937 TUSCARORA AVE			0		—	\$44.80	
*Ward: 2		*** Owner and Taxpayo	er ***			ψ 11.00	
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	lential Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
941 Tuscarora Ave	LOT 19 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3721		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*941 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpayo	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Robyn Mcgrade	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-31-0224
965 Tuscarora Ave	LOT 26 BLK 4	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3721		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*965 TUSCARORA AVE *Ward: 2		*** Owner and Taxpay	ver ***			\$44.80	
Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resid			50.00	\$20.50	
967 Armstrong Ave	EX E 30 FT; LOT 24 & ALL OF LOT 25	Alley Sweeping		0.12	50.00	\$6.00	11-28-23-31-0229
St Paul MN 55102-3709	BLK 2	Citywide Street Lightin	g	0.59	50.00	\$29.50	
967 ARMSTRONG AVE		5 6	0			\$56.00	
Ward: 2		*** Owner and Taxpay	ver ***			\$50.00	
Pending as of: 8/21/2020			Total Assessr	nent:		\$56.00	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$56.00	
	WATSON'S ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree			\$32.80	
1149 Norma Ave	MINNESOTA LOT 18 & LOT 19 BLK 2	Alley Sweeping		0.12	80.00	\$9.60	
Arden Hills MN 55112-1984		Citywide Street Lightin	ıg	0.59	80.00	\$47.20	
905 ARMSTRONG AVE						\$89.60	
Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$89.60	
			This Payment	t:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$89.60	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Enda T Moore	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resi	idential Stree	0.41		\$41.00	11-28-23-31-0231
Mollie Moore	E 1/2 OF LOT 27 & ALL OF LOT 26 &	Alley Sweeping		0.12	100.00	\$12.00	
973 Watson Ave	ALL OF LOT 25 BLK 3	Citywide Street Lighti	ng	0.59	100.00	\$59.00	
St Paul MN 55102-3719		*** Owner and Taxpa	Vor ***			\$112.00	
*973 WATSON AVE *Ward: 2		Owner and Taxpa					
*Pending as of: 8/21/2020			Total Assessr			\$112.00	
1 chung as of. 6/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$112.00	
Victoria Koistinen	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Con	nmercial/Art				11-28-23-31-0232
956 Randolph Ave	LOTS 6 & LOT 7 BLK 1	Alley Sweeping		0.12	80.00	\$9.60	11-20-25-51-0252
St Paul MN 55102-3315		Citywide Street Lighti	ng	0.59	80.00	\$47.20	
*956 RANDOLPH AVE			-			\$142.40	
*Ward: 2		*** Owner and Taxpa	yer ***			φ1 -12. -τ0	
*Pending as of: 8/21/2020			Total Assessr	ment:		\$142.40	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$142.40	
	BRYANT'S RANDOLPH ST. ADDITION	Street Sweeping - Resi	idential Stree			\$16.40	
Richard H Easton	LOT 20 BLK 2	Alley Sweeping - Kesi	iuciiuai Střet	0.41	40.00	\$16.40 \$4.80	11-28-23-31-0237
947 Armstrong Ave		Citywide Street Lighti	nø	0.12	40.00	\$23.60	
St Paul MN 55102-3709		Sity white Subort Light		0.57	-0.00		
*947 ARMSTRONG AVE *Ward: 2		*** Owner and Taxpa	yer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessr	ment:	-	\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 199
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
James T Simonson	WATSON'S 2ND ADDITON TO THE	Street Sweeping - Com	mercial/Art	1.07	65.00	\$69.55	11-28-23-32-0002
4015 65th St E	CITY OF ST. PAUL, RAMSEY CO., MINN. EX E 10 FT LOT 2 AND ALL OF	Alley Sweeping		0.12	65.00	\$7.80	
Inver Grove Heights MN 55076-1773	LOTS 3 AND LOT 4 BLK 1	Citywide Street Lightin	ıg	0.59	65.00	\$38.35	
*988 RANDOLPH AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$115.70	
*Ward: 2 *Pending as of: 8/21/2020		o wher the Tunpuy				\$115.70	
8			Total Assess			\$115.70	
			This Payment			\$0.00 \$0.00	
			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amou			\$0.00 \$115.70	
Cory Quinlan 988 Armstrong Ave St Paul MN 55102-3741 *988 ARMSTRONG AVE *Ward: 2 *Pending as of: 8/21/2020	WATSON'S 2ND ADDITON TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 3 BLK 3	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin *** Owner and Taxpay	ıg	t: Principal: Interest:	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60 \$44.80 \$44.80 \$0.00 \$0.00 \$0.00 \$44.80	
John Horsch Danielle Ingram 983 Watson Ave St David MM 55102 2747	WATSON'S 2ND ADDITON TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. E 17 FT OF LOT 7 AND ALL OF LOT 8 BLK 3	Street Sweeping - Resid Alley Sweeping Citywide Street Lightir		0.41 0.12 0.59	91.00 62.00 91.00	\$37.31 \$7.44 \$53.69	11-28-23-32-0018
St Paul MN 55102-3747 *983 WATSON AVE		*** Owner and Taxpay	/er ***			\$98.44	
*Ward: 2			Total Assessr	ment:	<u>.</u>	\$98.44	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$98.44	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Ronald J Drexl	BUCKHOUTS REARRANGEMENT OF	Street Sweeping - Con	nmercial/Art	1.07	43.00	\$46.01	11-28-23-32-0020
Kimberly Marie Drexl	MOORE'S ADDITION TO THE CITY OF	Alley Sweeping		0.12	36.50	\$4.38	
505 180th Ave	ST. PAUL E 19 FT OF LOT 2 AND SUBJ TO ALLEY OVER S 30 FT LOT 1 BLK	Citywide Street Lightin	ng	0.59	43.00	\$25.37	
Somerset WI 54025-7202	1					\$75.76	
*998 RANDOLPH AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$75.76	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$75.76	
High Bridge Properties Llc	BUCKHOUTS REARRANGEMENT OF	Street Sweeping - Con	mercial/Art		43.00	\$46.01	
C/O Patrick Campbell	MOORE'S ADDITION TO THE CITY OF	Alley Sweeping		0.12	43.00	\$5.16	11-20-23-32-0022
1043 Grand Ave Ste 144	ST. PAUL EX E 13 FT LOT 4 ALL OF	Citywide Street Lightin	ng	0.59	43.00	\$25.37	
St Paul MN 55105-3002	LOT 5 AND E 6 FT OF LOT 6 BLK 1		•			\$76.54	
*1006 RANDOLPH AVE		*** Owner and Taxpa	yer ***			\$70.54	
*Ward: 2			Total Assess	ment:	-	\$76.54	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$76.54	
Matthew A Omile	BUCKHOUTS REARRANGEMENT OF	Street Sweeping - Resi	idential Stree		49.00	\$20.09	
Margaret E Omile	MOORE'S ADDITION TO THE CITY OF	Alley Sweeping		0.12	49.00	\$5.88	11-20-23-32-0029
1000 Juno Ave	ST. PAUL LOTS 1 AND LOT 2 BLK 2	Citywide Street Lightin	ng	0.59	49.00	\$28.91	
St Paul MN 55102-3745			-			\$54.88	
*1000 JUNO AVE		*** Owner and Taxpa	yer ***			<i>\$</i> 51100	
*Ward: 2			Total Assess	ment:		\$54.88	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$54.88	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Biniyme G Wolde	BUCKHOUTS REARRANGEMENT OF	Street Sweeping - Res	idential Stree	0.41	66.00	\$27.06	11-28-23-32-0040
1014 Armstrong Ave	MOORE'S ADDITION TO THE CITY OF ST. PAUL LOT 1 BLK 3 COLES RE OF	Alley Sweeping		0.12	66.00	\$7.92	
St Paul MN 55102-3741	BLK 1 AND 2 AND SUB AND ENLGMT	Citywide Street Lighti	ing	0.59	66.00	\$38.94	
*1014 ARMSTRONG AVE *Ward: 2	OF BLK 3 OF HIS RANDOLPH AND PLEASANT AVE ADD AND IN SD	*** Owner and Taxpa	yer ***			\$73.92	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$73.92	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$73.92	
Kenneth D Schmugge	BUCKHOUTS REARRANGEMENT OF	Street Sweeping - Res	idential Stree	0.41	50.00	\$20.50	
1009 Watson Ave	MOORE'S ADDITION TO THE CITY OF	Alley Sweeping		0.12	50.00	\$6.00	11-20-23-32-0042
St Paul MN 55102-3747	ST. PAUL LOTS 11 AND LOT 12 BLK 3	Citywide Street Lighti	ing	0.59	50.00	\$29.50	
*1009 WATSON AVE	3					\$56.00	
*Ward: 2		*** Owner and Taxpa	iyer ***			<i>\$20100</i>	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$56.00	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$56.00	
	HARDINGS ENLARGEMENT AND	Street Sweeping - Res	idential Stree		42.00	<u>\$17.22</u>	
1306 Pleasant Ave	SUBDIVISION OF BLOCK 1 OF GAGE'S	Alley Sweeping		0.12	42.00	\$5.04	11-20-25-52-0040
St Paul MN 55102-3746	SUBDIVISION OF BLOCK 1, GAGE AND WHITNEYS ADD LOT 2 BLK 1	Citywide Street Light	ing	0.59	42.00	\$24.78	
*1306 PLEASANT AVE	AND WITHETSTIDD FOT 2 DEK T					\$47.04	
*Ward: 2		*** Owner and Taxpa	iyer ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$47.04	
			This Payment	:		\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$47.04	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Anthony T Aretz	HARDINGS ENLARGEMENT AND	Street Sweeping - Resid	dential Stree	0.41	43.00	\$17.63	11-28-23-32-0047
1457 Alaska Ave	SUBDIVISION OF BLOCK 1 OF GAGE'S SUBDIVISION OF BLOCK 1, GAGE	Alley Sweeping		0.12	81.50	\$9.78	
St Paul MN 55116-2341	AND WHITNEYS ADD LOT 3 BLK 1	Citywide Street Lightin	ng	0.59	43.00	\$25.37	
*1035 WATSON AVE						\$52.78	
*Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$52.78	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$52.78	
	COLE'S RANDLOPH STREET AND	Street Sweeping - Com	mercial/Art			\$53.50	
Pauline Caldwell	PLEASANT AVENUE ADDITION TO	Alley Sweeping		0.12	50.00	\$6.00	11-20-23-32-0032
1018 Randolph Ave	ST. PAUL LOTS 1 AND LOT 2 BLK 1	Citywide Street Lightin	ıg	0.59	50.00	\$29.50	
St Paul MN 55102-3348						\$89.00	
*1018 RANDOLPH AVE		*** Owner and Taxpay	/er ***			\$65.00	
*Ward: 2			Total Assess	ment:	•	\$89.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$89.00	
	COLE'S RANDLOPH STREET AND	Street Sweeping - Com	mercial/Art	1.07		\$53.50	
Shelley Spitzer	PLEASANT AVENUE ADDITION TO	Alley Sweeping		0.12	50.00	\$6.00	11-20-20-02-0000
024 Randolph Ave	ST. PAUL LOTS 3 & LOT 4 BLK 1	Citywide Street Lightin	ıg	0.59	50.00	\$29.50	
St Paul MN 55102-3348						\$89.00	
*1024 RANDOLPH AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$89.00	
*Pending as of: 8/21/2020			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$89.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Michael W Lindval	COLE'S RANDLOPH STREET AND	Street Sweeping - Com	mercial/Art	1.07	50.00	\$53.50	11-28-23-32-0054
Caroline L Lindval	PLEASANT AVENUE ADDITION TO ST. PAUL WITH NO ACCESS TO HWY	Alley Sweeping		0.12	50.00	\$6.00	
1028 Randolph Ave	THE FOL LOTS 5 AND LOT 6 BLK 1	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
St Paul MN 55102-3348						\$89.00	
*1028 RANDOLPH AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$89.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$89.00	
Tyler E Jensen	COLES REARRANGEMENT OF BLK 1	Street Sweeping - Resid	dential Stree		52.00	\$21.32	
1018 Juno Ave	AND BLK 2 AND 3 EX E 14 FT LOT 8	Alley Sweeping		0.12	52.00	\$6.24	11-20-23-32-0002
St Paul MN 55102-3745	BLK 2 BUCHOUTS REARRANGEMENT OF MOORES ADD AND IN SD COLES	Citywide Street Lightin	ıg	0.59	52.00	\$30.68	
*1018 JUNO AVE	RE LOT 1 BLK 2		•			\$58.24	
*Ward: 2		*** Owner and Taxpay	/er ***			<i>\$2012</i>	
*Pending as of: 8/21/2020			Total Assess	ment:		\$58.24	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$58.24	
State Of Mn Trust Exempt	COLES REARRANGEMENT OF BLK 1	Street Sweeping - Resid	dential Stree			<u>\$0.41</u>	
Ramsey Co Tax Forf Land	AND BLK 2 AND 3 WITH NO ACCESS	Alley Sweeping		0.12	1.00	\$0.12	***EXEMPT***
Po Box 64097	THE E 1 FT OF FOL EX N 10 FT THE W 45 FT OF LOTS 9 10 AND LOT 11 BLK	Citywide Street Lightin	ıg	0.59	1.00	\$0.59	LALWIF I
St Paul MN 55164-0097	2					\$1.12	
*1051 ARMSTRONG AVE		*** Owner and Taxpay	/er ***			\$1112	
*Ward: 2			Total Assess	ment:	-	\$1.12	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$1.12	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Bernard R Moe Jr	COLES REARRANGEMENT OF BLK 1	Street Sweeping - Res	idential Stree	0.41	84.00	\$34.44	11-28-23-32-0072
Sheila Moe	AND BLK 2 AND 3 LOTS 14 & LOT 15	Alley Sweeping		0.12	84.00	\$10.08	
1029 Armstrong Ave	BLK 2	Citywide Street Lighti	ng	0.59	84.00	\$49.56	
St Paul MN 55102-3740						\$94.08	
*1029 ARMSTRONG AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessm	nent:		\$94.08	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$94.08	
Poppy Theresa Gorgos	COLES REARRANGEMENT OF BLK 1	Street Sweeping - Res	idential Stree		42.00	\$17.22	11-28-23-32-0075
1028 Armstrong Ave	AND BLK 2 AND 3 LOT 3 BLK 3	Alley Sweeping		0.12	42.00	\$5.04	11-20-23-32-00/5
St Paul MN 55102-3741		Citywide Street Lighti	ng	0.59	42.00	\$24.78	
*1028 ARMSTRONG AVE		, ,	C		_	\$47.04	
*Ward: 2		*** Owner and Taxpa	yer ***			\$47.04	
*Pending as of: 8/21/2020			Total Assessn	nent:	2	\$47.04	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$47.04	
1296 Pleasant Avenue Llc	COLES REARRANGEMENT OF BLK 1	Street Sweeping - Res	idential Stree	0.41	294.00	\$120.54	11-28-23-32-0078
11825 Knolls Path W	AND BLK 2 AND 3 SUBJ TO HWY & VAC ALLEY ACCRUING, LOTS 6	Alley Sweeping		0.12	67.00	\$8.04	
Lakeville MN 55044-9314	THRULOT 9 BLK 3	Citywide Street Lighti	ng	0.59	294.00	\$173.46	
*1296 PLEASANT AVE						\$302.04	
*Ward: 2		*** Owner and Taxpa	yer ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$302.04	
			This Payment:			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$302.04	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 2	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
— — — — — — — — — — — — — — — — — — —	HOWARD GREENE SECOND	Street Sweeping - Reside		0.41	45.00	\$18.45	11-28-23-32-0086	
Laurie J Watson	ADDITION SUBJ TO HWY; LOTS 5 & LOT 6 BLK 2	Citywide Street Lighting	g	0.59	45.00	\$26.55		
1086 Juno Ave						\$45.00		
St Paul MN 55116-1739		*** Owner and Taxpaye	er ***					
*1086 JUNO AVE			Total Assess	nent:		\$45.00		
*Ward: 3			This Paymen	t:		\$0.00		
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$45.00		
	LEXINGTON PARK PLAT 4 SUBJ TO	Street Sweeping - Comn	nercial/Art	1.07		<u> </u>	11-28-23-32-0091	
1645 Dayton Ave	HWY LOT 2 BLK 1	Citywide Street Lighting	5	0.59	60.00	\$35.40		
St Paul MN 55104-6214						\$99.60		
*536 LEXINGTON PKWY S		*** Owner and Taxpaye	er ***					
*Ward: 3			Total Assess	nent:		\$99.60		
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$99.60		
	LEXINGTON PARK PLAT 4 SUBJ TO	Street Sweeping - Comm	nercial/Art			<u> </u>	<u> </u>	
546 Lexington Pky S	HWY LOT 3 BLK 1	Citywide Street Lighting		0.59	60.00	\$35.40	11 20 20 02 00/2	
St Paul MN 55116-1755						\$99.60		
*546 LEXINGTON PKWY S		*** Owner and Taxpaye	er ***			·		
*Ward: 3			Total Assess	nent:		\$99.60		
*Pending as of: 8/21/2020			This Paymen			\$0.00		
			Current Year			\$0.00		
			Current Year	1		\$0.00		
			Payoff Amou	int:		\$99.60		

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 206
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jon R Wiersma	LEXINGTON PARK PLAT 4 SUBJ TO	Street Sweeping - Com		1.07	59.00	\$63.13	11-28-23-32-0099
Julie E Wiersma	HWY; LOT 25 BLK 2	Citywide Street Lightin	ıg	0.59	59.00	\$34.81	
590 Lexington Pky S						\$97.94	
St Paul MN 55116-1775		*** Owner and Taxpay	/er ***				
*590 LEXINGTON PKWY S *Ward: 3			Total Assess	ment:		\$97.94	
* ward: 3 *Pending as of: 8/21/2020			This Paymer			\$0.00	
rending as of. 8/21/2020			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$97.94	
	COLE'S RANDLOPH STREET AND	Street Sweeping - Com	mercial/Art	1.07		\$53.50	11-28-23-32-0104
1038 Randolph Ave	PLEASANT AVENUE ADDITION TO ST. PAUL SUBJ TO HWY; LOTS 7 THRU	Alley Sweeping		0.12	75.00	\$9.00	
St Paul MN 55102-3348	LOT 9 BLK 1	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
*1038 RANDOLPH AVE						\$92.00	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$92.00	
			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$92.00	
Enrique Centeno	NOHA'S ADDITION E 3 FT OF LOT 5	Street Sweeping - Resid	dential Stree	0.41		\$22.96	11-28-23-33-0004
Maria Elena Centeno	AND ALL OF LOT 4 BLK 1	Citywide Street Lightin	ng	0.59	56.00	\$33.04	
996 Tuscarora Ave						\$56.00	
St Paul MN 55102-3723		*** Owner and Taxpay	/er ***				
*996 TUSCARORA AVE			Total Assess	ment:		\$56.00	
*Ward: 2			This Paymer	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$56.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	NOHA'S ADDITION LOT 8 BLK 1	Street Sweeping - Res	sidential Stree	0.41	53.00	\$21.73	11-28-23-33-0008
Hannah Guffy		Citywide Street Light	ing	0.59	53.00	\$31.27	
1022 Tuscarora Ave						\$53.00	
St Paul MN 55102-3723		*** Owner and Taxpa	iyer ***				
*1022 TUSCARORA AVE			Total Assess	ment:		\$53.00	
*Ward: 2			This Paymer	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$53.00	
	NOHA'S ADDITION LOT 10 BLK 1	Street Sweeping - Res	idential Stree			\$22.14	<u> </u>
1034 Tuscarora Ave		Citywide Street Light		0.59	54.00	\$31.86	11-20-25-55-0010
St Paul MN 55102-3723						\$54.00	
*1034 TUSCARORA AVE		*** Owner and Taxpa	ayer ***			·	
*Ward: 2			Total Assess	ment:		\$54.00	
*Pending as of: 8/21/2020			This Paymer	it:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$54.00	
Krista Renee Krejce	NOHA'S ADDITION LOT 11 BLK 1	Street Sweeping - Res	idential Stree			<u>\$24.19</u>	
1043 Bayard Ave		Citywide Street Light		0.59	59.00	\$34.81	11-20-25-55-0011
St Paul MN 55102-4005						\$59.00	
*1043 BAYARD AVE		*** Owner and Taxpa	iyer ***			•	
*Ward: 2			Total Assess	ment	-	\$59.00	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$59.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	NOHA'S ADDITION LOT 13 BLK 1	Street Sweeping - Resi	dential Stree	0.41	56.00	\$22.96	11-28-23-33-0013
Jennifer Kipka		Citywide Street Lightin	ng	0.59	56.00	\$33.04	
1031 Bayard Ave						\$56.00	
St Paul MN 55102-4005		*** Owner and Taxpay	yer ***				
1031 BAYARD AVE			Total Assess	ment:	-	\$56.00	
Ward: 2			This Paymen	ıt:		\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$56.00	
	NOHA'S ADDITION LOT 14 BLK 1	Street Sweeping - Resi	dential Stree			<u>\$22.96</u>	
Patricia A Kaldun		Citywide Street Lightin		0.59	56.00	\$33.04	11-20-23-33-0014
025 Bayard Ave			-			\$56.00	
t Paul MN 55102-4005		*** Owner and Taxpay	yer ***			40000	
1025 BAYARD AVE			Total Assess	mont:	_	\$56.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$56.00	
	NOHA'S ADDITION LOT 15 BLK 1	 Street Sweeping - Resi				<u> </u>	
ames F Gallagher	Nonite Apparticit Eor 19 bek 1	Citywide Street Lightin		0.41 0.59	56.00	\$22.96 \$33.04	11-28-23-33-0015
va A Gallagher 019 Bayard Ave			0	0.07			
t Paul MN 55102-4005		*** Owner and Taxpay	ver ***			\$56.00	
1019 BAYARD AVE						<u> </u>	
Ward: 2			Total Assess			\$56.00	
Pending as of: 8/21/2020			This Paymen			\$0.00 \$0.00	
-			Current Year Current Year	-		\$0.00 \$0.00	
			Payoff Amo			\$0.00 \$56.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michael R Paulsen	NOHA'S ADDITION LOT 17 BLK 1	Street Sweeping - Resi	idential Stree	0.41	56.00	\$22.96	11-28-23-33-0017
Rose M Paulsen		Citywide Street Lighti	ng	0.59	56.00	\$33.04	
1007 Bayard Ave						\$56.00	
St Paul MN 55102-4005		*** Owner and Taxpa	yer ***				
*1007 BAYARD AVE			Total Assess	sment:		\$56.00	
*Ward: 2			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	ount:		\$56.00	
	LEXINGTON PARK PLAT 4 SUBJ TO	Street Sweeping - Con	nmercial/Art			<u>\$63.13</u>	<u> </u>
Michael L Neira	HWY; LOT 22 BLK 2	Citywide Street Lighti		0.59	59.00	\$34.81	11 20 20 00 0022
510 Lexington Pky S						\$97.94	
St Paul MN 55116-1771		*** Owner and Taxpa	yer ***				
*610 LEXINGTON PKWY S			Total Assess	ment:		\$97.94	
*Ward: 3			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	ount:		\$97.94	
	WATSON'S 2ND ADDITON TO THE	Street Sweeping - Resi	idential Stree			\$34.86	
980 Tuscarora Ave	CITY OF ST. PAUL, RAMSEY CO.,	Citywide Street Lighti		0.59	85.00	\$50.16	11-20-25-55-0025
St Paul MN 55102-3723	MINN. LOT 1 BLK 5				—	\$85.02	
*980 TUSCARORA AVE		*** Owner and Taxpa	yer ***			<i>400.02</i>	
*Ward: 2			Total Assess	ment:		\$85.02	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$85.02	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP A Resolution #:		Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Ionathan R Drankwalter		Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60	<u> </u>
986 Bayard Ave	MINNESOTA E 20 FT OF LOT 3 AND	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55102-4006	ALL OF LOT 2 BLK 1	Citywide Street Lightin	ıg	0.59	60.00	\$35.40	
*986 BAYARD AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$67.20	
Pending as of: 8/21/2020			Total Assessn	nent:		\$67.20	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$67.20	
Charlotte M Ritter	NELSON PARK, ST. PAUL,	Street Sweeping - Resid	dential Stree			\$24.60	
998 Bayard Ave	MINNESOTA E 1/2 OF LOT 6 AND ALL	Alley Sweeping	dential Stree	0.12	60.00	\$7.20	11-28-23-33-0032
578 Bayard Ave	OF LOT 5 BLK 1	Citywide Street Lightin	la	0.59	60.00	\$35.40	
998 BAYARD AVE			-8			\$67.20	
Ward: 2		*** Owner and Taxpay	ver ***			\$07.20	
Pending as of: 8/21/2020			Total Assessn	nent:	•	\$67.20	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$67.20	
Kimberly M Dolan	NELSON PARK, ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41		\$28.70	<u> </u>
006 Bayard Ave	MINNESOTA W 1/2 OF LOT 6 E 10 FT	Alley Sweeping		0.12	70.00	\$8.40	11-20-20-00-0000
St Paul MN 55102-4006	OF LOT 8 AND ALL OF LOT 7 BLK 1	Citywide Street Lightin	ng	0.59	70.00	\$41.30	
1006 BAYARD AVE						\$78.40	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assessn	nent:		\$78.40	
			This Payment			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$78.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Suzanne M Scheuerlein	NELSON PARK, ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	70.00	\$28.70	11-28-23-33-0039
14440 Lower Guthrie Ct	MINNESOTA EX W 10 FT LOT 13 AND	Alley Sweeping		0.12	70.00	\$8.40	
Apple Valley MN 55124-6744	ALL OF LOT 14 BLK 1	Citywide Street Lightin	ng	0.59	70.00	\$41.30	
*1017 SCHEFFER AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$78.40	
*Pending as of: 8/21/2020		o mier and ranpay	Total Assessn	mont:	e	\$78.40	
ç						\$78.40	
			This Payment Current Year			\$0.00	
			Current Year Current Year	-		\$0.00	
			Payoff Amou			\$78.40	
Nicholas Charles Ritter	NELSON PARK, ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-33-0043
999 Scheffer Ave	MINNESOTA LOT 18 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4015		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*999 SCHEFFER AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***		-		
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Kathleen A Mountain	NELSON PARK, ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41		<u>\$16.40</u>	
989 Scheffer Ave	MINNESOTA LOT 20 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-26-25-55-0045
St Paul MN 55102-4015		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*989 SCHEFFER AVE			0		_	\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***			ψ11.00	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 21
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Jordan K Flattum Molly Flattum 1029 Scheffer Ave	NELSON PARK, ST. PAUL, MINNESOTA W 10 FT OF LOT 18 AND ALL OF LOT 17 BLK 2	Street Sweeping - Resic Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	50.00 50.00 50.00	\$20.50 \$6.00 \$29.50	<u> </u>
St Paul MN 55102-4015 *1029 SCHEFFER AVE		*** Owner and Taxpay	ver ***			\$56.00	
*Ward: 2 *Pending as of: 8/21/2020			Total Assess This Paymen Current Year Current Year Payoff Amo	t: Principal: Interest:		\$56.00 \$0.00 \$0.00 \$56.00	
Karissa Meyers 642 Lexington Pkwy S St Paul MN 55116-1771 *642 LEXINGTON PKWY S	NELSON PARK, ST. PAUL, MINNESOTA LOTS 11 AND LOT 12 BLK 3	Street Sweeping - Com Citywide Street Lightin *** Owner and Taxpay	ıg	1.07 0.59	80.00 80.00	\$85.60 \$47.20 \$132.80	<u> </u>
*Ward: 3 *Pending as of: 8/21/2020			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$132.80 \$0.00 \$0.00 \$0.00 \$132.80	
Valerie E Card 911 Park Knoll Dr St Paul MN 55123-1915	NELSON PARK, ST. PAUL, MINNESOTA LOTS 13 AND LOT 14 BLK 3	Street Sweeping - Com Citywide Street Lightin		<u> </u>	80.00 80.00	\$85.60 \$47.20	
*636 LEXINGTON PKWY S		*** Owner and Taxpay	ver ***			\$132.80	
*Ward: 3 *Pending as of: 8/21/2020			Total Assess This Paymen Current Year Current Year Payoff Amo	t: Principal: Interest:		\$132.80 \$0.00 \$0.00 \$0.00 \$132.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 21
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Christopher D Osborn Molly T Ohearn 980 Scheffer Ave	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA LOT 1 BLK 1	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	82.50 40.00 82.50	\$33.83 \$4.80 \$48.68	11-28-23-33-0065
St Paul MN 55102-4016 *980 SCHEFFER AVE		*** Owner and Taxpay	/er ***			\$87.31	
*Ward: 2 *Pending as of: 8/21/2020			Total Assess		-	\$87.31	
rending as of. 8/21/2020			This Paymer Current Year	Principal:		\$0.00 \$0.00	
			Current Year Payoff Amo			\$0.00 \$87.31	
Scott H Colgan	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Resid	dential Stree			<u>\$24.60</u>	
Karlene M Niva-Colgan 988 Scheffer Ave	COUNTY, MINNESOTA E 1/2 OF LOT 4 AND ALL OF LOT 3 BLK 1	Alley Sweeping Citywide Street Lightin	າຍ	0.12 0.59	60.00 60.00	\$7.20 \$35.40	
St Paul MN 55102-4016		*** Owner and Taxpay	-			\$67.20	
*988 SCHEFFER AVE *Ward: 2		Owner and Taxpay					
*Pending as of: 8/21/2020			Total Assess This Paymer			\$33.60 \$0.00	
			Current Year Current Year	1		\$0.00 \$0.00	
			Payoff Amo	unt:		\$33.60	
	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
Keith K Dionela 1000 Scheffer Ave	COUNTY, MINNESOTA LOT 6 BLK 1	Alley Sweeping Citywide Street Lightin	ıg	0.12 0.59	40.00 40.00	\$4.80 \$23.60	
St Paul MN 55102-4016 *1000 SCHEFFER AVE		*** Owner and Taxpay	/er ***		_	\$44.80	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymer	ıt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00 \$44 80	
			Payoff Amo			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 214
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Paul R Deveau 1022 Scheffer Ave St Paul MN 55102-4016	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA SUBJ TO ESMT THE E 20 FT OF W 1/2 AND E 1/2 OF VAC ROGERS ST ADJ LOT 11 BLK 1	Street Sweeping - Resid Alley Sweeping Citywide Street Lightin		0.41 0.12 0.59	50.00 35.00 50.00	\$20.50 \$4.20 \$29.50	11-28-23-33-0074
*1022 SCHEFFER AVE *Ward: 2		*** Owner and Taxpay	yer ***			\$54.20	
*Pending as of: 8/21/2020			Total Assessm	ent:		\$54.20	
			This Payment:			\$0.00	
			Current Year F Current Year I	1		\$0.00 \$0.00	
			Payoff Amour			\$54.20	
Sheri K Steiner	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA E 30 FT OF	Street Sweeping - Resid Alley Sweeping	dential Stree	0.41 0.12	70.00 70.00	\$28.70 \$8.40	11-28-23-33-0077
1009 Eleanor Ave St Paul MN 55102-4023	LOT 15 AND ALL OF LOT 16 BLK 1	Citywide Street Lightin	ng	0.12	70.00	\$41.30	
*1009 ELEANOR AVE		, ,	0			\$78.40	
*Ward: 2		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assessm			\$78.40	
			This Payment: Current Year F			\$0.00 \$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour	nt:		\$78.40	
Stephanie N Moran 1024 Scheffer Ave	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA VAC W 20 FT	Street Sweeping - Resid Alley Sweeping	dential Stree	0.41 0.12	50.00 5.00	\$20.50 \$0.60	11-28-23-33-0083
St Paul MN 55102-4016	OF ROGERS ST ADJ AND N 1/2 OF VAC ALLEY ADJ LOT 1 AND EX E 20 FT	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
*1024 SCHEFFER AVE *Ward: 2	THE W 1/2 OF VAC ROGERS ST ADJ AND SD LOT 1 BLK 2	*** Owner and Taxpay	ver ***			\$50.60	
*Pending as of: 8/21/2020		- 1 - 7	Total Assessm	ent:		\$50.60	
			This Payment:			\$0.00	
			Current Year F			\$0.00	
			Current Year I			\$0.00	
			Payoff Amour	nt:		\$50.60	

10:54:40 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Benjamin D Lentsch 1032 Scheffer Ave	LEXINGTON PARK PLAT 11, RAMSEY COUNTY, MINNESOTA N 1/2 VAC ALLEY ADJ AND E 1/2 OF LOT 4 AND	Street Sweeping - Residen Citywide Street Lighting	ntial Stree	0.41 0.59	60.00	\$24.60 \$35.40	11-28-23-33-0085
St Paul MN 55102-4016	ALL OF LOT 3 BLK 2					\$60.00	
*1032 SCHEFFER AVE		*** Owner and Taxpayer	***				
*Ward: 2		Т	Total Assessme	ent:		\$60.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	1		\$0.00	
			Current Year In			\$0.00	
		Р	Payoff Amoun	it:		\$60.00	
Joshua L Braaten	LEXINGTON PARK PLAT 11, RAMSEY	Street Sweeping - Residen	ntial Stree	0.41	110.50	\$45.31	
Emily L Braaten	COUNTY, MINNESOTA EX SELY 70 FT LOTS 13 14 AND LOT 15 BLK 2	Citywide Street Lighting		0.59	110.50	\$65.20	
1434 Pleasant Ave						\$110.51	
St Paul MN 55116-1729		*** Owner and Taxpayer	***				
*1434 PLEASANT AVE		Т	Total Assessme	ent:		\$110.51	
*Ward: 3		Т	This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	1		\$0.00	
			Current Year I			\$0.00	
		Р	Payoff Amoun	ıt:		\$110.51	
 Matthew G G Holm	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Residen	ntial Stree	0.41	102.50	\$42.03	11-28-23-33-0097
Jennifer L Holm	LOTS 1 AND LOT 2 BLK 1	Alley Sweeping		0.12	80.00	\$9.60	
980 Eleanor Ave		Citywide Street Lighting		0.59	102.50	\$60.48	
St Paul MN 55102-4024		*** 0 1 7				\$112.11	
*980 ELEANOR AVE		*** Owner and Taxpayer	***				
*Ward: 2			Total Assessme	ent:		\$112.11	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year I			\$0.00	
		Р	Payoff Amoun	nt:		\$112.11	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 21
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Randy Kopycinski	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-33-0099
William Bills	LOT 4 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
992 Eleanor Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-4024						\$44.80	
*992 ELEANOR AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Gerald J Lendway	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
996 Eleanor Ave	LOT 5 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-33-0100
St Paul MN 55102-4024		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*996 ELEANOR AVE			-0			\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amount:			\$44.80	
Daniel Venezia	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resid	dential Stree	0.41	82.50	\$33.83	11-28-23-33-0104
1021 Otto Ave	LOT 12 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4219		Citywide Street Lightin	ng	0.59	82.50	\$48.68	
*1021 OTTO AVE						\$87.31	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$87.31	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$87.31	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Randall D Siegel	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resi		0.41	80.00	\$32.80	11-28-23-33-0116
Beth A Siegel	LOTS 11 AND LOT 12 BLK 2	Citywide Street Lightin	ng	0.59	80.00	\$47.20	
1070 Eleanor Ave						\$80.00	
St Paul MN 55116-1737		*** Owner and Taxpay	yer ***				
*1070 ELEANOR AVE			Total Assess	nent:		\$80.00	
Ward: 3			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$80.00	
	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resi	dential Stree			<u> </u>	
1076 Eleanor Ave	E 56 65/100 FT OF LOTS 13 14 AND LOT 15 BLK 2	Citywide Street Lightin	ng	0.59	57.00	\$33.63	11 20 20 00 0110
5t Paul MN 55116-1737	LOT IS BEK 2					\$57.00	
1076 ELEANOR AVE		*** Owner and Taxpay	yer ***				
Ward: 3			Total Assess	nent:		\$57.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$57.00	
	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resi	dential Stree			<u>\$24.60</u>	<u> </u>
.065 Otto Ave	W 1/2 OF LOT 23 AND ALL OF LOT 22	Citywide Street Lightin		0.59	60.00	\$35.40	11-20-25-55-0120
t Paul MN 55116-2357	BLK 2					\$60.00	
1065 OTTO AVE		*** Owner and Taxpa	yer ***				
Ward: 3			Total Assess	nent:		\$60.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$60.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 218
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
State Of Mn Trust Exempt	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resid		0.41	1.00	\$0.41	11-28-23-33-0127
Ramsey Co Tax Forf Land	WITH NO ACCESS TO HWY THE W 1 FT OF E 1/2 OF LOT 23 BLK 2	Citywide Street Lighting	g	0.59	1.00	\$0.59	***EXEMPT***
Po Box 64097		*** 0 1 7	ste ste			\$1.00	
St Paul MN 55164-0097 *1059 OTTO AVE		*** Owner and Taxpaye	er ***				
*Ward: 3			Total Assess			\$1.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
1 chang as of. 6/21/2020			Current Year	-		\$0.00	
			Current Year Payoff Amo			\$0.00	
			гауоп Ашо	unt:		\$1.00	
Timothy James Lang	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resid		0.41	102.50	\$42.03	11-28-23-33-0129
1029 Otto Ave	LOTS 31 AND LOT 32 BLK 2	Citywide Street Lighting	g	0.59	102.50	\$60.48	
St Paul MN 55102-4228						\$102.51	
*1029 OTTO AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assess	ment:		\$102.51	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$102.51	
Eric J Mattson	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Com		1.07	99.00	\$105.93	<u> </u>
Julia M Mattson	ELEANOR AVE VAC ADJ AND FOL S 25 FT OF BLK 3 LEXINGTON PARK	Street Sweeping - Resid		0.41	111.50	\$45.72	
686 Lexington Pkwy S	PLAT 11 RAMSEY CO MINN AND IN	Citywide Street Lighting	g	0.59	210.50	\$124.20	
St Paul MN 55116-1756	SD WOODFORD PARK ALL OF BLK 3		de de de			\$275.85	
*686 LEXINGTON PKWY S		*** Owner and Taxpaye	er ***				
*Ward: 3			Total Assess	ment:		\$275.85	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$275.85	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		20SMSP #:	Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Dadders Estates Llc	GAGE AND WHITNEY'S ADDITION	Street Sweeping - Resid	lential Stree	0.41	85.00	\$34.86	11-28-23-33-0135
351 Kellogg Blvd E	TO ST. PAUL SUBJ TO HWY LOT 11 BLK 3	Citywide Street Lighting	g	0.59	85.00	\$50.16	
St Paul MN 55101-1411	DER 5					\$85.02	
*1368 PLEASANT AVE		*** Owner and Taxpay	er ***				
Ward: 2			Total Assess	ment:	-	\$85.02	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$85.02	
	NELSON PARK, ST. PAUL,	Alley Sweeping		0.12			<u> </u>
644 Brookside Ln	MINNESOTA SUBJ TO HWY; LOTS 1 &	· · · ·				\$9.60	11-20-25-55-0150
Mendota Heights MN 55118-2817	2 BLK 3	*** Owner and Taxpay	er ***			\$7.00	
*0 PLEASANT AVE			Total Assess	ment:		\$9.60	
*Ward: 3			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$9.60	
	GAGE AND WHITNEY'S ADDITION	Street Sweeping - Resid					<u> </u>
644 Brookside Ln	TO ST. PAUL SUBJ TO HWY; EX N 40	Citywide Street Lighting		0.59	95.00	\$56.05	11-28-23-33-0140
Mendota Heights MN 55118-2817	FT LOT 7 & ALL OF LOT 8 & ALL OF		0			\$95.00	
*1354 PLEASANT AVE	LOT 9 BLK 3	*** Owner and Taxpayo	er ***			\$95.00	
*Ward: 2			Total Assess	ment:		\$95.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$95.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
William J Gahr	WOODFORD PARK, ST. PAUL, MINN.	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-33-0144
Sandra L Meicher	LOT 7 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
1004 Eleanor Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-4024						\$44.80	
*1004 ELEANOR AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Christine R Mccleave	VAC ALLEY ADJ AND SELY 70 FT OF	Street Sweeping - Resid	lential Stree	0.41		<u>\$28.70</u>	11-28-23-33-0148
1073 Eleanor Ave	LOTS 13, 14 AND 15 BLK 2	Citywide Street Lightin		0.59	70.00	\$41.30	11 20 20 00 0110
St Paul MN 55116-1766						\$70.00	
*1073 ELEANOR AVE		*** Owner and Taxpay	er ***			\$1000	
*Ward: 3			Total Assess	ment:	-	\$70.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$70.00	
Tena May Gallivan	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree			<u>\$24.60</u>	<u> </u>
Stephen J Gallivan	ST. PAUL W 1/2 OF LOT 3 AND ALL	Alley Sweeping		0.12	60.00	\$7.20	11-20-23-34-0003
870 Tuscarora Ave	OF LOT 4 BLK 1	Citywide Street Lightin	g	0.59	60.00	\$35.40	
St Paul MN 55102-3706						\$67.20	
*870 TUSCARORA AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:	-	\$67.20	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$67.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Caitlin A Valentine Johnston	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-34-0005
882 Tuscarora Ave	ST. PAUL LOT 6 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3706		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*882 TUSCARORA AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessr	ment:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
22 Grotto St S	ST. PAUL LOT 9 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-34-0000
St Paul MN 55105-3315		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*894 TUSCARORA AVE			0		_	\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***			\$11.00	
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree			<u> </u>	11-28-23-34-0009
898 Tuscarora Ave	ST. PAUL LOT 10 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3706		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*898 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessr	ment:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2	
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Pamela J Woolson	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60	11-28-23-34-0010	
902 Tuscarora Ave	ST. PAUL E 1/2 OF LOT 12 AND ALL	Alley Sweeping		0.12	60.00	\$7.20		
St Paul MN 55102-3706	OF LOT 11 BLK 1	Citywide Street Lightin	ng	0.59	60.00	\$35.40		
*902 TUSCARORA AVE						\$67.20		
*Ward: 2		*** Owner and Taxpay	/er ***					
*Pending as of: 8/21/2020			Total Assess	ment:		\$67.20		
			This Paymer	ıt:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$67.20		
	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree			\$24.60		
908 Tuscarora Ave	ST. PAUL W 1/2 OF LOT 12 AND ALL	Alley Sweeping	dential Stree	0.12	60.00	\$7.20	11-28-23-34-0011	
St Paul MN 55102-3706	OF LOT 13 BLK 1	Citywide Street Lightin	ıg	0.59	60.00	\$35.40		
*908 TUSCARORA AVE		, ,	0			\$67.20		
*Ward: 2		*** Owner and Taxpay	/er ***			\$67.20		
*Pending as of: 8/21/2020			Total Assess	ment:		\$67.20		
			This Paymer	ıt:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$67.20		
	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>		
Daniel M Kueny Diane P Gerth	ST. PAUL LOT 18 BLK 1	Alley Sweeping	uciliai Succ	0.41	40.00	\$10.40	11-28-23-34-0016	
909 Bayard Ave		Citywide Street Lightin	ıg	0.12	40.00	\$23.60		
St Paul MN 55102-4001		, ,	e		—	\$44.80		
*909 BAYARD AVE		*** Owner and Taxpay	/er ***			ψ11.00		
*Ward: 2			Total Assess	ment:	2	\$44.80		
*Pending as of: 8/21/2020			This Payment:					
			Current Year			\$0.00 \$0.00		
			Current Year Interest:					
			Payoff Amo	unt:		\$0.00 \$44.80		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	Property ID
Walter A Soto	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-34-0017
Becky V Rios	ST. PAUL LOT 19 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
907 Bayard Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-4001						\$44.80	
*907 BAYARD AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assessn	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	
Margaret A Swiggum	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-34-0025
875 Bayard Ave	ST. PAUL LOT 27 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4001		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*875 BAYARD AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
Pending as of: 8/21/2020			Total Assessm	nent:	•	\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>	
Richard E Berger	ST. PAUL LOT 28 BLK 1	Alley Sweeping - Kesic	icitial Succ	0.41	40.00	\$4.80	11-28-23-34-0026
871 Bayard Ave		Citywide Street Lightin	σ	0.12	40.00	\$23.60	
St Paul MN 55102-4001		Sity while Subor Lightin	5	0.57			
*871 BAYARD AVE Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
Pending as of: 8/21/2020			Total Assessment:			\$44.80	
			This Payment:			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Anne A Sweet	BARTONS ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	82.00	\$33.63	11-28-23-34-0028	
861 Bayard Ave	ST. PAUL LOT 30 BLK 1	Alley Sweeping		0.12	39.00	\$4.68		
St Paul MN 55102-4001		Citywide Street Lightir	ng	0.59	82.00	\$48.39		
*861 BAYARD AVE *Ward: 2	*** Owner and Taxp		/er ***			\$86.70		
*Pending as of: 8/21/2020			Total Assess	ment:		\$86.70		
			This Paymen			\$0.00		
			Current Year			\$0.00		
			Current Year	-		\$0.00		
			Payoff Amo			\$86.70		
Chad M Deely	W. T. BARTONS ADD. TO THE CITY OF ST. PAUL SUBJ TO ESMT LOT 2 BLK	Street Sweeping - Resid Alley Sweeping	dential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-34-0030	
Ann S Deely	1	Citywide Street Lightir	NG .	0.12	40.00	\$23.60		
924 Tuscarora Ave		Citywide Suber Lighti	ig	0.39	40.00			
St Paul MN 55102-3722		*** Owner and Taxpay	***			\$44.80		
*924 TUSCARORA AVE		Owner and Taxpay	/61					
*Ward: 2			Total Assess	ment:		\$44.80		
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$44.80		
Andrew Halling	W. T. BARTONS ADD. TO THE CITY OF	Street Sweeping - Resid	dential Stree			<u>\$18.45</u>		
Kathryn Sabaka	ST. PAUL E 5 FT OF LOT 4 AND SUBJ	Alley Sweeping		0.12	45.00	\$5.40	11-20-23-34-0031	
934 Tuscarora Ave	TO ESMT ALL OF LOT LOT 3 BLK 1	Citywide Street Lightir	ıg	0.59	45.00	\$26.55		
St Paul MN 55102-3722		-				\$50.40		
*934 TUSCARORA AVE		*** Owner and Taxpay	/er ***			<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>		
*Ward: 2			Total Assess	ment:		\$50.40		
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00		
			Current Year			\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$50.40		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	Property Description	Item Description	1	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Brice A Weed	W. T. BARTONS ADD. TO THE CITY OF	Street Sweeping - Reside	ntial Stree	0.41	40.00	\$16.40	11-28-23-34-0042
Ashley L Nichols	ST. PAUL LOT 17 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 01 0012
975 Bayard Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55102-4003						\$44.80	
*975 BAYARD AVE		*** Owner and Taxpayer	. ***				
*Ward: 2		-	Total Assessme	ent:	-	\$44.80	
*Pending as of: 8/21/2020		,	This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	nterest:		\$0.00	
		1	Payoff Amoun	ıt:		\$44.80	
Catherine M Mueller	W. T. BARTONS ADD. TO THE CITY OF	Street Sweeping - Reside	ntial Stree	0.41	40.00	<u>\$16.40</u>	
971 Bayard Ave	ST. PAUL LOT 18 BLK 1	Alley Sweeping	indui Suec	0.12	40.00	\$4.80	11-28-23-34-0043
St Paul MN 55102-4003		Citywide Street Lighting		0.59	40.00	\$23.60	
*971 BAYARD AVE		, , ,			_	\$44.80	
*Ward: 2		*** Owner and Taxpayer	***			\$ 11 .00	
*Pending as of: 8/21/2020		-	Total Assessme	ent:		\$44.80	
		,	This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
		1	Payoff Amoun	it:		\$44.80	
		Street Sweeping - Reside	ntial Stree	0.41	40.00	<u> </u>	
Gabriel A Blott	ST. PAUL LOT 23 BLK 1	Alley Sweeping	iniai butt	0.41	40.00	\$4.80	11-28-23-34-0048
951 Bayard Ave		Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55102-4003		,				\$44.80	
*951 BAYARD AVE		*** Owner and Taxpayer	. ***			\$ 11 .00	
*Ward: 2		-	Total Assessment:			\$44.80	
*Pending as of: 8/21/2020			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year Ir			\$0.00	
]	Payoff Amoun	it:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	W. T. BARTONS ADD. TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-34-0051
Gina Kurtz	ST. PAUL LOT 26 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
939 Bayard Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-4003						\$44.80	
*939 BAYARD AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resid			40.00	<u>\$16.40</u>	
Michael W Hamm	CITY OF ST. PAUL LOT 2 BLK 1	Alley Sweeping	uential Stree	0.41	40.00	\$4.80	11-28-23-34-0057
866 Bayard Ave		Citywide Street Lightin	ıσ	0.12	40.00	\$23.60	
St Paul MN 55102-4002		City wide Suber Eightin	15	0.57	-10.00		
*866 BAYARD AVE		*** Owner and Taxpay	/er ***			\$44.80	
*Ward: 2		Owner and Taxpay					
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
1890 Carroll Ave Apt 8	CITY OF ST. PAUL LOT 4 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11 20 20-07-0000
St Paul MN 55104-3500		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*874 BAYARD AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b		Project: 20208 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>U</u>	Init Rate	<u>Quantity</u>	Charge Amts	Property ID
Marcia A Dereu	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	11-28-23-34-0062
884 Bayard Ave	CITY OF ST. PAUL LOT 7 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4002		Citywide Street Lighting		0.59	40.00	\$23.60	
*884 BAYARD AVE *Ward: 2		*** Owner and Taxpayer	. ***			\$44.80	
*Pending as of: 8/21/2020		-	Total Assessmer	nt:		\$44.80	
			This Payment:			\$0.00	
			Current Year Pri	incinal	\$0.00		
			Current Year Int	-		\$0.00	
			Payoff Amount			\$44.80	
Terry A Moen	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resider	ntial Stree	0.41	40.00	\$16.40	11-28-23-34-0064
892 Bayard Ave	CITY OF ST. PAUL LOT 9 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4002		Citywide Street Lighting		0.59	40.00	\$23.60	
*892 BAYARD AVE						\$44.80	
*Ward: 2		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		-	Total Assessmer	nt:		\$44.80	
		1	This Payment:			\$0.00	
			Current Year Pri	incipal:		\$0.00	
		(Current Year Int	erest:		\$0.00	
		I	Payoff Amount	:		\$44.80	
		Steast Supering Decider				<u>\$16.40</u>	
Heidi Kuschel	J. R. BARTON'S ADDITION TO THE CITY OF ST. PAUL LOT 10 BLK 1	Street Sweeping - Resider Alley Sweeping	nual Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-34-0065
Marcus Hanson		Citywide Street Lighting		0.12	40.00	\$4.80 \$23.60	
898 Bayard Ave St Paul MN 55102-4002		City while Sureet Eighting		0.57	40.00	-	
*898 BAYARD AVE		*** Owner and Taxpayer	. ***			\$44.80	
*Ward: 2		- 1	Total Assessmer	nt:		\$44.80	
*Pending as of: 8/21/2020		1	This Payment:			\$0.00	
			Current Year Pri			\$0.00	
		(Current Year Int	erest:		\$0.00	
		ł	Payoff Amount	:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 22
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
David T Mcathie	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-34-0066
902 Bayard Ave	CITY OF ST. PAUL LOT 11 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4002		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*902 BAYARD AVE *Ward: 2		*** Owner and Taxpay	ver ***			\$44.80	
*Pending as of: 8/21/2020			Total Assess		-	\$44.80	
C			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	
Saul Ibarra	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-34-0067
Manuela Ibarra	CITY OF ST. PAUL LOT 12 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
906 Bayard Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-4002						\$44.80	
*906 BAYARD AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
		Street Surgening Deri				<u><u><u></u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u></u>	
Brooke M Reynolds	J. R. BARTON'S ADDITION TO THE CITY OF ST. PAUL LOT 17 BLK 1	Street Sweeping - Resid	dential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-34-0072
Jason M Zaborowski 915 Scheffer Ave		Alley Sweeping Citywide Street Lightir	nσ	0.12	40.00	\$4.80 \$23.60	
St Paul MN 55102-4011		enywide Sueer Eighti	115	0.57		\$44.80	
*915 SCHEFFER AVE		*** Owner and Taxpay	yer ***			\$44.80	
*Ward: 2			Total Assess	ment:	<u>.</u>	\$44.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 22
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
John A Bergren	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-34-0073
909 Scheffer Ave	CITY OF ST. PAUL LOT 18 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4011		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*909 SCHEFFER AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ient:		\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou	nt:		\$44.80	
	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
Lynell Woodson	CITY OF ST. PAUL LOT 22 BLK 1	Alley Sweeping	dential Stree	0.12	40.00	\$4.80	11-28-23-34-0077
893 Scheffer Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-4011			-6			\$44.80	
*893 SCHEFFER AVE		*** Owner and Taxpay	/er ***			\$44.80	
*Ward: 2			Total Assessm	ient:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$44.80	
	J. R. BARTON'S ADDITION TO THE	Street Sweeping - Resid	dential Stree	0.41	40.00	<u>\$16.40</u>	<u> </u>
Dion P Lorine	CITY OF ST. PAUL LOT 24 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-34-0079
887 Scheffer Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-4011			-			\$44.80	
*887 SCHEFFER AVE		*** Owner and Taxpay	/er ***			¢11.00	
*Ward: 2			Total Assessm	ient:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 230
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Roscoe Anderson 13925 93rd Pl N Maple Grove MN 55369-9359	J. R. BARTON'S ADDITION TO THE CITY OF ST. PAUL LOTS 27 28 29 AND LOT 30 BLK 1	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	107.50 159.00 107.50	\$44.08 \$19.08 \$63.43	11-28-23-34-0082
*873 SCHEFFER AVE *Ward: 2		*** Owner and Taxpaye	r ***			\$126.59	
*Pending as of: 8/21/2020			Total Assessm			\$126.59	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year Payoff Amou			\$0.00 \$126.59	
Kyle P Odegaard 934 Bayard Ave St Paul MN 55102-4004 *934 BAYARD AVE *Ward: 2 *Pending as of: 8/21/2020	NIXON ADDITION TO ST. PAUL LOT 4		7	t: Principal: Interest:	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60 \$44.80 \$44.80 \$0.00 \$0.00 \$0.00 \$44.80	11-28-23-34-0085
Michelle A Belitz David Shomion 938 Bayard Ave St Paul MN 55102-4004 *938 BAYARD AVE	NIXON ADDITION TO ST. PAUL LOT 5	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting *** Owner and Taxpaye	5	0.41 0.12 0.59	40.00 40.00 40.00	\$16.40 \$4.80 \$23.60 \$44.80	<u>11-28-23-34-0086</u>
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	Property ID
Victoria J Dahl	NIXON ADDITION TO ST. PAUL W 1/2	Street Sweeping - Reside	ential Stree	0.41		\$24.60	11-28-23-34-0090
962 Bayard Ave	OF LOT 10 AND ALL OF LOT 11	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55102-4004		Citywide Street Lighting	ç.	0.59	60.00	\$35.40	
*962 BAYARD AVE *Ward: 2		*** Owner and Taxpaye	r ***			\$67.20	
*Pending as of: 8/21/2020			Total Assessr	mont		\$67.20	
2			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$67.20	
Mark A Bellcourt	NIXON ADDITION TO ST. PAUL LOTS	Street Sweeping - Reside	ential Stree	0.41	102.50	\$42.03	11-28-23-34-0097
John L Schade	18 & LOT 19	Alley Sweeping		0.12	78.00	\$9.36	
921 Scheffer Ave		Citywide Street Lighting	5	0.59	102.50	\$60.48	
St Paul MN 55102-4013						\$111.87	
*921 SCHEFFER AVE		*** Owner and Taxpaye	r ***				
*Ward: 2			Total Assessr	nent:	-	\$111.87	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$111.87	
Dava dak I. Ualaakharah	SCHEFFER PLACE LOT 4	Street Sweeping - Reside			40.00	<u>\$16.40</u>	
Devodah L Holschbach	SOULTERTERCE EOT 4	Alley Sweeping - Reside	innai Stree	0.41	40.00	\$16.40 \$4.80	11-28-23-34-0101
953 Scheffer Ave St Beyl MNI 55102 4012		Citywide Street Lighting	T	0.12	40.00	\$23.60	
St Paul MN 55102-4013 *953 SCHEFFER AVE		eng mae Succe Eighting	,	0.07		\$44.80	
*Ward: 2		*** Owner and Taxpaye	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessr	ment:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Annette J Jung	SCHEFFER PLACE LOT 5	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-34-0102
957 Scheffer Ave		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4013		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*957 SCHEFFER AVE						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Jessica M Nelson	SCHEFFER PLACE LOT 6	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-34-0103
Charles A Nelson		Alley Sweeping		0.12	40.00	\$4.80	
961 Scheffer Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-4013						\$44.80	
*961 SCHEFFER AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Christine L Berquam	SCHEFFER PLACE LOT 7	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-34-0104
965 Scheffer Ave		Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4013		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*965 SCHEFFER AVE						\$44.80	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Amanda Olsen	SCHEFFER PLACE E 1/2 OF LOT 9	Street Sweeping - Resid	lential Stree	0.41		\$24.60	11-28-23-34-0105
Lonnie Olsen	AND ALL OF LOT 8	Alley Sweeping		0.12	60.00	\$7.20	
971 Scheffer Ave		Citywide Street Lightin	g	0.59	60.00	\$35.40	
St Paul MN 55102-4013						\$67.20	
*971 SCHEFFER AVE		*** Owner and Taxp					
*Ward: 2			Total Assessm	nent:		\$67.20	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$67.20	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Com	marcial/Art		40.00	\$42.80	
Bmk Managers Llc	ST. PAUL EX ST THE SELY 71 FT OF	Street Sweeping - Com		0.41	32.00	\$13.12	11-28-23-34-0108
5022 Upper 147th St W	LOTS 1 AND LOT 2 BLK 1	Citywide Street Lightin		0.41	72.00	\$42.48	
St Paul MN 55124-7768		Citywide Succe Eightin	5	0.57			
*1345 7TH ST W *Ward: 2		*** Owner and Taxpay	er ***			\$98.40	
*Pending as of: 8/21/2020		1 2	Total Assessn			\$98.40	
C						\$98.40	
			This Payment Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou			\$98.40	
			i ayon Amou	int.		\$70.40	
Elizabeth L Schanno	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-34-0113
888 Scheffer Ave	ST. PAUL LOT 4 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4012		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*888 SCHEFFER AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessment:			\$44.80	
			This Payment:			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Curtis L Wise	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-34-0114
894 Scheffer Ave	ST. PAUL LOT 5 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4012		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*894 SCHEFFER AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	\$16.40	11-28-23-34-0116
900 Scheffer Ave	ST. PAUL LOT 7 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-54-0110
900 Scheffer Ave St Paul MN 55102-4012		Citywide Street Lightin	ıg	0.59	0.59 40.00	\$23.60	
*900 SCHEFFER AVE			•			\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***			\$11.00	
*Pending as of: 8/21/2020			Total Assessn			\$44.80	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	\$16.40	11-28-23-34-0117
904 Scheffer Ave	ST. PAUL LOT 8 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4012		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*904 SCHEFFER AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		•	Project: 2020SMSP Resolution #:		Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	Quantity	Charge Amts	<u>Property ID</u>
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-34-0118
Kelly Elert	ST. PAUL LOT 9 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
910 Scheffer Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-4012						\$44.80	
*910 SCHEFFER AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assessr	nent:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	
Samuel John Dettinger	RUGG'S ADDITION TO THE CITY OF ST. PAUL LOT 11 BLK 2	Street Sweeping - Resid	lential Stree	0.41	82.50	\$33.83	11-28-23-34-0120
918 Scheffer Ave	ST. TAUE LOT TI BEK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4012		Citywide Street Lightin	g	0.59	82.50	\$48.68	
*918 SCHEFFER AVE						\$87.31	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$87.31	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amount:			\$87.31	
Chuisting Lyngh	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>	
Christine Lynch 915 Eleanor Ave	ST. PAUL LOT 13 BLK 2	Alley Sweeping	ionual Succ	0.41	40.00	\$10.40	11-28-23-34-0122
St Paul MN 55102-4007		Citywide Street Lightin	ø	0.12	40.00	\$23.60	
*915 ELEANOR AVE			0	0.07		\$44.80	
*Ward: 2		*** Owner and Taxpay	xpayer ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		•	Project: 2020SMSP Resolution #:		Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Stephanie A Thompson	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	60.00	\$24.60	11-28-23-34-0130
Jacob E Donahue	ST. PAUL W 1/2 OF LOT 5 AND ALL	Alley Sweeping		0.12	60.00	\$7.20	
942 Scheffer Ave	OF LOT 6 BLK 3	Citywide Street Lightin	ıg	0.59	60.00	\$35.40	
St Paul MN 55102-4014						\$67.20	
*942 SCHEFFER AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:		\$67.20	
*Pending as of: 8/21/2020			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$67.20	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>	
958 Scheffer Ave	ST. PAUL LOT 10 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-34-0134
St Paul MN 55102-4014		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*958 SCHEFFER AVE		5 6	8			\$44.80	
*Ward: 2		*** Owner and Taxpay	ver ***			\$ 11 .80	
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymer	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	
Wayne A Goldschmitz	RUGG'S ADDITION TO THE CITY OF ST. PAUL LOTS 11 AND LOT 12 BLK 3	Street Sweeping - Resid	dential Stree	0.41	80.00	\$32.80	11-28-23-34-0135
Holly E Goldschmitz	STATED LOTS TARGE LOT 12 DEK S	Alley Sweeping	~	0.12	80.00	\$9.60 \$47.20	
966 Scheffer Ave		Citywide Street Lightin	ıg	0.59	80.00	\$47.20	
St Paul MN 55102-4014 *966 SCHEFFER AVE		*** Owner and Taxpay	er ***			\$89.60	
* 966 SCHEFFER AVE *Ward: 2		Gwner and Taxpay					
*Pending as of: 8/21/2020			Total Assess			\$89.60	
- chang us of 0,21/2020			This Paymer			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$89.60	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Vicki L Johnson	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-34-0136	
James L Salverda	ST. PAUL SUBJ TO ESMT OVER E 1 FT	Alley Sweeping		0.12	40.00	\$4.80		
970 Scheffer Ave	LOT 13 BLK 3	Citywide Street Lightin	ng	0.59	40.00	\$23.60		
St Paul MN 55102-4014						\$44.80		
*970 SCHEFFER AVE		*** Owner and Taxpay	/er ***					
*Ward: 2			Total Assess	ment:		\$44.80		
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	-		\$0.00		
			Payoff Amo			\$44.80		
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	\$16.40	11-28-23-34-0137	
Tammy Cossetta	ST. PAUL LOT 14 BLK 3	Alley Sweeping	dential Stree	0.12	40.00	\$4.80	11-28-23-34-013/	
972 Scheffer Ave		Citywide Street Lightin	ıσ	0.59	40.00	\$23.60		
St Paul MN 55102-4012			-0			\$44.80		
*972 SCHEFFER AVE		*** Owner and Taxpay	/er ***			\$44.80		
*Ward: 2		e mer and ranpay				<u></u>		
*Pending as of: 8/21/2020			Total Assess			\$44.80		
			This Paymen			\$0.00		
			Current Year	-		\$0.00		
			Current Year			\$0.00		
			Payoff Amo	unt:		\$44.80		
Anthony Kolars	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	120.00	\$49.20	11-28-23-34-0140	
Colleen P Kolars	ST. PAUL LOTS 17 18 & LOT 19 BLK 3	Alley Sweeping		0.12	120.00	\$14.40		
971 Eleanor Ave		Citywide Street Lightin	ıg	0.59	120.00	\$70.80		
St Paul MN 55102-4008						\$134.40		
*971 ELEANOR AVE		*** Owner and Taxpay	/er ***					
*Ward: 2			Total Assess	ment:	-	\$134.40		
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amo	unt:		\$134.40		

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jason Thomas Deboer Moran	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	70.00	\$28.70	11-28-23-34-0141
Erin L Deboer Moran	ST. PAUL EX E 10 FT LOT 21 AND ALL	Alley Sweeping		0.12	70.00	\$8.40	
961 Eleanor Ave	OF LOT 20 BLK 3	Citywide Street Lightir	ıg	0.59	70.00	\$41.30	
St Paul MN 55102-4008						\$78.40	
*961 ELEANOR AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	nent:		\$78.40	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$78.40	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
945 Eleanor Ave	ST. PAUL LOT 24 BLK 3	Alley Sweeping	dential Stree	0.12	40.00	\$4.80	11-28-23-34-0144
St Paul MN 55102-4008		Citywide Street Lightir	19	0.59	40.00	\$23.60	
*945 ELEANOR AVE		, ,	C		_	\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***			φ -1 .00	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	
Michael A Masiello	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		<u> </u>	\$33.22	<u> </u>
Deana L Masiello	ST. PAUL LOT 30 BLK 3	Alley Sweeping		0.12	37.00	\$4.44	11-20-20-07-0170
923 Eleanor Ave		Citywide Street Lightir	ng	0.59	81.00	\$47.80	
St Paul MN 55102-4008					_	\$85.46	
*923 ELEANOR AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	nent:		\$85.46	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$85.46	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Sharon M Rambo	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	60.00	\$24.60	11-28-23-34-0155
952 Eleanor Ave	ST. PAUL EX E 20 FT LOT 8 AND ALL OF LOT 9 BLK 4	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55102-4009	OF LOT 9 BLK 4	Citywide Street Lightir	ng	0.59	60.00	\$35.40	
*952 ELEANOR AVE *Ward: 2		*** Owner and Taxpay	yer ***			\$67.20	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$67.20	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$67.20	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dontial Strac			\$41.01	
Robert B Pihlaja	ST. PAUL EX E 5 FT LOT 14 AND ALL	Alley Sweeping	dential Stree	0.41	75.00	\$9.00	11-28-23-34-0160
Monica R Pihlaja	OF LOT 15 BLK 4	Citywide Street Lightir	nσ	0.12	100.00	\$59.01	
978 Eleanor Ave St Paul MN 55102-4009		City wide Suber Eightin	16	0.59			
*978 ELEANOR AVE		*** Owner and Taxpay	yer ***			\$109.02	
*Ward: 2			Total Assessn	nent:	•	\$109.02	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$109.02	
Robert Paul Ekstrum	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree			\$42.03	<u> </u>
979 Otto Ave	ST. PAUL LOTS 16 & LOT 17 BLK 4	Alley Sweeping		0.12	80.00	\$9.60	11-20-23-37-0101
St Paul MN 55102-4217		Citywide Street Lightir	ng	0.59	102.50	\$60.48	
*979 OTTO AVE						\$112.11	
*Ward: 2		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assessn	nent:		\$112.11	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$112.11	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	• • • •	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 24
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Richard J Nagel	RUGG'S ADDITION TO THE CITY OF ST. PAUL LOT 29 BLK 4	Street Sweeping - Resident	tial Stree	0.41	40.00	\$16.40	11-28-23-34-0171
925 Otto Ave St Paul MN 55102-4217	SILIAOLEOI 27 BER 4	Alley Sweeping Citywide Street Lighting		0.12 0.59	40.00 40.00	\$4.80 \$23.60	
*925 OTTO AVE						\$44.80	
*Ward: 2		*** Owner and Taxpayer *	***				
*Pending as of: 8/21/2020		T	otal Assessme	ent:	-	\$44.80	
		T	his Payment:			\$0.00	
			Current Year P	-		\$0.00	
		C	Current Year In	nterest:		\$0.00	
		Pa	ayoff Amour	nt:		\$44.80	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Resident	tial Stree	0.41		\$33.22	
921 Otto Ave	ST. PAUL LOT 30 BLK 4	Alley Sweeping		0.12	37.00	\$4.44	11-20-23-34-01/2
St Paul MN 55102-4217		Citywide Street Lighting		0.59	81.00	\$47.80	
*921 OTTO AVE						\$85.46	
*Ward: 2		*** Owner and Taxpayer *	***				
*Pending as of: 8/21/2020		Te	otal Assessm	ent:		\$85.46	
		T	his Payment:			\$0.00	
		C	Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
		P	ayoff Amoun	nt:		\$85.46	
Jonathan J Kobilka	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Commer	rcial/Art	1.07	40.00	\$42.80	11-28-23-34-0175
Joleen J Kobilka	ST. PAUL EX ST LOT 6 BLK 5	Citywide Street Lighting		0.59	40.00	\$23.60	11 20 20 01 0110
1409 7th St W						\$66.40	
St Paul MN 55102-4207		*** Owner and Taxpayer *	***				
*1409 7TH ST W		T	otal Assessm	ent:		\$66.40	
*Ward: 2		T	his Payment:			\$0.00	
*Pending as of: 8/21/2020		C	Current Year P	Principal:		\$0.00	
		C	Current Year I	nterest:		\$0.00	
		Pa	ayoff Amoun	nt:		\$66.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by		Project: 202 Resolution #:		Assmt: 200025	Manager: LM	Page 24
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Amy M Green	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Comme	ercial/Art	1.07	40.00	\$42.80	11-28-23-34-0176
1405 W 7th St	ST. PAUL EX ST LOT 7 BLK 5	Citywide Street Lighting		0.59	40.00	\$23.60	
St Paul MN 55102-4207						\$66.40	
*1405 7TH ST W		*** Owner and Taxpayer	. ***				
*Ward: 2			Total Assessm			\$66.40	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year F	-		\$0.00	
			Current Year I Payoff Amou i			\$0.00 \$66.40	
			ayon Amou			\$00.40	
Donald W Thompson	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Comme	ercial/Art	1.07		\$21.40	<u> </u>
1399 7th St W	ST. PAUL EX ST LOT 8 BLK 5	Street Sweeping - Resider		0.41	56.50	\$23.17	
St Paul MN 55102-4207		Citywide Street Lighting		0.59	76.50	\$45.14	
*1399 7TH ST W						\$89.71	
*Ward: 2		*** Owner and Taxpayer	. ***				
*Pending as of: 8/21/2020		7	Total Assessm	ent:		\$89.71	
]	This Payment:			\$0.00	
			Current Year F	1		\$0.00	
			Current Year I			\$0.00	
		1	Payoff Amour	nt:		\$89.71	
Ian S Grunberg Trustee	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Comme	ercial/Art	1.07		<u>\$74.90</u>	
Margaret G Devine Trustee	ST. PAUL SUBJ TO 7TH ST AND EX SWLY 10 FT LOT 8 AND ALL OF LOT	Citywide Street Lighting		0.59	70.00	\$41.30	
1875 Walsh Ln	7 BLK 6				_	\$116.20	
Mendota Heights MN 55118-4238		*** Owner and Taxpayer	. ***				
*1386 7TH ST W		-	Total Assessm	ent:		\$116.20	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year F			\$0.00	
			Current Year I			\$0.00	
		I	Payoff Amour	nt:		\$116.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Daniel Mcquillan	RUGG'S ADDITION TO THE CITY OF ST. PAUL EX ST LOT 12 BLK 6	Street Sweeping - Com		1.07	40.00	\$42.80	11-28-23-34-0184
512 Mount Calm Place	SI. FAUL EA SI LUI 12 DEK 0	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55116-1730 * 1406 7TH ST W		*** Owner and Taxpay	· · · · * * *			\$66.40	
* 1400 / 1 H S1 W *Ward: 2		Owner and Taxpay					
*Pending as of: 8/21/2020			Total Assess			\$66.40	
rending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	1		\$0.00	
			Current Year Payoff Amo			\$0.00 \$66.40	
 Dmcquil Investments Llc C/O Daniel Mcquillan 1420 7th St W	RUGG'S ADDITION TO THE CITY OF ST. PAUL SUBJ TO ST LOTS 13 AND LOT 14 BLK 6	Street Sweeping - Com Citywide Street Lightin	ng	1.07 0.59	261.00 	\$279.27 \$153.99 \$433.26	
St Paul MN 55102-4206		*** Owner and Taxpay	/er ***				
*1420 7TH ST W			Total Assess	ment:		\$433.26	
*Ward: 2			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$433.26	
	SECTION 11 TOWN 28 RANGE 23 SUBJ	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	
Fanya M Schuh Modelli	TO AVE AND ALLEY THE E 40 FT OF W 475 12/100 FT OF S 165 14/100 FT	Alley Sweeping		0.12	40.00	\$4.80	
039 Scheffer Ave	OF NW 1/4 OF SE 1/4 OF SW 1/4 OF	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-4013	SEC 11 TN 28 RN 23	*** 0 1 T	***			\$44.80	
939 SCHEFFER AVE		*** Owner and Taxpay	/er ***				
Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Betty J Gruber	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Cor	nmercial/Art	1.07	56.50	\$60.46	11-28-23-34-0190
671 Hawthorne Ave E Unit A	ST. PAUL SUBJ TO ST; VAC ST ACCRUING IN DOC NO 2370762 &	Street Sweeping - Res	idential Stree	0.41	45.00	\$18.45	
St Paul MN 55106-1904	LOT 1 & LOT 2 BLK 6	Citywide Street Lighti	ng	0.59	101.50	\$59.89	
*1352 7TH ST W						\$138.80	
Ward: 2		*** Owner and Taxpa	yer ***				
Pending as of: 8/21/2020			Total Assessr	nent:		\$138.80	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$138.80	
	RUGG'S ADDITION TO THE CITY OF	Street Sweeping - Con	nmercial/Art				<u> </u>
593 Montcalm Pl	ST. PAUL EX ST LOTS 10 & 11 BLK 6	Citywide Street Lighti	ng	0.59	80.00	\$47.20	
St Paul MN 55116-1745						\$132.80	
*1402 7TH ST W		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessr	ment:		\$132.80	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$132.80	
	Ex Nwly Triangular Part Measuring 30 Ft	Street Sweeping - Res	idential Stree		40.00	<u>\$16.40</u>	
Attn Tax Department	On N L And 30 Ft On W L Lot 20 Blk 1	Citywide Street Lighti		0.59	40.00	\$23.60	11-20-23-41-0004
20 S 6th St Flr 7						\$40.00	
/inneapolis MN 55402-1803		*** Owner and Taxpa	yer ***				
0 JUNO AVE			Total Assessr	nent:		\$40.00	
Ward: 2			This Payment	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Pilney Building Llc	BECK AND BRECKENRIDGE	Street Sweeping - Com	mercial/Art	1.07	76.00	\$81.32	11-28-23-41-0008
C/O Chris Boone	ADDITION TO ST. PAUL EX WIDENED W 7TH ST LOTS 1 AND LOT 2 BLK 2	Street Sweeping - Resid	lential Stree	0.41	110.00	\$45.10	
1032 7th St W	w /In SI LOISTAND LOI 2 BEK 2	Citywide Street Lightin	g	0.59	186.00	\$109.74	
St Paul MN 55102-3828						\$236.16	
*1032 7TH ST W		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:	-	\$236.16	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$236.16	
	FINCH'S ADDITION TO ST. PAUL EX	Street Sweeping - Com	nercial/Art	1.07			
25 4th St W Rm 1000	WIDENING OF W 7TH ST BLK A	Street Sweeping - Resid		0.41	56.00	\$22.96	***EXEMPT***
St Paul MN 55102-1692		Citywide Street Lightin		0.59	134.00	\$79.06	EAEMI I
*1060 7TH ST W						\$185.48	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	=	\$185.48	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$185.48	
	SKARDA'S SUBDIVISION VAC ALLEY	Street Sweeping - Com	nercial/Art	1.07	359.00	\$384.13	
208 Amherst St	BET AND FOL LOTS 1 THRU LOT 5	Citywide Street Lightin		0.59	359.00	\$211.81	11-20-23-41-0011
St Paul MN 55105-1912			•			\$595.94	
*1017 7TH ST W		*** Owner and Taxpay	er ***			φ <i>373</i> .7 1	
*Ward: 2			Total Assess	ment:		\$595.94	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$595.94	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Sheryl Lynn Anderson	LEMKES SUBDIVISION LOT 3	Street Sweeping - Com Citywide Street Lightin		1.07 0.59	40.00	\$42.80 \$23.60	11-28-23-41-0012
690 Randolph Ave St Paul MN 55102-3509		Citywide Street Lightin	ig	0.59	40.00		
*690 RANDOLPH AVE		*** Owner and Taxpay	/er ***			\$66.40	
*Ward: 2			Total Assessm	ient:		\$66.40	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	interest:		\$0.00	
			Payoff Amou	nt:		\$66.40	
	LEMKES SUBDIVISION LOT 6	Street Sweeping - Com				\$42.80	
1035 7th St W		Citywide Street Lightin		0.59	40.00	\$23.60	11-20-23-41-0013
St Paul MN 55102-3827						\$66.40	
*1047 7TH ST W		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	ent:		\$66.40	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I			\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$66.40	
Patricia J Peterson	SCHEFFERS ADDTION TO ST. PAUL W	Street Sweeping - Com	mercial/Art			<u> </u>	
1649 Craig Place	1/2 OF LOTS 1 AND LOT 2 BLK 1	Citywide Street Lightin		0.59	66.00	\$38.94	11-20-23-41-0010
St Paul MN 55119-4201						\$109.56	
*734 RANDOLPH AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	ient:		\$109.56	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	interest:		\$0.00	
			Payoff Amou	nt:		\$109.56	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jorge L Lopez Suarez	SCHEFFERS ADDIION TO ST. PAUL	Street Sweeping - Com		1.07	41.00	\$43.87	11-28-23-41-0019
732 Randolph Ave	EX E 25 FT THE E 1/2 OF LOT 1 AND OF N 1/2 OF LOT 2 BLK 1	Citywide Street Lightin	ıg	0.59	41.00	\$24.19	
St Paul MN 55102-3414			ala ala ala			\$68.06	
*732 RANDOLPH AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:		\$68.06	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$68.06	
Dora L Escobar	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Resid	lential Stree	0.41	40.00	<u> </u>	11-28-23-41-0020
489 Bay St	LOT 3 BLK 1	Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-3817						\$40.00	
*489 BAY ST		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Resid	lential Stree			<u> </u>	
497 Bay St	LOT 5 BLK 1	Citywide Street Lightin		0.59	40.00	\$23.60	11-20-25-41-0022
St Paul MN 55102-3817						\$40.00	
*497 BAY ST		*** Owner and Taxpay	er ***			• • • •	
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Jerome W Heroff	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Resi		0.41	40.00	\$16.40	11-28-23-41-0023
Patricia L Heroff	LOT 6 BLK 1	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
503 Bay St						\$40.00	
5t Paul MN 55102-3817		*** Owner and Taxpay	/er ***				
503 BAY ST			Total Assessm	nent:		\$40.00	
Ward: 2			This Payment	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	
	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Resi	dential Stree			<u> </u>	
505 Bay St	LOT 7 BLK 1	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3817						\$40.00	
*505 BAY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assessm	nent:		\$40.00	
Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$40.00	
Nicholas Soderstrom	SCHEFFERS ADDTION TO ST. PAUL S	Street Sweeping - Resi	dential Stree				<u> </u>
Christina Ziton-Soderstrom	1/2 OF LOT 8 BLK 1	Citywide Street Lightin	ıg	0.59	20.00	\$11.80	
13 Bay St						\$20.00	
at Paul MN 55102-3817		*** Owner and Taxpay	/er ***				
511 BAY ST			Total Assessn	nent:		\$20.00	
Ward: 2			This Payment			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$20.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Katharine Lewis 513 Bay St	SCHEFFERS ADDTION TO ST. PAUL LOT 9 BLK 1	Street Sweeping - Resi Citywide Street Lightin		0.41	40.00	\$16.40 \$23.60	11-28-23-41-0027
St Paul MN 55102-3817				0.00		\$40.00	
*513 BAY ST		*** Owner and Taxpay	yer ***			\$10.00	
*Ward: 2			Total Assess	ment:	-	\$40.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Resi	idential Stree			<u> </u>	11-28-23-41-0029
1990 Kenwood Dr E	LOT 11 BLK 1	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55117-2550		*** 0 1 T	* * *			\$40.00	
*521 BAY ST		*** Owner and Taxpay	yer ***		=		
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Resi	idential Stree			<u> </u>	
Anne C Edmunds	LOT 14 BLK 1	Citywide Street Lightin	ng	0.59	40.00	\$23.60	11 20 20 11 0002
4893 Hillvale Ave N						\$40.00	
Oakdale MN 55128-2240		*** Owner and Taxpay	yer ***				
*533 BAY ST			Total Assess	ment:	-	\$40.00	
*Ward: 2			This Paymen	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Daniel Needham	SCHEFFERS ADDTION TO ST. PAUL W	Street Sweeping - Com		1.07	53.00	\$56.71	11-28-23-41-0036
12 Randolph Ave	53 FT OF E 66 FT OF LOT 9 W 27 FT OF LOT 4 AND E 26 FT OF LOT 5 BLK 2	Citywide Street Lightin	ng	0.59	53.00	\$31.27	
t Paul MN 55102-3509						\$87.98	
712 RANDOLPH AVE		*** Owner and Taxpay	yer ***				
Ward: 2 Pending as of: 8/21/2020			Total Assess	ment:		\$87.98	
rending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year Payoff Amou			\$0.00 \$87.98	
			·				
	SCHEFFERS ADDIION TO ST. PAUL W	Street Sweeping - Com		1.07	41.00	\$43.87	11-28-23-41-0038
1224 Whitewater Dr	3 FT OF LOT 6 AND EX W 2 FT LOT 7 BLK 2	Citywide Street Lightin	ng	0.59	41.00	\$24.19	
Woodbury MN 55129-5309		*** 0 1 T	***			\$68.06	
726 RANDOLPH AVE		*** Owner and Taxpay	yer ***				
Ward: 2 Pending as of: 8/21/2020			Total Assess			\$68.06	
1 chung as 01. 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year Payoff Amou			\$0.00 \$68.06	
			Tayon Amor	int.		300.00	
Leith Eklund	SCHEFFERS ADDTION TO ST. PAUL W	Street Sweeping - Com		1.07	12.50	\$13.38	11-28-23-41-0039
1224 Whitewater Dr	2 FT OF LOT 7 AND ALL OF LOT 8 BLK 2	Street Sweeping - Resi		0.41	60.00	\$24.60	
Voodbury MN 55129-5309		Citywide Street Lightin	ng	0.59	72.50	\$42.78	
492 BAY ST Ward: 2		*** Owner and Taxpay	yer ***			\$80.76	
Pending as of: 8/21/2020			Total Assess	ment:		\$80.76	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$80.76	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Gerald J Loberg	SCHEFFERS ADDITON TO ST. PAUL	Street Sweeping - Resid		0.41	40.00	\$16.40	11-28-23-41-0041
500 Bay St	LOT 10 BLK 2	Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3818						\$40.00	
*500 BAY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Resid	dential Stree	0.41	40.00	<u> </u>	
5470 S Harper Ave Unit 3c	LOT 14 BLK 2	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
Chicago IL 60615-5516						\$40.00	
*514 BAY ST		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Com	mercial/Art			\$53.50	
1055 7th St W	LOTS 29 AND LOT 30 BLK 2	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
St Paul MN 55102-3827						\$83.00	
*1055 7TH ST W		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:	-	\$83.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$83.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Estanislao Alquicira	SCHEFFERS ADDTION TO ST. PAUL	Street Sweeping - Com		1.07	50.00	\$53.50	11-28-23-41-0054
529 Hoyt Ave E	LOTS 31 AND LOT 32 BLK 2	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
St Paul MN 55130-3016						\$83.00	
*1049 7TH ST W		*** Owner and Taxpay	/er ***				
Ward: 2			Total Assess	ment:		\$83.00	
Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$83.00	
Patrick M Oneill	D. R. BURBANK ADDITION TO ST.	Street Sweeping - Resi	dential Stree			<u> </u>	
626 Juno Ave	PAUL N 1/2 OF VAC ALLEY ADJ AND	Citywide Street Lightin		0.59	90.50	\$53.40	11 20 20 11 0000
St Paul MN 55102-3810	LOT 1 BLK 1					\$90.51	
626 JUNO AVE		*** Owner and Taxpay	/er ***				
Ward: 2			Total Assess	ment:		\$90.51	
Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$90.51	
	D. R. BURBANK ADDITION TO ST.	Street Sweeping - Resi	dential Stree			<u> </u>	
580 Juno Ave	PAUL E 20 FT OF LOT 3 AND W 23 FT	Citywide Street Lightin		0.59	43.00	\$25.37	11-20-23-41-00//
t Paul MN 55102-3832	OF LOT 2 BLK 2					\$43.00	
680 JUNO AVE		*** Owner and Taxpay	/er ***			<i></i>	
Ward: 2			Total Assess	ment:		\$43.00	
Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$43.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 25
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Geoffrey Tilsen	FINCH'S ADDITION TO ST. PAUL EX	Street Sweeping - Com		1.07	50.00	\$53.50	11-28-23-41-0085
Angel Tilsen	7TH ST LOT 4 BLK 3	Citywide Street Lightin	ng	0.59	50.00	\$29.50	
1740 Beechwood Ave						\$83.00	
St Paul MN 55116-2412		*** Owner and Taxpay	/er ***				
*1072 7TH ST W			Total Assess	ment:		\$83.00	
*Ward: 2			This Paymen	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$83.00	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resid	dential Stree				<u> </u>
737 Watson Ave	5 BLK 4	Citywide Street Lightin		0.59	88.50	\$52.22	11-20-23-41-0077
St Paul MN 55102-3923						\$88.51	
*737 WATSON AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:		\$88.51	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$88.51	
Dadder'S Estates Llc	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	mercial/Art	1.07			11-28-23-41-0098
351 Kellogg Blvd E	ST. PAUL EX WIDENING OF W 7TH ST	Street Sweeping - Resid		0.41	88.00	\$36.08	
St Paul MN 55101-1411	SWLY 15 FT OF LOT 1 AND EX W 7TH ST LOT 2 BLK 13	Citywide Street Lightin	ng	0.59	168.00	\$99.12	
*1144 7TH ST W						\$220.80	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$220.80	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$220.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Phillip S Baker	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi		0.41	38.00	\$15.58	11-28-23-41-0105
Mary Baker	10 BLK 5	Citywide Street Lightin	ng	0.59	38.00	\$22.42	
828 Stewart Ave						\$38.00	
St Paul MN 55102-4121		*** Owner and Taxpa	yer ***				
*706 ARMSTRONG AVE			Total Assessr	nent:		\$38.00	
*Ward: 2			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$38.00	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi	idential Stree			<u> </u>	
703 Watson Ave	23 BLK 5	Citywide Street Lightin	ng	0.59	38.00	\$22.42	
St Paul MN 55102-3911						\$38.00	
*703 WATSON AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assessr	nent:		\$38.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$38.00	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi	idential Stree			<u>\$15.58</u>	
654 Armstrong Ave	8 BLK 6	Citywide Street Lightin		0.59	38.00	\$22.42	11 20 20 11 0120
St Paul MN 55102-3802						\$38.00	
*654 ARMSTRONG AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessr	nent:	-	\$38.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$38.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Abdirashid Ahmed	FINCH'S ADDITION TO ST. PAUL LOTS	Street Sweeping - Resi		0.41	103.00	\$42.24	11-28-23-41-0126
Hawo M Omar	11 AND LOT 12 BLK 6	Citywide Street Lightin	ng	0.59	103.00	\$60.78	
670 Armstrong Ave						\$103.02	
St Paul MN 55102-3802		*** Owner and Taxpay	yer ***				
*670 ARMSTRONG AVE			Total Assess	sment:		\$103.02	
*Ward: 2			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$103.02	
Hopper Enterprise Llc	FINCH'S ADDITION TO ST. PAUL S 79	Street Sweeping - Resi	idential Stree		<u> </u>	<u>\$25.22</u>	<u> </u>
C/O Ryan Hopper	5/10 FT OF LOT 13 BLK 6	Citywide Street Lightin		0.59	61.50	\$36.29	11-20-25-41-0120
636 Cherokee Ave						\$61.51	
St Paul MN 55107-2507		*** Owner and Taxpay	yer ***				
*671 WATSON AVE			Total Assess	ment:		\$61.51	
*Ward: 2			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo	ount:		\$61.51	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi	idential Stree			<u>\$15.58</u>	
659 Watson Ave	14 BLK 6	Citywide Street Lightin		0.59	38.00	\$22.42	11-20-23-41-0129
St Paul MN 55102-3909		, ,	0		—	\$38.00	
*659 WATSON AVE		*** Owner and Taxpay	yer ***			\$50.00	
*Ward: 2			Total Assess	sment:	-	\$38.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$38.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Brittany Delacy	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi		0.41	38.00	\$15.58	11-28-23-41-0130
Jared Whyte	15 BLK 6	Citywide Street Lightin	ng	0.59	38.00	\$22.42	
651 Watson Ave						\$38.00	
St Paul MN 55102-3909		*** Owner and Taxpa	yer ***				
*651 WATSON AVE			Total Assess	ment:		\$38.00	
*Ward: 2			This Paymen	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$38.00	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi	dential Stree			<u>\$15.58</u>	
2122 Novak Ave N	17 BLK 6	Citywide Street Lightin	ng	0.59	38.00	\$22.42	
West Lakeland MN 55082-1532						\$38.00	
647 WATSON AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$38.00	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$38.00	
	FINCH'S ADDITION TO ST. PAUL E 11	Street Sweeping - Resi	dential Stree			\$35.67	
351 Kellogg Blvd E	FT OF LOT 18 AND ALL OF LOTS 19	Citywide Street Lightin		0.59	87.00	\$51.33	11-20-25-41-0154
t Paul MN 55101-1411	AND LOT 20 BLK 6					\$87.00	
641 WATSON AVE		*** Owner and Taxpa	yer ***			••••••	
Ward: 2			Total Assess	ment:	-	\$87.00	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$87.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Christine M Leo	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi	dential Stree	0.41	38.00	\$15.58	11-28-23-41-0140
644 Watson Ave	6 BLK 7	Alley Sweeping		0.12	38.00	\$4.56	
St Paul MN 55102-3910		Citywide Street Lightir	ıg	0.59	38.00	\$22.42	
*644 WATSON AVE						\$42.56	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$42.56	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$42.56	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resid	dential Stree		38.00	\$15.58	<u> </u>
Markku Majamaki	7 BLK 7	Alley Sweeping		0.12	38.00	\$4.56	11-20-23-41-0141
4237 29th Ave S		Citywide Street Lightir	ıg	0.59	38.00	\$22.42	
Minneapolis MN 55406-3126		, ,	0		_	\$42.56	
*648 WATSON AVE		*** Owner and Taxpay	/er ***			ψ 12 .50	
*Ward: 2			Total Assess	ment:		\$42.56	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$42.56	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resid	dential Stree		38.00	\$15.58	<u> </u>
652 Watson Ave	8 BLK 7	Alley Sweeping		0.12	38.00	\$4.56	11-20-23-41-0142
St Paul MN 55102-3910		Citywide Street Lightir	ıg	0.59	38.00	\$22.42	
*652 WATSON AVE						\$42.56	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$42.56	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$42.56	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resid	lential Stree	0.41	38.00	\$15.58	11-28-23-41-0144
3650 105th St N	10 BLK 7	Alley Sweeping		0.12	38.00	\$4.56	
Mahtomedi MN 55115-1390		Citywide Street Lightin	g	0.59	38.00	\$22.42	
*662 WATSON AVE						\$42.56	
Ward: 2		*** Owner and Taxpay	er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$42.56	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$42.56	
						<u><u><u></u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u><u></u></u>	
aul Diederich	FINCH'S ADDITION TO ST. PAUL LOT 12 BLK 7	Street Sweeping - Resid Alley Sweeping	iential Stree	0.41 0.12	84.50 43.00	\$34.65 \$5.16	11-28-23-41-0146
70 Watson Ave		Citywide Street Lightin	~	0.12	43.00 84.50	\$3.16 \$49.86	
t Paul MN 55102-3910		Citywide Street Lightin	g	0.39	84.30		
670 WATSON AVE		*** 0 1 T	***			\$89.67	
Ward: 2		*** Owner and Taxpay	er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$89.67	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$89.67	
		Ctract Current D				<u> </u>	
ason Maxwell Wiggins	FINCH'S ADDITION TO ST. PAUL LOT 5 BLK 8	Street Sweeping - Resid Alley Sweeping	iential Stree	0.41 0.12	38.00 38.00	\$15.58 \$4.56	11-28-23-41-0151
627 Garfield Ave		Citywide Street Lightin	a	0.12	38.00	\$4.36 \$22.42	
Ainneapolis MN 55409-0527		Citywide Succi Lightin	5	0.39	56.00		
690 WATSON AVE Ward: 2		*** Owner and Taxpay	er ***			\$42.56	
Pending as of: 8/21/2020		1.2	Total Assess	nent:		\$42.56	
			This Paymen			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amo			\$42.56	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	FINCH'S ADDITION TO ST. PAUL E 1/2	Street Sweeping - Resid	lential Stree	0.41	57.00	\$23.37	11-28-23-41-0155
712 Watson Ave	OF LOT 12 AND ALL OF LOT 11 BLK 8	Alley Sweeping		0.12	57.00	\$6.84	
St Paul MN 55102-3912	8	Citywide Street Lightin	g	0.59	57.00	\$33.63	
*712 WATSON AVE *Ward: 2		*** Owner and Taxpay	er ***			\$63.84	
*Pending as of: 8/21/2020			Total Assessm	ent:		\$63.84	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour	ıt:		\$63.84	
	FINCH'S ADDITION TO ST. PAUL W	Street Sweeping - Resid	lential Stree	0.41	57.00	\$23.37	
718 Watson Ave	1/2 OF LOT 12 AND ALL OF LOT 13	Alley Sweeping		0.12	57.00	\$6.84	11-20-25-41-0150
St Paul MN 55102-3912	BLK 8	Citywide Street Lightin	g	0.59	57.00	\$33.63	
*718 WATSON AVE		, ,	0		_	\$63.84	
*Ward: 2		*** Owner and Taxpay	er ***			\$0 5 .04	
*Pending as of: 8/21/2020			Total Assessm	ent:		\$63.84	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year I	nterest:		\$0.00	
			Payoff Amour	nt:		\$63.84	
	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resid	lential Stree	0.41		<u>\$15.58</u>	<u> </u>
Jennifer Anderson	24 BLK 8	Alley Sweeping		0.12	38.00	\$4.56	11-20-25-41-0102
697 Tusarora Ave		Citywide Street Lightin	g	0.59	38.00	\$22.42	
St Paul MN 55102-3905						\$42.56	
*697 TUSCARORA AVE		*** Owner and Taxpay	er ***			• • • •	
*Ward: 2			Total Assessment:				
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amour			\$42.56	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jina C Caruso	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi	dential Stree	0.41	38.00	\$15.58	11-28-23-41-0163
Isabella C Caruso	25 BLK 8	Alley Sweeping		0.12	38.00	\$4.56	
695 Tuscarora Ave		Citywide Street Lightin	ng	0.59	38.00	\$22.42	
St Paul MN 55102-3905						\$42.56	
*695 TUSCARORA AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:		\$42.56	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$42.56	
Gene T Szondy	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resi	dential Stree				
689 Tuscarora Ave	26 BLK 8	Alley Sweeping	dential Stree	0.12	38.00	\$4.56	11-28-23-41-0164
St Paul MN 55102-3905		Citywide Street Lightir	ng	0.59	38.00	\$22.42	
*689 TUSCARORA AVE						\$42.56	
*Ward: 2		*** Owner and Taxpay	yer ***			\$42.50	
*Pending as of: 8/21/2020			Total Assess	ment:		\$42.56	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$42.56	
		Ctroot Crossing D					
Thomas J Fish	FINCH'S ADDITION TO ST. PAUL LOT 27 BLK 8	Street Sweeping - Resi Alley Sweeping	dential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-41-0165
Julia M Fish		Citywide Street Lightir	nσ	0.12	40.00	\$4.80 \$23.60	
687 Tuscarora Ave		City while Suber Lightin		0.59	+0.00		
St Paul MN 55102-3905 *687 TUSCARORA AVE		*** Owner and Taxpay	yer ***			\$44.80	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 26
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kelly D Jensen	FINCH'S ADDITION TO ST. PAUL LOTS	Street Sweeping - Resid	lential Stree	0.41	70.00	\$28.70	11-28-23-41-0166
683 Tuscarora Ave	28 & LOT 29 BLK 8	Alley Sweeping		0.12	70.00	\$8.40	
St Paul MN 55102-3905		Citywide Street Lighting	g	0.59	70.00	\$41.30	
*683 TUSCARORA AVE						\$78.40	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessr	ment:	-	\$78.40	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$78.40	
Richard H Distad	FINCH'S ADDITION TO ST. PAUL LOT	Street Sweeping - Resid	lential Stree	0.41	40.00	<u>\$16.40</u>	
Linda S Distad	2 BLK 9	Citywide Street Lighting		0.59	40.00	\$23.60	11-20-23-41-0109
1830 Eagle Ridge Dr Apt 3001		, ,	0			\$40.00	
Mendota Heights MN 55118-4202		*** Owner and Taxpay	er ***			\$40.00	
*734 WATSON AVE			Total Assessr	nent:		\$40.00	
*Ward: 2			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$40.00	
Gary J Henning	FINCH'S ADDITION TO ST. PAUL EX N 88 FT LOT 15 BLK 5	Street Sweeping - Resid	lential Stree	0.41	38.00	\$15.58	11-28-23-41-0175
Sandra J Henning	00 FILOI IJBLK J	Alley Sweeping		0.12	40.00	\$4.80	
554 Bay St		Citywide Street Lighting	g	0.59	38.00	\$22.42	
St Paul MN 55102-3902		*** Owner and Taxpayo	~* ***			\$42.80	
*554 BAY ST *Ward: 2		Owner and Taxpayo					
*Ward: 2 *Pending as of: 8/21/2020			Total Assessr			\$42.80	
1 chung as 01. 0/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$42.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Ayd Hall Llc	LEMKES SUBDIVISION EX PART	Street Sweeping - Cor		1.07	80.00	\$85.60	11-28-23-41-0178
1035 7th St W	TAKEN FOR SKARDA'S SUBD, LOT 8 &ALL OF LOT 7	Citywide Street Lighti	ing	0.59	80.00	\$47.20	
St Paul MN 55102-3827						\$132.80	
1033 7TH ST W		*** Owner and Taxpa	iyer ***				
Ward: 2			Total Assess	ment:		\$132.80	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$132.80	
Soo Line Railroad Co	FINCH'S ADDITION TO ST. PAUL A 50	Street Sweeping - Res	idential Stree			\$43.05	11-28-23-41-0180
Attn Tax Department	FT R/W RY ACROSS BLK 1 BECK & BECKENRIDGES ADD, BLKS 1 & 2 D R	Citywide Street Lighti	ing	0.59	105.00	\$61.95	
20 S 6th St Flr 7	BURBANKS ADD & BLKS 5 & 8 IN SD					\$105.00	
/inneapolis MN 55402-1803	FINCHS ADD	*** Owner and Taxpa	iyer ***				
0 OSCEOLA AVE S			Total Assess	ment:		\$105.00	
Ward: 2			This Paymen	t:		\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$105.00	
	BECK AND BRECKENRIDGE	Street Sweeping - Res				\$33.21	
Attn Tax Department	ADDITION TO ST. PAUL PART SELY	Citywide Street Lighti		0.59	81.00	\$47.79	11-20-23-41-0101
20 S 6th St Flr 7	OF RY R/W OF LOTS 17, 18 & LOT19 BLK 1					\$81.00	
Iinneapolis MN 55402-1803		*** Owner and Taxpa	iyer ***			401.00	
663 JUNO AVE			Total Assess	ment		\$81.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amor			\$81.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 262
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Chicago Mil St Paul And Pa Co Real Estate Dept Ste 804 501 Marquette Ave	Part Sely Of Ry R/w Of Lot 22 & Lot 23 Blk 8	Street Sweeping - Resi Citywide Street Lightin		0.41	58.00	\$23.78 \$34.22	11-28-23-41-0187
S			-6	0.09		\$58.00	
Minneapolis MN 55402-0530		*** Owner ***				\$58.00	
*0 TUSCARORA AVE			Total Assess	ment		\$58.00	
*Ward: 2			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$58.00	
Soo Line Railroad Co	Part Sely Of Ry R/w Of Lot 22 & Lot 23 Blk 8	*** Taxpayer and 3rd	Party ***				11-28-23-41-0187
Attn Tax Department	DIK Ø		Total Assess	ment:	-	\$58.00	
120 S 6th St Flr 7 Minneapolis MN 55402-1803			This Paymer	nt:	\$0.00		
*0 TUSCARORA AVE			Current Yea	1		\$0.00	
*Ward: 2			Current Yea			\$0.00	
*Pending as of: 8/21/2020			Payoff Amo	ount:		\$58.00	
			1				
Soo Line Railroad Co	BECK AND BRECKENRIDGE ADDITION TO ST. PAUL PART OF	Street Sweeping - Resi Citywide Street Lightin		0.41 0.59	101.00	\$41.41 \$59.59	11-28-23-41-0188
Attn Tax Department 120 S 6th St Flr 7	LOTS 1 THRU 4 BLK 1 LYING SELY OF	City while Street Eighth	15	0.57		\$101.00	
Minneapolis MN 55402-1803	A LINE 20 FT SELY OF & PAR TO CL OF SOO LINE RY R/W	*** Owner and Taxpa	yer ***			\$101.00	
*0 DRAKE ST			Total Assess	sment:		\$101.00	
*Ward: 2			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year Principal:			\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$101.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Soo Line Railroad Co Attn Tax Department	BECK AND BRECKENRIDGE ADDITION TO ST. PAUL A RY R/W	Street Sweeping - Com Street Sweeping - Resid		<u> </u>	72.00	\$77.04 \$8.20	11-28-23-41-0189
120 S 6th St Flr 7	ACROSS BLK 1	Citywide Street Lightir		0.59	92.00	\$54.28	
Minneapolis MN 55402-1803						\$139.52	
*644 RANDOLPH AVE		*** Owner and Taxpay	/er ***		-		
*Ward: 2			Total Assess	ment:		\$139.52	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$139.52	
Kenneth J Williams	FINCH'S ADDITION TO ST. PAUL	Street Sweeping - Resid	dential Stree			<u> </u>	11-28-23-41-0191
721 Tuscarora Ave	PART OF LOTS 20,21 & 22 LYING WLY	Alley Sweeping		0.12	178.00	\$21.36	
St Paul MN 55102-3905	OF RR R/W & ALL OF LOTS 18 & 19 BLK 8	Citywide Street Lightir	ng	0.59	114.00	\$67.26	
*721 TUSCARORA AVE						\$135.36	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$135.36	
			This Paymer			\$0.00	
			Current Yea	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$135.36	
	D. R. BURBANK ADDITION TO ST.	Street Sweeping - Resid	dential Stree		188.00	<u> </u>	
C/O Patrick J Donohue	PAUL PART NWLY OF RY R/W OF	Citywide Street Lightir		0.59	188.00	\$110.92	11-20-25-41-01/2
035 W 7th St	LOT 12 & LOT 13 BLK 1					\$188.00	
St Paul MN 55102-3827		*** Owner and Taxpay	/er ***				
*670 JUNO AVE			Total Assess	ment:		\$188.00	
*Ward: 2			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$188.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Soo Line Railroad Co	D. R. BURBANK ADDITION TO ST.	Street Sweeping - Resid		0.41	145.00	\$59.45	11-28-23-41-0193
Attn Tax Department	PAUL VAC ALLEY ACCRUING & FOL PART SELY OF RY R/W OF LOTS	Citywide Street Lightin	g	0.59	145.00	\$85.55	
120 S 6th St Flr 7	9,10,11,12 & LOT 14 BLK 1					\$145.00	
Minneapolis MN 55402-1803		*** Owner and Taxpay	er ***				
*0 JUNO AVE			Total Assess	ment:	-	\$145.00	
*Ward: 2			This Paymen	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$145.00	
	FINCH'S ADDITION TO ST. PAUL	Street Sweeping - Resid	lential Stree				
Attn Tax Department	PART LYING SELY OF RY R/W OF	Citywide Street Lightin		0.59	215.00	\$126.85	11-20-23-41-0174
120 S 6th St Flr 7	LOTS 1,2 3,26,27 & LOT 28 BLK 5		-		_	\$215.00	
Minneapolis MN 55402-1803		*** Owner and Taxpay	er ***			¢210100	
*0 OSCEOLA AVE			Total Assess	ment:		\$215.00	
*Ward: 2			This Paymen	ıt:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$215.00	
	Part Lying Sely Of Ry R/w Of Lots 6 &	Alley Sweeping					
Attn Tax Department	Lot 7 Blk 8					\$7.20	
120 S 6th St Flr 7		*** Owner and Taxpay	er ***			φ1.20	
Minneapolis MN 55402-1803		1.0	Total Assess	mant.		\$7.20	
*0 WATSON AVE						\$7.20 \$0.00	
*Ward: 2			This Paymen Current Year			\$0.00 \$0.00	
*Pending as of: 8/21/2020			Current Year Current Year	1		\$0.00	
			Payoff Amo			\$0.00 \$7.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Watson Drake Poartnership Llc C/O Daniel Galles 622 Watson Ave	FINCH'S ADDITION TO ST. PAUL LOTS 1,2 & LOT 3 BLK 7	Street Sweeping - Res Alley Sweeping Citywide Street Light		0.41 0.12 0.59	241.00 114.00 241.00	\$98.81 \$13.68 \$142.19	11-28-23-41-0199
St Paul MN 55102-3910 *622 WATSON AVE		*** Owner and Taxpa	ayer ***			\$254.68	
*Ward: 2 *Pending as of: 8/21/2020			Total Assess This Paymen Current Year Current Year Payoff Amo	t: Principal: Interest:		\$254.68 \$0.00 \$0.00 \$0.00 \$254.68	
			· 				
Rochelle A Olson 697 Watson Av	FINCH'S ADDITION TO ST. PAUL EX E 5 FT; LOT 24 BLK 5	Street Sweeping - Res Citywide Street Light		0.41 0.59	33.00 33.00	\$13.53 \$19.47	11-28-23-41-0202
St Paul MN 55102-3911 *697 WATSON AVE		*** Owner and Taxpa	ayer ***			\$33.00	
*Ward: 2 *Pending as of: 8/21/2020			Total Assess This Paymen Current Year Current Year Payoff Amo	t: Principal: Interest:		\$33.00 \$0.00 \$0.00 \$33.00	
Lori L Carlson 681 Armstrong Ave	D. R. BURBANK ADDITION TO ST. PAUL EX E 3 FT & EX W 3 FT; LOT 5 BLK 2	Street Sweeping - Res Citywide Street Light		0.41	<u> </u>	\$11.48 \$16.52	11-28-23-41-0208
St Paul MN 55102-3803 *681 ARMSTRONG AVE		*** Owner and Taxpa	ayer ***			\$28.00	
*Ward: 2 *Pending as of: 8/21/2020			Total Assess This Paymen Current Year Current Year Payoff Amo	t: Principal: Interest:		\$28.00 \$0.00 \$0.00 \$0.00 \$28.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Chris E Sirek	SCHEFFERS ADDITION TO ST. PAUL	Street Sweeping - Resi		0.41	40.00	\$16.40	11-28-23-41-0209
510 Bay St	EX PART DESC AS BEG AT THE SE COR OF LOT 12 THENCE WLY ALONG	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3818 * 510 BAY ST	THE S LINE OF SD LOT 12 A DIST OF 8 FT THENCE NELY TO A PT ON THE E LINE OF SD LOT 12 A DIST OF 16.5 FT	*** Owner and Taxpa	yer ***			\$40.00	
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	Subj To Rd; Lot 7 Blk 3	Street Sweeping - Con	nmercial/Art		40.00	\$42.80	
1232 Juliet Ave		Citywide Street Lightin		0.59	40.00	\$23.60	11-20-25-41-0210
St Paul MN 55105-2903						\$66.40	
*1086 7TH ST W		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$66.40	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$66.40	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Con			120.00	<u> </u>	
836 Ottawa Ave	ST. PAUL LOTS 2 3 AND LOT 4 BLK	Citywide Street Lightin		0.59	120.00	\$70.80	***EXEMPT***
St Paul MN 55107-3521	1	-				\$199.20	
*754 RANDOLPH AVE		*** Owner and Taxpa	yer ***			¢177.20	
*Ward: 2			Total Assess	ment:		\$199.20	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$199.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Hilary Gallaher	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Comm		1.07	40.00	\$42.80	11-28-23-42-0004
Thomas Gallaher	ST. PAUL LOT 6 BLK 1	Citywide Street Lighting	3	0.59	40.00	\$23.60	
762 Randolph Ave						\$66.40	
5t Paul MN 55102-3414		*** Owner and Taxpaye	er ***				
*762 RANDOLPH AVE			Total Assess	sment:		\$66.40	
Ward: 2			This Paymer	nt:		\$0.00	
Pending as of: 8/21/2020			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$66.40	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Comm	nercial/Art			<u> </u>	
68 Randolph Ave	ST. PAUL LOT 7 BLK 1	Citywide Street Lighting		0.59	40.00	\$23.60	11-20-23-42-0003
t Paul MN 55102-3414						\$66.40	
768 RANDOLPH AVE		*** Owner and Taxpaye	er ***			\$00.10	
Ward: 2			Total Assess	sment:	-	\$66.40	
Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea			\$0.00	
			Payoff Amo	unt:		\$66.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		020SMSP #:	Assmt: 200025	Manager: LM	Page 2
Owner or Taxpayer	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Byron P Hawke	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	30.00	\$12.30	11-28-23-42-0008
495 View St	ST. PAUL S 30 FT OF LOTS 1 AND LOT 2 BLK 2	Alley Sweeping		0.12	76.00	\$9.12	
St Paul MN 55102-3823		Citywide Street Lighting	g	0.59	30.00	\$17.70	
*495 VIEW ST						\$39.12	
*Ward: 2		*** Owner ***					
*Pending as of: 8/21/2020			Total Assess	sment:		\$39.12	
			This Paymer	nt:		\$0.00	
			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	ount:		\$39.12	
	CLARKE'S ADDITION TO THE CITY OF ST. PAUL S 30 FT OF LOTS 1 AND LOT	*** Taxpayer and 3rd P	arty ***				11-28-23-42-0008
Susan F Hawke	2 BLK 2		Total Assess	sment:		\$39.12	
1021 Larpenteur Ave W Apt W107 Roseville MN 55113-6591			This Paymer	nt:		\$0.00	
			Current Year Principal: \$0.00				
*495 VIEW ST			Current Year Interest:			\$0.00	
*Ward: 2 *Pending as of: 8/21/2020			Payoff Amo	ount:		\$39.12	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	mercial/Art				
2800 Niagara Ln	ST. PAUL N 77 FT OF FOL LOTS 1 AND	Street Sweeping - Resid		0.41	77.00	\$31.57	11-20-23-42-0009
Plymouth MN 55447-4850	LOT 2 BLK 2	Citywide Street Lighting		0.59	153.00	\$90.27	
*786 RANDOLPH AVE						\$203.16	
*Ward: 2		*** Owner and Taxpaye	er ***			\$200110	
*Pending as of: 8/21/2020			Total Assess	sment:	•	\$203.16	
			This Paymer			\$0.00	
			Current Yea			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo	ount:		\$203.16	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 269
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michael E Ooms	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside		0.41	43.00	\$17.63	11-28-23-42-0010
489 View St	ST. PAUL EX N 77 FT AND EX S 30 FT THE FOL LOTS 1 AND LOT 2 BLK 2	Citywide Street Lighting	5	0.59	43.00	\$25.37	
St Paul MN 55102-3823		*** Owner and Taxpaye	***			\$43.00	
*489 VIEW ST *Ward: 2		Owner and Taxpaye					
*Pending as of: 8/21/2020			Total Assessm			\$43.00	
1 chung as 61. 6/21/2020			This Payment			\$0.00	
			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$43.00	
Randy L Tessmer	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Comm	nercial/Art	1.07	40.00	\$42.80	11-28-23-42-0011
794 Randolph Ave	ST. PAUL LOT 3 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3416		Citywide Street Lighting	3	0.59	40.00	\$23.60	
*794 RANDOLPH AVE						\$71.20	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$71.20	
			This Payment	•		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Comn	nercial/Art			\$42.80	<u> </u>
Laura J Wick	ST. PAUL LOT 9 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-42-0017
818 Randolph Ave		Citywide Street Lighting	3	0.59	40.00	\$23.60	
St Paul MN 55102-3416						\$71.20	
*818 RANDOLPH AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessm	nent:	=	\$71.20	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		•	Project: 2020SMSP Resolution #:		Manager: LM	Page 27
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Chris G Latterell	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Con	nmercial/Art	1.07	40.00	\$42.80	11-28-23-42-0019
824 Randolph Ave	ST. PAUL LOT 11 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3416		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*824 RANDOLPH AVE *Ward: 2		*** Owner and Taxpa	ver ***			\$71.20	
*Pending as of: 8/21/2020		1	Total Assess	nent:		\$71.20	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$71.20	
Steven L Strand	CLARKE'S ADDITION TO THE CITY OF ST. PAUL LOT 13 BLK 2	Street Sweeping - Con Alley Sweeping	nmercial/Art	0.12	40.00 40.00	\$42.80 \$4.80	11-28-23-42-0021
832 Randolph Ave		Citywide Street Lighti	na	0.12	40.00	\$23.60	
St Paul MN 55102-3416		Citywide Street Light	lig	0.59	40.00		
*832 RANDOLPH AVE *Ward: 2		*** Owner and Taxpa	yer ***			\$71.20	
*Pending as of: 8/21/2020			Total Assess	nent:		\$71.20	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$71.20	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Con	mercial/Art			\$42.80	
Deante L Hughes	ST. PAUL LOT 17 BLK 2	Alley Sweeping - Con	lineretal/Art	0.12	40.00	\$4.80	11-28-23-42-0025
844 Randolph Ave St Paul MN 55102-3416		Citywide Street Lighti	ng	0.59	40.00	\$23.60	
*844 RANDOLPH AVE			6			\$71.20	
*Ward: 2		*** Owner and Taxpa	yer ***			\$71.20	
*Pending as of: 8/21/2020			Total Assess	nent:	-	\$71.20	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Timothy R Karel	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-42-0026
344 Bay St	ST. PAUL LOT 18 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3210		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*850 RANDOLPH AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$71.20	
*Pending as of: 8/21/2020			Total Assess	ment:		\$71.20	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$71.20	
Catherine M Clemente	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com			40.00	\$42.80	<u> </u>
Louis S Clemente	ST. PAUL LOT 19 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-42-0027
852 Randolph Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3416						\$71.20	
*852 RANDOLPH AVE		*** Owner and Taxpay	/er ***			<i><i><i>ϕ</i></i>, 1,2,0</i>	
*Ward: 2			Total Assess	ment:	-	\$71.20	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$71.20	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	<u> </u>	<u> </u>
805 Hilltop Rd	ST. PAUL LOT 23 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 12 0001
Mendota Heights MN 55118-4324		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*853 JUNO AVE					_	\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page	
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Andrea C Bougie	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-42-0037	
Paul G Boedigheimer	ST. PAUL LOT 29 BLK 2	Alley Sweeping		0.12	40.00	\$4.80		
829 Juno Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60		
St Paul MN 55102-3821						\$44.80		
*829 JUNO AVE		*** Owner and Taxpay	er ***					
*Ward: 2			Total Assessn	nent:		\$44.80		
*Pending as of: 8/21/2020			This Payment			\$0.00		
			Current Year			\$0.00		
			Current Year	-		\$0.00		
			Payoff Amou	int:		\$44.80		
Michael Cabot	CLARKE'S ADDITION TO THE CITY OF ST. PAUL LOT 30 BLK 2	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-42-0038	
Jennifer S Savitt	STITUELOT SUBER 2	Alley Sweeping Citywide Street Lightin	~	0.12 0.59	40.00 40.00	\$4.80 \$23.60		
327 Juno Ave		Citywide Street Lighting	g	0.39	40.00			
St Paul MN 55102-3821		*** 0 1 T	4-4-4-			\$44.80		
*827 JUNO AVE		*** Owner and Taxpay	er ***		-			
Ward: 2			Total Assessn	nent:		\$44.80		
*Pending as of: 8/21/2020			This Payment			\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$44.80		
Carrie Schwandt	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>	<u> </u>	
823 Juno Ave	ST. PAUL LOT 31 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	11 #0 #0-7#-0007	
St Paul MN 55102-3821		Citywide Street Lightin	g	0.59	40.00	\$23.60		
*823 JUNO AVE						\$44.80		
*Ward: 2		*** Owner and Taxpay	er ***					
Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80		
			This Payment:			\$0.00		
			Current Year			\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	nt:		\$44.80		

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Yasha Horstmann	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-42-0045
301 Juno Ave	ST. PAUL LOT 37 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3821		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*801 JUNO AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:	\$0.00		
			Current Year	Interest:		\$0.00	
			Payoff Amo	int:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
•	ST. PAUL LOT 39 BLK 2	Alley Sweeping	uential Stree	0.41	40.00	\$10.40	11-28-23-42-0047
793 Juno Ave		Citywide Street Lightin	ισ	0.12	40.00	\$23.60	
St Paul MN 55102-3821		enywide Succe Eightin	15	0.57		\$44.80	
*793 JUNO AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
Pending as of: 8/21/2020		1 5	Total Assess			\$44.80	
5			Total Assess This Paymen			\$44.80 \$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	
			Tayon Amo	int.		944.00	
Susan Dubois	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	78.00	\$31.98	11-28-23-42-0049
'86 Juno Ave	ST. PAUL LOT 1 BLK 3	Alley Sweeping		0.12	36.00	\$4.32	
St Paul MN 55102-3822		Citywide Street Lightin	ıg	0.59	78.00	\$46.02	
*786 JUNO AVE						\$82.32	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$82.32	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	int:		\$82.32	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Elizabeth R Efron	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-42-0051
96 Juno Ave	ST. PAUL LOT 3 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
5t Paul MN 55102-3822		Citywide Street Lightir	ng	0.59	40.00	\$23.60	
796 JUNO AVE						\$44.80	
Ward: 2		*** Owner and Taxp					
Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Anna M Sidie-Slettedahl	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
Corey J Slettedahl	ST. PAUL LOT 7 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-42-0055
orey J Stettedani 10 Juno Ave		Citywide Street Lightir	ισ	0.12	40.00	\$23.60	
: Paul MN 55102-3822		eng mae suber Lighti	-8	0107			
810 JUNO AVE		*** Owner and Taxpay	/er ***			\$44.80	
Ward: 2			Total Assess	mont		\$44.80	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	
				unt.		J44.00	
raig Van Elsen	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-42-0064
46 Juno Ave	ST. PAUL LOT 16 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
t Paul MN 55102-3822		Citywide Street Lightir	ıg	0.59	40.00	\$23.60	
846 JUNO AVE						\$44.80	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	ential Stree	0.41	40.00	\$16.40	11-28-23-42-0065
Kenneth Deyo	ST. PAUL LOT 17 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
850 Juno Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3822						\$44.80	
*850 JUNO AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	antial Strac		77.50	\$31.78	
Jessica E Brezman	ST. PAUL LOT 20 BLK 3	Alley Sweeping - Kesid	ciluar Succ	0.41	35.00	\$4.20	11-28-23-42-0068
860 Juno Ave		Citywide Street Lighting	σ	0.12	77.50	\$45.73	
St Paul MN 55102-3822		Shy white Street Eighting	5	0.57		\$81.71	
*860 JUNO AVE *Ward: 2		*** Owner and Taxpaye	-r ***			\$81./1	
*Pending as of: 8/21/2020							
1 chang as of. 0,21,2020			Total Assessm			\$81.71	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$81.71	
Laura Lee Shrode	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-42-0072
841 Armstrong Ave	ST. PAUL LOT 26 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3815		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*841 ARMSTRONG AVE *Ward: 2		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020		und rampuye				£44.00	
6			Total Assessment:			\$44.80	
			This Payment: Current Year Principal:			\$0.00 \$0.00	
			Current Year I	1		\$0.00 \$0.00	
			Current rear	interest.		\$0.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Helen Ali Basha	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-42-0074
833 Armstrong Ave	ST. PAUL LOT 28 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3801		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*833 ARMSTRONG AVE		*** Owner and Taxpay	***			\$44.80	
*Ward: 2 *Pending as of: 8/21/2020		Owner and Taxpay					
1 chung as 01. 8/21/2020			Total Assess			\$44.80	
			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Ryan S Clinton	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree			<u>\$16.40</u>	<u> </u>
Kristi M Clinton	ST. PAUL LOT 31 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-42-0077
823 Armstrong Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3815			8			\$44.80	
*823 ARMSTRONG AVE		*** Owner and Taxpay	yer ***			\$44.00	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	
Gary J Vanderkelen Trustee	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	
	ST. PAUL LOT 33 BLK 3	Alley Sweeping	aonnai Suot	0.41	40.00	\$4.80	11-28-23-42-0079
Marline A Vanderkelen Trustee		Citywide Street Lightin	no	0.12	40.00	\$23.60	
11355 24th St Court N		Shij wate Saleet Eightii		0.57			
Lake Elmo MN 55042-0045 *815 ARMSTRONG AVE		*** Owner and Taxpay	yer ***			\$44.80	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page	
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Joseph D Sundberg	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-42-0080	
811 Armstrong Ave	ST. PAUL LOT 34 BLK 3	Alley Sweeping		0.12	40.00	\$4.80		
St Paul MN 55102-3815		Citywide Street Lightin	g	0.59	40.00	\$23.60		
*811 ARMSTRONG AVE *Ward: 2		*** Owner and Taxpay	er ***			\$44.80		
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80		
			This Payment	:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$44.80		
Robert J Geehan Sr Trustee	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	<u>\$16.40</u>		
Elizabeth L Geehan Trustee	ST. PAUL LOT 35 BLK 3	Alley Sweeping	iential Stree	0.12	40.00	\$4.80	11-28-23-42-0081	
805 Armstrong Ave		Citywide Street Lightin	ø	0.59	40.00	\$23.60		
St Paul MN 55102-3815		eng mae Sueer Eignun	9	0.05		\$44.80		
*805 ARMSTRONG AVE		*** Owner and Taxpay	er ***			\$44.80		
*Ward: 2			Total Assessr	nent:		\$44.80		
*Pending as of: 8/21/2020			This Payment	:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$44.80		
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>		
801 Armstrong Ave	ST. PAUL LOT 36 BLK 3	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-72-0002	
St Paul MN 55102-3815		Citywide Street Lightin	g	0.59	40.00	\$23.60		
*801 ARMSTRONG AVE						\$44.80		
*Ward: 2		*** Owner and Taxpay	er ***			•		
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80		
			This Payment	:		\$0.00		
			Current Year	Principal:		\$0.00		
			Current Year	Interest:		\$0.00		
			Payoff Amou	int:		\$44.80		

10:54:40 11/16/2020	Public Improvement Assessment Roll by		ject: 2020SMSP olution #:	Assmt: 200025	Manager: LM	Page 278
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michael E Smith	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Residential	Stree 0.41	40.00	\$16.40	11-28-23-42-0083
Verna M Smith	ST. PAUL LOT 37 BLK 3	Alley Sweeping	0.12	40.00	\$4.80	
799 Armstrong Ave		Citywide Street Lighting	0.59	40.00	\$23.60	
St Paul MN 55102-3815					\$44.80	
*799 ARMSTRONG AVE		*** Owner and Taxpayer ***				
*Ward: 2		Tota	Assessment:		\$44.80	
*Pending as of: 8/21/2020		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Residential	Stree 0.41	40.00	<u> </u>	
752 Juno Ave	ST. PAUL LOT 3 BLK 4	Citywide Street Lighting	0.59	40.00	\$23.60	11-28-23-42-008/
St Paul MN 55102-3820		, , , , , ,		_	\$40.00	
*752 JUNO AVE		*** Owner and Taxpayer ***			φ+0.00	
*Ward: 2		Tota	Assessment:	-	\$40.00	
*Pending as of: 8/21/2020		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$40.00	
Christian N Iwen	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Residential	Stree 0.41		<u> </u>	
764 Juno Ave	ST. PAUL LOT 6 BLK 4	Citywide Street Lighting	0.59	40.00	\$23.60	11-28-23-42-0090
St Paul MN 55102-3820		, 66			\$40.00	
*764 JUNO AVE		*** Owner and Taxpayer ***			\$ 1 0.00	
*Ward: 2		Tota	Assessment:		\$40.00	
*Pending as of: 8/21/2020		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
			off Amount:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
David L Clemenson	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi		0.41	40.00	\$16.40	11-28-23-42-0091
Donna C Clemenson	ST. PAUL LOT 7 BLK 4	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
766 Juno Ave						\$40.00	
St Paul MN 55102-3820		*** Owner and Taxpa	yer ***				
*766 JUNO AVE			Total Assessr	nent:		\$40.00	
Ward: 2			This Payment	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$40.00	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	idential Stree			<u> </u>	11-28-23-42-0095
Barbara B Gardner	ST. PAUL S 1/3 OF LOTS 9 10 AND Lot 11 BLK 4	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
905 River Ridge Rd	LOT ITBEK 4					\$40.00	
Bloomington MN 55425-2182		*** Owner and Taxpa	yer ***				
522 VIEW ST			Total Assessr	nent:	-	\$40.00	
Ward: 2			This Payment	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree				
768 Randolph Ave	ST. PAUL W 19 63/100 FT OF LOT 13	Citywide Street Lightin		0.59	20.00	\$11.80	11-20-23-42-0077
t Paul MN 55102-3414	BLK 4					\$20.00	
783 ARMSTRONG AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessr	nent:		\$20.00	
Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$20.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Spence Specialties Llc	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Res		0.41	40.00	\$16.40	11-28-23-42-0100
1075 Hudson Rd	ST. PAUL LOT 15 BLK 4	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
St Paul MN 55106-6107						\$40.00	
*773 ARMSTRONG AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Res	idential Stree			<u> </u>	<u> </u>
763 Armstrong Ave	ST. PAUL LOT 18 BLK 4	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3813						\$40.00	
763 ARMSTRONG AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Res	idential Stree			<u> </u>	11-28-23-42-0104
757 Armstrong Ave	ST. PAUL LOT 19 BLK 4	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3813						\$40.00	
757 ARMSTRONG AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymen	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Lawrence Kasella Jr	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid		0.41	50.00	\$20.50	11-28-23-42-0109
Nancy E Kasella	ST. PAUL E 10 FT OF N 98 FT OF LOT 4 AND ALL OF LOT 3 BLK 5	Citywide Street Lighting	g	0.59	50.00	\$29.50	
525 7th St E						\$50.00	
St Paul MN 55101-2421		*** Owner and Taxpaye	er ***				
*766 ARMSTRONG AVE *Ward: 2			Total Assess	ment:		\$50.00	
" ward: 2 Pending as of: 8/21/2020			This Paymen			\$0.00	
rending as 01. 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	int:		\$50.00	
Patrick J Donohue	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	nercial/Art		40.00	\$42.80	11-28-23-42-0113
Kathleen M Donohue	ST. PAUL EX ST LOT 15 BLK 5	Citywide Street Lighting		0.59	40.00	\$23.60	
1035 7th St W						\$66.40	
St Paul MN 55102-3827		*** Owner and Taxpaye	er ***				
*1173 7TH ST W			Total Assess	ment:		\$66.40	
*Ward: 2			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	int:		\$66.40	
Realty Income Properties 3 Llc	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	nercial/Art				
Attn Portfolio Management	ST. PAUL EX 7TH ST THE FOL PART S	Street Sweeping - Resid		0.41	168.00	\$68.88	
1995 El Camino Real Ste 101	OF ARMSTRONG AVE OF LOTS 18 19 AND 20 BLK 1 SCHEFFERS ADD AND	Citywide Street Lighting	g	0.59	352.00	\$207.68	
San Diego CA 92130-2565	IN SD CLARKES ADD LOTS 22 23 AND					\$473.44	
*1125 7TH ST W	LOT 24 BLK 5	*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assess	ment:	-	\$473.44	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$473.44	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Stephanie Nonnemacher	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-42-0120
James Nonnemacher	ST. PAUL LOT 2 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
790 Armstrong Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3816						\$44.80	
*790 ARMSTRONG AVE		*** Owner and Taxpay	ver ***				
*Ward: 2			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid				<u> </u>	
Jill K Johnson	ST. PAUL LOT 5 BLK 6	Alley Sweeping	lential Stree	0.41	40.00	\$10.40	11-28-23-42-0123
26205 Oakleaf Trl		Citywide Street Lightin	a	0.12	40.00	\$23.60	
Excelsior MN 55331-8483		Citywide Street Eightin	ig	0.57	+0.00		
*802 ARMSTRONG AVE		*** Owner and Taxpay	·~* ***			\$44.80	
*Ward: 2		Owner and Taxpay					
*Pending as of: 8/21/2020			Total Assess			\$44.80	
			This Paymen			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Jeffrey J Jarzynski	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree			<u>\$16.40</u>	
Deanna R Spores	ST. PAUL LOT 6 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-42-0124
806 Armstrong Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3816						\$44.80	
*806 ARMSTRONG AVE		*** Owner and Taxpay	ver ***			ψ11.00	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 23
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Barbara M Phillips	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-42-0125
808 Armstrong Ave	ST. PAUL LOT 7 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3816		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*808 ARMSTRONG AVE		*** Owner and Taxpay	***			\$44.80	
*Ward: 2		When and Taxpay	/er ++++				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree			<u> </u>	
Cary A Armstead	ST. PAUL LOT 9 BLK 6	Alley Sweeping	dential Stree	0.41	40.00	\$4.80	11-28-23-42-0127
Kathleen A Armstead		Citywide Street Lightin	ıσ	0.12	40.00	\$23.60	
818 Armstrong Ave St Paul MN 55102-3816		City while Subort Eightin	-8	0.07			
*818 ARMSTRONG AVE		*** Owner and Taxpay	/er ***			\$44.80	
*Ward: 2						<u></u>	
*Pending as of: 8/21/2020			Total Assess			\$44.80	
6			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$44.80	
Thomas G Johnson	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	
Laronda D Johnson	ST. PAUL LOT 16 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
844 Armstrong Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-3816						\$44.80	
*844 ARMSTRONG AVE		*** Owner and Taxpay	/er ***				
*Ward: 2			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Ryan D Tolzmann	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-42-0137
354 Armstrong Ave	ST. PAUL LOT 19 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3816		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*854 ARMSTRONG AVE		*** Owner and Taxpayer	r ***			\$44.80	
Pending as of: 8/21/2020			Total Assessm	ient:		\$44.80	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
Patricia L Baribeau	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41		\$31.78	
856 Armstrong Ave	ST. PAUL LOT 20 BLK 6	Alley Sweeping		0.12	35.00	\$4.20	11-20-25-42-0150
St Paul MN 55102-3816		Citywide Street Lighting	5	0.59	77.50	\$45.73	
*856 ARMSTRONG AVE						\$81.71	
*Ward: 2		*** Owner and Taxpayer	r ***			φ01.71	
Pending as of: 8/21/2020			Total Assessm	ent:		\$81.71	
			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$81.71	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree			<u>\$16.40</u>	<u> </u>
Alison Curtis	ST. PAUL LOT 23 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-42-0141
351 Watson Ave		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55102-3917						\$44.80	
*851 WATSON AVE		*** Owner and Taxpayer	r ***				
Ward: 2			Total Assessm	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Principal:			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Brock J Behling	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-42-0145
Danielle P Behling	ST. PAUL LOT 27 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
835 Watson Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-3917					_	\$44.80	
*835 WATSON AVE		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assessm	nent:		\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	
		Street Surveying Decid	1			<u> </u>	
Hunter R Miley Trustee	CLARKE'S ADDITION TO THE CITY OF ST. PAUL LOT 33 BLK 6	Street Sweeping - Resid Alley Sweeping	iential Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-42-0151
Hunter R Miley Seperate Property Tr		Citywide Street Lighting	a	0.12	40.00	\$4.80 \$23.60	
171 Mayhew Way Ste 220		Citywide Street Lighting	g	0.39	40.00		
Pleasant Hill CA 94523-7304 *811 WATSON AVE		*** Owner and Taxpay	er ***			\$44.80	
*Ward: 2		o wher and ranpays					
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
1 chung as 01. 0/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	
Christopher Jobst	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree		40.00	\$16.40	
807 Watson Ave	ST. PAUL LOT 35 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 12 0100
St Paul MN 55102-3917		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*807 WATSON AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Jessica L Teske	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-42-0154
1772 Lafayette Ln	ST. PAUL LOT 36 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
Mound MN 55364-1123		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*803 WATSON AVE *Ward: 2		*** Owner and Taxpaye	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	it:		\$44.80	
Christopher S Leininger	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41		\$24.60	
794 Watson Ave	ST. PAUL W 1/2 OF LOT 2 AND ALL	Alley Sweeping		0.12	60.00	\$7.20	11-20-25-42-0157
St Paul MN 55102-3918	OF LOT 3 BLK 7	Citywide Street Lighting	z	0.59	60.00	\$35.40	
*792 WATSON AVE						\$67.20	
*Ward: 2		*** Owner and Taxpayer ***				07.20	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$67.20	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	nt:		\$67.20	
Ronald J Currier	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	11-28-23-42-0165
Karen M Currier	ST. PAUL LOT 9 BLK 7	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 12 0105
818 Watson Ave		Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55102-3918					_	\$44.80	
*818 WATSON AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessme	ent:		\$44.80	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Principal:				
			Current Year In	-		\$0.00	
			Payoff Amoun	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Ciro O Herrera	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-42-0171
840 Watson Ave	ST. PAUL LOT 15 BLK 7	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3918		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*840 WATSON AVE *Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$44.80	
			This Payment	•		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	77.50	\$31.78	
Dwight C Larson	ST. PAUL LOT 21 BLK 7	Alley Sweeping - Kesic	iential Stree	0.41	35.00	\$4.20	11-28-23-42-0177
6317 Parnell Ave		Citywide Street Lightin	σ	0.12	77.50	\$45.73	
Minneapolis MN 55435-1511		City white Street Eightin	5	0.57			
*859 TUSCARORA AVE *Ward: 2		*** Owner and Taxpay	er ***			\$81.71	
*Pending as of: 8/21/2020			Total Assessm	nent:		\$81.71	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$81.71	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree			<u>\$16.40</u>	
845 Tuscarora Ave	ST. PAUL LOT 25 BLK 7	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-72-0101
St Paul MN 55102-3931		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*845 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessm			\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Michael J Schultz	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-42-0182
839 Tuscarora Ave	ST. PAUL LOT 26 BLK 7	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3931		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*839 TUSCARORA AVE *Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessm	ment:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree		40.00	<u>\$16.40</u>	
Efrayn Franquiz	ST. PAUL LOT 29 BLK 7	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-42-0105
829 Tuscarora Ave		Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55102-3931		, ,	0			\$44.80	
*829 TUSCARORA AVE		*** Owner and Taxpay	er ***			\$44.00	
*Ward: 2			Total Assessm	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41		<u> </u>	11-28-23-42-0186
825 Tuscarora Ave	ST. PAUL LOT 30 BLK 7	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3931		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*825 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessm	ment:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by		Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description]	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Teresa M Glass	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	11-28-23-42-0190
807 Tuscarora Ave	ST. PAUL LOT 34 BLK 7	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3931		Citywide Street Lighting		0.59	40.00	\$23.60	
*807 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		т Т	Fotal Assessme	ent:		\$44.80	
		Т	This Payment:			\$0.00	
		0	Current Year P	rincipal:		\$0.00	
		0	Current Year Ir	nterest:		\$0.00	
		P	Payoff Amoun	it:		\$44.80	
			<u> </u>				
Luke Salverda	CLARKE'S ADDITION TO THE CITY OF ST. PAUL LOT 35 BLK 7	Street Sweeping - Residen	ntial Stree	0.41 0.12	40.00 40.00	\$16.40 \$4.80	11-28-23-42-0191
Julie A Salverda		Alley Sweeping Citywide Street Lighting		0.12	40.00	\$4.80 \$23.60	
803 Tuscarora Ave		Citywide Street Lighting		0.39	40.00		
St Paul MN 55102-3931 *803 TUSCARORA AVE		*** Owner and Taxpayer	***			\$44.80	
*Ward: 2		-			<u>.</u>	¢44.00	
*Pending as of: 8/21/2020			Fotal Assessme	ent:		\$44.80	
8			This Payment:			\$0.00	
			Current Year P	-		\$0.00	
			Current Year Ir			\$0.00	
		P	Payoff Amoun	it:		\$44.80	
Lawrence Kasella Jr	REARRANGEMENT OF BLOCK 12	Street Sweeping - Residen	ntial Stree	0.41	91.00	\$37.31	<u> </u>
Nancy E Kasella	CLARKES ADDITION TO ST. PAUL	Citywide Street Lighting		0.59	91.00	\$53.69	
525 7th St E	LOT 12 BLK 12					\$91.00	
St Paul MN 55101-2421		*** Owner and Taxpayer	***			ψ21.00	
*763 TUSCARORA AVE		- T	Fotal Assessme	ent:		\$91.00	
*Ward: 2		Т	This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year P	rincipal:		\$0.00	
			Current Year Ir	-		\$0.00	
			Payoff Amoun			\$91.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 290
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Gene T Szondy 761 Tuscarora Ave	REARRANGEMENT OF BLOCK 12 CLARKES ADDITION TO ST. PAUL	Street Sweeping - Res Citywide Street Light		0.41	40.00	\$16.40 \$23.60	11-28-23-42-0202
St Paul MN 55102-3907	LOT 13 BLK 12					\$40.00	
*761 TUSCARORA AVE		*** Taxpayer and 3rd	d Party ***			\$10.00	
*Ward: 2			Total Assessm	nent:		\$40.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$40.00	
Patrick J Ackerman Jr	REARRANGEMENT OF BLOCK 12	*** Owner ***					11-28-23-42-0202
Lisa Ackerman	CLARKES ADDITION TO ST. PAUL LOT 13 BLK 12		Total Assessm	nent:	-	\$40.00	
761 Tuscarora Ave			This Payment			\$0.00	
St Paul MN 55102-3907			Current Year			\$0.00	
*761 TUSCARORA AVE			Current Year	Interest:		\$0.00	
*Ward: 2 *Pending as of: 8/21/2020			Payoff Amou	nt:		\$40.00	
Cynthia D Pierre	REARRANGEMENT OF BLOCK 12	Street Sweeping - Res	sidential Stree		40.00	<u> </u>	<u> </u>
Theron M Pierre	CLARKES ADDITION TO ST. PAUL	Citywide Street Light		0.59	40.00	\$23.60	
755 Tuscarora Ave	LOT 15 BLK 12					\$40.00	
St Paul MN 55102-3905		*** Owner and Taxpa	ayer ***				
*755 TUSCARORA AVE			Total Assessm	nent:		\$40.00	
*Ward: 2			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$40.00	
Hassan Ali	REARRANGEMENT OF BLOCK 12 CLARKES ADDITION TO ST. PAUL	Street Sweeping - Res		0.41	40.00	\$16.40 \$22.60	11-28-23-42-0206
6599 Channel Rd Ne	LOT 17 BLK 12	Citywide Street Light	ung	0.59	40.00	\$23.60	
Minneapolis MN 55432-4628		*** Over and Taxe	orron ***			\$40.00	
*747 TUSCARORA AVE		*** Owner and Taxpa	ayer · · ·				
*Ward: 2 *Panding as of: 8/21/2020			Total Assessm			\$40.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 291
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Hunter Robert Miley Trustee	REARRANGEMENT OF BLOCK 12	Street Sweeping - Con		1.07	80.00	\$85.60	11-28-23-42-0207
Lisa L Miley Trustee	CLARKES ADDITION TO ST. PAUL SUBJ TO ST; LOTS 3 4 & LOT 18 BLK	Citywide Street Lighti	ng	0.59	80.00	\$47.20	
Po Box 16281	12	*** 0 1 5	ste ste ste			\$132.80	
St Paul MN 55116-0281 * 1164 7TH ST W		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessr			\$132.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
1 chung as 61. 6/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$132.80	
St Peters Evangelical	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Res	idential Stree		275.00	\$112.75 	11-28-23-42-0209
Lutheran Church Unaltered Aug	ST. PAUL LOTS 21 THRU LOT 24 BLK 3	Alley Sweeping		0.12	155.00	\$18.60	
849 Armstrong Ave		Citywide Street Lighti	ng	0.59	275.00	\$162.25	
St Paul MN 55102-3815						\$293.60	
*530 VICTORIA ST S		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assessr	nent:		\$293.60	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$293.60	
Oreilly Auto Enterprises Llc	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Con	nmercial/Art			\$62.06	<u> </u>
Co Ryan Llc	ST. PAUL LOTS 36 THRU LOT 39 AND	Street Sweeping - Res		0.41	234.00	\$95.94	
Po Box 9167	EX WIDENED 7TH ST LOT 40 BLK 7	Alley Sweeping		0.12	195.00	\$23.40	
Springfield MO 65801-9167		Citywide Street Lighti	ng	0.59	292.00	\$172.28	
*1209 7TH ST W						\$353.68	
*Ward: 2		*** Owner and Taxpa	yer ***		-		
*Pending as of: 8/21/2020			Total Assessr	nent:		\$353.68	
			This Payment	:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$353.68	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 292
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Bj Commercial Llc	Ex Street; Lots 5,6 And Lot 7 Blk 12	Street Sweeping - Com		1.07	120.00	\$128.40	11-28-23-42-0212
C/O Dan Bjornson		Citywide Street Lightin	ıg	0.59	120.00	\$70.80	
826 Tuscarora Ave						\$199.20	
St Paul MN 55102-3913		*** Owner and Taxpay	er ***				
*1174 7TH ST W			Total Assessr	ment:		\$199.20	
*Ward: 2			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$199.20	
James P Redmond	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	mercial/Art		40.00	\$42.80	<u> </u>
1261 7th St W	ST. PAUL EX ST LOT 9 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	11-28-25-45-0008
St Paul MN 55102-4135		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*1261 7TH ST W						\$71.20	
*Ward: 2		*** Owner and Taxpay	'er ***				
*Pending as of: 8/21/2020			Total Assessr	ment:		\$71.20	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$71.20	
		Street Sweeping - Com			40.00	\$42.80	
1269 West 7th St Llc	CLARKE'S ADDITION TO THE CITY OF ST. PAUL EX ST LOT 11 BLK 8	Alley Sweeping	mercial/Art	0.12	40.00	\$42.80 \$4.80	11-28-23-43-0010
C/O Shane Haggerty 2300 Urbandale Ln		Citywide Street Lightin	g	0.12	40.00	\$23.60	
Plymouth MN 55447-2034		, 6	0			\$71.20	
*1269 7TH ST W		*** Owner and Taxpay	ver ***			\$71.20	
*Ward: 2			Total Assessr	nent:		\$71.20	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	ınt:		\$71.20	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 29
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Joseph Fisher Corferro	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	mercial/Art	1.07	40.00	\$42.80	11-28-23-43-0012
Alexandra Elizabeth Corferro	ST. PAUL EX ST LOT 14 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	
1291 7th St W		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-4135						\$71.20	
*1291 7TH ST W		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:		\$71.20	
*Pending as of: 8/21/2020			This Paymer	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$71.20	
Francene Lizette Young Lee	CLARKE'S ADDITION TO THE CITY OF ST. PAUL LOT 29 BLK 8	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-43-0016
852 Tuscarora St	SI. FAUL LUI 29 BLK 6	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3913		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*852 TUSCARORA AVE			***			\$44.80	
*Ward: 2		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Adam D Wiemann	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	
James Wiemann	ST. PAUL LOT 32 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-43-0019
842 Tuscarora Ave		Citywide Street Lightir	19	0.59	40.00	\$23.60	
St Paul MN 55102-3913			-8			\$44.80	
*842 TUSCARORA AVE		*** Owner and Taxpay	yer ***			\$44.80	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Chayo L Smith	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40	11-28-23-43-0022
830 Tuscarora Ave	ST. PAUL LOT 35 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3913		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*830 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***				
*Pending as of: 8/21/2020			Total Assess	ment:	-	\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
Daniel J Bjornson	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree		40.00	<u>\$16.40</u>	
	ST. PAUL LOT 36 BLK 8	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-43-0023
Maryjo J Bjornson 826 Tuscarora Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-3913			-0			\$44.80	
*826 TUSCARORA AVE		*** Owner and Taxpay	/er ***			\$44.80	
*Ward: 2			Total Assess	ment:		\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
			<u> </u>				
Daniel J Bjornson	CLARKE'S ADDITION TO THE CITY OF ST. PAUL LOT 37 BLK 8	Street Sweeping - Resi	dential Stree	0.41	40.00	\$16.40 \$6.24	11-28-23-43-0024
Mary Jo Bjornson	Sinned Let S, BER S	Alley Sweeping Citywide Street Lightir	10	0.12 0.59	52.00 40.00	\$6.24 \$23.60	
826 Tuscarora Ave		Citywide Succi Lightii	15	0.39	40.00		
St Paul MN 55102-3913 *822 TUSCARORA AVE		*** Owner and Taxpay	/er ***			\$46.24	
*Ward: 2			Total Assess	ment:		\$46.24	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$46.24	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 2	
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>	
Mccormick Gustafson	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resider	ntial Stree	0.41	95.00	\$38.95	11-28-23-43-0025	
808 Tuscarora Ave	ST. PAUL LOT 38 BLK 8	Alley Sweeping		0.12	131.00	\$15.72		
St Paul MN 55102		Citywide Street Lighting		0.59	95.00	\$56.05		
*808 TUSCARORA AVE						\$110.72		
*Ward: 2		*** Owner and Taxpayer	***					
*Pending as of: 8/21/2020		- 1	Total Assessm	nent:		\$110.72		
		Т	This Payment:			\$0.00		
		(Current Year I	Principal:		\$0.00		
		(Current Year I	Interest:		\$0.00		
		F	Payoff Amou	nt:		\$110.72		
Kvk Enterprises Inc	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Comme	ercial/Art		32.00	\$34.24		
Co The Wicker Shop	ST. PAUL SUBJ TO ST AND EX SWLY 8	Street Sweeping - Resider		0.41	113.00	\$46.33	11-28-23-43-0026	
2190 Marshall Ave	FT LOT 1 BLK 9	Citywide Street Lighting		0.59	145.00	\$85.55		
St Paul MN 55105-5758		, , , , , , , , , , , , , , , , , , , ,				\$166.12		
*1250 7TH ST W		*** Owner and Taxpayer	***			\$100.12		
*Ward: 2		- T	Total Assessm	ient:		\$166.12		
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00		
		(Current Year I	Principal:		\$0.00		
		(Current Year I	Interest:		\$0.00		
		F	Payoff Amou	nt:		\$166.12		
Emk Holding Co Llc	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Comme	ercial/Art		40.00	\$42.80		
80 Virginia St	ST. PAUL EX ST LOT 8 BLK 9	Citywide Street Lighting		0.59	40.00	\$23.60	11-20-23-43-0033	
St Paul MN 55102-2114		,				\$66.40		
*1286 7TH ST W		*** Owner and Taxpayer	. ***			\$00. 4 0		
*Ward: 2		- T	Total Assessm	nent:		\$66.40		
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00		
			Current Year I			\$0.00		
			Current Year I	-		\$0.00		
		F	Payoff Amou	nt:		\$66.40		

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 25
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Matthew C Gravelle	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	80.00	\$32.80	11-28-23-43-0038
Jessica M Nagel	ST. PAUL LOTS 2 & LOT 3 BLK 11	Alley Sweeping		0.12	80.00	\$9.60	
752 Tuscarora Ave		Citywide Street Lightin	ng	0.59	80.00	\$47.20	
St Paul MN 55102-3908		*** Owner and Taxpay	70r ***			\$89.60	
*752 TUSCARORA AVE *Ward: 2		Owner and Taxpay					
*Pending as of: 8/21/2020			Total Assessn			\$89.60	
1 chung as 61. 6/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	nt:		\$89.60	
Joellyn H Reinke	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	<u> </u>	11-28-23-43-0042
768 Tuscarora Ave	ST. PAUL LOT 7 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3908		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
768 TUSCARORA AVE					_	\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***			• • •	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment			\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	<u>\$16.40</u>	
772 Tuscarora Ave	ST. PAUL LOT 8 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-43-0043
St Paul MN 55102-3908		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
772 TUSCARORA AVE						\$44.80	
*Ward: 2		*** Owner and Taxpay	/er ***			<i>Q</i> 1 1 1 0 0	
*Pending as of: 8/21/2020			Total Assessn	nent:		\$44.80	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 29
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Nicholas Andretta	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-43-0044
74 Tuscarora Ave	ST. PAUL LOT 9 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-3908		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
*774 TUSCARORA AVE						\$44.80	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
			<u> </u>				
Katherine K Ator	CLARKE'S ADDITION TO THE CITY OF ST. PAUL LOTS 10 AND LOT 11 BLK	Street Sweeping - Resid Alley Sweeping	dential Stree	0.41 0.12	75.00 121.50	\$30.75 \$14.58	11-28-23-43-0045
78 Tuscarora Ave	11	Citywide Street Lightin		0.12	75.00	\$14.38 \$44.25	
t Paul MN 55102-3908		Citywide Street Lightin	ig	0.39	/3.00		
778 TUSCARORA AVE		*** Owner and Taxpay	10r ***			\$89.58	
Ward: 2 Pending as of: 8/21/2020		Owner and Taxpay					
rending as 01. 8/21/2020			Total Assess			\$89.58	
			This Paymen			\$0.00	
			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$89.58	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Com	mercial/Art		45.00	\$48.15	<u> </u>
o Box 4599	ST. PAUL EX ST THE SWLY 3 FT OF	Alley Sweeping		0.12	45.00	\$5.40	
Charleston WV 25364-4598	LOT 14 AND ALL OF LOT 15 BLK 11	Citywide Street Lightin	ng	0.59	45.00	\$26.55	
1222 7TH ST W						\$80.10	
Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$80.10	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$80.10	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Diane D Kline	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resi	dential Stree	0.41	136.00	\$55.76	11-28-23-43-0052
791 Bayard Ave	ST. PAUL LOTS 20 21 AND LOT 22 BLK 11	Alley Sweeping		0.12	186.00	\$22.32	
St Paul MN 55102-4101	DLK 11	Citywide Street Lightir	ng	0.59	136.00	\$80.24	
*791 BAYARD AVE						\$158.32	
*Ward: 2		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assessr	nent:		\$158.32	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$158.32	
Johanna C Tacheny	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	<u> </u>
785 Bayard Ave	ST. PAUL LOT 23 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	11-28-23-43-0053
St Paul MN 55102-4101		Citywide Street Lightir	ng	0.59	40.00	\$23.60	
*785 BAYARD AVE		, ,	0		_	\$44.80	
*Ward: 2		*** Owner and Taxpay	yer ***			\$44.00	
*Pending as of: 8/21/2020			Total Assessr	ment:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$44.80	
	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	dential Stree	0.41	40.00	<u>\$16.40</u>	
771 Bayard Ave	ST. PAUL LOT 27 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-43-003/
St Paul MN 55102-4101		Citywide Street Lightir	ng	0.59	40.00	\$23.60	
*771 BAYARD AVE		-				\$44.80	
*Ward: 2		*** Owner and Taxpay	yer ***			÷ · · · · · ·	
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 25
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Paula Zenker	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-43-0058
3393 115th St	ST. PAUL LOT 28 BLK 11	Alley Sweeping		0.12	40.00	\$4.80	
Frederic WI 54837-4617		Citywide Street Lighting	g	0.59	40.00	\$23.60	
*767 BAYARD AVE		*** 0 1 T			_	\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$44.80	
Adam Hanson Tafel	CLARKE'S ADDITION TO THE CITY OF ST. PAUL E 1 FT OF LOT 32 AND ALL	Street Sweeping - Resid Alley Sweeping	lential Stree	0.41 0.12	41.00 41.00	\$16.81 \$4.92	11-28-23-43-0063
747 Bayard Ave	OF LOT 33 BLK 11	Citywide Street Lighting	~	0.12	41.00	\$4.92 \$24.19	
St Paul MN 55102-4101		Citywide Street Lighting	g	0.39	41.00		
*747 BAYARD AVE		*** 0 1 T				\$45.92	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$45.92	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	nt:		\$45.92	
		Street Sweeping - Resid		0.41	<u> </u>	\$24.60	
Christopher Sauro Iii	WALTON'S REARRANGEMENT NO. 2 ST. PAUL, MINN. LOT 4	Alley Sweeping - Resid	iential Stree	0.41	166.00	\$24.60 \$19.92	11-28-23-43-0068
640 Victoria St S		Citywide Street Lighting	σ	0.12	60.00	\$19.92	
St Paul MN 55102-4037		City wide Suber Eighting	5	0.59		-	
*640 VICTORIA ST S *Ward: 2		*** Owner and Taxpayo	er ***			\$79.92	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$79.92	
			This Payment:			\$0.00	
			Current Year P	Principal:		\$0.00	
			Current Year In	-		\$0.00	
			Payoff Amoun	nt:		\$79.92	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 30
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Lawrence Kasella Jr Nancy E Kasella 525 7th St E	STOLPESTAD ADDITION LOTS 1 2 AND LOT 3	Street Sweeping - Con Street Sweeping - Resi Citywide Street Lighti	dential Stree	1.07 0.41 0.59	34.00 203.50 237.50	\$36.38 \$83.44 \$140.13	11-28-23-43-0070
St Paul MN 55101-2421 *647 VICTORIA ST S		*** Owner and Taxpa	yer ***			\$259.95	
*Ward: 2		1	Total Assess	ment:		\$259.95	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$259.95	
	STOLPESTAD ADDITION LOT 8	Street Sweeping - Con				<u> </u>	
Cassandra Shoemaker Lee		Street Sweeping - Con Street Sweeping - Resi		0.41	20.00 90.00	\$36.90	11-28-23-43-0074
1333 7th St W St Paul MN 55102-4224		Citywide Street Lighti		0.59	110.00	\$64.90	
		eng mae Succe English		0107		\$123.20	
*1333 7TH ST W *Ward: 2		*** Owner and Taxpa	yer ***			\$123.20	
*Pending as of: 8/21/2020			Total Assess	ment:		\$123.20	
			This Paymer	nt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$123.20	
Eric J Weispfening	WALTON'S RE-AR. ALL OF LOTS 5, 6	Street Sweeping - Resi	dential Stree			\$48.59	<u> </u>
Paula G Faughender	& 7 IN ASYLUM ADDITION NO 2 & IN	Citywide Street Lighti		0.59	118.50	\$69.92	11-20-23-45-0070
668 Victoria St S	WALTONS REARRANGEMENT LOTS 5, 6 & LOT 7 BLK 2		-			\$118.51	
St Paul MN 55102-4204	5,0 CEOT / BER 2	*** Owner and Taxpa	yer ***			\$110.51	
*668 VICTORIA ST S			Total Assess	ment:		\$118.51	
*Ward: 2			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$118.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
William Jobst	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resi		0.41	40.00	\$16.40	11-28-23-43-0080
746 Bayard Ave	CLARKES ADDITION TO ST. PAUL LOT 2 BLK 10	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
St Paul MN 55102-4102						\$40.00	
*746 BAYARD AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$40.00	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resi	idential Stree	0.41	40.00	<u> </u>	<u> </u>
Shirley Knafla	CLARKES ADDITION TO ST. PAUL LOT 4 BLK 10	Citywide Street Lighti	ng	0.59	40.00	\$23.60	11 20 20 10 0002
754 Bayard Ave	LOI 4 BEK 10					\$40.00	
St Paul MN 55102-4102		*** Owner and Taxpa	yer ***				
*754 BAYARD AVE			Total Assess	ment:	-	\$40.00	
Ward: 2			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
Lawrence H Kasella Jr	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resi	idential Stree			<u> </u>	
Nancy E Kasella	CLARKES ADDITION TO ST. PAUL	Citywide Street Lighti		0.59	40.00	\$23.60	11-20-23-43-0088
12166 Gantry Ln	LOT 10 BLK 10		-			\$40.00	
Apple Valley MN 55124-6203		*** Owner and Taxpa	yer ***			φ 10.00	
778 BAYARD AVE			Total Assess	mont		\$40.00	
Ward: 2			Total Assess This Paymer			\$40.00 \$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Krysta Niedernhofer	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resi		0.41	40.00	\$16.40	11-28-23-43-0089
782 Bayard Ave	CLARKES ADDITION TO ST. PAUL LOT 11 BLK 10	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
St Paul MN 55102-4102						\$40.00	
*782 BAYARD AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymer	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
Mary B Ginther Zoost	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resi	dential Stree		40.00	<u> </u>	<u> </u>
Matthew J Zoost	CLARKES ADDITION TO ST. PAUL	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
88 Bayard Ave	LOT 12 BLK 10					\$40.00	
t Paul MN 55102-4102		*** Owner and Taxpa	yer ***				
784 BAYARD AVE			Total Assess	ment:		\$40.00	
Ward: 2			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$40.00	
Matthew J Zoost	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resi	dential Stree			<u> </u>	
Mary B Ginther Zoost	CLARKES ADDITION TO ST. PAUL	Citywide Street Lightin		0.59	40.00	\$23.60	11-20-23-43-0071
88 Bayard Ave	LOT 13 BLK 10		-			\$40.00	
t Paul MN 55102-4102		*** Owner and Taxpa	yer ***			<i>ψ</i> 10.00	
788 BAYARD AVE			Total Assess	mont:		\$40.00	
Ward: 2			This Paymer			\$40.00 \$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00 \$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page .
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kimberley A Burke	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resid		0.41	36.00	\$14.76	11-28-23-43-0096
Kerry L Schreiner	CLARKES ADDITION TO ST. PAUL S 36 FT OF N 71 FT OF LOTS 17 18 AND	Citywide Street Lightin	g	0.59	36.00	\$21.24	
654 Canton St	LOT 19 BLK 10					\$36.00	
St Paul MN 55102-4108		*** Owner and Taxpay	er ***				
*654 CANTON ST			Total Assessn	nent:		\$36.00	
*Ward: 2			This Payment	:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$36.00	
Stepping Stones Supportive Services Llc	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resid	lential Stree			<u> </u>	
1361 Wellesley Ave	CLARKES ADDITION TO ST. PAUL	Citywide Street Lightin	g	0.59	40.00	\$23.60	
St Paul MN 55105-2418	LOT 25 BLK 10					\$40.00	
*770 FORSTER ST		*** Owner and Taxpay	er ***				
*Ward: 2			Total Assessn	nent:		\$40.00	
*Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	nt:		\$40.00	
	REARRANGEMENT OF BLOCK 10	Street Sweeping - Resid	lential Stree			<u> </u>	<u> </u>
766 Forster St	CLARKES ADDITION TO ST. PAUL	Citywide Street Lightin		0.59	40.00	\$23.60	11-20-23-45-0102
St Paul MN 55102-4109	LOT 26 BLK 10					\$40.00	
*766 FORSTER ST		*** Owner and Taxpay	er ***			• • • •	
*Ward: 2			Total Assessn	nent:		\$40.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	nt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 30
<u>Owner or Taxpayer</u>	<u>Property Description</u>	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Patrick A Mergens	REARRANGEMENT OF BLOCK 10	Street Sweeping - Reside	ential Stree	0.41	80.00	\$32.80	11-28-23-43-0103
Patricia M Mergens	CLARKES ADDITION TO ST. PAUL LOTS 27 & LOT 28 BLK 10	Citywide Street Lighting		0.59	80.00	\$47.20	
762 Forster St						\$80.00	
St Paul MN 55102-4109		*** Owner and Taxpayer	r ***				
*762 FORSTER ST *Ward: 2			Total Assessr	ment:		\$80.00	
*Ward: 2 *Pending as of: 8/21/2020			This Payment			\$0.00	
1 chung as 01. 6/21/2020			Current Year	1		\$0.00	
			Current Year			\$0.00 \$80.00	
			Payoff Amou	int.		500.00	
M & M Holdings Llc	E. B. LAWTON'S RE-ARRANGEMENT	Street Sweeping - Comm	nercial/Art	1.07	160.00	\$171.20	<u> </u>
1324 7th St W	NO. 1 RAMSEY COUNTY, MINN. SUBJ TO ST THE N 1/2 OF VAC SCHEFFER	Street Sweeping - Reside		0.41	57.00	\$23.37	
St Paul MN 55102-4225	AVE ADJ AND FOL LOTS 3 THRU 6	Citywide Street Lighting		0.59	217.00	\$128.03	
*1324 7TH ST W	AND LOT 8					\$322.60	
*Ward: 2		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessr	ment:		\$322.60	
			This Payment			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$322.60	
Martin R Ramirez	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Reside	ential Stree	0.41	30.00	\$12.30	
Maria Ramirez	CITY OF ST. PAUL, MINN. N 1/4 OF LOT 5 AND N 30 FT OF LOTS 6 AND	Citywide Street Lighting		0.59	30.00	\$17.70	
660 Canton St	LOT 7 BLK 1					\$30.00	
St Paul MN 55102-4108		*** Owner and Taxpayer	r ***				
*660 CANTON ST			Total Assessr	ment:		\$30.00	
*Ward: 2			This Payment	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$30.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Darleen J Tareeq	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi	dential Stree	0.41	30.00	\$12.30	11-28-23-43-0118
Ibrahim Tareeq	CITY OF ST. PAUL, MINN. N 30 FT OF LOTS 1 2 AND LOT 3 BLK 2	Citywide Street Lightin	ng	0.59	30.00	\$17.70	
657 Canton St	E01312ANDE01 JBER 2					\$30.00	
St Paul MN 55102-4105		*** Owner and Taxpay	yer ***				
*657 CANTON ST			Total Assess	ment:		\$30.00	
*Ward: 2			This Paymen	t:		\$0.00	
*Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$30.00	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi	dential Stree			<u> </u>	
763 Butternut Ave	CITY OF ST. PAUL, MINN. WITH ESMT	Citywide Street Lightin	ng	0.59	30.00	\$17.70	***EXEMPT***
St Paul MN 55102-4104	THE N 1/2 OF LOT 4 ALSO THE S 30 FT OF N 60 FT OF LOTS 1 2 AND LOT 3					\$30.00	
661 CANTON ST	BLK 2	*** Owner and Taxpay	yer ***				
Ward: 2			Total Assess	ment:		\$30.00	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$30.00	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi	dential Stree			<u> </u>	<u> </u>
644 Brookside Ln	CITY OF ST. PAUL, MINN. S 60 FT OF	Citywide Street Lightin		0.59	108.00	\$63.72	11 20 20 10 0120
Mendota Heights MN 55118-2817	LOTS 1 2 AND 3 AND SUBJ TO ESMT THE S 1/2 OF LOT 4 BLK 2					\$108.00	
663 CANTON ST		*** Owner and Taxpay	yer ***			-	
Ward: 2			Total Assess	ment:		\$108.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$108.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Mark R Meader Trustee	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Res		0.41	40.00	\$16.40	11-28-23-43-0125
749 Fox Rd	CITY OF ST. PAUL, MINN. LOT 5 BLK 3	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
Lino Lakes MN 55014-5469						\$40.00	
687 CANTON ST		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Res	idential Stree		40.00	<u> </u>	<u> </u>
David H Avaloz	CITY OF ST. PAUL, MINN. LOT 6 BLK	Citywide Street Lighti	ing	0.59	40.00	\$23.60	11 20 20 10 0120
91 Canton St	5					\$40.00	
St Paul MN 55102-4107		*** Owner and Taxpa	yer ***				
691 CANTON ST			Total Assess	ment:	-	\$40.00	
Ward: 2			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
Jessica Ganzel	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Res	idential Stree	0.41	40.00	<u> </u>	
Brian Ganzel	CITY OF ST. PAUL, MINN. LOT 10 BLK	Citywide Street Lighti		0.59	40.00	\$23.60	11-20-25-45-0150
07 Canton St	3					\$40.00	
t Paul MN 55102		*** Owner and Taxpa	yer ***			*	
707 CANTON ST			Total Assess	ment	_	\$40.00	
Ward: 2			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo			\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:	SMSP	Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>l</u>	Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Sylvia M Schreifels Tr	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Comm	nercial/Art	1.07	68.50	\$73.30	11-28-23-43-0131
9680 68th Ct N	CITY OF ST. PAUL, MINN. EX AVE LOT 12 AND ALL OF LOT 11 BLK 3	Street Sweeping - Reside		0.41	33.50	\$13.74	
Stillwater MN 55082-9359	12 AND ALL OF LOT 11 BER 3	Citywide Street Lighting	5	0.59	102.00	\$60.19	
*711 CANTON ST						\$147.23	
*Ward: 2		*** Owner and Taxpayer	r ***				
*Pending as of: 8/21/2020			Total Assessme	ent:		\$147.23	
			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In			\$0.00	
			Payoff Amoun	t:		\$147.23	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Reside	ential Stree	0.41	40.00	<u>\$16.40</u>	
Kari T Lee	CITY OF ST. PAUL, MINN. LOT 17 BLK	Citywide Street Lighting		0.59	40.00	\$23.60	11-20-25-45-0155
4212 Lovers Ln	3				_	\$40.00	
Dallas TX 75225-6920		*** Owner and Taxpayer	r ***			¢10.00	
*698 VICTORIA ST S			Total Assessme	ent:	-	\$40.00	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year Pr	rincipal:		\$0.00	
			Current Year In	terest:		\$0.00	
			Payoff Amoun	t:		\$40.00	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Reside	ential Stree	0.41	40.00	<u> </u>	
644 Brookside Ln	CITY OF ST. PAUL, MINN. LOT 18 BLK	Citywide Street Lighting		0.59	40.00	\$23.60	11-28-23-43-0130
Mendota Heights MN 55118-2817	3	, , ,	2			\$40.00	
*696 VICTORIA ST S		*** Owner and Taxpayer	r ***			\$40.00	
*Ward: 2			Total Assessme	ent:		\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year Pr	rincipal:		\$0.00	
			Current Year In	terest:		\$0.00	
			Payoff Amoun	t:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Jonathan Beck	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Res		0.41	40.00	\$16.40	11-28-23-43-0137
Tanya Beck	CITY OF ST. PAUL, MINN. LOT 20 BLK 3	Citywide Street Lighti	ng	0.59	40.00	\$23.60	
686 Victoria St S						\$40.00	
St Paul MN 55102-4240		*** Owner and Taxpa	yer ***				
*686 VICTORIA ST S			Total Assessm	nent:	-	\$40.00	
Ward: 2			This Payment	t:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Res	idential Stree				<u> </u>
76 Victoria St S	CITY OF ST. PAUL, MINN. LOTS 23 LOT 24 BLK 3	Citywide Street Lighti	ing	0.59	108.50	\$64.02	
t Paul MN 55102-4240	LOT 24 BLK 3					\$108.51	
676 VICTORIA ST S		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessm	ment:		\$108.51	
Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$108.51	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Res	idential Stree		40.00	<u> </u>	
79 Orrin St	CITY OF ST. PAUL, MINN. LOT 3 BLK	Citywide Street Lighti		0.59	40.00	\$23.60	
t Paul MN 55102-4110	4					\$40.00	
679 ORRIN ST		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assessm	ment:		\$40.00	
Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Sylvia M Schreifels Trustee	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi		0.41	120.00	\$49.20	11-28-23-43-0147
9680 68th Ct N	CITY OF ST. PAUL, MINN. LOTS 17, 18 & LOT 19 BLK 4	Citywide Street Lightin	ng	0.59	120.00	\$70.80	
Stillwater MN 55082-9359						\$120.00	
*696 CANTON ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:	-	\$120.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$120.00	
Jose Daniel Arevalo	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi	dential Stree		40.00	<u> </u>	<u> </u>
uana Francisca Ventura	CITY OF ST. PAUL, MINN. LOT 20 BLK 4	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
586 Canton St	4					\$40.00	
St Paul MN 55102-4128		*** Owner and Taxpa	yer ***				
686 CANTON ST			Total Assess	ment:		\$40.00	
Ward: 2			This Paymen	t:		\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi	dential Stree			<u> </u>	
Robert K Langford Jr	CITY OF ST. PAUL, MINN. LOT 21 BLK	Citywide Street Lightin		0.59	40.00	\$23.60	11-20-25-45-014)
22 Grotto St S	4					\$40.00	
St Paul MN 55105-3315		*** Owner and Taxpa	yer ***				
*682 CANTON ST			Total Assess	ment:	-	\$40.00	
Ward: 2			This Paymen			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	unt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Drb #24 Llc	COTTAGE LOTS ADDITION TO SAINT	Street Sweeping - Resi	idential Stree	0.41	41.00	\$16.81	11-28-23-43-0159
David R Busch	PAUL IN RAMSEY COUNTY, M. T. LOT 30 BLK 2	Citywide Street Lighti	ng	0.59	41.00	\$24.19	
020 Davern St	JUBLE 2					\$41.00	
t Paul MN 55116-2438		*** Owner and Taxpa	yer ***				
675 VICTORIA ST S			Total Assess	ment:		\$41.00	
Ward: 2			This Paymer	nt:		\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$41.00	
	COTTAGE LOTS ADDITION TO SAINT	Street Sweeping - Resi	idential Stree	0.41		<u> </u>	
David R Busch	PAUL IN RAMSEY COUNTY, M. T. LOT	Citywide Street Lighti		0.59	41.00	\$24.19	11-20-25-45-0100
020 Davern St	31 BLK 2					\$41.00	
t Paul MN 55116-2438		*** Owner and Taxpa	yer ***				
675 VICTORIA ST S			Total Assess	ment.		\$41.00	
Ward: 2			This Paymer			\$0.00	
Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$41.00	
	COTTAGE LOTS ADDITION TO SAINT	Street Sweeping - Resi	idential Stree		<u> </u>	<u>\$25.42</u>	
324 7th St W	PAUL IN RAMSEY COUNTY, M. T. S	Citywide Street Lighti		0.59	62.00	\$36.58	11-28-25-45-0101
t Paul MN 55102-4225	1/2 VAC SCHEFFER AVE ADJ AND LOT 32 BLK 2		0			\$62.00	
671 VICTORIA ST S	LOT 32 BER 2	*** Owner and Taxpa	yer ***			\$02.00	
Ward: 2			Total Assess	ment:		\$62.00	
Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$62.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		Unit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resi	dential Stree	0.41	80.00	\$32.80	11-28-23-43-0164
Po Box 50785	MINN. SUBJ TO ESMTS; LOTS 14 & LOT	Alley Sweeping		0.12	80.00	\$9.60	
Mendota MN 55150-2759	15 BLK 2	Citywide Street Lightir	ng	0.59	80.00	\$47.20	
*812 STEWART AVE						\$89.60	
*Ward: 2		*** Owner and Taxpay	/er ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$89.60	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$89.60	
Michael Mountain	RIVERSIDE ADDITION TO ST. PAUL.	Street Sweeping - Resid	dential Stree	0.41	40.00	<u>\$16.40</u>	
Sara R Mountain	MINN. LOT 16 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	11-20-25-45-0105
985 Lincoln Ave		Citywide Street Lightir	ıg	0.59	40.00	\$23.60	
St Paul MN 55105-1455			-			\$44.80	
*814 STEWART AVE		*** Owner and Taxpay	/er ***			\$11.00	
Ward: 2			Total Assess	ment:	-	\$44.80	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$44.80	
		Street Sweeping - Com	marcial/Art		<u> </u>	\$73.83	
Mary Baker	RIVERSIDE ADDITION TO ST. PAUL, MINN. LOTS 18 AND LOT 19 BLK 2	Street Sweeping - Com Street Sweeping - Resi		0.41	47.50	\$73.83 \$19.48	11-28-23-43-0167
328 Stewart Ave Unit 2		Citywide Street Lightir		0.41	116.50	\$68.74	
St Paul MN 55102-4121		City while Street Eighth	15	0.57			
*828 STEWART AVE		*** Owner and Taxpay	/er ***			\$162.05	
Pending as of: 8/21/2020			Total Assess	ment:		\$162.05	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo			\$162.05	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Soo Line Railroad Co	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Com	mercial/Art	1.07	60.00	\$64.20	11-28-23-43-0186
Attn Tax Department	CITY OF ST. PAUL, MINN. SUBJ TO	Street Sweeping - Resi		0.41	94.00	\$38.54	
120 S 6th St Flr 7	OTTO AVE & EX 25250 SQ FT LEASE TO TEMPLE BAPTIST CHURCH; LOTS	Citywide Street Lightin	ng	0.59	154.00	\$90.86	
Minneapolis MN 55402-1803	7 THRU 12 BLK 4					\$193.60	
*699 STEWART AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:		\$193.60	
*Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$193.60	
	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi	dential Stree			<u> </u>	<u> </u>
Nichole Stafford	CITY OF ST. PAUL, MINN. LOT 19 BLK	Citywide Street Lightin		0.59	40.00	\$23.60	11-20-23-43-0100
692 Victoria St	3	, ,	0			\$40.00	
St Paul MN 55102-4240		*** Owner and Taxpay	ver ***			\$40.00	
*692 VICTORIA ST S		1,5					
*Ward: 2			Total Assess			\$40.00	
*Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	COTTAGE LOTS ADDITION TO SAINT	Street Sweeping - Com	mercial/Art	1.07	66.00	\$70.62	
711 Victoria St S	PAUL IN RAMSEY COUNTY, M. T. EX OTTO AVE LOT 21 BLK 2	Street Sweeping - Resi	dential Stree	0.41	5.50	\$2.26	
St Paul MN 55102-4203	OTTO AVE LOT 21 BLK 2	Citywide Street Lightin	ng	0.59	71.50	\$42.19	
*715 VICTORIA ST S						\$115.07	
*Ward: 2		*** Owner and Taxpay	yer ***				
*Pending as of: 8/21/2020			Total Assess	ment:		\$115.07	
			This Paymen	ıt:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$115.07	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Nancy Lee Bolin 711 Victoria St S	COTTAGE LOTS ADDITION TO SAINT PAUL IN RAMSEY COUNTY, M. T. LOT 22 BLK 2	Street Sweeping - Resid Citywide Street Lightin		0.41 0.59	41.00	\$16.81 \$24.19	11-28-23-43-0190
St Paul MN 55102-4203	22 DEK 2					\$41.00	
711 VICTORIA ST S		*** Owner and Taxpay	er ***				
Ward: 2			Total Assess	ment:		\$41.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$41.00	
Slrco Inc	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resid		0.41		\$84.46	<u> </u>
C/O Soo Line Rr Tax Dept	CITY OF ST. PAUL, MINN. A RY R/W ACROSS BLKS 1 & 2 H W TERRYS	Citywide Street Lightin	g	0.59	206.00	\$121.54	
20 S 6th St Flr 7	ADD & IN SD ASYLUM ADD NO.2					\$206.00	
Minneapolis MN 55402-1803	ACROSS BLK 5	*** Owner and Taxpay	er ***				
753 STEWART AVE			Total Assess	ment:		\$206.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
1 chung as 01. 8/21/2020			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$206.00	
Dram Investments Limited Partnership	E. B. LAWTON'S RE-ARRANGEMENT	Street Sweeping - Com		1.07	92.00	\$98.44	11-28-23-43-0197
Attn David Olshansky	NO. 1 RAMSEY COUNTY, MINN. SUBJ TO ST; VAC STS ACCRUING & FOL.	Street Sweeping - Resid		0.41	126.00	\$51.66	
00 Boone Ave N Ste 200	LOTS 9 10 & 11 BLK 2 COTTAGE LOTS	Citywide Street Lightin	g	0.59	218.00	\$128.62	
Ainneapolis MN 55427-4476	ADD & IN SD E B LAWTONS RE NO 1 LOT 7	*** Owner and Taxpay	or ***			\$278.72	
*1340 7TH ST W Ward: 2		Owner and Taxpay					
Pending as of: 8/21/2020			Total Assess			\$278.72	
Fonding us of: 0/21/2020			This Paymen			\$0.00	
			Current Year Principal: Current Year Interest:			\$0.00 \$0.00	
						\$0.00 \$278 72	
			Payoff Amo	unt:		\$278.72	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Jessica Leblanc	FORT ROAD COMMONS COMMON	Street Sweeping - Con	nmercial/Art	1.07	5.41	\$5.79	11-28-23-43-0201
49 Otto Ave	AREA INTEREST IN LOT 23 BLK 1	Street Sweeping - Rest	idential Stree	0.41	5.91	\$2.42	
st Paul MN 55102-4129	ATTRIBUTABLE TO & LOTS 15 & LOT 18 BLK 1	Citywide Street Lighti	ng	0.59	11.32	\$6.68	
849 OTTO AVE						\$14.89	
Ward: 2		*** Owner and Taxpa	yer ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$14.89	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$14.89	
Patricia Skemp Page Llc	CLARKE'S ADDITION TO THE CITY OF	Street Sweeping - Con	nmercial/Art			<u>\$123.05</u>	<u> </u>
217 7th St W	ST. PAUL SUBJ TO ST; LOT 1 & LOT 2	Street Sweeping - Res		0.41	173.00	\$70.93	11-28-25-45-0202
t Paul MN 55102-4135	BLK 8	Citywide Street Lighti		0.59	288.00	\$169.92	
1217 7TH ST W		, ,	e			\$363.90	
Ward: 2		*** Owner and Taxpayer ***				\$303.70	
Pending as of: 8/21/2020			Total Assessment:			\$363.90	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amo	unt:		\$363.90	
Jia J Gouldin	FORT ROAD COMMONS COMMON	Street Sweeping - Con	nmercial/Art				
53 Otto Ave	AREA INTEREST IN LOT 23 BLK 1	Street Sweeping - Res		0.41	5.91	\$2.42	11-20-23-43-0200
t Paul MN 55102-4129	ATTRIBUTABLE TO & LOTS 13 & LOT 20 BLK 1	Citywide Street Lighti		0.59	11.32	\$6.68	
853 OTTO AVE	20 DLN 1	-				\$14.89	
Ward: 2		*** Owner and Taxpa	yer ***			¢11.09	
Pending as of: 8/21/2020			Total Assess	ment:	-	\$14.89	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year Interest:			\$0.00	
			Payoff Amo	unt:		\$14.89	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 3
Owner or Taxpayer	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Peter P Nguyen	STOLPESTAD ADDITION LOT 6 & LOT	Street Sweeping - Con	nmercial/Art	1.07	40.00	\$42.80	11-28-23-43-0207
Thanh T M Nguyen	7	Street Sweeping - Resi	idential Stree	0.41	40.00	\$16.40	
1300 Lafond Ave		Citywide Street Lighti	ng	0.59	80.00	\$47.20	
St Paul MN 55104-2034						\$106.40	
*1329 7TH ST W		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$106.40	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Yea			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo	unt:		\$106.40	
Soo Line Railroad Co	ASYLUM ADDITION NO. 2 TO THE	Street Sweeping - Resi	idential Stree	0.41		<u>\$26.65</u>	<u> </u>
Attn Tax Department	CITY OF ST. PAUL, MINN. PART	Citywide Street Lighti		0.59	65.00	\$38.35	11-20-23-45-0210
120 S 6th St Flr 7	NWLY OF RY R/W OF LOT 3 BLK 5		•			\$65.00	
Minneapolis MN 55402-1803		*** Owner and Taxpa	yer ***			\$05.00	
*702 ORRIN ST			Total Assess	ment:		\$65.00	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Yea			\$0.00	
			Current Yea	-		\$0.00	
			Payoff Amo	unt:		\$65.00	
Estevan Garcia Ramirez	CLARKE'S ADDITION TO THE CITY OF ST. PAUL EX NELY 8 FT; LOT 2 AND	Street Sweeping - Resi Citywide Street Lighti		0.41 0.59	40.00 40.00	\$16.40 \$23.60	11-28-23-43-0214
Lucero Arellano Castaneda	PART OF LOT 3 WALTON'S	Citywide Street Lighti	ng	0.39	40.00		
647 Canton St St Paul MN 55102-4105	RE-ARRANGEMENT AND IN SAID CLARKE'S ADD PART OF LOT 21 BLK 9 WHICH LIES NLY OF A LINE DESC	*** Owner and Taxpa	yer ***			\$40.00	
*647 CANTON ST			Total Assess	ment:		\$40.00	
*Ward: 2			This Paymer	nt:		\$0.00	
*Pending as of: 8/21/2020			Current Yea	r Principal:		\$0.00	
			Current Yea	r Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
	COMMON INTEREST COMMUNITY	Street Sweeping - Resi	dential Stree	0.41	15.46	\$6.34	11-28-23-43-0239
777 Scheffer Ave	NUMBER 458 SCHEFFER LANE TOWNHOMES LOT 3 BLK 1	Citywide Street Lightin	ng	0.59	15.46	\$9.12	
St Paul MN 55102-4134	TO WATOWED DOT 9 DEK T					\$15.46	
*777 SCHEFFER AVE		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assess	ment:		\$15.46	
*Pending as of: 8/21/2020			This Paymer	nt:		\$0.00	
			Current Year	r Principal:		\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$15.46	
James D Armstrong Tr Jr	COMMON INTEREST COMMUNITY	Street Sweeping - Resid	dential Stree				11-28-23-43-0250
Amber Armstrong	NUMBER 458 SCHEFFER LANE TOWNHOMES LOT 14 BLK 1	Citywide Street Lightin	ng	0.59	15.46	\$9.12	
745 Scheffer Ave	IOWNHOMES LOT 14 BLK I					\$15.46	
St Paul MN 55102-4134		*** Owner and Taxpay	yer ***				
*745 SCHEFFER AVE			Total Assess	ment:		\$15.46	
*Ward: 2			This Paymer			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	r Interest:		\$0.00	
			Payoff Amo	unt:		\$15.46	
 Tobias Madden	COMMON INTEREST COMMUNITY	Street Sweeping - Resid	dential Stree				
743 Scheffer Ave	NUMBER 458 SCHEFFER LANE	Citywide Street Lightir		0.59	15.46	\$9.12	11-20-25-45-0251
St Paul MN 55102-4134	TOWNHOMES LOT 15 BLK 1					\$15.46	
743 SCHEFFER AVE		*** Owner and Taxpay	yer ***			<i>Q</i> .20110	
*Ward: 2			Total Assess	ment:		\$15.46	
*Pending as of: 8/21/2020			This Paymer			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$15.46	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Daniel T Miesbauer	COTTAGE LOTS ADDITION TO SAINT	Street Sweeping - Resi		0.41	40.00	\$16.40	11-28-23-43-0259
Bonnie L Miesbauer	PAUL IN RAMSEY COUNTY, M. T. LOT 23 BLK 2	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
709 Victoria St S		*** 0 1 T	ste ste			\$40.00	
t Paul MN 55102-4203		*** Owner and Taxpa	yer ***				
709 VICTORIA ST S Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
rending as 01. 8/21/2020			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$40.00	
	COTTAGE LOTS ADDITION TO SAINT	Street Sweeping - Resi	idential Stree	0.41	40.00	<u>\$16.40</u>	
o Anne Horner	PAUL IN RAMSEY COUNTY, M. T. LOT 24 BLK 2	Citywide Street Lightin	ng	0.59	40.00	\$23.60	
05 Victoria St S	2. 2					\$40.00	
t Paul MN 55102-4203		*** Owner and Taxpa	yer ***				
705 VICTORIA ST S			Total Assess	ment:		\$40.00	
Ward: 2			This Paymen	ıt:		\$0.00	
Pending as of: 8/21/2020			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$40.00	
ennifer R Ewald	Lot 26 Blk 2	Street Sweeping - Resi				<u> </u>	
95 Victoria St S		Citywide Street Lightin		0.59	43.00	\$25.37	11-20-23-45-0202
t Paul MN 55102-4203			-			\$43.00	
695 VICTORIA ST S		*** Owner and Taxpa	yer ***			÷ 10.00	
Ward: 2			Total Assess	ment:	-	\$43.00	
Pending as of: 8/21/2020			This Paymen	ıt:		\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$43.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Brent Adams	NLY 8 FT OF LOT 2 & ALL OF LOT 1	Street Sweeping - Reside	ential Stree	0.41	112.00	\$45.92	11-28-23-43-0288
1512 Russell Ave N		Citywide Street Lighting		0.59	112.00	\$66.08	
Minneapolis MN 55411-2938						\$112.00	
635 CANTON ST		*** Owner and Taxpayer	r ***				
Ward: 2			Total Assessme	ent:	-	\$112.00	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	nterest:		\$0.00	
			Payoff Amoun	ıt:		\$112.00	
	Lot 22 And S 20 Ft Of Lot 23 Blk 4		ential Stree	0.41		\$24.60	<u> </u>
678 Canton St		Citywide Street Lighting		0.59	60.00	\$35.40	11-20-25-45-0290
St Paul MN 55102-4128					_	\$60.00	
678 CANTON ST		*** Owner and Taxpayer	r ***			400.00	
Ward: 2			Total Assessme	ant.		\$60.00	
Pending as of: 8/21/2020			This Payment:	ent:		\$0.00	
			Current Year P	rincinal		\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amoun	nt:		\$60.00	
	ALL OF LOTS 4 THRU LOT 7 BLK 4			0.41	160.00	<u> </u>	
Antonio J Carpenter		Citywide Street Lighting		0.41	160.00	\$94.40	11-28-23-43-0292
Celine L Carpenter 87 Orrin St		Sheer Digitting		0.09			
St Paul MN 55102-4110		*** Owner and Taxpayer	r ***			\$160.00	
687 ORRIN ST							
Ward: 2			Total Assessme	ent:		\$160.00	
Pending as of: 8/21/2020			This Payment:	min ain al.		\$0.00 \$0.00	
-			Current Year P Current Year In	-		\$0.00 \$0.00	
			Current rear h	merest.		\$U.UU	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 319
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Nicholas Carpenter	LOT 8 AND PART OF LOT 9 & LOT 10	Street Sweeping - Reside		0.41	60.00	\$24.60	11-28-23-43-0293
Stephany N. Carpenter	LYING NWLY OF L 25 FT NWLY OF CL OF RR ROW	Citywide Street Lighting	5	0.59	60.00	\$35.40	
687 Orrin St		*** 0 1 T	***			\$60.00	
St Paul MN 55102-4110 *0 ORRIN ST		*** Owner and Taxpaye	r ***				
*Ward: 2			Total Assessr			\$60.00	
*Pending as of: 8/21/2020			This Payment			\$0.00	
1 chung as 01. 8/21/2020			Current Year	1		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	int:		\$60.00	
	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree		40.00	<u> </u>	11-28-23-44-0002
734 Stewart Ave	MINN. LOT 3 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4119		Citywide Street Lighting	5	0.59	40.00	\$23.60	
*734 STEWART AVE						\$44.80	
*Ward: 2		*** Owner and Taxpaye	r ***				
*Pending as of: 8/21/2020			Total Assessr	ment:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$44.80	
	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree				<u> </u>
738 Stewart Ave	MINN. NELY 1/2 OF LOT 4 BLK 1	Alley Sweeping		0.12	20.00	\$2.40	11 20 20 11 0000
St Paul MN 55102-4119		Citywide Street Lighting	ç	0.59	20.00	\$11.80	
*738 STEWART AVE						\$22.40	
*Ward: 2		*** Owner and Taxpaye	er ***				
*Pending as of: 8/21/2020			Total Assessr	ment:		\$22.40	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$22.40	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		20SMSP #:	Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Cambridge Flats Llc	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resi	dential Stree	0.41	60.00	\$24.60	11-28-23-44-0004
1890 Carroll Ave Apt 8	MINN. SWLY 1/2 OF LOT 4 AND ALL	Alley Sweeping		0.12	60.00	\$7.20	
St Paul MN 55104-3500	OF LOT 5 BLK 1	Citywide Street Lightin	ng	0.59	60.00	\$35.40	
*740 STEWART AVE						\$67.20	
Ward: 2		*** Owner and Taxpa	yer ***				
Pending as of: 8/21/2020			Total Assess	ment:		\$67.20	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$67.20	
Angel M Brunner	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resi	dential Stree	0.41	40.00	<u>\$16.40</u>	
Daniel W Wagner	MINN. LOT 6 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-44-0003
44 Stewart Ave		Citywide Street Lightin	ng	0.59	40.00	\$23.60	
t Paul MN 55102-4119			-			\$44.80	
744 STEWART AVE		*** Owner and Taxpa	yer ***			\$11.00	
Ward: 2			Total Assess	nent:		\$44.80	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$44.80	
Robert J Anderson	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resi	dential Stree		92.50	\$37.93	
50 Stewart Ave	MINN. LOT 7 BLK 1	Alley Sweeping	dennur Stree	0.12	40.00	\$4.80	11-28-23-44-0000
t Paul MN 55102-4119		Citywide Street Lightin	ng	0.59	92.50	\$54.58	
750 STEWART AVE		, ,	C		_	\$97.31	
Ward: 2		*** Owner and Taxpa	yer ***			ψ/1.51	
Pending as of: 8/21/2020			Total Assess	ment:	2	\$97.31	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$97.31	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Thomas S Hanten	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	40.00	\$16.40	11-28-23-44-0010
739 Butternut Ave	MINN. LOT 11 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4103		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*739 BUTTERNUT AVE *Ward: 2		*** Owner and Taxpay	/er ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessr	nent:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$44.80	
Robert Wayne Eastlee	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree		40.00	<u>\$16.40</u>	
Troy Allen Eastlee	MINN. LOT 12 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11-20-23-44-0011
733 Butternut Ave		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
St Paul MN 55102-4103			0			\$44.80	
*733 BUTTERNUT AVE		*** Owner and Taxpay	/er ***			\$44.00	
*Ward: 2			Total Assessr	nent:	•	\$44.80	
*Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
Christopher Fernlund	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resid	dential Stree	0.41	40.00	<u> </u>	11-28-23-44-0012
731 Butternut Ave	MINN. LOT 13 BLK 1	Alley Sweeping		0.12	40.00	\$4.80	11 20 20 11 0012
St Paul MN 55102-4103		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*731 BUTTERNUT AVE						\$44.80	
*Ward: 2 *Pending as of: 8/21/2020		*** Owner and Taxpay	/er ***				
			Total Assessr	nent:		\$44.80	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP As Resolution #:		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Catherine A Dupre	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-44-0017
774 Stewart Ave	MINN. LOT 6 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4121		Citywide Street Lightin	g	0.59	40.00	\$23.60	
*774 STEWART AVE					_	\$44.80	
*Ward: 2		*** Owner and Taxpay	er ***				
*Pending as of: 8/21/2020			Total Assess	nent:		\$44.80	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$44.80	
John Matthew Builders Llc	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Resid	lential Stree		80.00	\$32.80	
	MINN. LOTS 7 & LOT 8 BLK 2	Alley Sweeping		0.41	80.00	\$9.60	11-28-23-44-0018
4335 France Ave S Minneapolis MN 55410-1344		Citywide Street Lightin	ø	0.59	80.00	\$47.20	
*780 STEWART AVE		; ···	0			\$89.60	
*Ward: 2		*** Owner and Taxpay	er ***			\$89.00	
*Pending as of: 8/21/2020			Total Assess	nent:		\$89.60	
			This Paymen	t:		\$0.00	
			Current Year			\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$89.60	
Christine M Osman	RIVERSIDE ADDITION TO ST. PAUL, MINN. LOT 25 BLK 2	Street Sweeping - Resid	lential Stree	0.41	40.00	\$16.40	11-28-23-44-0021
791 Butternut Ave	WIININ, LOT 23 DEK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4104		Citywide Street Lightin	ıg	0.59	40.00	\$23.60	
*791 BUTTERNUT AVE *Ward: 2		*** Owner and Taxpay	er ***			\$44.80	
*Pending as of: 8/21/2020		1 5	Total Assess	nent:		\$44.80	
			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou			\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 2020 Resolution #:		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description]	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Steven F Hockstein	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-44-0022
787 Butternut Ave	MINN. LOT 26 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-2114		Citywide Street Lighting	;	0.59	40.00	\$23.60	
*787 BUTTERNUT AVE *Ward: 2		*** Owner and Taxpayer	r ***			\$44.80	
*Pending as of: 8/21/2020			Total Assessme	ent:		\$44.80	
			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year Ir	-		\$0.00	
		:	Payoff Amoun	ıt:		\$44.80	
	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Reside				\$8.20	
Nicholas S Johnson	MINN. SWLY 1/2 OF LOT 29 BLK 2	Alley Sweeping - Reside	ential Stree	0.41 0.12	20.00	\$8.20 \$2.40	11-28-23-44-0025
Ann M Johnson		Citywide Street Lighting		0.12	20.00	\$11.80	
185 Mound Ave		City white Sureet Englishing	,	0.59			
Tonka Bay MN 55331-8572 *775 BUTTERNUT AVE		*** Owner and Taxpayer	r ***			\$22.40	
*Ward: 2		1 2	Total Assessme			\$22.40	
*Pending as of: 8/21/2020			This Payment:	ent:		\$22.40	
C			Current Year P	ringingly		\$0.00	
			Current Year Ir	-		\$0.00	
			Payoff Amoun			\$22.40	
			i ayon Amoun	it.		922.40	
	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Reside	ential Stree	0.41	40.00	\$16.40	11-28-23-44-0028
Tebletse G Debessai	MINN. LOT 31 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
767 Butternut Ave		Citywide Street Lighting	;	0.59	40.00	\$23.60	
St Paul MN 55102-4104						\$44.80	
*767 BUTTERNUT AVE		*** Owner and Taxpayer	r ***				
*Ward: 2		-	Total Assessment:			\$44.80	
*Pending as of: 8/21/2020			This Payment: Current Year Principal:			\$0.00	
						\$0.00	
			Current Year Ir	nterest:		\$0.00	
			Payoff Amoun	it:		\$44.80	

10:54:40 11/16/2020	Public Improvement Assessment Roll by PID (Fee to Asmt) Ratification Date:		Project: 2020SMSP Resolution #:		Assmt: 200025	Manager: LM	Page 324
<u>Owner or Taxpayer</u>	<u>Property Description</u>	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Paige Dewees	RIVERSIDE ADDITION TO ST. PAUL,	Street Sweeping - Residen	ntial Stree	0.41	40.00	\$16.40	11-28-23-44-0029
763 Butternut Ave	MINN. LOT 32 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
St Paul MN 55102-4104		Citywide Street Lighting		0.59	40.00	\$23.60	
*763 BUTTERNUT AVE						\$44.80	
*Ward: 2		*** Owner and Taxpayer	***				
*Pending as of: 8/21/2020		T	Total Assessme	ent:		\$44.80	
		Т	This Payment:			\$0.00	
		С	Current Year P	rincipal:		\$0.00	
		С	Current Year In	nterest:		\$0.00	
		Р	Payoff Amoun	ıt:		\$44.80	
Jason E Noble	RIVERSIDE ADDITION TO ST. PAUL, MINN. LOT 34 BLK 2	Street Sweeping - Residen	tial Stree	0.41	82.50	\$33.83	11-28-23-44-0031
Molly K Noble	MINN. LOT 34 BLK 2	Alley Sweeping		0.12	40.00	\$4.80	
755 Butternut Ave		Citywide Street Lighting		0.59	82.50	\$48.68	
St Paul MN 55102-4104		*** 0 1 T	***			\$87.31	
*755 BUTTERNUT AVE		*** Owner and Taxpayer	***				
*Ward: 2		Т	Total Assessme	ent:		\$87.31	
*Pending as of: 8/21/2020		Т	This Payment:			\$0.00	
		C	Current Year P	rincipal:		\$0.00	
		C	Current Year In	nterest:		\$0.00	
		Р	Payoff Amour	it:		\$87.31	
			<u> </u>				
Kim Sorn Theng	ASYLUM ADDITION NO. 1 TO THE CITY OF ST. PAUL, MINN. LOT 1 BLK	Street Sweeping - Residen Citywide Street Lighting	itial Stree	0.41 0.59	98.00 98.00	\$40.18 \$57.82	11-28-23-44-0034
2534 Montana Ave E	1	Citywide Street Lighting		0.39	98.00		
Maplewood MN 55119-3151 *696 TUSCARORA AVE		*** Owner and Taxpayer	***			\$98.00	
*Ward: 2		T	Total Assessme	ent:		\$98.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year P	rincipal:		\$0.00	
			Current Year In	-		\$0.00	
		Р	Payoff Amour	ıt:		\$98.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Page .
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Kelle Green	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Res		0.41	60.00	\$24.60	11-28-23-44-0035
700 Tuscarora Ave	CITY OF ST. PAUL, MINN. LOT 2 BLK 1	Citywide Street Lighti	ng	0.59	60.00	\$35.40	
St Paul MN 55102-3906		*** 0 1 5				\$60.00	
*700 TUSCARORA AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess			\$60.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	-		\$0.00	
			Current Year			\$0.00	
			Payoff Amo	unt:		\$60.00	
Minnesota Multifamily Company Llc	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Res		0.41	163.00	\$66.83	
Po Box 120822	CITY OF ST. PAUL, MINN. LOTS 15 AND LOT 16 BLK 1	Citywide Street Lightin	ng	0.59	163.00	\$96.17	
St Paul MN 55112-0025						\$163.00	
737 STEWART AVE		*** Owner and Taxpa	yer ***				
Ward: 2			Total Assess	ment:		\$163.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$163.00	
	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Res	idential Stree			<u> </u>	<u> </u>
721 Stewart Ave	CITY OF ST. PAUL, MINN. LOT 19 BLK	Citywide Street Lighti	ing	0.59	40.00	\$23.60	
St Paul MN 55102-4116	1					\$40.00	
*721 STEWART AVE		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:		\$40.00	
Pending as of: 8/21/2020			This Paymen			\$0.00	
			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Randall S Young	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Resid		0.41	40.00	\$16.40	11-28-23-44-0041
1530 Snelling Ave	CITY OF ST. PAUL, MINN. LOT 20 BLK 1	Citywide Street Lighting	g	0.59	40.00	\$23.60	
St Paul MN 55108-6114						\$40.00	
*719 STEWART AVE		*** Owner and Taxpaye	er ***				
*Ward: 2			Total Assessm	ient:		\$40.00	
*Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	Principal:		\$0.00	
			Current Year I	interest:		\$0.00	
			Payoff Amou	nt:		\$40.00	
Edward Dykhuizen	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Resid	lential Stree			<u> </u>	
Erin Dykhuizen	CITY OF ST. PAUL, MINN. LOT 23 BLK	Citywide Street Lighting		0.59	40.00	\$23.60	11-20-23-44-0044
709 Stewart Ave	1					\$40.00	
St Paul MN 55102-4116		*** Owner and Taxpaye	er ***			• • • •	
*709 STEWART AVE			Total Assessm	ent:		\$40.00	
*Ward: 2			This Payment:			\$0.00	
*Pending as of: 8/21/2020			Current Year l			\$0.00	
			Current Year I	-		\$0.00	
			Payoff Amou			\$40.00	
Kevin L Williams	ASYLUM ADDITION NO. 1 TO THE CITY OF ST. PAUL, MINN. EX SWLY 39	Street Sweeping - Resid Citywide Street Lighting		0.41 0.59	42.50 42.50	\$17.43 \$25.08	11-28-23-44-0051
Flaminga C Almquist	FT LOT 29 AND ALL OF LOT 30 BLK	Citywide Street Lighting	g	0.39	42.30		
81 Stewart Ave St Paul MN 55102-4116	1	*** Owner and Taxpaye	er ***			\$42.51	
681 STEWART AVE		o wher and Taxpaye					
Ward: 2			Total Assessm			\$42.51	
Pending as of: 8/21/2020			This Payment:			\$0.00	
			Current Year I	-		\$0.00	
			Current Year I			\$0.00	
			Payoff Amou	nt:		\$42.51	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
City Of St Paul 25 4th St W Rm 1000	ASYLUM ADDITION NO. 1 TO THE CITY OF ST. PAUL, MINN. LOTS 1 2 3 AND LOT 4 BLK 2	Street Sweeping - Resi Citywide Street Lightin		0.41 0.59	291.00 291.00	\$119.31 \$171.69	11-28-23-44-0053 ***EXEMPT***
St Paul MN 55102-1692 *616 BAY ST		*** Owner and Taxpay	yer ***			\$291.00	
*Ward: 2			Total Assessr	nent:	-	\$291.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$291.00	
	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Resi	dential Stree			<u> </u>	
609 Bay St	CITY OF ST. PAUL, MINN. LOT 3 BLK 3	Citywide Street Lightin	ng	0.59	40.00	\$23.60	11 20 20 11 0000
St Paul MN 55102-4124	-					\$40.00	
*609 BAY ST		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assessr	ment:		\$40.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year			\$0.00	
			Payoff Amou	ınt:		\$40.00	
	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Resi	dential Stree			<u> </u>	
621 Bay St	CITY OF ST. PAUL, MINN. LOT 6 BLK	Citywide Street Lightin		0.59	40.00	\$23.60	11-20-25-44-0050
St Paul MN 55102-4124	3				—	\$40.00	
*621 BAY ST		*** Owner and Taxpay	yer ***				
*Ward: 2			Total Assessr	ment:		\$40.00	
*Pending as of: 8/21/2020			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$40.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll b	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Annissa Johnson	STEWART AVE. ADDITION TO THE	Street Sweeping - Resi	dential Stree	0.41	78.00	\$31.98	11-28-23-44-0064
Christiopher Johnson Ii	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	78.00	\$9.36	
11207 Dogwood Rd	MINN. LOTS 4 & LOT 5 BLK 1	Citywide Street Lightin	ıg	0.59	78.00	\$46.02	
Voodbury MN 55129-6204						\$87.36	
708 STEWART AVE		*** Owner and Taxpay	/er ***				
Ward: 2			Total Assess	ment:		\$87.36	
Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$87.36	
	STEWART AVE. ADDITION TO THE	Street Sweeping - Resi	dential Stree		39.00	<u>\$15.99</u>	
724 Stewart Ave	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.12	39.00	\$4.68	11-20-23-44-0000
t Paul MN 55102	MINN. LOT 10 BLK 1	Citywide Street Lightin	ng	0.59	39.00	\$23.01	
* 724 STEWART AVE *Ward: 2			C		_	\$43.68	
		*** Owner and Taxpayer ***				\$+5.08	
Pending as of: 8/21/2020			Total Assess	ment:		\$43.68	
			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amount:				
Craig R Van Elsen	STEWART AVE. ADDITION TO THE	Street Sweeping - Resi	dential Stree		39.00	<u> </u>	
29 Floresta St	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping		0.41	39.00	\$4.68	11-28-23-44-0071
29 Floresta St Brandon FL 33511-6507	MINN. LOT 14 BLK 1	Citywide Street Lightir	ıg	0.59	39.00	\$23.01	
711 BUTTERNUT AVE		. 6	-		—	\$43.68	
Ward: 2		*** Owner and Taxpay	payer ***			<i>ψ</i> 15.00	
Pending as of: 8/21/2020			Total Assess	nent:	-	\$43.68	
			This Paymen	t:	\$0.00		
			Current Year	Principal:	\$0.00		
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$43.68	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	y PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution #		Assmt: 200025	Manager: LM	Page 3
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Annamarie Heller 703 Butternut Ave St Paul MN 55102-4103	STEWART AVE. ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. LOT 16 BLK 1	Street Sweeping - Reside Alley Sweeping Citywide Street Lighting		0.41 0.12 0.59	39.00 39.00 39.00	\$15.99 \$4.68 \$23.01	11-28-23-44-0073
*703 BUTTERNUT AVE *Ward: 2		*** Owner and Taxpayer	r ***			\$43.68	
*Pending as of: 8/21/2020			Total Assessr	ment:		\$43.68	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	int:		\$43.68	
Steven C Vandewater	STEWART AVE. ADDITION TO THE	Street Sweeping - Reside	ential Stree		96.00	\$39.37	
693 Butternut Ave	CITY OF ST. PAUL, RAMSEY CO.,	Alley Sweeping	indar Buree	0.12	67.00	\$8.04	11-28-23-44-0076
St Paul MN 55102-4103	MINN. NELY 1/2 OF LOT 18 & ALL OF	Citywide Street Lighting		0.59	96.00	\$56.65	
*693 BUTTERNUT AVE	LOT 19 BLK 1	, , , ,			_	\$104.06	
*Ward: 2		*** Owner and Taxpayer	r ***			\$104.00	
*Pending as of: 8/21/2020			Total Assessr	ment:	2	\$104.06	
			This Payment	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amou	ınt:		\$104.06	
	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Reside	ential Stree		170.00	\$69.70	
C/O Soo Line Rr Tax Dept	CITY OF ST. PAUL, MINN. A 50 FT RY	Citywide Street Lighting		0.59	170.00	\$100.30	11-20-25-44-0070
120 S 6th St Flr 7	R/W ACROSS BLK 1 & BLK 3					\$170.00	
Minneapolis MN 55402-1803		*** Owner and Taxpayer	r ***			\$1,000	
*634 BAY ST			Total Assessr	nent:		\$170.00	
*Ward: 2			This Payment			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amou	int:		\$170.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 20 Resolution		Assmt: 200025	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
City Of St Paul	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Res	idential Stree	0.41	240.00	\$98.40	11-28-23-44-0083
25 4th St W Rm 1000	CITY OF ST. PAUL, MINN. PART LYING NWLY OF RY R/W OF LOTS 7	Citywide Street Lighti	ng	0.59	240.00	\$141.60	***EXEMPT***
St Paul MN 55102-1692	THRU LOT 12 BLK 1					\$240.00	
*626 BAY ST		*** Owner and Taxpa	yer ***				
*Ward: 2			Total Assess	ment:	-	\$240.00	
*Pending as of: 8/21/2020			This Paymen	t:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:		\$0.00	
			Payoff Amo	unt:		\$240.00	
	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Res	idential Stree			<u> </u>	
Attn Tax Department	CITY OF ST. PAUL, MINN. PART SELY	Citywide Street Lighti		0.59	23.00	\$13.57	11 20 20 11 0001
120 S 6th St Flr 7	OF RY R/W OF LOTS 3 THRU LOT 13 BLK 1					\$23.00	
Minneapolis MN 55402-1803		*** Owner and Taxpa	yer ***				
*0 TUSCARORA AVE			Total Assess	ment		\$23.00	
*Ward: 2			This Paymen			\$0.00	
*Pending as of: 8/21/2020			Current Year			\$0.00	
			Current Year	-		\$0.00	
			Payoff Amo	unt:		\$23.00	
	ASYLUM ADDITION NO. 1 TO THE	Street Sweeping - Res				<u> </u>	
Attn Tax Department	CITY OF ST. PAUL, MINN. PART SELY	Citywide Street Lighti		0.41	261.00	\$153.99	11-28-23-44-0086
120 S 6th St Flr 7	OF RY R/W OF LOTS 13 THRU LOT 19 BLK 3	-,	0			\$261.00	
Minneapolis MN 55402-1803	BLK 3	*** Owner and Taxpa	ver ***			\$201.00	
*757 STEWART AVE		F				*2 <1.00	
Ward: 2			Total Assess			\$261.00	
Pending as of: 8/21/2020			This Paymen			\$0.00 \$0.00	
-			Current Year Current Year	-		\$0.00 \$0.00	
			Current real	mucrest.		φ 0.00	

10:54:40 11/16/2020	Public Improvement Assessment Roll by	PID (Fee to Asmt) Ratification Date:	Project: 202 Resolution #		Assmt: 200025	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Elizabeth E Collins	COMMON INTEREST COMMUNITY	Street Sweeping - Reside	ential Stree	0.41	26.00	\$10.66	11-28-23-44-0100
720 Stewart Ave	NUMBER 382 STEWART BLUFF LOT 6	Alley Sweeping		0.12	26.00	\$3.12	
St Paul MN 55102-4119	BLK 1	Citywide Street Lighting	ç	0.59	26.00	\$15.34	
*720 STEWART AVE						\$29.12	
Ward: 2		*** Owner and Taxpaye	r ***				
Pending as of: 8/21/2020			Total Assessm	nent:		\$29.12	
			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:	\$0.00		
			Payoff Amou	nt:		\$29.12	
			- <u></u>				
Tomas Martinez Flores	COMMON INTEREST COMMUNITY NUMBER 458 SCHEFFER LANE	Street Sweeping - Reside		0.41	15.46	\$6.34	11-28-23-44-0125
raccresie Chilusa	TOWNHOMES LOT 2 BLK 2	Citywide Street Lighting	5	0.59	15.46	\$9.12	
las Marquesas No 3 737 FORSTER ST		*** Owner and Taxpaye	r ***			\$15.46	
Ward: 2			Total Assessm	nent:		\$15.46	
Pending as of: 8/21/2020			This Payment			\$0.00	
			Current Year			\$0.00	
			Current Year	1		\$0.00	
			Payoff Amou			\$15.46	
			i uyon minou			010.10	
risciliano Maya Rodriguez	COMMON INTEREST COMMUNITY	Street Sweeping - Reside	ential Stree	0.41	15.46	\$6.34	11-28-23-44-0126
35 Forster St	NUMBER 458 SCHEFFER LANE TOWNHOMES LOT 3 BLK 2	Citywide Street Lighting	5	0.59	15.46	\$9.12	
t Paul MN 55116	TO WINTOWES EOT 5 BER 2					\$15.46	
735 FORSTER ST		*** Owner and Taxpaye	r ***				
Ward: 2			Total Assessm	nent:		\$15.46	
Pending as of: 8/21/2020			This Payment	:		\$0.00	
			Current Year	Principal:		\$0.00	
			Current Year	Interest:	\$0.00		
			Payoff Amou	nt:		\$15.46	

Report Totals:			
987 Parcel(s)	Total Assessment:	\$86,438.59	
22 Cert. Exempt Parcel(s)	This Payment:	\$0.00	
	Current Year Principal:	\$0.00	
	Current Year Interest:	\$0.00	
	Payoff Amount:	\$86,438.59	